SPECIAL ASSESSMENT DISTRICT #2 for WALLED LAKE IMPROVEMENTS

## CONFIRMED BY RESOLUTION DATED: BEGINNING: ANNUAL INSTALLMENTS DUE:

6/3/2015 IN THE CITY OF NOVI, IN THE COUNTY OF OAKLAND, IN THE STATE OF MICHIGAN

	ANNOAL INSTALLMENTS DUE.		INTEREST RAT	<u>E:</u>	0.0000%					
ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-101-001		1.50	\$665.83	\$998.75	DATE PAID					
THEODORE S ANDRIS		UNIT								
ELANE ANDRIS	GROLL'S EDGEWATER SUB N 1/2 OF LOT 14.				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199.75
	ALSO ALL OF LOTS 16 & 18				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.75
	ALGO ALE OF LOTO TO & TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5108 CORNERS DR					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.75
WEST BLOOMFIELD MI 48322-3933										
50-22-02-126-005		1.00	\$665.83	\$665.83	DATE PAID					
DAVID CLARK II		UNIT								
	GROLL'S EDGEWATER SUB LOTS 11 & 12, ALSO				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
1123 EAST LAKE RD	S 1/2 OF LOTS 13 & 14				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1438	5 1/2 OF LOTS 13 & 14				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
50-22-02-126-006		1.00	\$665.83	\$665.83	DATE PAID					T
BRAUNSTEIN FAMILY TRUST		UNIT	******	*						
		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
1129 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 9 & 10				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 1111 40017 1400					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
					TOTAL	Ψ100.17	ψ100.17	ψ100.17	Ψ100.17	Ψ100.17
50-22-02-126-007		1.00	\$665.83	\$665.83	DATE PAID					+
TEGLER. FRANCIS TRUST		UNIT	φοσσ.σσ	Ψ000.00	3,1121,112					+
7202214,770 111070 771007		O T T T			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
1133 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 7 & 8				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1438	SINGLE G EBGEWATER GGB EGTG T & G				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 40077 - 1400					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
					TOTAL	φ133.17	ψ133.17	ψ133.17	φ133.17	ψ133.17
50-22-02-126-008		1.00	\$665.83	\$665.83	DATE PAID					+
DARLENE ARNOT		UNIT	Ψ000.00	ψ000.00	DATETALD					+
DANLENE ANNOT		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
1141 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 5 & 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1438	CITOLE O EDGE WITTER GOD EGTO O G O				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 403/1-1400					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
					TOTAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100.17
50-22-02-126-009		1.00	\$665.83	\$665.83	DATE PAID					+
CHESTER MARENDA		UNIT	ψυυυ.υυ	ψυυυ.υυ	DATEFAID					+
OTILGTER WARLINDA		CIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
143 EAST LAKE RD	GROLL'S EDGEWATER SUB LOTS 1 TO 4 INCL				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377	SKOLLO LOGEWATER SOD LOTS 1 TO 4 INCL		1		INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
33625 YORKRIDGE ROAD			1		TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
FARMINGTON HILLS MI 48331-1548					IOTAL	φ133.1 <i>1</i>	φ133.1 <i>1</i>	φ133.17	φ133.17	φ133.17
50-22-02-127-001		1.00	\$665.83	\$665.83	DATE PAID					+
JOHN EROYAN			\$000.00	\$000.03	DATE PAID					+
		UNIT			DALANCE	<b>PEGE 00</b>	¢520.00	\$200 F0	<b>የ</b> ንድር 33	¢400.47
PHYLLIS EROYAN	SHORE ACRES SUB LOTS 75 & 76				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
1149 EAST LAKE RD	2UOKE MOKES 20B F012 12 & 16				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1438					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17

Page 1 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-001		1.00	\$665.83	\$665.83	DATE PAID					
HARVEY G MARKOWITZ		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	SHORE ACRES SUB LOT 77				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1153 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1438										
50-22-02-151-002		1.00	\$665.83	\$665.83	DATE PAID					
HARVEY G MARKOWITZ		UNIT								
	011005 40050 0110 1 07 70				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	SHORE ACRES SUB LOT 78				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4450 F FAOT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1153 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1438		4.00	\$005.00	Ф005 00	DATE DAID					
50-22-02-151-003		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
JOHN L KERN KIMBERLY A KERN		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	<b>የ</b> ጋርር ጋጋ	\$133
NIVIDERL'I A NEKN	SHORE ACRES SUB LOT 79								\$266.33	\$133
	SHOKE ACKES SUB LOT 19				PRINCIPAL INTEREST	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17	\$133.17 \$0.00	\$133
3099 RIDGEMONT ST					TOTAL	\$133.17	\$133.17	\$0.00 \$133.17	\$133.17	\$133
COMMERCE TOWNSHIP MI 48382-3875					TOTAL	φ133.1 <i>1</i>	φ133.17	φ133.17	\$133.17	φ133.
50-22-02-151-006		1.00	\$665.83	\$665.83	DATE PAID					
ANEMARIE M MCDONALD		UNIT	ψ003.03	ψ005.05	DATETAID					
CHRISTOPHER MCDONALD		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
OTINIOTOT TIEN MODONALD	SHORE ACRES SUB LOT 82				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	GHORE RORLS SOB EST SE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1171 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1438						ψ.σσ	ψ.σσ	ψ.σσ	<b>V.00</b>	ψ.σσ.
50-22-02-151-007		1.00	\$665.83	\$665.83	DATE PAID					
ANEMARIE M MCDONALD		UNIT	***************************************	<b>V</b>						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	SHORE ACRES SUB LOT 83				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1171 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1438										
50-22-02-151-008		3.00	\$665.83	\$1,997.49	DATE PAID					
BCM NOVI LLC		UNIT								
					BALANCE	\$1,997.49	\$1,597.99	\$1,198.49	\$799.00	\$399
	SHORE ACRES SUB LOTS 84 & 85				PRINCIPAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4832 RICHMOND RD., STE 200					TOTAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
CLEVELAND, OH 44128										
50-22-02-151-009		1.00	\$665.83	\$665.83	DATE PAID					
MARY M LANGAN		UNIT								
	CHORE ACRES SUB LOT SS				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SHORE ACRES SUB LOT 86				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
20202 PALEOUP DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
30393 BALFOUR DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-3904		1.00	reer oo	\$665.00	DATE PAID	 				1
50-22-02-151-010 MARY RIDENOUR		1.00	\$665.83	\$665.83	DATE PAID			1		
		UNIT			BALANCE	¢cce oo	\$532.66	\$200 F0	¢266.33	\$133
THURMAN RIDENOUR	SHORE ACRES SUB LOT 87, ALSO NLY 6.82 FT				PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133
	OF LOT 88				INTEREST	\$133.17	\$133.17	\$133.17	\$133.17	\$133. \$0.0
1189 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.

Page 2 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-013		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT G MARTELL	THAT PART OF NW FRC 1/4 LYING BET	UNIT								
NATALIE M MARTELL	SIDELINES EXT WLY OF LOT 53 OF 'SHORE				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	ACRES SUB' & BET WALLED LAKE & WALLED				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
	LAKE-NOVI RD 0.04 AMN23B				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
129 EAST LAKE RD	EMILE NOVIND 6.64 / WINZOB				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377										
50-22-02-151-016		1.50	\$665.83	\$998.75	DATE PAID					
BRIAN G GABEL		UNIT								
					BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199.7
1250 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 1				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.7
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.
50-22-02-151-017		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT M CUMMINGS TRUST		UNIT			DAI	#00= cc	0500.00	0000 70	000000	
40-4-5-0-1-445-0-0	OLIDED VIOLENCE DI ATAMO A COTA				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1254 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 2				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 250741					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WEST BLOOMFIELD MI 48325		4.00	<b>#</b> 005.00	<b>*</b>	DATE DAID					
50-22-02-151-018		1.00	\$665.83	\$665.83	DATE PAID					
JOYE THOMPSON HARRIS TRUST		UNIT			DALANOE	<b>\$005.00</b>	Ф <b>г</b> оо оо	\$000 F0	#000 00	<b>#</b> 400
1256 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 3				BALANCE PRINCIPAL	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
NOVI MI 48377-1439	SUPERVISOR S PLAT NO 1 LOT 3				INTEREST	\$133.17	\$133.17 \$0.00	\$133.17	\$133.17	\$133.
NOVI IVII 40377-1439					TOTAL	\$0.00 \$133.17	\$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.0 \$133
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
50-22-02-151-019		1.00	\$665.83	\$665.83	DATE PAID					
ROGER PALMER		UNIT	φοσο.σσ	Ψ000.00	DATETAID					
C/O FRIED PORTER PLLC		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1258 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 4				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377	COLEKVICOKO LEXI NO LEGI 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
29800 TELEGRAPH					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
TROY MI 48084					TOTAL	Ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100
50-22-02-151-020		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL LANGAN		UNIT	φοσο.σσ	ψοσοίσο	3,1121,112					
PATRICIA CORNISH		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1260 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 5				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1466					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1225 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377						·				
50-22-02-151-021		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT & DEBORAH ANDREWS TR		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1262 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
50.00.00.454.000		4.00	<b>#</b> 005.00	<b>#</b> 005.00	DATE DATE					1
50-22-02-151-022		1.00	\$665.83	\$665.83	DATE PAID					1
DAVID KOBYLAREK		UNIT			DALANCE	<b>የ</b> ድር  00	<b>¢</b> E20.00	¢200 50	¢260.22	£400
SUSAN KOBYLAREK	CLIDEDVICODIS DI AT NO 4 I OT 7				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1270 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 7				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	1	ii I		1	TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.

Page 3 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-023		1.00	\$665.83	\$665.83	DATE PAID					
BRADLEY ARMSTRONG		UNIT			DALANOE	<b>#</b> 005.00	<b>#</b> 500.00	\$000 F0	\$000.00	<b>#</b> 400.4
1280 EAST LAKE RD NOVI MI 48377-1439	SUPERVISOR'S PLAT NO 1 LOT 8				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133.1 \$133.1
NOVI WII 46377-1439	SUPERVISOR'S PLATINO 1 LOT 6				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					TOTAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100.
50-22-02-151-024		1.00	\$665.83	\$665.83	DATE PAID					
NOORI KARMO		UNIT								
JORJIT KARMO					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1284 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 9				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-025		1.00	\$665.83	\$665.83	DATE PAID					
THOMAS D BORITZKI		UNIT	φ000.00	φ003.03	DATEFAID					
STEFANIE A LORING BORITZKI		ONIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1286 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 10				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-026		1.00	\$665.83	\$665.83	DATE PAID					
KYLE MURPHY		UNIT								
LORI MURPHY	01105011000100114511041054				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1288 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 11				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-027		1.00	\$665.83	\$665.83	DATE PAID					
JEROME J NELL TRUST		UNIT	ψοσο.σσ	Ψοσο.σο	5/11217115					
		27.111			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1292 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 NLY 45 FT OF LOT 12				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
809 E WALLED LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48309										
50-22-02-151-028		1.00	\$665.83	\$665.83	DATE PAID					
ASA SMITH		UNIT			DALANOE	<b>#</b> 005.00	<b>#</b> 500.00	\$000 F0	\$000.00	£400
CAROL SUE SMITH 1294 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 12 EXC NLY 45				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133 \$133
NOVI MI 48377-1439	FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133
110 11 101 1 1100					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					1	*******	7	********	<b>T</b>	Ţ.00
50-22-02-151-029		1.00	\$665.83	\$665.83	DATE PAID					
JASON W SHAMOUN		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1296 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 13				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1439					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-030		1.00	\$665.83	\$665.83	DATE PAID					1
HARRY & BELINDA KUBBE TRUST		UNIT	φυυυ.ου	φυυσ.σσ	DATERAID	-				
HARM & DELINDA NODDE INOGI		CIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1300 EAST LAKE RD	SUPERVISOR'S PLAT NO 1 LOT 14				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
										, ,,

Page 4 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		_		INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-02-151-031		0.00	\$665.83	\$0.00	DATE PAID					
RICHARD TITSWORTH		UNIT								
					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	SHORE ACRES SUB LOT 1				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1304 EAST LAKE RD					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI MI 48377-1441										
50-22-02-151-032		1.00	\$665.83	\$665.83	DATE PAID					
RICHARD D TITSWORTH		UNIT								
1304 EAST LAKE RD					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
NOVI MI 48377-1441	SHORES ACRES SUB LOT 2 & N 1/2 OF LOT 3				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-033		1.00	\$665.83	\$665.83	DATE PAID					
RYAN MICHAEL SZOSTEK		UNIT								
LINDSAY SZOSTEK	SHORE ACRES SUB S 1/2 OF LOT 3 & ALL OF				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1310 EAST LAKE RD	LOT 4				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
		4.00	<b>^</b>	<b>^</b>	D					
50-22-02-151-034		1.00	\$665.83	\$665.83	DATE PAID					
BRUCE BRYDA		UNIT			DALANIOE	0005.00	<b>#</b> 500.00	<b>#</b> 000 50	<b>#</b> 000 00	0400
CINDY C BRYDA	011005 40050 0110 1 07 5 9 M 9 57 05 1 07 9				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1312 EAST LAKE RD	SHORE ACRES SUB LOT 5 & N 2 FT OF LOT 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-035		1.00	\$665.83	\$665.83	DATE PAID					
ERIC D NESSEL		UNIT	φ005.05	ψ005.05	DATEFAID					
PATRICIA E NESSEL		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1314 EAST LAKE RD	SHORE ACRES SUB LOT 6 EXC N 2 FT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1441	CHOILE MONES GOD EST O EMOTIVE T				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 VI WII 40377-1441					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					101712	Ψ100.11	φ100.17	ψ100.11	ψ100.11	ψισο
50-22-02-151-036		1.00	\$665.83	\$665.83	DATE PAID					
MARK RUBENSTEIN		UNIT	*	,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1316 EAST LAKE RD	SHORE ACRES SUB LOT 7				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-037		1.00	\$665.83	\$665.83	DATE PAID					
DENNIS SMITH		UNIT			B	<b>^</b>	<b>^-</b>	2000 50		
KIMBERLEY SMITH	CHORE ACRES CHR LOT S				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1320 EAST LAKE RD	SHORE ACRES SUB LOT 8				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1441					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-038		1.00	\$665.83	\$665.83	DATE PAID			1		
JAY D MARTIN JR		UNIT	φυυυ.ου	φυυυ.ου	DATERAID					
1322 EAST LAKE RD		CIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
NOVI MI 48377-1441	SHORE ACRES SUB LOT 9				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
140 VI IVII -100/ / - 177	SHOKE MOKES SOS EST S				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	1	ii l		1	101/1	ψ100.17	ψ100.17	ψ100.17	Ψ100.17	ψισο

Page 5 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
	ļ					2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-02-151-039	!	1.00	\$665.83	\$665.83	DATE PAID					
ROBERT S SALAMON	!	UNIT								
1326 EAST LAKE RD	!				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
NOVI MI 48377-1441	SHORE ACRES SUB LOT 10				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	!				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-151-040		1.00	\$665.83	\$665.83	DATE PAID					
JOHN CARPENTER	!	UNIT								
MARY ANN CARPENTER	ļ				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1328 EAST LAKE RD	SHORE ACRES SUB LOT 11				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377	!				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1021 WILLOW LN	!				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
HOWELL MI 48843-8535			-							
50-22-02-151-041 MANKVITZ ENTERPRISES, LLC #6		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
WANKVIIZ ENTERPRISES, LLC #0	!	UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SHORE ACRES SUB LOT 12				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	SHOKE AGKEG GOD EGT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2990 STEEPLE HILL RD	!				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WHITE LAKE MI 48383-1863	!				TOTAL	Ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψίου
50-22-02-151-043		1.00	\$665.83	\$665.83	DATE PAID					
JOSEPH M DEBRINCAT	ļ	UNIT	*****	,						
	SHORE ACRES SUB S 25 FT OF LOT 14 & N 15				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	FT OF LOT 15				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	FI OF LOT 15				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1339 E EAST LAKE RD	!				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442										
50-22-02-151-044	ļ	1.00	\$665.83	\$665.83	DATE PAID					
AUDREY WILSON	!	UNIT								
GORDON WILSON	SHORE ACRES SUB S 25 FT OF LOT 15 & ALL				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF LOT 16				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	0. 20. 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1345 EAST LAKE RD	!				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442			A	A	5.475.5415					
50-22-02-151-045	ļ	1.00	\$665.83	\$665.83	DATE PAID					
AUDREY WILSON	!	UNIT			DALANOE	<b>#</b> 005.00	ФE00.00	\$000 F0	<b>#000.00</b>	<b>#</b> 400
GORDON WILSON	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133 \$133
	See Assessors Office for Legal Description				INTEREST	\$133.17	\$133.17	\$133.17	\$133.17	\$133
1345 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442					IOIAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψισσ
50-22-02-151-046		1.00	\$665.83	\$665.83	DATE PAID					
JAMES KERR		UNIT	*	7	1					
JUDITH KERR					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
1349 E EAST LAKE RD										
NOVI MI 48377-1442				<b>#</b> 005.00	DATE PAID					
NOVI MI 48377-1442 50-22-02-151-047		1.00	\$665.83	\$665.83	DATETAID					
NOVI MI 48377-1442		1.00 UNIT	\$665.83	\$665.83		_	_			
NOVI MI 48377-1442 50-22-02-151-047			\$665.83	\$665.83	BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	
NOVI MI 48377-1442 50-22-02-151-047	See Assessors Office for Legal Description		\$665.83	\$665.83	BALANCE PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133 \$133
NOVI MI 48377-1442 50-22-02-151-047	See Assessors Office for Legal Description		\$665.83	\$665.83	BALANCE					

Page 6 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-02-151-048		1.00	\$665.83	\$665.83	DATE PAID					
TRACY GALLOWAY	THAT PART OF NW FRC 1/4 LYING WLY OF	UNIT								
	NOVI RD, ELY OF WALLED LAKE & BET N & S				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LOT LINES OF LOT 51 OF 'SHORE ACRES SUB'				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	AS EXT WLY TO SHORE OF WALLED LAKE 0.04				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1241 EAST LAKE RD	A				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1440										
50-22-02-151-049		1.00	\$665.83	\$665.83	DATE PAID					
JAMIE GROVES	THAT PART OF NW FRC 1/4 LYING WLY OF	UNIT								
ERIKA GROVES	NOVI RD, ELY OF WALLED LAKE, NLY OF LOT 89				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF 'SHORE ACRES SUB' & SLY OF NLY LINE OF				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	LOT 50 OF 'SHORE ACRES SUB' AS EXT WLY TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1245 EAST LAKE RD	SHORE OF WALLED LAKE 0.03 A				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1440										
50-22-02-151-051		1.50	\$665.83	\$998.75	DATE PAID					
RANDY J KERNEN	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT								
	LINE OF EAST LAKE DR BETWEEN SLY LINE OF				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
	LOT 58 & NLY LINE OF LOT 59 OF 'SHORE				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
	ACRES SUB', BOTH EXT WLY TO WATERS				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
1209 E EAST LAKE RD	EDGE OF WALLED LAKE 0.10 A				TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
NOVI MI 48377-1440										
50-22-02-151-052		1.00	\$665.83	\$665.83	DATE PAID					
ALAN DEZELL	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT								
	LINE OF EAST LAKE DR BETWEEN NLY & SLY				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LINES OF LOT 57 OF 'SHORE ACRES SUB',				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	BOTH EXT WLY TO WATERS EDGE OF WALLED				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
1217 E EAST LAKE RD	LAKE 0.06 A				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1440										
50-22-02-151-053		1.50	\$665.83	\$998.75	DATE PAID					
MICHAEL LANGAN	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT		,						
PATRICIA LANGAN	LINE OF EAST LAKE DR BETWEEN SLY LINE OF				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
	LOT 55 & NLY LINE OF LOT 56 OF 'SHORE				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
	ACRES SUB', BOTH EXT WLY TO WATERS				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
1225 E EAST LAKE RD	EDGE OF WALLED LAKE 0.10 A				TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
NOVI MI 48377-1440						<b>4</b> .33	<b>V</b>	<b>V</b> .000	<b>4</b> 100110	7.4
50-22-02-151-054		1.00	\$665.83	\$665.83	DATE PAID					
JOHN WYATT SMITH	THAT PART OF NW FRC 1/4 LYING W OF WLY	UNIT	+5.00	Ţ0.00						
	LINE OF EAST LAKE DR BETWEEN NLY & SLY	J			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LINES OF LOT 54 OF 'SHORE ACRES SUB',				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	BOTH EXT WLY TO WATERS EDGE OF WALLED				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
1227 EAST LAKE RD	LAKE 0.04 A				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
NOVI MI 48377-1440						<del>+</del>	Ţ.20,	Ţ.20	Ţ	Ţ.O.
50-22-02-151-055		1.00	\$665.83	\$665.83	DATE PAID					İ
MICHAEL CONDON		UNIT		,						
JODIE CONDON					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	222.12222222222222222222222222222222222				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1193 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1438					10171	ψ100.17	ψ100.17	ψ100.17	ψ100.17	Ψισο
50-22-02-151-056		1.00	\$665.83	\$665.83	DATE PAID					
DAVID GALLOWAY &	SHORE ACRES SUB NLY 66 FT OF SLY 132 FT	UNIT	ψοσο.σσ	Ψ000.00	5,					1
NANCY GALLOWAY TRUST	OF FOL DESC PCL LOT 88, ALSO PART OF NW	0.411			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
MANOT GALLONAT INGGI	1/4 STRIP OF LAND LYING W OF WLY LINE OF E				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	LAKE RD BETW NLY LINE OF LOT 59 & SLY LINE				INTEREST	\$133.17	\$0.00	\$0.00	\$0.00	\$133
	OF LOT 88 BOTH EXT WLY TO WATER'S EDGE				TOTAL	\$0.00 \$133.17	\$133.17	\$133.17	\$133.17	\$0. \$133
1197 E LAKE RD										

Page 7 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-151-057	SHORE ACRES SUB NLY 66 FT OF FOL DESC	1.00	\$665.83	\$665.83	DATE PAID					
GREGG ARMSTRONG	PCL LOT 88, ALSO PART OF NW 1/4 STRIP OF	UNIT								
	LAND LYING W OF WLY LINE OF E LAKE RD				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
	BETW NLY LINE OF LOT 59 & SLY LINE OF LOT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
	88 BOTH EXT WLY TO WATER'S EDGE OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1203 EAST LAKE RD	WALLED LAKE 0.07 A 7-5-95 FR 050				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1440		1								
50-22-02-151-058		1.50	\$665.83	\$998.75	DATE PAID					
CAROL KERNEN		UNIT			5		<b>^-</b>	<b>^</b>	*****	A
	011005 40050 0110 1070 00 0 04				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199.75
	SHORE ACRES SUB LOTS 80 & 81				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.75
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1167 E EAST LAKE RD					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.75
NOVI MI 48377-1438										
50-22-02-176-008		0.20	\$665.83	\$133.17	DATE PAID					
JENNIFER BOYLAN		UNIT			5	<b>*</b> * * * * * * * * * * * * * * * * * *	A	<b>A=</b> 2 22	^	***
COLLEEN BOYLAN	011005 40050 0110 1 07 40				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
1247 EAST LAKE RD	SHORE ACRES SUB LOT 49				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1391 EAST LAKE RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1440			<b>^</b>	<b>^</b> 122.1 <b>=</b>	5.475.5415					
50-22-02-176-009		0.20	\$665.83	\$133.17	DATE PAID					
RALPH C MCINTYRE		UNIT			5	<b>*</b> * * * * * * * * * * * * * * * * * *	A	<b>^</b>	^	***
1000 EAGT LAVE DD	011005 40050 0110 1 070 47 0 40				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
1253 EAST LAKE RD	SHORE ACRES SUB LOTS 47 & 48				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-02-176-011		0.00	ФССЕ 02	£400.47	DATE PAID					
DEBRA MEYERS		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
DEBRA METERS		UNIT			DALANCE	£400.47	¢400 F2	<b>#70.00</b>	ФE0.07	<b>#</b> 00.00
4075 FACT LAKE DD	SHORE ACRES SUB LOTS 42 & 43				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
1275 EAST LAKE RD	SHORE ACKES 30B LOTS 42 & 43				PRINCIPAL INTEREST	\$26.63	\$26.63	\$26.63	\$26.63 \$0.00	\$26.63
NOVI MI 48377-1440					_	\$0.00	\$0.00	\$0.00		\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-02-176-012		0.20	\$665.83	\$133.17	DATE PAID					
BRAD ARMSTRONG		UNIT	φ003.03	ψ133.17	DATEFAID					
BRAD ARING I RONG		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
1283 EAST LAKE RD	SHORE ACRES SUB LOT 41				PRINCIPAL	\$133.17	\$106.53	\$26.63	\$26.63	\$26.63
NOVI MI 48377	SHOKE AGKES SOB EOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 700287					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
PLYMOUTH MI 48170-0945					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	φ20.03
50-22-02-176-013		0.20	\$665.83	\$133.17	DATE PAID					
BRAD ARMSTRONG		UNIT	φυυυ.ου	φ133.17	DATERAID					
DIAD ANNOTHONG		CIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
	SHORE ACRES SUB LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
	CHOILE MONES SOD LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.03
PO BOX 700287					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
PLYMOUTH MI 48170-0945					IOIAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	ψ20.00
50-22-02-176-015		0.20	\$665.83	\$133.17	DATE PAID	1				
ROBERT PAINE		UNIT	ψοσο.σσ	ψ100.17	DATE I AID					
COLLEEN WIVELL		CIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
1291 EAST LAKE RD	SHORE ACRES SUB LOT 38				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	GHOILE AGILLO SOD LOT SO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$0.00	\$0.00	\$26.63
48409 CASTLESIDE DR										

Page 8 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-176-016		0.20	\$665.83	\$133.17	DATE PAID					
EARL BROOKS		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1291 EAST LAKE RD	SHORE ACRES SUB LOT 37				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-02-176-017		0.20	\$665.83	\$133.17	DATE PAID					
VINCENT KOZA		UNIT	φ003.03	\$133.17	DATE PAID					
TINOENT NOZA		O NI I			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1295 EAST LAKE RD	SHORE ACRES SUB LOTS 35 & 36				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-02-176-019		0.20	\$665.83	\$133.17	DATE PAID					
CHRISTIAN BRANDEMIHL		UNIT								
ERIN O'LEARY BRANDEMIHL	SHORE ACRES SUB N 19.50 FT OF LOT 45,				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1255 EAST LAKE RD	ALSO ALL OF LOT 46				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1440					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-02-176-020		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL LANGAN		UNIT	φ000.00	ψ133.17	DATEFAID					
PATRICIA A LANGAN		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1259 EAST LAKE RD	SHORE ACRES SUB LOT 44, ALSO LOT 45 EXC				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1440	N 19.50 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1225 EAST LAKE RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377						Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	<b>\$20.</b>
50-22-02-177-002		0.20	\$665.83	\$133.17	DATE PAID					
ADAM BELL		UNIT								
KRISTEN BELL					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1309 EAST LAKE RD	SHORE ACRES SUB LOTS 30 & 31				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50.00.00.477.005		0.00	<b>A</b> 005.00	040047	DATE DAID					
50-22-02-177-005 ISALY SZETELA		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MARK SZETELA		OINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1317 EAST LAKE RD	SHORE ACRES SUB LOT 27				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1442	0.101127101120 000 201 21				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11111 10011 1112					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						, ,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,	,	Ţ_0.
50-22-02-177-006		0.20	\$665.83	\$133.17	DATE PAID					
DENNIS J SHRADER		UNIT								
MARY M SHRADER					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1319 EAST LAKE RD	SHORE ACRES SUB LOT 26				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
30393 BALFOUR DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-3904		0.55	<b>A</b> 007.00	0400 17	DATE SAIS					
50-22-02-177-007		0.20	\$665.83	\$133.17	DATE PAID			-		
DENNIS SMITH		UNIT			DALANCE	¢420.47	\$100 FO	<b>\$70.00</b>	<b>#</b> E0.07	<b>#00</b>
1222 FACT LAKE DD	SHODE VODES SHELOT SE				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1323 EAST LAKE RD	SHORE ACRES SUB LOT 25				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0 \$0.0
NOVI MI 48377 1320 EAST LAKE RD					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$26.0

Page 9 of 172 6/4/2015 4-25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<u> </u>	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-02-177-008		0.20	\$665.83	\$133.17	DATE PAID					
TOMOR LINATOPI		UNIT								
MIRJETA LINATOPI					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1325 EAST LAKE RD	SHORE ACRES SUB LOT 24				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-02-177-009		0.20	\$665.83	\$133.17	DATE PAID					
MANKVITZ ENTERPRISES LLC #6		UNIT	***************************************	***************************************						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	SHORE ACRES SUB LOT 23				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2990 STEEPLE HILL RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WHITE LAKE MI 48383-1863						7=0.00	<b>V</b> =0.00	<b>V</b> =0.00	7=0.00	7
50-22-02-177-012		0.20	\$665.83	\$133.17	DATE PAID					
JOSEPH VICTORIA DEBRINCAT TR		UNIT	*							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1339 EAST LAKE RD	SHORE ACRES SUB LOT 20				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-02-177-013		0.20	\$665.83	\$133.17	DATE PAID					
AUDREY WILSON		UNIT								
GORDON WILSON					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1345 EAST LAKE RD	SHORE ACRES SUB LOTS 18 & 19				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-02-177-014		0.20	\$665.83	\$133.17	DATE PAID					
JAMES KERR		UNIT	ψ000.00	Ψ100.17	BATETAID					
JUDITH KERR		O. t.i.			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1349 EAST LAKE RD	SHORE ACRES SUB LOT 17				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1442	0.101127101120 000 201 11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11111111111111111111111111111111111					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						<b>\$20.00</b>	Ψ20.00	Ψ20.00	Ψ20.00	<b>\$25</b>
50-22-02-177-031 IOSIF ARPASI	SHORE ACRES SUB LOT 29, ALSO PART OF NW	0.20 UNIT	\$665.83	\$133.17	DATE PAID					
IRINA ARPASI	FRC 1/4 BEG AT PT DIST N 00-02-00 E 431.40 FT	UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
IMINA AINE AGI	& S 88-49-40 W 878.90 FT & N 86.35 FT FROM				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	CEN OF SEC, TH N 40 FT, TH S 83-32-50 W 69.04				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20
28300 MEADOWBROOK RD	FT, TH S 40 FT, TH N 83-32-50 E 69.04 FT TO				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-3130	BEG				1017.2	Ψ20.00	Ψ25.00	Ψ20.00	Ψ20.00	ΨΖΟ
50-22-02-177-032	CHORE ACRES CHR LOT SO ALSO DART OF AUAI	0.20	\$665.83	\$133.17	DATE PAID					
1315 EAST LAKE, LLC	SHORE ACRES SUB LOT 28, ALSO PART OF NW	UNIT	•							
•	FRC 1/4 BEG AT PT DIST N 00-02-00 E 431.40 FT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	& S 88-49-40 W 878.90 FT & N 46.35 FT FROM				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	CEN OF SEC TH N 40 FT, TH S 83-32-50 W 69.04				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
325 E JEFFERSON #5	FT, TH S 40 FT, TH N 83-32-50 E 69.04 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
ANN ARBOR MI 48104	DEG									
50-22-02-177-039		0.20	\$665.83	\$133.17	DATE PAID					
PRADEEP KUMAR D NAIR		UNIT								
RAJEE NAIR	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
42750 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 1 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	1	11		1	i	1	1	1	1	1

Page 10 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-02-177-040		0.20	\$665.83	\$133.17	DATE PAID					
STEVEN ARNOLD		UNIT								
OLIVIA D ARNOLD	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
42720 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 2 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	0 20 0				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
E0 22 02 477 044		0.20	TEEF 92	¢422.47	DATE DAID					
50-22-02-177-041 FADI HAKIM TRUST		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
THE THE THEORY	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
42690 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 3 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						•	*	•	*	
50-22-02-177-042		0.20	\$665.83	\$133.17	DATE PAID					
DAVID LEPLEY	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	UNIT			DALANCE	¢400.47	£400 F0	Ф <b>7</b> 0 00	<b>ФГО О</b> 7	ተ ጋር
RAGHAD KHOURY					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
42660 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 4 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1778 GOLF RIDGE DR S BLOOMFIELD HILLS MI 48302					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-02-177-043		0.20	\$665.83	\$133.17	DATE PAID					
REUBEN LEVY		UNIT	•	,						
JILL LEVY	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
42630 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 5 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-02-177-044		0.20	\$665.83	\$133.17	DATE PAID					
PAUL MAKHOULIAN		UNIT	ψ003.03	Ψ133.17	DATETAID					
SUZY MAKHOULIAN	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
42600 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 6 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
100 VI 1011 4037 7	0-20-0111027				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	ΨΖΟ
50-22-02-177-045		0.20	\$665.83	\$133.17	DATE PAID					
MEHRAN SALARI	CONDOMINIUM DI ANIMO 4070 MODOANI ODEEK	UNIT			541 41105	<b>#</b> 400.4 <b>7</b>	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	<b>#50.07</b>	000
FRANCES CORDTS	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
42605 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 7 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-02-177-046		0.20	\$665.83	\$133.17	DATE PAID					
CORRINE GOUGH		UNIT	•							
HOLLY TUCKER	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
42635 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 8 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-02-177-047		0.20	\$665.83	\$133.17	DATE PAID					
AARON LINK		UNIT	φυυ3.03	φ133.17	DATE PAID					
KELLY LINK	CONDOMINIUM PLAN NO 1370 MORGAN CREEK	0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
42665 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 9 L 23526 P 465				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI IVII TOOTT	0 20-01111 021				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
							WEU.UU	WEU.UU	WEU.UU	DZU.

Page 11 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-02-177-048		0.20	\$665.83	\$133.17	DATE PAID					
DONALD MACIAG JR.		UNIT								
DIANA GIBBS	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
42695 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 10 L 23526 P				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
14 SLEEPY HOLLOW DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
PLYMOUTH MA 02360										
50-22-02-177-049		0.20	\$665.83	\$133.17	DATE PAID					
KRIKOR BEDROSSIAN	CONDOMINIUM DI ANINO 4070 MODO ANI ODEEK	UNIT			5	<b>*</b>	<b>*</b> * * * * * * * * * * * * * * * * * *	<b>^</b>	<b>^</b>	
NYRIE BEDROSSIAN	CONDOMINIUM PLAN NO 1370 MORGAN CREEK				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
42725 MORGAN CREEK	ESTATES CONDOMINIUMS UNIT 11 L 23526 P				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	465 8-23-01 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
			<b>^</b>	A.c=	5.75 5.15					
50-22-02-177-050		0.20	\$665.83	\$133.17	DATE PAID					
JOSHUA C ROBINSON	CONDOMINIUM DI ANI NO 1270 MODOANI CREEK	UNIT			DALANCE	¢400.47	¢400 F2	Ф <b>7</b> О ОО	<b>Ф</b> ГО О7	ተ ጋር
ERIN E ROBINSON	CONDOMINIUM PLAN NO 1370 MORGAN CREEK ESTATES CONDOMINIUMS UNIT 12 L 23526 P				BALANCE	\$133.17	\$106.53 \$26.63	\$79.90	\$53.27 \$26.63	\$26
42755 MORGAN CREEK NOVI MI 48377	465 8-23-01 FR 027				PRINCIPAL INTEREST	\$26.63 \$0.00	\$0.00	\$26.63 \$0.00	\$0.00	\$26. \$0.
NOVI IVII 48377	403 0-23-01 FK 021				TOTAL	\$0.00 \$26.63	\$26.63	\$26.63	\$26.63	\$0. \$26
					TOTAL	φ20.03	\$20.03	\$20.03	\$20.03	φ20.
50-22-02-326-003		1.50	\$665.83	\$998.75	DATE PAID					
ANTHONY HOPECK	THAT PART OF SW FRC 1/4 LYING BET LOTS	UNIT	ψ000.00	ψ330.73	DATETAID					
ANTHON HOLLON	185 & 186 'CHAPMAN WALLED LAKE SUB' &	Olvil			BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
1354 EAST LAKE RD	LYING E OF E SHORE OF WALLED LAKE & W OF				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
NOVI MI 48377	W LINE OF WALLED LAKE-NOVI RD 0.04 A				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	MN26				TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
						•				
50-22-02-326-004		1.00	\$665.83	\$665.83	DATE PAID					
KATHERINE E ZORBAS		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 185				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
111 WENTWORTH DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
HENDERSON NV 89074										
50-22-02-326-005		1.00	\$665.83	\$665.83	DATE PAID					
TONI R METTE		UNIT								
BRUCE C METTE	OLIA DIMANI MATERIA META CARRESTO DE LA CONTRA CONT				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 184				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
40050 MILL DONID OT					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
40052 MILLPOND CT					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NORTHVILLE MI 48168-3419		1.00	ФССТ 0.0	<b>\$665.00</b>	DATE DAID					
50-22-02-326-008		1.00	\$665.83	\$665.83	DATE PAID					
LAWRENCE L LANG		UNIT			DALANCE	¢cce oo	<b>\$</b> E22.66	\$200 F0	¢266.22	¢400
	CHAPMAN WALLED LAKE SUB LOT 180				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133 \$133
	OTTAL WALLED LAKE GOD LOT 100				INTEREST	\$133.17	\$0.00	\$0.00	\$0.00	\$133
1369 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442					IOIAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψισο
50-22-02-326-009		1.00	\$665.83	\$665.83	DATE PAID	<u> </u>				
LAWRENCE L LANG		UNIT	ψοσο.σο	ψ000.00	5,11217110					
		0.111			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 179				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1369 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442				I	1					7.50

Page 12 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-02-326-010		1.00	\$665.83	\$665.83	DATE PAID					
ANGELA MAHER		UNIT								
	CHAPMAN WALLED LAKE SUB LOTS 176, 177 &				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	178				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	170				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1375 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442										
50-22-02-326-011		1.00	\$665.83	\$665.83	DATE PAID					
ANITHA CHACKO		UNIT								
	0				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1381 EAST LAKE RD	CHAPMAN WALLED LAKE SUB LOT 175				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-326-012		1.00	\$665.83	\$665.83	DATE PAID					
OLEN C TONEY		UNIT			5	A	<b>^=</b>	A	*****	<b>A</b>
	CHAPMAN WALLED LAKE SUB N 1/2 OF LOT 173				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	& ALL OF LOT 174				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
400 F F 40 T 1 4 1/F D D	<u>-</u>				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1385 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442			<b>^</b>	<b>***</b>	D					
50-22-02-326-013		1.00	\$665.83	\$665.83	DATE PAID					
CARL ENGLING		UNIT			54144105	<b>#</b> 005.00	<b>#</b> 500.00	<b>#</b> 000 50	0000.00	0400
LISA ENGLING	CHAPMAN WALLED LAKE SUB LOT 172 EXC S 3				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	FT ALSO S 1/2 OF LOT 173				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4000 E E 40E 447E DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1389 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442		4.00	<b>\$005.00</b>	<b>\$005.00</b>	DATE DAID					
50-22-02-326-014		1.00	\$665.83	\$665.83	DATE PAID					
DAVID M BOUREN		UNIT			54144105	<b>\$</b> 005.00	<b>#500.00</b>	<b>#</b> 000 50	<b>#</b> 000 00	0400
1004 FAOT LAKE DD	CHAPMAN WALLED LAKE SUB LOT 171 & S 3 FT				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1391 EAST LAKE RD	OF LOT 172				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
E0 22 02 22C 04E		4.00	<b></b>	ФСС <u>Г</u> 02	DATE PAID					
50-22-02-326-015		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
EDDIE & LORRAINE PETERS TR		UNII			DALANCE	<b>ተ</b> ርርር በጋ	<b>ФЕОО СС</b>	\$200 F0	#200 22	\$133
	CHAPMAN WALLED LAKE SUB NLY 1/2 OF LOT				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133
	169 & ALL OF LOT 170				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133
1393 EAST LAKE RD					TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$133.17	\$0.00 \$133.17	\$133
NOVI MI 48377-1442					IOTAL	φ133.17	φ133.17	φ133.17	φ133.17	\$133
50-22-02-326-019		1.00	\$665.83	\$665.83	DATE PAID	1		1	1	
DAVID A HALL		UNIT	φυυυ.ου	φυυσ.σσ	DATERAID	1				
CAROLYN F HALL		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
OANOL IN I HALL	CHAPMAN WALLED LAKE SUB LOT 165				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
1399 EAST LAKE RD	OTTAL WALLED LAKE GOD LOT 105				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133
NOVI MI 48377-1442					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
140 V 1 (VIII 400/ / - 1442					TOTAL	ψ133.17	ψ100.17	ψ100.17	ψ100.17	φιοσ
50-22-02-326-020		1.00	\$665.83	\$665.83	DATE PAID					+
DAVID A HALL		UNIT	ψοσο.σσ	ψοσο.σσ	DATETAID	-				
CAROLYN F HALL		CIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
OANOL IN I HALL	CHAPMAN WALLED LAKE SUB LOT 164				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OTTAL WALLED LAKE SOD LOT 104				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133
1399 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$0. \$133

Page 13 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-02-326-021		1.50	\$665.83	\$998.75	DATE PAID					
BRENT BESHEARS		UNIT								
ALPHA BESHEARS	CHAPMAN WALLED LAKE SUB LOTS 166, 167 &				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199.
	168, ALSO SLY 1/2 OF LOT 169 5-21-99 FR 016,				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
	017 & 018				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1395 E EAST LAKE RD					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
NOVI MI 48377-1442					TOTAL	Ψ100.70	ψ100.70	ψ100.70	ψ100.70	ψ100
50-22-02-326-022		1.00	\$665.83	\$665.83	DATE PAID					
			φ000.03	φ003.03	DATE PAID					
ROBERT MATTHEWS		UNIT			DALANIOE	<b>#</b> 005.00	<b>#500.00</b>	#000 F0	<b>#</b> 000 00	<b>0.400</b>
CARMEN MATTHEWS	CHAPMAN WALLED LAKE SUB LOTS 181. 182 &				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	183				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1367 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442										
50-22-02-327-001		1.00	\$665.83	\$665.83	DATE PAID					
EDDIE & LORRAINE PETERS TR		UNIT		,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 163				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OTHER WATER DESIGNATION				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1393 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					TOTAL	\$133.17	φ133.1 <i>1</i>	\$133.17	\$133.17	\$133
NOVI MI 48377-1442		4.00	<b>#</b> 005.00	<b>\$005.00</b>	DATE DAID					
50-22-02-327-002		1.00	\$665.83	\$665.83	DATE PAID					
EDDIE & LORRAINE PETERS TR		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 162				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1393 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1442										
50-22-02-327-003		1.00	\$665.83	\$665.83	DATE PAID					
LAUREN B POBER		UNIT	ψ000.00	4000.00	27.1.2.7.1.2					
EAGNEN BY OBEN		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 161				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	CHAPINAN WALLED LAKE 30B LOT 101									
4.405 EA OT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1405 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2050										
50-22-02-327-004		1.00	\$665.83	\$665.83	DATE PAID					
ANDREW R SOBOROWSKI		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 160				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1407 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2050						Ţ	Ţ	Ţ.:50	Ţ.:50	ψ.50
50-22-02-327-007		1.00	\$665.83	\$665.83	DATE PAID					
MARTIN YOUNG		UNIT	ψυυυ.υυ	ψυυυ.υυ	DATERAID					1
WANTIN TOUNG		UINII			DALANCE	<b>PCCE 02</b>	\$532.66	\$200 FO	tocc 22	\$133
	CHADMANI WALLED LAVE OUD LOT 457				BALANCE	\$665.83		\$399.50	\$266.33	
	CHAPMAN WALLED LAKE SUB LOT 157				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
474 0011 00					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
171 BRILL RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
HONESDALE PA 18431-7853										
50-22-02-327-008		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT C ERB TRUST		UNIT			1					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 156				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	I CHAPINAN WALLED LAKE SUB LUT 130									
	CHAPINAN WALLED LAKE SUB LOT 150						\$0.00	\$0.00	\$0.00	\$∩
1415 E EAST LAKE RD	CHAPINAN WALLED LAKE SUB LOT 130				INTEREST TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.0 \$133

Page 14 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-02-327-009		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT C ERB TRUST		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 155				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4445 F FAOT LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1415 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2050		4.00	<b>#</b> 205.00	<b>#</b> 205.00	DATE DAID					
50-22-02-327-010		1.00	\$665.83	\$665.83	DATE PAID					
MARK KOWALSKY		UNIT			DALANCE	<b></b>	<b>የ</b> ፫ሳሳ ሰር	¢200 F0	<b>#</b> 000 00	£400
PAUL D KOWALSKY	CHAPMAN WALLED LAKE SUB LOT 154				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPINAN WALLED LAKE SUB LOT 154				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
3509 BARBERRY CIR					INTEREST	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0. \$133
WIXOM MI 48393-1103					TOTAL	φ133.1 <i>1</i>	\$133.17	\$133.17	\$133.17	\$133
50-22-02-327-011	+	1.00	\$665.83	\$665.83	DATE PAID					
DONALD CULLEN		UNIT	φ005.65	φ000.00	DATE PAID					
PATRICIA CULLEN		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
PATRICIA CULLEN	CHAPMAN WALLED LAKE SUB LOT 153				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OTTAL WALLED LAKE GOD EGT 195				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2120 N PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3161					101712	Ψ100.11	ψ100.11	ψ100.17	ψ100.11	ψ100
50-22-02-327-012		1.00	\$665.83	\$665.83	DATE PAID					
DONALD J CULLEN		UNIT	φοσο.σσ	φοσο.σσ	5,11217115					
PATRICIA CULLEN		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
.,	CHAPMAN WALLED LAKE SUB LOT 152				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2120 N PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3161						*			,	,
50-22-02-327-013		1.00	\$665.83	\$665.83	DATE PAID					
WILLIAM TENNY		UNIT		·						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 151				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1505 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2051										
50-22-02-327-014		1.00	\$665.83	\$665.83	DATE PAID					
JILL LEVI TRUST		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 150				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
10000 110D 0 111 0DF=::					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
42630 MORGAN CREEK					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2051		4.00	<b>#</b> 005.00	#005.00	DATE DATE		1	1		1
50-22-02-327-015		1.00	\$665.83	\$665.83	DATE PAID		1			
MARGARET M RAPNICKI		UNIT			DALANOE	<b>#</b> 005 00	ФE00 00	<b>#202.52</b>	<b>#</b> 000 00	M400
	CHAPMAN WALLED LAKE SUB LOTS 148 & 149				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPINIAN WALLED LAKE SUB LUTS 148 & 149				PRINCIPAL INTEREST	\$133.17 \$0.00	\$133.17	\$133.17	\$133.17	\$133 \$0.
1513 E EAST LAKE RD					TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0. \$133
NOVI MI 48377-2051					TOTAL	ψ100.11	ψ100.17	φ100.17	φ133.17	φισσ
50-22-02-327-016		1.00	\$665.83	\$665.83	DATE PAID			1		
DELPHINE RZEPKA		UNIT	φυυο.οο	φυυσ.οσ	DATE PAID		1	+		
DELI IIIME NZEFNA		UINII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 147				PRINCIPAL	\$133.17	\$532.66 \$133.17	\$133.17	\$266.33	\$133
	OTAL WALLED LAKE SOD LOT 147				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133
1515 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
IOIO E EAOI LANE ND	1	l l			IOIAL	ψ100.17	ψ100.17	ψ100.11	ψ100.17	ψισο

Page 15 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-02-327-018		1.00	\$665.83	\$665.83	DATE PAID					
KIMBERLEE E LEVY		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 142				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1559 PARAMOUNT ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2084										
50-22-02-327-019		1.00	\$665.83	\$665.83	DATE PAID					
KIMBERLEE E LEVY		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 141				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1559 PARAMOUNT ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2084										
50-22-02-327-020		1.00	\$665.83	\$665.83	DATE PAID					
PHILIP MATTHES		UNIT			DAI 4110=	<b>4005.00</b>	<b>#</b> 500.00	#000 F0	<b>#</b> 000 00	0400
	0114 5144 1144 1155 1 41/5 0115 1 070 400 0 440				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOTS 139 & 140				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4500 F FAOT LAWE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1533 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2051		4.00	<b>^</b>	****	5.4== 5.45					
50-22-02-327-021		1.00	\$665.83	\$665.83	DATE PAID					
MARY GAVRILES		UNIT			DALANOE	<b>4005.00</b>	<b>#</b> 500.00	#000 F0	<b>#</b> 000 00	0400
	CHAPMAN WALLED LAKE SUB NLY 1/2 OF LOT				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	145 & ALL OF LOT 146				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4547 540T LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1517 EAST LAKE RD NOVI MI 48377-2051					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-327-022		1.00	\$665.83	\$665.83	DATE PAID					
JILL LEVY TRUST		UNIT	φ000.03	Φ000.03	DATE PAID					
JILL LEVI TRUST		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOTS 143 & 144 &				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	SLY 1/2 OF LOT 145				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
42630 MORGAN CREEK CT					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1460					IOIAL	φ133.17	ψ133.17	ψ133.17	ψ133.17	ψισο
50-22-02-327-023		1.00	\$665.83	\$665.83	DATE PAID					
KELLIE ROOKE		UNIT	φ000.00	φ003.03	DATEFAID					
JEFFREY ROOKE		ONIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
JE. MET MOORE	CHAPMAN WALLED LAKE SUB LOTS 158 & 159				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	0.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1409 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2050					101712	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100
50-22-02-354-002		1.00	\$665.83	\$665.83	DATE PAID					
MARK ADAMS		UNIT	Ţ-10.00	<b>4.30.00</b>						
ELIZABETH ADAMS					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 106				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1721 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054						·	·			
50-22-02-354-006		1.00	\$665.83	\$665.83	DATE PAID					
GEORGE K RILEY		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 110				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1728 PARAMOUNT ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377		l .		11	1					

Page 16 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		-
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-02-355-001		1.00	\$665.83	\$665.83	DATE PAID					
KALEFORD HONG		UNIT								
JANET HONG					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 113				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1739 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054										
50-22-02-355-002		1.00	\$665.83	\$665.83	DATE PAID					
KALEFORD HONG		UNIT								
JANET HONG					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 114				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1739 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054										
50-22-02-355-004		1.00	\$665.83	\$665.83	DATE PAID					
GEORGE K RILEY		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 116				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1728 PARAMOUNT ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377										
50-22-02-355-005		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT ALEXANDER		UNIT								
SHARON A ALEXANDER	OUADMAN WALLED LAKE OUD LOT 447, ALOO O				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 117, ALSO S				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	1/2 OF LOT 118				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1733 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054						,		· ·		
50-22-02-355-006		1.00	\$665.83	\$665.83	DATE PAID					
EIKO KOYAMA		UNIT	*	,						
HIROMI KOYAMA					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB N 1/2 OF LOT 118				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	& ALL OF LOT 119				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1729 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377						ψ.σσ	ψ.σσ	<b>V.00</b>	ψ.σσ	ψ.σο
50-22-02-355-007		1.00	\$665.83	\$665.83	DATE PAID					
OLIVIA D ARNOLD		UNIT	φοσο.σσ	φοσο.σσ	D/(121711B					
		J			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 120				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
42720 MORGAN CREEK CT					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1460						Ţ.20	7.50	Ţ.:30	7.20	<b>\$.50</b>
50-22-02-355-008		1.00	\$665.83	\$665.83	DATE PAID					
MARK ADAMS		UNIT	+5.00	Ţ0.00						
ELIZABETH ADAMS		J			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOTS 121 & 122				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1721 E LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054						ψ.30.11	Ų.30.11	ψ.30.11	ψ.55.11	ψ.ιου
50-22-02-355-010		1.00	\$665.83	\$665.83	DATE PAID	1				
		UNIT	ψοσο.σο	ψ000.00	DATE I AID	-				
CARL F KRUTZ		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
CARL E KRUTZ		i I		I						
CARL E KRUTZ	CHAPMAN WALLED LAKE SLIB LOT 125				DDINICIDAL	¢122 17	C122 17	C122 17	C122 17	0.4.3.3
CARL E KRUTZ	CHAPMAN WALLED LAKE SUB LOT 125				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	
1711 EAST LAKE RD	CHAPMAN WALLED LAKE SUB LOT 125				PRINCIPAL INTEREST TOTAL	\$133.17 \$0.00 \$133.17	\$133.17 \$0.00 \$133.17	\$133.17 \$0.00 \$133.17	\$133.17 \$0.00 \$133.17	\$133 \$0.0 \$133

Page 17 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-02-355-011		1.00	\$665.83	\$665.83	DATE PAID					
CARL KRUTZ		UNIT								
	OLIA DAMANI WALLED LAVE OUD LOT 400				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 126				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4744 EACTLAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1711 EAST LAKE RD NOVI MI 48377-2054					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-02-355-012		1.00	\$665.83	\$665.83	DATE PAID					
MICHEL DECHAPE		UNIT	φ005.65	φ003.03	DATE PAID					
WICHEL DECHAFE		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 127				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OTHER WINES WITH CONTROL OF THE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1709 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054						ψ.σσ	<b>V.00.11</b>	ψ.σσ	ψ.σσ	<b>V.00</b>
50-22-02-355-013		1.00	\$665.83	\$665.83	DATE PAID					
GARY L EHLERS		UNIT	+0.00	7						
-					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 128				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1705 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2054										
50-22-02-355-014		1.00	\$665.83	\$665.83	DATE PAID					
RONALD A BOWMAN		UNIT								
LAURIE L BOWMAN					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 129				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2456 PEARSON RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
MILFORD MI 48380-4322										
50-22-02-355-015		1.00	\$665.83	\$665.83	DATE PAID					
LINDA E LAPLATT TRUST		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 130				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
04400 OTAB TBI					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
31160 STAR TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
MILFORD MI 48381-4388		4.00	<b>#</b> 005.00	<b>#</b> 005.00	DATE DAID					
50-22-02-355-016		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL JARVIS		UNIT			BALANCE	¢cce oo	<b>\$</b> E22.66	\$200 F0	¢266.33	¢400
BONNIE JARVIS	CHAPMAN WALLED LAKE SUB LOT 131				BALANCE PRINCIPAL	\$665.83	\$532.66 \$133.17	\$399.50	\$266.33	\$133
	OF IAF WALLED LAKE SUB LOT 131				INTEREST	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133 \$0.
1611 E LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$0. \$133
NOVI MI 48377-2053					IOIAL	ψ133.17	ψ100.17	ψ100.17	ψ100.17	φ133
50-22-02-355-017		1.00	\$665.83	\$665.83	DATE PAID			1		
MICHAEL L JARVIS		UNIT	ψοσο.σο	ψ000.00	I DATE I AID					
BONNIE JARVIS		0.411			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB LOT 132, ALSO				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	SWLY 1/2 OF LOT 133				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1611 E LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2053					1	*	,	,	,	7.30
50-22-02-355-018		1.00	\$665.83	\$665.83	DATE PAID					
LARRY FEDRIGO		UNIT			1					
	CHARMAN WALLED LAKE OUR NELV 4/2 OF LOT				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CHAPMAN WALLED LAKE SUB NELY 1/2 OF LOT 133, ALSO ALL OF LOT 134				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	133, ALSO ALL OF LOT 134				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1607 E LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-2053										

Page 18 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-02-355-020		1.00	\$665.83	\$665.83	DATE PAID					
JOHN C HEATHFIELD		UNIT								
NANCY A HEATHFIELD					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
	CHAPMAN WALLED LAKE SUB LOT 137				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1603 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-2053										
50-22-02-355-021		1.00	\$665.83	\$665.83	DATE PAID					
TOBY L JACOBINI		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	CHAPMAN WALLED LAKE SUB LOT 138				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1601 E EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-2053										
50-22-02-355-022		1.00	\$665.83	\$665.83	DATE PAID					
CARL E KRUTZ		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	CHAPMAN WALLED LAKE SUB LOT 123				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-2054										
50-22-02-355-023		1.00	\$665.83	\$665.83	DATE PAID					
CARL E KRUTZ		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	CHAPMAN WALLED LAKE SUB LOT 124				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1711 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-2054		4.00	<b>#</b> 005.00	0005.00	DATE DAID					
50-22-02-355-024		1.00	\$665.83	\$665.83	DATE PAID					
CLAMENCE SHAYA		UNIT			DAI ANOE	<b>\$</b> 005.00	<b>#500.00</b>	<b>#</b> 000 50	<b>#</b> 000 00	<b>A</b> 400
	CHADMANI WALLED LAKE CHD LOT 425				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	CHAPMAN WALLED LAKE SUB LOT 135				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
4050 MADINED DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1653 MARINER DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390-3658		4.00	Ф00E 00	<b>#</b> 005.00	DATE DAID					
50-22-02-355-025		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
ROBERT DILLON		UNIT			DALANCE	\$665.83	\$532.66	\$200 F0	Фосс оо	\$133.
	CHAPMAN WALLED LAKE SUB LOT 136				BALANCE PRINCIPAL	\$133.17	\$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133. \$133.
	CHAPINAN WALLED LAKE SOB LOT 130				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133.
1605 EAST LAKE RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-2053					TOTAL	φ133.1 <i>1</i>	φ133.1 <i>1</i>	φ133.17	φ133.1 <i>1</i>	\$133.
50-22-03-126-002		0.10	\$665.83	\$66.58	DATE PAID					1
LINDA SAWYER		UNIT	ψοσο.σο	Ψ00.00	DATE I AID					1
		5.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
	See Assessors Office for Legal Description				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
	522 1 1222222 2 11122 121 2 2 2 2 2 2 2				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
14316 GARY LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
LIVONIA MI 48154										, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
50-22-03-126-008		0.20	\$665.83	\$133.17	DATE PAID					
CHRISTOPHER MARTIN		UNIT								
MEGAN MARTIN					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
140 N HAVEN ST	LAKE WALL SUB LOTS 30 & 31				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
	1	li l		III	1	· · · · · · · · · · · · · · · · · · ·	t	1	· · · · · · · · · · · · · · · · · · ·	1

Page 19 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-126-009		0.20	\$665.83	\$133.17	DATE PAID					
SHARON WILSON		UNIT		·						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
	LAKE WALL SUB LOTS 28 & 29				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
20839 CATALANO					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
CLINTON TWP MI 48035						,				, ,
50-22-03-126-010		0.20	\$665.83	\$133.17	DATE PAID					
HISOOK KANG		UNIT	***************************************	<b>V</b>						
JEFFREY TERRANELLA					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
130 N HAVEN ST	LAKE WALL SUB LOTS 26 & 27				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 111 10011					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-126-013		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL J BRANCHICK		UNIT	ψοσο.σσ	Ψ00.00	S/(ILI/(ID					
	CONDOMINIUM PLAN NO 669 WINDWARD BAY	01411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
45000 BAYVIEW DR # 1	CONDOMINIUM UNIT 1, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377	2-3011( 001				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	ψ13.3Z	ψ13.32	ψ13.32	ψ13.32	ψ13.
50-22-03-126-014		0.10	\$665.83	\$66.58	DATE PAID					
ALEXANDER ST. CLAIR		UNIT	φ000.00	φ00.56	DATE FAID					
ALEXANDER ST. CLAIR	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
45000 BAYVIEW DR # 2	CONDOMINIUM UNIT 2, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI IVII 40377	2-90 FK 001				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-126-015		0.10	\$665.83	\$66.58	DATE PAID					
HAIDER Y BELBEISI		UNIT	φ000.00	φ00.56	DATE FAID					
NAWAL AL-HALLAQ	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
45000 BAYVIEW DR # 3	CONDOMINIUM UNIT 3, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1384	2-90 FR 001				INTEREST	\$0.00	\$0.00		\$0.00	\$0.
NOVI IVII 40377-1304	2-9011( 001				TOTAL	\$13.32	\$13.32	\$0.00 \$13.32	\$13.32	\$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-126-016		0.10	\$665.83	\$66.58	DATE PAID					
KAREN HONG		0.10 UNIT	\$000.00	Ф00.00	DATE PAID					
KAKEN HONG	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
45000 BAYVIEW DR # 4	CONDOMINIUM UNIT 4, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
24540 BETHANY WAY	2-90 FK 001				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48375					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	φιο
50-22-03-126-017		0.10	\$665.83	\$66.58	DATE PAID			1	+	1
ANNE DYER		UNIT	φυυ3.03	φυυ.30	DATE PAID				+	
ANNE DIER	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			DALANCE	¢66 50	¢52.07	\$20.0E	¢26.62	\$13
45000 BAYVIEW DR # 5	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 5, BLDG 1 L 11356 P 870 5-				BALANCE PRINCIPAL	\$66.58	\$53.27 \$13.32	\$39.95	\$26.63 \$13.32	\$13
NOVI MI 48377	2-90 FR 001				INTEREST	\$13.32		\$13.32		\$0.
INO VI IVII 403/ /	2-30 FK 001				TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00	\$0.00 \$13.32	\$13
					IOTAL	क् । उ.उ∠	φ13.32	\$13.32	φ13.32	<b>Φ13</b>
E0 22 02 426 048		0.40	ФССТ 00	\$66.58	DATE DAID			-	+	
50-22-03-126-018		0.10 UNIT	\$665.83	86.00¢	DATE PAID				+	
THOMAS MCCAMPBELL	CONDOMINIUM DI ANIMO CCO MUNDIMADO DAY	UNII			DALANCE	<b>#</b> 00.50	<b>ФГО 07</b>	<b>#20.05</b>	<b>#00.00</b>	M40
DIANNE TROYE	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
45000 BAYVIEW DR # 6	CONDOMINIUM UNIT 6, BLDG 1 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
	0.00 FD 004									
NOVI MI 48377	2-90 FR 001				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0. \$13.

Page 20 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-126-019		0.10	\$665.83	\$66.58	DATE PAID					
BRUCE BANNISTER		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
44700 BAYVIEW DR # 44	CONDOMINIUM UNIT 44, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-126-020		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT FARR		UNIT		·						
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
44700 BAYVIEW DR # 45	CONDOMINIUM UNIT 45, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						******	<b>V</b>	¥	¥.0.0=	7.5
50-22-03-126-021		0.10	\$665.83	\$66.58	DATE PAID					
XIANGMIN ZHANG		UNIT	ψοσο.σσ	Ψ00.00	5,11217110					1
AN INCHINI ZI ICHO	CONDOMINIUM PLAN NO 669 WINDWARD BAY	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
44700 BAYVIEW DR # 46	CONDOMINIUM UNIT 46, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
39676 SQUIRE	2-3011(001				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48375					TOTAL	φ13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-126-022		0.40	\$665.83	ФСС F0	DATE PAID					
		0.10	\$605.83	\$66.58	DATE PAID					
BENJAMIN THORSEN	CONDOMINIUMA DI ANI NO CCC WINDWARD DAV	UNIT			5	***	<b>^</b>	***	***	
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
44700 BAYVIEW DR # 47	CONDOMINIUM UNIT 47, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390										
50-22-03-126-023		0.10	\$665.83	\$66.58	DATE PAID					
ZORICA JOVANOSKA		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
44700 BAYVIEW DR # 48	CONDOMINIUM UNIT 48, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-126-024		0.10	\$665.83	\$66.58	DATE PAID					
DEBORAH ROSS		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
44700 BAYVIEW DR # 49	CONDOMINIUM UNIT 49, BLDG 2 L 11356 P 870 5-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	2-90 FR 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1911 WEST LAKE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377						•				, ,
50-22-03-126-025		0.10	\$665.83	\$66.58	DATE PAID					
KEITH MANNOR		UNIT	<b>+5.00</b>	7-5.00						
					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
	CONDOMINIUM PLAN NO 669 WINDWARD BAY	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
	CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5-			1		\$0.00	\$0.00	\$0.00	\$0.00	\$0.
44700 BAYVIEW DR # 50	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5-				I INTEREST I					
44700 BAYVIEW DR # 50 NOVI MI 48377					INTEREST TOTAL			\$13.32		
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5-				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET CLARENDON HILLS IL 60514	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5-		\$665.83	\$66.52	TOTAL			\$13.32		
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET CLARENDON HILLS IL 60514 50-22-03-126-026	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5-	0.10	\$665.83	\$66.58				\$13.32		
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET CLARENDON HILLS IL 60514	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5- 2-90 FR 001		\$665.83	\$66.58	TOTAL  DATE PAID	\$13.32	\$13.32		\$13.32	\$13.
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET CLARENDON HILLS IL 60514 50-22-03-126-026 KE CHEN	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5- 2-90 FR 001  CONDOMINIUM PLAN NO 669 WINDWARD BAY	0.10 UNIT	\$665.83	\$66.58	TOTAL  DATE PAID  BALANCE	\$13.32 \$66.58	\$13.32 \$53.27	\$39.95	\$13.32 \$26.63	\$13. \$13.
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET CLARENDON HILLS IL 60514 50-22-03-126-026 KE CHEN 44700 BAYVIEW DR # 51	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5- 2-90 FR 001  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 51, BLDG 2 L 11356 P 870 5-	0.10 UNIT	\$665.83	\$66.58	DATE PAID  BALANCE PRINCIPAL	\$13.32 \$66.58 \$13.32	\$13.32 \$53.27 \$13.32	\$39.95 \$13.32	\$13.32 \$26.63 \$13.32	\$13. \$13. \$13.
44700 BAYVIEW DR # 50 NOVI MI 48377 248 ANN STREET CLARENDON HILLS IL 60514 50-22-03-126-026 KE CHEN	CONDOMINIUM UNIT 50, BLDG 2 L 11356 P 870 5- 2-90 FR 001  CONDOMINIUM PLAN NO 669 WINDWARD BAY	0.10 UNIT	\$665.83	\$66.58	TOTAL  DATE PAID  BALANCE	\$13.32 \$66.58	\$13.32 \$53.27	\$39.95	\$13.32 \$26.63	\$13. \$13. \$13. \$13. \$13.

Page 21 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	1			INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-126-029		0.10	\$665.83	\$66.58	DATE PAID					
DIANE GREEN		UNIT	********	400.00						
DI III ONELII	CONDOMINIUM PLAN NO 669 WINDWARD BAY	0.4			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
44750 BAYVIEW DR # 37	CONDOMINIUM UNIT 37. BLDG 3 L 11356 P 870 4				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00		\$0.00	\$0.
NOVI WII 40377	23-91 FK 021				_		*	\$0.00	4	
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
		0.40	<b>^</b>	400 50	5.75 5.15					
50-22-03-126-030		0.10	\$665.83	\$66.58	DATE PAID					
BETH HOLDEN		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
44750 BAYVIEW DR # 38	CONDOMINIUM UNIT 38, BLDG 3 L 11356 P 870 4	-			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
635 HARBOR BAY DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
LAWRENCEVILLE GA 30045										
50-22-03-126-031		0.10	\$665.83	\$66.58	DATE PAID					
44750 BAYVIEW #39 LLC		UNIT	ψ000.00	ψ00.00	DATETAID					
44730 BATVILW #03 LLC	CONDOMINIUM PLAN NO 669 WINDWARD BAY	OINII			BALANCE	ФСС <b>Е</b> О	¢52.27	¢20.05	¢26.62	\$13
44750 DANGUENA DD # 00						\$66.58	\$53.27	\$39.95	\$26.63	
44750 BAYVIEW DR # 39	CONDOMINIUM UNIT 39, BLDG 3 L 11356 P 870 4	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2274 N DUCK LAKE RD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
HIGHLAND MI 48356										
50-22-03-126-032		0.10	\$665.83	\$66.58	DATE PAID					
BETH CROWLEY		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
44750 BAYVIEW DR # 40	CONDOMINIUM UNIT 40, BLDG 3 L 11356 P 870 4				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
512 W 13 MILE RD	25-51111 021				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	काउ
ROYAL OAK MI 48073		0.40	<b>^</b>	400 50	5.75 5.15					
50-22-03-126-033		0.10	\$665.83	\$66.58	DATE PAID					
SIDNEY STAYLER		UNIT								
JANET STAYLER	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
44750 BAYVIEW DR # 41	CONDOMINIUM UNIT 41, BLDG 3 L 11356 P 870 4	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-126-034		0.10	\$665.83	\$66.58	DATE PAID					
SAGAR SHETH		UNIT	<b>+0.00</b>	7-5.00						
ON CONTROLLER	CONDOMINIUM PLAN NO 669 WINDWARD BAY	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
44750 BAYVIEW DR # 42	CONDOMINIUM UNIT 42, BLDG 3 L 11356 P 870 4				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
	23-91 FR 027									
NOVI MI 48377	23-91 FK U21				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
								1		
50-22-03-126-035		0.10	\$665.83	\$66.58	DATE PAID			1		
MATTHEW THOMAS		UNIT						1		
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
44750 BAYVIEW DR # 43	CONDOMINIUM UNIT 43, BLDG 3 L 11356 P 870 4	<b> </b>			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1379	23-91 FR 027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
-					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						,	,	,	,	7.0
50-22-03-126-036		0.20	\$665.83	\$133.17	DATE PAID					
CRAIG JACKSON		UNIT	ψυσυ.συ	ψ100.17	DATETAID			+		
Chaig Jackson		UNII			DALANCE	¢422.47	\$400 F0	¢70.00	<b>0</b> E0.07	<b>#</b> 00
4.40 N.L.I.A.V. (ENLOT	LAKE WALL SUB LOT 33 EXC E 20 FT, ALSO ALL				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
146 N HAVEN ST	OF LOT 34 2-1-94 FR 007				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 22 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-037		0.20	\$665.83	\$133.17	DATE PAID					
NICODEMUS BOLIN		UNIT								
MARITES BOLIN	LAKE WALL CURLOT OF ALCO F OF FT OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
144 N HAVEN ST	LAKE WALL SUB LOT 32, ALSO E 20 FT OF LOT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	33 2-1-94 FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50.00.00.400.000		0.40	\$665.83	<b>#</b> 00 <b>F</b> 0	DATE DAID					
50-22-03-126-038 JAMES J DICE		0.10 UNIT	\$605.83	\$66.58	DATE PAID					
57 IIII 2	CONDOMINIUM PLAN NO 669 WINDWARD BAY	O T T T			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 7	CONDOMINIUM UNIT 7, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3133 LINDA MARIE CT	3-33 1 K 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
COMMERCE TOWNSHIP MI 48390					TOTAL	Ψ13.32	ψ13.32	ψ13.32	ψ13.3Z	ψ13.32
50-22-03-126-039		0.10	\$665.83	\$66.58	DATE PAID					
BRUCE WEINER		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 8	CONDOMINIUM UNIT 8, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1383	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
E0 22 02 42C 040		0.40	ФССТ 02	ФСС <b>Г</b> О	DATE PAID					
50-22-03-126-040 ANDREW NOVAK		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
HEATHER NOVAK	CONDOMINIUM PLAN NO 669 WINDWARD BAY	OINIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 9	CONDOMINIUM UNIT 9, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 V1 IVII 40377	3-33 1 10 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	Ψ10.02	ψ10.02	ψ10.02	ψ10.0 <u>2</u>	Ψ10.02
50-22-03-126-041		0.10	\$665.83	\$66.58	DATE PAID					
DONG YU		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 10	CONDOMINIUM UNIT 10, BLDG 7 L 11356 P 870 1	-			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2245 DALESFORD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
TROY MI 48098										
50-22-03-126-042		0.10	\$665.83	\$66.58	DATE PAID					
PATRICK PATTERSON		UNIT								
LORI PATTERSON	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 11	CONDOMINIUM UNIT 11, BLDG 7 L 11356 P 870 1				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
305 ORLANDO RD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
CLEARWATER FL 33756		0.40	<b>\$005.00</b>	<b>\$00.50</b>	DATE DAID					1
50-22-03-126-043 THERESA M KELLY		0.10 UNIT	\$665.83	\$66.58	DATE PAID					1
THENESA WINCLE I	CONDOMINIUM PLAN NO 669 WINDWARD BAY	CIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 12	CONDOMINIUM UNIT 12, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23545 GREENING DR	3-33 I IV 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48375					IOTAL	φ13.32	φ13.32	φ13.3Z	φ13.32	\$13.32
50-22-03-126-044		0.10	\$665.83	\$66.58	DATE PAID					
EVA NIELSEN		UNIT	*	,						
VOJO GJANCI	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 13	CONDOMINIUM UNIT 13, BLDG 7 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
	•	II .		III	1					

Page 23 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-045		0.10	\$665.83	\$66.58	DATE PAID					
L WEATHERS LLC		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44950 BAYVIEW DR # 14	CONDOMINIUM UNIT 14, BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
26535 GLENWOOD DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48374						·	,	·	·	·
50-22-03-126-046		0.10	\$665.83	\$66.58	DATE PAID					
JODI BOLYARD		UNIT	·							
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 15	CONDOMINIUM UNIT 15. BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						ψ.σ.σ <u>=</u>	ψ.ιο.ιο <u>-</u>	<b>V.0.02</b>	ψ.σ.σ <u>=</u>	ψ.σ.σ2
50-22-03-126-047		0.10	\$665.83	\$66.58	DATE PAID					
JUDITH GRANT		UNIT	ψ000.00	ψ00.00	D/(ILI/(ID					
JODITH GRANT	CONDOMINIUM PLAN NO 669 WINDWARD BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 16	CONDOMINIUM UNIT 16, BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 40377	3-93 I K 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
50-22-03-126-048		0.10	\$665.83	\$66.58	DATE PAID					
		0.10	\$605.83	\$60.08	DATE PAID					
JAMES MICHAEL SPALL	CONDOMINIUM DI ANIMO CCO MINDWA DD DAY	UNIT			DALANIOE	<b>#</b> 00 50	<b>#</b> 50.07	000.05	000.00	<b>A</b> 40.00
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 17	CONDOMINIUM UNIT 17, BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5125 ELKIN ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
COMMERCE TOWNSHIP MI 48382			A	A	D. 1 == D. 1   D					
50-22-03-126-049		0.10	\$665.83	\$66.58	DATE PAID					
CHRISTINA J ROY		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 18	CONDOMINIUM UNIT 18, BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
50-22-03-126-050		0.10	\$665.83	\$66.58	DATE PAID					
GARY TRACY		UNIT								
HELEN TRACY	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 19	CONDOMINIUM UNIT 19, BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
50-22-03-126-051		0.10	\$665.83	\$66.58	DATE PAID					
KHIM CUSHNIER		UNIT							1	
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 20	CONDOMINIUM UNIT 20, BLDG 6 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
16393 TRAILWAY DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
MACOMB MI 48042-5776										
50-22-03-126-052		0.10	\$665.83	\$66.58	DATE PAID					
BARBARA KOVACH		UNIT	<b>+</b>	7						
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 21	CONDOMINIUM UNIT 21, BLDG 6 L 11356 P 870 1-	l			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
INC VI WII TOO! !	3 33 TK 020	11		II.	INTLINEST	ψυ.υυ				
1069 RAVENSVIEW TRL		l l			TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32

Page 24 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-126-053		0.10	\$665.83	\$66.58	DATE PAID					
ALBERT SIBILLA III		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 22	CONDOMINIUM UNIT 22, BLDG 5 L 11356 P 870 1-	_			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
								,	,	·
50-22-03-126-054		0.10	\$665.83	\$66.58	DATE PAID					
ANTHONY HOPECK		UNIT	***************************************	400.00						
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44900 BAYVIEW DR # 23	CONDOMINIUM UNIT 23, BLDG 5 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1354 EAST LAKE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377						<b>V.0.02</b>	ψ.0.02	ψ.σ.σ <u>2</u>	ψ.σ.σ <u>=</u>	ψ.σ.σ <u>2</u>
50-22-03-126-055		0.10	\$665.83	\$66.58	DATE PAID					
FRED A CAMPBELL		UNIT	φοσο.σσ	Ψ00.00	DATETAID					
JOYCE S CAMPBELL	CONDOMINIUM PLAN NO 669 WINDWARD BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 24	CONDOMINIUM UNIT 24, BLDG 5 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
NOVI WII 46377	3-93 i i \ 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	φ13.32	\$13.32	φ13.32	\$13.32	Φ13.32
E0 22 02 42C 0EC		0.40	<b></b>	ФСС F0	DATE DAID					
50-22-03-126-056		0.10	\$665.83	\$66.58	DATE PAID					
KEVIN DITTMER	CONDOMINIUM DI ANIMO COCUMUNIDIMA DE DAVA	UNIT			544 44405	A	<b>^</b>	****	***	<b>1</b> 10.00
JENNIFER DITTMER	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 25	CONDOMINIUM UNIT 25, BLDG 5 L 11356 P 870 1	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
915 LEMAY ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377										
50-22-03-126-057		0.10	\$665.83	\$66.58	DATE PAID					
BRUCE JEROME WEINER		UNIT								
	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 26	CONDOMINIUM UNIT 26, BLDG 5 L 11356 P 870 1-	-			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
50-22-03-126-058		0.10	\$665.83	\$66.58	DATE PAID					
KELLY L MARSHALL		UNIT								
CHRISTOPHER C NEWSOME	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 27	CONDOMINIUM UNIT 27, BLDG 5 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
								,	,	
50-22-03-126-059		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL SMITH		UNIT	ψυυυ.ου	\$55.00	27217.119				1	
JANINE KEHL	CONDOMINIUM PLAN NO 669 WINDWARD BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 28	CONDOMINIUM UNIT 28, BLDG 5 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
29317 WHISTLER DR	0 00 110 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377					IOIAL	ψ13.32	ψ10.02	ψ13.32	ψ10.02	ψ13.32
50-22-03-126-060		0.10	\$665.83	\$66.58	DATE PAID		1		1	+
		0.10	88.C00¢	δC.00φ	DATE PAID				1	
FEDERAL NATIONAL MTG ASSOC	CONDOMINIUM PLAN NO 669 WINDWARD BAY	UNIT			DALANCE	<b>የ</b> ርር <b>F</b> 0	<b>Ф</b> ГО 07	¢20.0Г	<b>COC CO</b>	£40.00
44050 DANGUENA DD # 00					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
44850 BAYVIEW DR # 29	CONDOMINIUM UNIT 29, BLDG 4 L 11356 P 870 1-	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3900 WISCONSIN AVE NW					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					1		1	1	1	

Page 25 of 172 6/4/2015 4:25 PM

AND ADDRESS OF PROPERTY FRONTAGE PER CHARGE 1ST 2ND 3RD 4TH 5T  50-22-03-126-061  KATIE RYDZEWSKI  CONDOMINIUM PLAN NO 669 WINDWARD BAY  CONDOMINIUM PLAN NO 669 WINDWARD BAY  KATIE RYDZEWSKI  CONDOMINIUM PLAN NO 669 WINDWARD BAY	ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
50-2249-1254092  AMORPH MORPH ME 20  CONDOMINIUM PLAN NO 989 WINDOWARD BAY CONDOMINIUM PLAN NO 989 WINDOWARD							2015	2016	2017	2018	201
CONDOMNIUM PLAN NO SEG WINDWARD BAY   CONDOMNIUM WITT SE, BLOG AL 113SE P 870 - 365 FR 028   565 SEG	AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
## CONDOMINUM PLAN NO SER WINDWARD BAY NOTE: \$ 866.53   \$ 866.55   \$ 85.27   \$ 89.95   \$ 38.85   \$ 18.00	50-22-03-126-061		0.10	\$665.83	\$66.58	DATE PAID					
A4800 BAY/IEW DR # 30   CONDOMINUM PLAN NO 669 WINDWARD BAY   CONDOM	KATIE RYDZEWSKI		UNIT								
NOVI MI 48777   S-95 FR 028		CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
NOVI M 48977	44800 BAYVIEW DR # 30	CONDOMINIUM UNIT 30, BLDG 4 L 11356 P 870 1-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
Society   Soci		3-95 FR 028									
ANDREW BORUTA 4880 BAYVEW DR # 31 CONDOMINUM PLAN NO 888 WINDWARD BAY CONDOMINUM PLAN NO 889 WINDWARD BAY AMDREAL KAPLAN CONDOMINUM PLAN NO 889 WINDWARD BAY CONDOMINUM PLAN N											
ANDREW BORUTA 4880 BAYVEW DR # 31 CONDOMINUM PLAN NO 888 WINDWARD BAY CONDOMINUM PLAN NO 889 WINDWARD BAY AMDREAL KAPLAN CONDOMINUM PLAN NO 889 WINDWARD BAY CONDOMINUM PLAN N							-				
SUZAME CRISCOLL   CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAY WINDWARD BAY ALSO BAYVEW DR # 31 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 32 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 33 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 34 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 35 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 36 CONDOMINUM WIND WINDWARD BAY ALSO BAYVEW DR # 36 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 36 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 36 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR # 36 CONDOMINUM PLAN NO 669 WINDWARD BAY ALSO BAYVEW DR	50-22-03-126-062		0.10	\$665.83	\$66.58	DATE PAID					
## 4480B BAYVIEW DR # 31 NOVIM M 48377  **CONDOMINUM UNIT 31, BLIDG 4 L 11356 P 870 1 **J95 FR 028  **DATE PAID **	ANDREW BORUTA		UNIT								
NOVIM 18377	SUZANNE DRISCOLL	CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
Section   Sect	44850 BAYVIEW DR # 31	CONDOMINIUM UNIT 31, BLDG 4 L 11356 P 870 1				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALDWICK NO 07483-0194	NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	
1.00   1.00	54 MOORE AVE					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
Section   Sect	WALDWICK NJ 07463-0194										
## ABO BAYVIEW DR # 32 CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOM	50-22-03-126-063		0.10	\$665.83	\$66.58	DATE PAID					
44800 BAYVIEW DR # 32 NOVI MI 4377  CONDOMINIUM INIT 32, BLIGG 4 L 11366 P 870 1 3-95 FR 028  0.10  INITERST 50.00 \$5.00	JEFFREY D SCARSELLA		UNIT								
NOVI MI 48377		CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
TOTAL  \$13.32 \$1	44800 BAYVIEW DR # 32	CONDOMINIUM UNIT 32, BLDG 4 L 11356 P 870 1				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
Section   Condominum Plan no 668 windward bay condominum Plan no	NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
## AMDREAL KAPLAM  ## A4800 BAYVIEW DR # 33 NOVI MI 48377  **CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINUM UNIT 33, BLDG 4 L 11356 P 870 1  **TOTAL**  *						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
## AMDREAL KAPLAM  ## A4800 BAYVIEW DR # 33 NOVI MI 48377  **CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINUM UNIT 33, BLDG 4 L 11356 P 870 1- 3-95 FR 028  **CONDOMINUM UNIT 34, BLDG 4 L 11356 P 870 1- 3-95 FR 028  **CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOMINUM UNIT 34, BLDG 4 L 11356 P 870 1- 3-95 FR 028  **CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOMINUM UNIT 34, BLDG 4 L 11356 P 870 1- 3-95 FR 028  **CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOMINUM PLAN NO 6											
## A800 BAYVIEW DR # 33 NOVI MI 48377  **CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOMINUM UNIT 38, BLDG 4 L 11356 P 870 1  **Se65.83**  **CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOMINUM PLAN NO 669 WINDWARD BAY C	50-22-03-126-064		0.10	\$665.83	\$66.58	DATE PAID					
## A400 BAYVIEW DR # 33 NOVI MI 48377  ## A400 BAYVIEW DR # 34 NOVI MI 48377  ## A50 FR 028  ##	ANDREA L KAPLAN		UNIT								
NOVI MI 48377    September   S		CONDOMINIUM PLAN NO 669 WINDWARD BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
50-22-03-126-065 GALINA GILFMAN CONDOMINUM PLAN NO 669 WINDWARD BAY LANCE PRINCIPAL A4800 BAYVIEW DR # 34 CONDOMINUM PLAN NO 669 WINDWARD BAY CONDOMINUM PLAN NO 669 WINDWARD	44800 BAYVIEW DR # 33	CONDOMINIUM UNIT 33, BLDG 4 L 11356 P 870 1				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
Date Paid   Date	NOVI MI 48377	3-95 FR 028				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINI						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINI											
### ABOO BAYVIEW DR # 34 ### ABOO BAYVIEW DR # 34 ### ABOO BAYVIEW DR # 34 ### ABOO BAYVIEW DR # 35 ***  A4800 BAYVIEW DR # 35 ***  A4800 BAYVIEW DR # 35 ***  NOVI MI 48377 ***  ***  ***  **  **  **  **  **  **				\$665.83	\$66.58	DATE PAID					
A4800 BAYVIEW DR # 34   NOVI MI 48377   S13.32	GALINA GILFMAN		UNIT								
NOVI MI 48377  3-95 FR 028  0.10  GERALD BASSETT  44800 BAYVIEW DR # 35  NOVI MI 48377  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINUM PL						_		\$53.27			
TOTAL   \$\frac{{\frac{\$\frac{\$\frac{{\frack}}}}}}}}}}}}}}}}}}} }} }} } } } } } }	44800 BAYVIEW DR # 34	•					\$13.32	\$13.32	\$13.32	\$13.32	
Solution	NOVI MI 48377	3-95 FR 028									
## CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMIN						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
## CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMIN											
A4800 BAYVIEW DR # 35 NOVI MI 48377  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 35, BLDG 4 L 11356 P 870 1- 3-95 FR 028  DATE PAID CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINUM PLAN NO 669 WINDWARD BAY				\$665.83	\$66.58	DATE PAID					
44800 BAYVIEW DR # 35 NOVI MI 48377  CONDOMINIUM UNIT 35, BLDG 4 L 11356 P 870 1- 3-95 FR 028  PRINCIPAL INTEREST TOTAL  \$13.32	GERALD BASSETT	OONIDOMINIU INA DI ANI NO COCCUMUNIDIMA DE DAM	UNIT			DAI	000 70	050.05	#05.5 <b>-</b>	<b>#05.55</b>	
NOVI MI 48377  3-95 FR 028    INTEREST TOTAL   \$13.32   \$											
TOTAL \$13.32 \$13			1			-					
50-22-03-126-067 BEN THORSEN  CONDOMINIUM PLAN NO 669 WINDWARD BAY 4800 BAYVIEW DR # 36 NOVI MI 48377 759 E WALLED LAKE DR WALLED LAKE MI 48390  50-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  DATE PAID  S665.83 \$66.58 \$53.27 \$39.95 \$26.63 \$13.32	NOVI MI 48377	3-95 FR 028									
## CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- NOVI MI 48377  ## WALLED LAKE MI 48390  **Solution**  **CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  **WALLED LAKE MI 48390  **Solution**  **Dolution**  **CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3- 3-95 FR 028  **WALLED LAKE MI 48390  **Solution**  **Dolution**  **Dolution**  **BALANCE PRINCIPAL \$13.32 \$						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
## CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- NOVI MI 48377  ## WALLED LAKE MI 48390  **Solution**  **CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  **WALLED LAKE MI 48390  **Solution**  **Dolution**  **CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3- 3-95 FR 028  **WALLED LAKE MI 48390  **Solution**  **Dolution**  **Dolution**  **BALANCE PRINCIPAL \$13.32 \$	50.00.00.400.007		0.40	#005.00	#00 F0	DATE DATE			1		1
44800 BAYVIEW DR # 36 44800 BAYVIEW DR # 36 CONDOMINIUM PLAN NO 669 WINDWARD BAY CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  S0-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  BALANCE PRINCIPAL INTEREST \$0.00 \$0.				\$665.83	\$66.58	DATE PAID					1
44800 BAYVIEW DR # 36 NOVI MI 48377 759 E WALLED LAKE DR WALLED LAKE MI 48390  50-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  CONDOMINIUM UNIT 36, BLDG 4 L 11356 P 870 1- 3-95 FR 028  PRINCIPAL INTEREST TOTAL  \$13.32 \$	BEN I HUKSEN	CONDOMINIUM DI ANIMO CCO MUNDIMA DE DAM	UNII			DALANOE	<b>#</b> 00.50	ФE0.07	<b>#20.05</b>	<b>#</b> 00.00	M40
NOVI MI 48377 759 E WALLED LAKE DR WALLED LAKE MI 48390  50-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  INTEREST TOTAL  S13.32  \$10.00 \$0.	44000 DANGUENA DD " 00					_		4			
759 E WALLED LAKE DR WALLED LAKE MI 48390  50-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  TOTAL  \$13.32 \$1			1								
WALLED LAKE MI 48390  50-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  DATE PAID  BALANCE PRINCIPAL INTEREST 50.00 \$0.00		3-95 FK UZ8				_					
50-22-03-126-069 INDEPENDENT PROPERTIES LLC  LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  320 ALEXANDER DR  DATE PAID BALANCE PRINCIPAL INTEREST TOTAL \$26.63						IOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
INDEPENDENT PROPERTIES LLC     UNIT     BALANCE PRINCIPAL INTEREST TOTAL     \$133.17     \$106.53     \$79.90     \$53.27     \$26       BALANCE PRINCIPAL INTEREST TOTAL     \$26.63     \$26.6			0.00	<b>ተ</b> ራይሮ 00	¢422.47	DATE DAID		-			+
LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  BALANCE PRINCIPAL \$26.63				\$665.83	\$133.17	DATE PAID					1
ARE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT 37 4-28-04 FR 006  PRINCIPAL   \$26.63   \$2	INDEPENDENT PROPERTIES LLC		UNII			DALANCE	¢122.17	\$106 F2	¢70.00	¢52.27	ተባር
37 4-28-04 FR 006 INTEREST \$0.00 \$0.		LAKE WALL SUB W 1/2 OF LOT 36 & ALL OF LOT				_					
320 ALEXANDER DR TOTAL \$26.63 \$26.63 \$26.63 \$26.63 \$26.63		37 4-28-04 FR 006									
	220 ALEVANDER DR										
						IOTAL	<b>⊅∠</b> 0.03	Φ∠0.03	<b>⊅∠</b> 0.03	<b>⊅∠</b> 0.03	ֆ∠ხ.

Page 26 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-126-070		0.20	\$665.83	\$133.17	DATE PAID					
INDEPENDENT PROPERTIES LLC		UNIT								
	LAKE WALL SUBTOT 35 8 F 1/2 OF LOT 36 4 39				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
	LAKE WALL SUB LOT 35 & E 1/2 OF LOT 36 4-28-				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	04 FR 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
320 ALEXANDER DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-2952										
50-22-03-127-001		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL S MYGAL		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
149 N HAVEN ST	LAKE WALL SUB LOTS 38 & 39				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-127-002		0.20	\$665.83	\$133.17	DATE PAID					
LAURA A KONING		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
147 N HAVEN ST	LAKE WALL SUB LOTS 40 & 41				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-127-003		0.20	\$665.83	\$133.17	DATE PAID					
GORDON SCHUETZLER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
145 N HAVEN ST	LAKE WALL SUB LOTS 42 & 43				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-127-005		0.20	\$665.83	\$133.17	DATE PAID					
YOUSEF ABU AYYASH		UNIT								
KELLY ANNE HOSANG					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
156 REXTON	LAKE WALL SUB LOTS 68 & 69				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
			<b>^</b>	<b>*</b> • • • • • • • • • • • • • • • • • • •	5.475.5415					
50-22-03-127-006		0.20	\$665.83	\$133.17	DATE PAID					
LARRY PEARCE		UNIT			DAL ANIOE	<b>#</b> 400.47	<b>0</b> 400 <b>5</b> 0	<b>#70.00</b>	<b>\$50.07</b>	000
SHIN-RU PEARCE	LAKE WALL OUR LOTO 00 0 07				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
144 REXTON ST	LAKE WALL SUB LOTS 66 & 67				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
E0 22 02 427 007		0.00	Ф005 00	C400.47	DATE DATE			1		+
50-22-03-127-007		0.20	\$665.83	\$133.17	DATE PAID			1		
JOSEPH BERTERA		UNIT			DALANCE	¢420.47	\$400 F0	¢70.00	ΦEΩ Ω7	Ф00
CORRIE A BERTERA	LAKE WALL CURLOTS 64 9 65				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
130 REXTON ST	LAKE WALL SUB LOTS 64 & 65				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-127-012		0.20	\$66E 92	¢122.17	DATE PAID			1		-
50-22-03-127-012 PIERRE ENGLING		0.20	\$665.83	\$133.17	DATE PAID			1		
		UNIT			DALANCE	¢122.17	\$106 F2	¢70.00	<b>¢</b> E2.27	¢oc.
MERRIE ENGLING 124 REXTON ST	LAKE WALL CUB LOTS 62 9 62 40 05 04 5D 044				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
TAN BEXILINIST	LAKE WALL SUB LOTS 62 & 63 10-25-94 FR 011				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1359					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.

Page 27 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-127-013		0.20	\$665.83	\$133.17	DATE PAID					
GEORGE WALLEY		UNIT								
KIMBERLY WALLEY					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
120 REXTON ST	LAKE WALL SUB LOTS 60 & 61 10-25-94 FR 011				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-03-128-004		0.20	\$665.83	\$133.17	DATE PAID					
FRANK J SIMPSON IV		UNIT								
	LAKE WALL OUR LOTO 70 0 70				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
143 REXTON ST	LAKE WALL SUB LOTS 72 & 73				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
9905 ROSELAND					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
LIVONIA MI 48150 50-22-03-128-005		0.20	\$665.83	\$133.17	DATE PAID					
STEPHEN MULLER		UNIT	φ003.03	ψ133.17	DATEFAID					
DANIEL EISELE		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
139 REXTON ST	LAKE WALL SUB LOT 74				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
46713 N VALLEY DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NORTHVILLE MI 48167							·			
50-22-03-128-006		0.20	\$665.83	\$133.17	DATE PAID					
LYNETTE PRYCE		UNIT			5.1.4.105	<b>*</b> * * * * * * * * * * * * * * * * * *	A	<b>A</b>	<b>A</b>	
	LAKE WALL OUR LOTO 75 0 70				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
104 DEVTON OT	LAKE WALL SUB LOTS 75 & 76				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
131 REXTON ST					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI MI 48377-1360					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-128-007		0.20	\$665.83	\$133.17	DATE PAID					
LEE WILLER		UNIT	*****							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
121 REXTON ST	LAKE WALL SUB LOTS 77 & 78				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-128-019		0.20	\$665.83	\$133.17	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT	φοσο.σσ	Ψ100.11	5,11217115					
	LAKE WALL SUB LOTS 79 & 80 08/11/86 FR 008 &				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
119 REXTON ST	009				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1192 WEST LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1331 50-22-03-128-032	LAKE WALL SUB LOTS 70 & 71 ALSO PART OF	0.20	\$665.83	\$133.17	DATE PAID					
THOMAS J MILLER	NW FRC 1/4 BEG AT NW COR OF LOT 70	UNIT	φυυυ.ου	φ100.17	DATE FAID					
	OF 'LAKE WALL SUB', TH W 160 FT, TH S TO	0.411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
207 REXTON ST	'JOHN HAWTHORN'S SUB NO 2'.				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1362	TH E ALG SUB LINE TO SW COR OF LOT 70, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	N 119.50 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-129-019		1.00	\$665.83	\$665.83	DATE PAID					+
50-22-03-129-019 HONG M DOAN		1.00 UNIT	δQ.C00Φ	\$605.83	DATE PAID					
XUAN Q TRAN		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1623 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 11				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377	SSI EINISSINOT EN NO ZEOT TI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2008 HAZEL ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
BIRMINGHAM MI 48009		II I		II .		ψ.55.11	ψσσ	<b>\$.55.17</b>	ψ	ψ.100

Page 28 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-001		1.00	\$665.83	\$665.83	DATE PAID					
TIMOTHY C RICHARDSON		UNIT								
	J.W. HAWTHORN'S SUB N 1/2 OF LOT 2 & S 1/2				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
1511 W LAKE DR	OF LOT 3				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
50-22-03-131-002		1.00	\$665.83	\$665.83	DATE PAID					
BRUCE O BARNARD		UNIT	φ000.03	φ003.03	DATE PAID					
BROCE O BARNARD		ONIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1517 W LAKE DR	J.W. HAWTHORN'S SUB LOT 1 & S 1/2 OF LOT 2				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1341	0.W.1#WW1110KW000BE011W01/201E012				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 VI WII 40377-1041					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					TOTAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100
50-22-03-131-003		1.00	\$665.83	\$665.83	DATE PAID					
JUSTIN WEINGER		UNIT	φοσο.σσ	Ψοσο.σο	B/(1217(18					
		J			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1523 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 1				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
						***************************************	¥	<b>V</b>	<b>V</b>	<b>,</b>
50-22-03-131-004		1.00	\$665.83	\$665.83	DATE PAID					
NED J & JOAN ANN ALOE TR		UNIT	•	,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1529 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 2				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-005		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT GARDNER		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1533 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 3				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-006		1.00	\$665.83	\$665.83	DATE PAID					
JEFFERY MCLELLAN		UNIT								
DEANNE CRISCUOLO	01105014000100014514001451				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1537 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 4				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1341					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
F0 00 00 404 00T		4.00	<b>****</b>	<b>A</b> 005.00	DATE DAID					
50-22-03-131-007		1.00	\$665.83	\$665.83	DATE PAID					
PATRICK ZIARNIK		UNIT			DALANOE	фоот оо	ФE00.00	¢202.52	<b>#</b> 000 00	0400
PAMELA ZIARNIK	SUPERVISOR'S PLAT NO 2 LOT 5				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1601 W LAKE DR	SUPERVISOR S PLAT NO 2 LOT 5				PRINCIPAL INTEREST	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342					TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0. \$133
					IOTAL	φ133.17	φ133.17	φ133.17	\$133.17	φ133
50-22-03-131-008		1.00	\$665.83	\$665.83	DATE PAID			+		
THOMAS P HARVEY		UNIT	φυυυ.ου	φυυυ.ου	DATE FAID	1				1
THOMAS F HARVE!		UNII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1603 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342	OCI ENVIOUNOT EAT NO 2 EOT 0				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
INO VI IVII HOO7 7-1042					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					IOIAL	φ100.17	φ100.17	φ100.17	φ100.17	क् १३३.

Page 29 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-009		1.00	\$665.83	\$665.83	DATE PAID					
HAITHAM SEMMA		UNIT								
MICHLINE SEMMA	0110501110001000145110041055				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1611 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 7				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
E0 22 02 424 040		4.00	ФССЕ 02	ФССТ 02	DATE DAID					
50-22-03-131-010 JAMES TESORERO		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
DIANA TESORERO		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1627 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 12				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342	OUI ERVIOOROT EAT NO 2 EOT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NO VI IVII 40377-1342					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					TOTAL	ψ133.17	ψ100.17	ψ133.17	ψ133.17	ψ100
50-22-03-131-011		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT S MARSHICK		UNIT	ψοσο.σσ	Ψοσο.σσ	571.2171.2					
LORI J MARSHICK					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1631 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 14				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-012		1.00	\$665.83	\$665.83	DATE PAID					
HENRY KOZLOWSKI		UNIT								
STEPHANIE KOZLOWSKI					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1635 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 15				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
			<b>^</b>	<b>^</b>	D. 1 = D. 1   D.					
50-22-03-131-013		1.00	\$665.83	\$665.83	DATE PAID					
PAUL WEINDORF		UNIT			DALANOE	<b>\$005.00</b>	<b>#</b> 500.00	\$000 F0	\$000.00	<b>C400</b>
CHRISTIE LEE	SUPERVISOR'S PLAT NO 2 LOT 16 EXC SWLY 10				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1641 W LAKE DR	FT				PRINCIPAL	\$133.17	\$133.17 \$0.00	\$133.17	\$133.17	\$133 \$0.0
NOVI MI 48377-1342					INTEREST TOTAL	\$0.00 \$133.17	\$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$133
					TOTAL	φ133.17	ψ133.17	ψ133.17	ψ133.17	ψισσ
50-22-03-131-015		1.00	\$665.83	\$665.83	DATE PAID					
WENDI WILLIAMS TRUST		UNIT	φοσσ.σσ	Ψοσο.σο	DATE TAILS					
		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1651 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 17				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-016		1.00	\$665.83	\$665.83	DATE PAID					
CLIVE SPACKMAN		UNIT			1					
STEPHANIE SPACKMAN					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1653 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 18				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
E0 22 02 121 017		1.00	¢eef oo	\$66E 92	DATE PAID					+
50-22-03-131-017 DAVID LOVE		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
DAVID LOVE		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1657 W LAKE DR	SUPERVISOR'S PLAT NO 2 LOT 19				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1342	SOI ERVISOROT EAT NO 2 EOT 19				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 VI IVII 1007 / - 1012					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	l l	1		I	. U . / L	ψ	ψ100.17	Ψ100.17	Ψ100.17	ψισσ

Page 30 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-131-022		1.00	\$665.83	\$665.83	DATE PAID					
GARY C PHILLIPS		UNIT		,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1905 W LAKE DR	BENTLEY SUB LOTS 30 & 31				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-023		1.00	\$665.83	\$665.83	DATE PAID					
GERALD B ROSS		UNIT								
DEBORAH ROSS					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1911 W LAKE DR	BENTLEY SUB LOTS 28 & 29				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
F0 00 00 404 004		4.00	<b>\$</b> 005.00	\$005.00	DATE DAID					
50-22-03-131-024		1.00	\$665.83	\$665.83	DATE PAID					
JAMES STREET		UNIT			DALANCE	¢cce oo	<b>\$522.66</b>	\$200 FO	¢266.33	¢422
MARY STREET	BENTLEY SUB LOT 27				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1915 W LAKE DR NOVI MI 48377-1343	BENTLET SUB LOT 21				PRINCIPAL INTEREST	\$133.17	\$133.17 \$0.00	\$133.17	\$133.17	\$133 \$0.0
NOVI IVII 46377-1343					TOTAL	\$0.00 \$133.17	\$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$133
					TOTAL	ψ133.17	ψ133.17	ψ133.17	ψ133.17	ψισσ
50-22-03-131-025		1.00	\$665.83	\$665.83	DATE PAID					
KURT M HOUGHTON		UNIT	ψοσοίσο	Ψ000.00	3,1121,113					
JENNA M HOUGHTON		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1921 WEST LAKE	BENTLEY SUB LOT 26				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-026		1.00	\$665.83	\$665.83	DATE PAID					
CAREN NEDERLANDER		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1927 WEST LAKE DR	BENTLEY SUB LOT 25				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
FO 00 00 404 007		4.00	<b>\$005.00</b>	\$005.00	DATE DAID					
50-22-03-131-027 ROBERT M HULL		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
		UNIT			DALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
BRENDA G TOPP 1929 W LAKE DR	BENTLEY SUB LOTS 23 & 24				BALANCE PRINCIPAL	\$133.17	\$133.17	\$133.17	\$200.33	\$133
NOVI MI 48377-1343	DEIVILE 1 00D E010 23 & 24				INTEREST	\$0.00	\$133.17	\$0.00	\$133.17	\$133
INO VI IVII TOOT I - TOTO					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					101/12	ψ100.17	ψ100.17	ψ100.17	ψ100.17	Ψ100
50-22-03-131-028		1.00	\$665.83	\$665.83	DATE PAID					
JAMES R FARRINGTON		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1931 W LAKE DR	BENTLEY SUB LOT 22				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
			*						1	1
50-22-03-131-029		1.00	\$665.83	\$665.83	DATE PAID					
HUSAM KHOURY		UNIT				<b>***</b>	<b>A=</b> 0			1
	DENTIFY OUR NAME OF LOTION AND SELECTION				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1935 W LAKE DR	BENTLEY SUB N 1/2 OF LOT 20 & ALL OF LOT 21				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.0 \$133
					TOTAL	\$133.17				

Page 31 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-131-030		1.00	\$665.83	\$665.83	DATE PAID					
ROBERTA WENDT		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1939 W LAKE DR	BENTLEY SUB LOT 19 & S 1/2 OF LOT 20				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-031		1.00	\$665.83	\$665.83	DATE PAID					
JUREK BACZEWSKI		UNIT			5	<b>^</b>	<b>^-</b>	****	****	<b>.</b>
	DENTI EV OUD LOT 40				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1945 W LAKE DR	BENTLEY SUB LOT 18				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-131-032		1.00	\$665.83	\$665.83	DATE PAID					
TONY OCKELFORD		UNIT	φ005.63	φ003.63	DATE FAID					
TONT CONLLT OND		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1947 W LAKE DR	BENTLEY SUB LOTS 16 & 17				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1343	5221.005.20.0.00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 111 10011 1010					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
						<b>\$100.11</b>	ψ.σσ	<b>\$100111</b>	<b>V.00</b>	<b>V.00</b>
50-22-03-131-035		0.75	\$665.83	\$499.37	DATE PAID					
PATRICIA J EISLEY		UNIT								
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99
1671 HARBOR CV	CONDOMINIUM UNIT 1, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
NOVI MI 48377-1310	19-87 TRAN FR 102-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
50.00.00.404.000		0.75	<b>A</b> 005.00	0.400.07	DATE DAID					
50-22-03-131-036		0.75	\$665.83	\$499.37	DATE PAID					
TIMOTHY ZEWATSKY	CONDOMINIUM DI ANIMO 430 LIARROR COVE	UNIT			DAI ANOE	<b>#</b> 400 07	<b>#</b> 000 50	<b>#</b> 000 00	A400 75	000
MELISSA ZEWATSKY	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99
1669 HARBOR CV	CONDOMINIUM UNIT 2, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
NOVI MI 48377-1310	19-87 TRAN FR 102-007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
50-22-03-131-037		0.75	\$665.83	\$499.37	DATE PAID					
CASJ 2 LLC		UNIT	ψ000.00	Ψ-33.31	DATETAID					
0.100 = ==0	CONDOMINIUM PLAN NO 439 HARBOR COVE	0			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99
1667 HARBOR CV	CONDOMINIUM UNIT 3, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
NOVI MI 48377-1310	19-87 TRAN FR 102-008				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
50-22-03-131-038		0.75	\$665.83	\$499.37	DATE PAID					
JOHN DOUGLAS DOWNEY	CONDOMINIUM DI ANNO 100 HADDOS CONT	UNIT				<b>*</b> • • • • • • • • • • • • • • • • • • •		000	0.00	
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99
1665 HARBOR CV	CONDOMINIUM UNIT 4, BLDG 1 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
NOVI MI 48377-1310	19-87 TRAN FR 102-009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
50-22-03-131-039		0.75	\$665.83	\$499.37	DATE PAID					
ISABEL M DOUSE TRUST		UNIT	φυυ3.03	φ <del>4</del> 33.37	DATE PAID					
IGABLE III DOUGL TRUGT	CONDOMINIUM PLAN NO 439 HARBOR COVE	OIVII			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99
1661 HARBOR CV	CONDOMINIUM UNIT 5, BLDG 2 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
		ii I		1		Ψ00.01	Ψ00.01	ψου.σ.	Ψ00.01	ψυυ.

Page 32 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	5	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-040		0.75	\$665.83	\$499.37	DATE PAID					
MATTHEW S JONES		UNIT	•	,						
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1655 HARBOR CV	CONDOMINIUM UNIT 6. BLDG 2 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22338 HYTHE DR					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
MACOMB MI 48044						755.5.	433.5.	¥55.5.	433.5	700.0.
50-22-03-131-041		0.75	\$665.83	\$499.37	DATE PAID					
JOYCE G WOLF		UNIT	***************************************	¥ 100101						
	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1685 HARBOR CV	CONDOMINIUM UNIT 7, BLDG 3 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1530 BEACON ST APT 1504					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
BROOKLINE MA 02446						*	,			
50-22-03-131-042		0.75	\$665.83	\$499.37	DATE PAID					
MICHAEL WEIR		UNIT	ψοσο.σσ	ψσσ.σ.	27.1.2.7.1.2					
JEANMARIE WEIR	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1687 HARBOR CV	CONDOMINIUM UNIT 8, BLDG 3 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
65 PAMELA CT	10 01 110 010,020,000 0102 000				TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
WATERFORD MI 48327					101712	φοσ.σ1	φοσιστ	φου.στ	φοσιστ	φου.στ
50-22-03-131-043		0.75	\$665.83	\$499.37	DATE PAID					
MICHAEL WEIR		UNIT	φοσο.σσ	Ψ100.01	B/(TET/(IB					
JEANMARIE WEIR	CONDOMINIUM PLAN NO 439 HARBOR COVE	OIVII			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1687 HARBOR CV	CONDOMINIUM UNIT 9, BLDG 3 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
65 PAMELA CT	10 07 11 010,020,000 & 102 000				TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
WATERFORD MI 48327					TOTAL	ψ55.67	ψ55.67	ψ55.01	ψ55.07	ψ33.07
50-22-03-131-044		0.75	\$665.83	\$499.37	DATE PAID					
ALLEN M BENNETT		UNIT	ψ000.00	ψ+33.37	DATETAID					
DARLENE BENNETT	CONDOMINIUM PLAN NO 439 HARBOR COVE	OIVII			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1691 HARBOR CV	CONDOMINIUM UNIT 10. BLDG 3 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 40377-1310	10 07 11 010,020,000 & 102 000				TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
					TOTAL	ψ99.01	ψ33.01	ψ33.07	ψ33.01	ψ33.07
50-22-03-131-045		0.75	\$665.83	\$499.37	DATE PAID					
EARL ELLIOT		UNIT	ψ000.00	ψ+33.37	DATETAID					
LONNIE ROSS	CONDOMINIUM PLAN NO 439 HARBOR COVE	OINII			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1695 HARBOR CV	CONDOMINIUM UNIT 11, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 VI WII 40377-1310	13 07 110 010,020,000 & 102 000				TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
					TOTAL	ψ33.01	ψ33.01	ψ99.07	ψ33.01	ψ33.01
50-22-03-131-046		0.75	\$665.83	\$499.37	DATE PAID					
JOHN H MONTVILLE		UNIT	ψυυυ.ου	ψ <del>+</del> σ5.31	DATE FAID					
MARY LOU MONTVILLE	CONDOMINIUM PLAN NO 439 HARBOR COVE	UNIT			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1697 HARBOR CV	CONDOMINIUM UNIT 12, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 764	10 07 110 010,020,000 & 102-000				TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48376					IOIAL	ψυυ.υι	ψυυ.01	ψυυ.01	ψυυ.01	ψυσ.01
50-22-03-131-047		0.75	\$665.83	\$499.37	DATE PAID					
KARTIK SHAH		UNIT	ψυυυ.υυ	ψ <del>4</del> 99.31	DAILFAID					
	CONDOMINIUM PLAN NO 439 HARBOR COVE	UIVII			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
	I COMPONINTON I FAIN INC 409 HANDON COVE					•		· ·		
RANJAN SHAH	CONDOMINIUM UNIT 13 BLDG 41 0363 D 177 0	ļ .								
<b>RANJAN SHAH</b> 1699 HARBOR CV	CONDOMINIUM UNIT 13, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
RANJAN SHAH	CONDOMINIUM UNIT 13, BLDG 4 L 9263 P 177 8- 19-87 FR 018,020,033 & 102-005				INTEREST TOTAL	\$99.87 \$0.00 \$99.87	\$99.87 \$0.00 \$99.87	\$99.87 \$0.00 \$99.87	\$99.87 \$0.00 \$99.87	\$99.87 \$0.00 \$99.87

Page 33 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-131-048		0.75	\$665.83	\$499.37	DATE PAID					
LONNIE ROSS		UNIT								
JOHNATHAN & DILLON ROSS	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1701 HARBOR CV	CONDOMINIUM UNIT 14, BLDG 4 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1311	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
			^	<b>*</b>	5.475.5415					
50-22-03-131-049		0.75	\$665.83	\$499.37	DATE PAID					
RHEA TOWART	CONDOMINIUM PLAN NO 439 HARBOR COVE	UNIT			DAL ANIOE	<b>#</b> 400 07	<b>\$000.50</b>	<b>#</b> 000 00	<b>0</b> 400 75	400.07
LEONARD BERGER					BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1681 HARBOR CV	CONDOMINIUM UNIT 15, BLDG 5 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
50-22-03-131-050		0.75	\$665.83	\$499.37	DATE PAID					
PAUL LEMON		UNIT	φ005.65	φ499.37	DATE PAID					
SUSAN LEMON	CONDOMINIUM PLAN NO 439 HARBOR COVE	01111			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1679 HARBOR CV	CONDOMINIUM UNIT 16, BLDG 5 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 11 1111 10077 1010					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
						<b>,</b>	75575	700.0.	<b>,</b>	700.0.
50-22-03-131-051		0.75	\$665.83	\$499.37	DATE PAID					
MICHAEL LAWRENCE		UNIT								
LUCINDA LAWRENCE	CONDOMINIUM PLAN NO 439 HARBOR COVE				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.87
1677 HARBOR CV	CONDOMINIUM UNIT 17, BLDG 5 L 9263 P 177 8-				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
NOVI MI 48377-1310	19-87 FR 018,020,033 & 102-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.87
50-22-03-131-052		1.00	\$665.83	\$665.83	DATE PAID					
OLGA JACOB TRUST		UNIT			DAL ANIOE	<b>#</b> 005.00	<b>#</b> 500.00	<b>#</b> 000 <b>F</b> 0	<b>#</b> 000 00	0400.47
4040 W LAKE BB	SUPERVISOR'S PLAT NO 2 LOT 8 10-28-96 FR				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
1619 W LAKE DR	129-012				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
50-22-03-151-007		0.20	\$665.83	\$133.17	DATE PAID					
OLDEN JACKSON		UNIT	ψ003.03	\$133.17	DATEFAID					
KATHY M BERUTTI		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
116 PENHILL ST	BLOMFIELD SUB LOTS 102, 103 & 104				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1355	BEOM 1225 005 2010 102, 100 0 101				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
140 11 1111 11001 11000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
						Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00
50-22-03-151-008		0.20	\$665.83	\$133.17	DATE PAID					
ERIK KLAPHAKE		UNIT	•							
JENNIFER BAGNASCO					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
100 PENHILL ST	BLOMFIELD SUB LOTS 100 & 101				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
			4007.00		5.455.54/5					
50-22-03-151-009		0.20	\$665.83	\$133.17	DATE PAID			<u> </u>		
MARC R CORRIVEAU		UNIT			DALANCE	#400 17	<b>#</b> 400 50	Ф <b>7</b> С СС	ΦEC 27	600.00
WENDY CODDIVEAU	1				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
WENDY CORRIVEAU	DI OMEIELD CUD LOTO 444 0 440	ll I								
140 PENHILL ST	BLOMFIELD SUB LOTS 111 & 112				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	
	BLOMFIELD SUB LOTS 111 & 112				PRINCIPAL INTEREST TOTAL	\$26.63 \$0.00 \$26.63	\$26.63 \$0.00 \$26.63	\$26.63 \$0.00 \$26.63	\$26.63 \$0.00 \$26.63	\$26.63 \$0.00 \$26.63

Page 34 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-151-010		0.20	\$665.83	\$133.17	DATE PAID					
DAN C FRANTZ		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
134 PENHILL ST	BLOMFIELD SUB LOTS 109 & 110				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-151-011		0.20	\$665.83	\$133.17	DATE PAID					
STEVE TALLMAN		UNIT	φοσο.σσ	Ψ100.17	BATETAID					
DINA TALLMAN					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
156 PENHILL ST	BLOMFIELD SUB LOTS 115 & 116				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
E0 22 02 454 042		0.00	<b>\$005.00</b>	<b>#</b> 400.47	DATE DAID					
50-22-03-151-012 WAYNE DEAN		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
WATHE BEAN		ONIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
148 PENHILL ST	BLOMFIELD SUB LOTS 113 & 114				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-151-014		0.20	\$665.83	\$133.17	DATE PAID					
COLLEEN ROBBINS		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
126 PENHILL ST	BLOMFIELD SUB LOTS 107 & 108				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26. \$26.
NOVI MI 48377-1355	BEOMINICED GOD EGTO 107 & 100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 11 101 1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						,				
50-22-03-151-015		0.20	\$665.83	\$133.17	DATE PAID					
DOUGLAS D SIMS		UNIT			5.1.4.105	<b>*</b>	A	<b>^-</b>	<b>^</b>	400
400 DENUM LOT	DI OMEIEL D OUD LOTO 405 8 400				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
120 PENHILL ST	BLOMFIELD SUB LOTS 105 & 106				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-151-018		0.20	\$665.83	\$133.17	DATE PAID					
DEVIN JORDAN		UNIT	·							
NACHELLA JORDAN	BLOMFIELD SUB PART OF LOT 118, ALSO ALL				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
178 PENHILL ST	OF LOTS 119 & 120 ALL DESC AS BEG AT SW				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1355	COR OF LOT 120, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-151-019		0.20	\$665.83	\$133.17	DATE PAID					
SEAN HEATH		UNIT	ψυυυ.υυ	ψ100.17	DATEFAID					
RHONDA HEATH	BLOMFIELD SUB LOT 117, ALSO PART OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
168 PENHILL ST	118 ALL DESC AS BEG AT PT DIST S 54-03-00 E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1355	80.85 FT FROM				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
E0 22 02 4E4 020		0.00	<b>\$005.00</b>	<b>0400.47</b>	DATE DAID					
50-22-03-151-020 JESSICA KERNEN		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MARIA SABLO		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
190 PENHILL ST	BLOMFIELD SUB LOTS 121 & 122 9-7-93 FR 001				PRINCIPAL	\$26.63	\$26.63	\$79.90	\$26.63	\$26. \$26.
NOVI MI 48377-1355	& 016				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI IVII <del>1</del> 007 7 - 1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						Ψ <u>-</u> -0.00	Ψ=0.00	Ψ=0.00	Ψ <u>-</u> 0.00	Ψ20.

Page 35 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-001		0.20	\$665.83	\$133.17	DATE PAID					
MARK RICHARD SEQUINE		UNIT	*	,						
WANDA SEQUINE		J			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
45361 W PARK DR	BLOMFIELD SUB LOTS 77, 78 & 79				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-4901	520 1225 665 26 16 11, 16 6 16				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 111 10011 1001					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-152-002		0.20	\$665.83	\$133.17	DATE PAID					
BARBARA MAXWELL		UNIT	φοσο.σσ	ψ100.11	B/(IZI/(IB					
		Olviii			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
179 PENHILL ST	BLOMFIELD SUB LOTS 80 & 81				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1356	520WH 1225 005 2010 00 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 11 101 1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-152-003		0.20	\$665.83	\$133.17	DATE PAID					
KESTUTIS MILIUNAS		UNIT	φοσο.σσ	ψ100.11	B/(IZI/(IB					
		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
159 PENHILL ST	BLOMFIELD SUB LOTS 82 & 83				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1356	220 1222 002 20 10 02 0 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
19471 SCENIC HARBOR DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NORTHVILLE MI 48167-1978					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-152-004		0.20	\$665.83	\$133.17	DATE PAID					
ALEKSANDR MARKIN		UNIT	φοσο.σσ	ψ100.11	B/(121/(18					
GALINA DZHELALI		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
45383 WEST PARK DR	BLOMFIELD SUB LOTS 73 TO 76 INCL				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	BEOMINICES GOD EGYGYOYGY				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 11 101 1					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.
50-22-03-152-007		0.20	\$665.83	\$133.17	DATE PAID					
JOSUE NUNES HERNANDEZ		UNIT	φοσο.σσ	Ψ100.11	B/(IZI/(IB					
00002 1101120 112111111111222		Olviii			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
143 PENHILL ST	BLOMFIELD SUB LOTS 65, 66 & 87				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1356	BEOWN 1225 COB 2010 CO, CO & CI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI WII 40377-1330					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					TOTAL	\$20.03	\$20.03	\$20.03	φ20.03	\$20
50-22-03-152-008		0.20	\$665.83	\$133.17	DATE PAID					
JAMES M EUBANKS		UNIT	ψ003.03	φ133.17	DATEFAID					
JAMES E EUBANKS		OINII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
139 PENHILL ST	BLOMFIELD SUB LOTS 88 & 89				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1356	DECIVII IEED 300 E013 00 & 09				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI WII 7007 7 - 1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					IOIAL	Ψ20.03	Ψ20.00	Ψ20.03	Ψ20.03	Ψ20.
50-22-03-152-010		0.20	\$665.83	\$133.17	DATE PAID					
AL EVERS		UNIT	ψ000.00	ψ100.17	DATETAID					
DORIS EVERS		CINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
109 PENHILL ST	BLOMFIELD SUB LOTS 95, 96 & 97				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1356	DECIVII IEED 000 E010 00, 00 & 91				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 VI WII 7007 F- 1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					IOIAL	Ψ20.03	Ψ20.03	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-152-011		0.20	\$665.83	\$133.17	DATE PAID					1
LAWRENCE D HEIN		UNIT	ψυυυ.υυ	ψ100.17	DATEFAID					
105 PENHILL ST		CINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	BLOMFIELD SUB LOT 98				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NO\/I MI 48377-1356				II .	FRINCIPAL	<b>ა</b> დანა	φ∠0.03	φ∠0.03	φ∠0.03	-
NOVI MI 48377-1356	BEGINII IEEB GOB EG 1 30				INTEDEST	ድር ርር	ድር ርር	ቀር ርር	የሰ ሰሰ	ተለ ተ
NOVI MI 48377-1356	BEOWN IEED GOD EOT 30				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.0

Page 36 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-152-012		0.20	\$665.83	\$133.17	DATE PAID					
WILLIAM R CURTIS		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
101 PENHILL ST	BLOMFIELD SUB LOT 99				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-152-013		0.20	\$665.83	\$133.17	DATE PAID					
JAMES SKINNER		UNIT	ψοσο.σσ	Ψ100.17	DATETALD					
NANCY SKINNER					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
144 PICKFORD ST	BLOMFIELD SUB LOT 64				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
FO 00 00 4FO 044		2.22	<b>#</b> 205.00	0400.47	DATE DAID					
50-22-03-152-014 ANN E LAFLECHE		0.20 UNIT	\$665.83	\$133.17	DATE PAID					+
ANN E EAT LEONE		OINII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
140 PICKFORD ST	BLOMFIELD SUB LOTS 62 & 63				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1357	520M11225 005 2010 02 0 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3540 CHILDS LAKE RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
MILFORD MI 48381-3620						<b>V</b> =0.00	Ţ=0.00	<b>V</b> =0.00	7=0.00	¥=0.
50-22-03-152-015		0.20	\$665.83	\$133.17	DATE PAID					
MARK HATCHIGIAN		UNIT								
KATHY L HATCHIGIAN					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
132 PICKFORD ST	BLOMFIELD SUB LOTS 59 TO 61 INCL				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-152-016		0.00	<b>#</b> 005.00	<b>#</b> 400.47	DATE DAID					
BRIAN L MCDERMOTT		0.20	\$665.83	\$133.17	DATE PAID					
BRIAN L WICDERWOTT		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
120 PICKFORD ST	BLOMFIELD SUB LOTS 56 TO 58 INCL				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26. \$26.
NOVI MI 48377-1357	BEOWN IEED GOD EG 10 30 10 30 INGE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI WII 403/ / - 103/					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-152-017		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL MCCRACKEN		UNIT								
JONI MCCRACKEN	DI OMEIEL D OUD LOTO 50 TO 55 1101				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
106 PICKFORD ST	BLOMFIELD SUB LOTS 53 TO 55 INCL				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1357					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-152-018		0.20	\$665.83	\$133.17	DATE PAID					+
MATTHEW VAN BENSCHOTEN		UNIT	+0.00	Ţ						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
135 PENHILL ST	BLOMFIELD SUB LOTS 90 & 91 9-15-89 FR 009				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1355					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2218 SHANKIN DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WOLVERINE LAKE MI 48390-2455										
50-22-03-152-019		0.20	\$665.83	\$133.17	DATE PAID					1
		UNIT								
SARAH O WOODGATE					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	BLOMFIELD SUB LOTS 92, 93 & 94 9-15-89 FR									
	BLOMFIELD SUB LOTS 92, 93 & 94 9-15-89 FR 009				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	,									\$26. \$26. \$26.

Page 37 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-152-020		0.20	\$665.83	\$133.17	DATE PAID					
JEFFREY BARON		UNIT								
SHANNON BARON	DI OMFIELD CLID LOTO 67 9 69 EVO NI V 7 ET				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
156 PICKFORD ST	BLOMFIELD SUB LOTS 67 & 68, EXC NLY 7 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1357	OF BOTH SD LOTS 1-31-91 FR 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
255352 DOGWOOD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48374										
50-22-03-152-021		0.20	\$665.83	\$133.17	DATE PAID					
ZHIWEI SUN		UNIT		,						
	DI OMEIELD OUD LOTO OF A SO ALOO NILVA				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
151 PICKFORD ST	BLOMFIELD SUB LOTS 84, 85 & 86, ALSO NLY 7				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1357	FT OF LOTS 67 & 68 1-31-91 FR 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24742 JAMESTOWNE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48375						<b>V</b> =0.00	<b>V</b>	4=0.00	<b>4</b> =0.00	<b>4</b>
50-22-03-152-022		0.20	\$665.83	\$133.17	DATE PAID					
YERKO SEPULVEDA	BLOMFIELD SUB PART OF LOT 71 & ALL OF LOT	UNIT	<b>4000.00</b>	Ų.50.17	27217.119			1		1
NANCY SEPULVEDA	72 ALL DESC AS BEG AT PT DIST N 53-30-00 W				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
168 PICKFORD ST	76.50 FT FROM MOST SLY COR OF LOT 69, TH N				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1357	53-30-00 W 67.50 FT, TH N 36-01-46 E 107 FT TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
110 VI WII 40377-1337	S 53-30-00 E 67.50 FT, TH S 36-01-46 W 107 FT				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
	TO BEG				TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00
50-22-03-152-023		0.20	\$665.83	\$133.17	DATE PAID					
50-22-03-152-025 KEVIN LAPP	BLOMFIELD SUB LOTS 69 & 70, ALSO PART OF	UNIT	φ005.65	\$133.17	DATE PAID					
KEVIN LAPP	LOT 71 ALL DESC AS BEG AT MOST SLY COR	UNII			DALANCE	£400.47	¢400 F0	Ф <b>7</b> 0.00	\$53.27	<b>#00.00</b>
400 DICKEODD CT	OF LOT 69. TH N 53-30-00 W 76.50 FT. TH N 36-				BALANCE PRINCIPAL	\$133.17	\$106.53	\$79.90		\$26.63
162 PICKFORD ST NOVI MI 48377-1358	01-46 E 107FT, TH S 53-30-00 E 76.50 FT, TH S 36-				INTEREST	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
48895 ROCKEFELLER DR	01-46 E 107F1, 1H S 53-30-00 E 76.50 F1, 1H S 30-				_	\$0.00	\$0.00	\$0.00	\$0.00 \$26.63	\$0.00 \$26.63
	01-46 W 107 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$20.03	\$20.03
CANTON MI 48188-8512		0.00	Ф00E 00	C400.47	DATE DAID					-
50-22-03-153-003		0.20	\$665.83	\$133.17	DATE PAID					
ROY PIERCE		UNIT			544 44405	A.c=	<b>^</b>	<b>^</b>	<b>^</b>	400.00
470 DIOL/FORD OT	DI OMELEI D OLID I OTO 04 0 00				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
173 PICKFORD ST	BLOMFIELD SUB LOTS 31 & 32				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
F0 00 00 4F0 004			A	A.c=	5.455 5.455					
50-22-03-153-004		0.20	\$665.83	\$133.17	DATE PAID					
GARY A GAUTHIER		UNIT								
KAY GAUTHIER	DI OMEIEL D OUD LOTO OO 2 24				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
163 PICKFORD ST	BLOMFIELD SUB LOTS 33 & 34				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6135 CARROLL LAKE RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
COMMERCE TOWNSHIP MI 48382-3614		0.55	0005.00	0400 17	DATE DATE					1
50-22-03-153-007		0.20	\$665.83	\$133.17	DATE PAID					1
JOHN T HARVEY		UNIT				<b>*</b> * * * * * * * * * * * * * * * * * *	A.a. ===	0=6	<b>A=</b> 5	
4.5.4 DIGUESODO OT	DI OMEIE: D OUD : OT CO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
151 PICKFORD ST	BLOMFIELD SUB LOT 38				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1321 W WEST LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 43877			<b>A</b> 00=	A10- :-	5.75					1
50-22-03-153-013		0.20	\$665.83	\$133.17	DATE PAID					1
STEVEN W MAYKOVICH		UNIT								1
	DI CAMERIE DI CAMERICA CON CONTRACTORIO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
137 PICKFORD ST	BLOMFIELD SUB LOT 13, ALSO LOTS 42 & 43				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
				II .	1	1	1	1	1	

Page 38 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-153-019		0.20	\$665.83	\$133.17	DATE PAID					
MARION D VANOVER		UNIT								
PEGGY SUE VANOVER					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
109 PICKFORD ST	BLOMFIELD SUB LOT 50				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						Ψ20.00	<b>\$20.00</b>	<b>\$20.00</b>	<b>\$20.00</b>	Ψ20.
50-22-03-153-020		0.20	\$665.83	\$133.17	DATE PAID					
MARION VANOVER		UNIT	φοσσ.σσ	Ψ100.11	DATE TAILS					
PEGGY VANOVER		0.4			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
72007 771107211	BLOMFIELD SUB LOT 51				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	BEGINI IEEB GOB EG I G I				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
109 PICKFORD ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1358					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20
50-22-03-153-021		0.20	CCCE 02	¢122.17	DATE PAID					
		0.20	\$665.83	\$133.17	DATE PAID					
DEAN SIMON		UNIT			DALANCE	¢422.47	¢100 F2	¢70.00	<b>0</b> E0.07	фоо
DEBRA SIMON	DI OMFIFI D CUD I OT FO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
101 PICKFORD ST	BLOMFIELD SUB LOT 52				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-153-028		0.20	\$665.83	\$133.17	DATE PAID					
DONNA THORPE		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
115 PICKFORD ST	BLOMFIELD SUB LOTS 6 & 49				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-153-030		0.20	\$665.83	\$133.17	DATE PAID					
JOHN THOMOPOULOS		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
119 PICKFORD ST	BLOMFIELD SUB LOT 47 & 48				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1358					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 91					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-0091										
50-22-03-153-038		0.20	\$665.83	\$133.17	DATE PAID					
V V CONSTRUCTION LLC		UNIT	·							
-	DI OMEIEI D'OLID I CT. 44, ALCO I CT. 45 EVO EVO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
129 PICKFORD ST	BLOMFIELD SUB LOT 44, ALSO LOT 45 EXC ELY				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1358	3 FT 12-8-99 FR 036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
6965 PAIGE LN					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
YPSILANTI MI 48197						<del>+</del> =3.00	<del>+</del> =3.00	7_5.55	Ţ_5.00	<u> </u>
50-22-03-153-040		0.20	\$665.83	\$133.17	DATE PAID	1				
MICHAEL JERALD LARIMAR		UNIT	ψοσο.σσ	ψ100.17	DATETAID					1
		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
159 PICKFORD ST	BLOMFIELD SUB LOTS 35, 36 & 37 7-28-00 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1358	005 & 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI IVII 7007 7 - 1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					IOIAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.
50-22-03-153-043		0.20	¢665.00	¢122.47	DATE PAID	+		+		+
		0.20	\$665.83	\$133.17	DATE PAID	<u> </u>		-		
MARK SAINCOME	DI OMEIELD CUD LOT O ALCO EL VAET OF LOTO	UNIT			DALANCE	£400.47	<b>#</b> 400 <b>=</b> 0	<b>#70.00</b>	<b>#</b> FC 07	000
	BLOMFIELD SUB LOT 9, ALSO ELY 3FT OF LOTS				BALANCE PRINCIPAL	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
400 BIOLEDB 07	100 45 ALCO ALL OF LOT 40 44 07 00 FD 005 0						U W W W W	\$26.63	U (1) (1) (1)	\$26.
123 PICKFORD ST	10 & 45,ALSO ALL OF LOT 46 11-27-02 FR 035 &					\$26.63	\$26.63		\$26.63	
123 PICKFORD ST NOVI MI 48377-1358	10 & 45,ALSO ALL OF LOT 46 11-27-02 FR 035 & 041				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.

Page 39 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-153-044		0.20	\$665.83	\$133.17	DATE PAID					
SHELLY HEADLEE		UNIT								
	BLOMFIELD SUB LOTS 28, 29 & 30 4-14-08 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
175 PICKFORD ST	001 & 002				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1358	001 & 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-154-004		0.20	\$665.83	\$133.17	DATE PAID					
YOUSEF ANTOO		UNIT	*****	,						
NADA ANTOO	BRISTOL CORNERS NORTH LOT 14 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
44474 BRISTOL CIR	22-04-426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	22-04-420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-154-005		0.20	\$665.83	\$133.17	DATE PAID					
DONALD LUSCHAS		UNIT	\$000.03	\$133.17	DATE PAID					
	DDICTOL CODNEDC NODTH LOT 45 0 05 00 50				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
44462 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 15 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	003&22-04-426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
E0 22 02 454 00C		0.20	ФСС <u>Г</u> 02	£422.47	DATE DAID					
50-22-03-154-006 STEPPHEN IORFIDO		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
SUZANNE SMITH		O T T T			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
44450 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 16 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	003&22-04-426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-154-007		0.20	\$665.83	\$133.17	DATE PAID					
ANIL NAGOJI		UNIT	ψ003.03	φ133.17	DATEFAID					
SANDEEPA VELGAPUDI		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30467 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 17 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	003&22-04-426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 11 101 1					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						Ψ20.00	Ψ20.00	<b>\$20.00</b>	Ψ20.00	420
50-22-03-154-008 SRIKANTH CHUNDI		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
KALAHASTI VIJAYA CHUNDI		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30479 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 18 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						<del></del>	<del>\$23.00</del>	<b>\$25.00</b>	<b>\$25.00</b>	Ψ20
50-22-03-154-009		0.20	\$665.83	\$133.17	DATE PAID					
NARASIMHA RAO SANTHAPUR		UNIT			DAL ANIOE	<b>#</b> 400.47	<b>#</b> 400 <b>5</b> 0	ф <b>7</b> С СС	<b>#</b> 50.07	000
GOWRI L SANTHAPUR	BRISTOL CORNERS NORTH LOT 19 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30487 PENNINGTON LN	003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26
						<del></del>	7	7	7	720
50-22-03-154-010		0.20	\$665.83	\$133.17	DATE PAID					
JOSEPH BINNO		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30495 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 20 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.
NOVI WII 40077					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$0. \$26.
	· ·	n I		II .	IOIAL	Ψ <b>∠</b> U.U3	Ψ <b>∠</b> U.U3	Ψ <b>∠</b> U.U3	<b>Ψ∠</b> 0.03	ı ⊅∠0.

Page 40 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-154-011		0.20	\$665.83	\$133.17	DATE PAID					
DEEPAK VITTALDEVARA		UNIT								
SWATHI ISUKAPALLI	BRISTOL CORNERS NORTH LOT 21 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30503 PENNINGTON LN	002 & 003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	002 & 003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-03-154-012		0.20	\$665.83	\$133.17	DATE PAID					
JOHN HASKINS		UNIT								
JENNIFER HASKINS	BRISTOL CORNERS NORTH LOT 22 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30515 PENNINGTON LN	002				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
E0 22 02 4E4 042		0.00	<b>የ</b> ርርር በጋ	£400.47	DATE DAID					
50-22-03-154-013		0.20	\$665.83	\$133.17	DATE PAID					
DARBY O'REILLY		UNIT			BALANCE	¢400.47	£400 F0	Ф <b>7</b> 0 00	<b>ФГО О</b> 7	<b>COC CO</b>
NANCY C O'REILLY 30514 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 23 6-25-03 FR				PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26.63 \$26.63
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.03
NOVI WII 40377					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					TOTAL	Ψ20.03	\$20.03	Ψ20.03	Ψ20.03	\$20.03
50-22-03-154-014		0.20	\$665.83	\$133.17	DATE PAID					
ZHENGXIAN BRANDON BAI		UNIT	ψ000.00	Ψ133.17	DATETAID					
ZIIZNOXIAN BRANDON BAI		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30502 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 24 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4847 BARLOWS LANDING COVE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
SAN DIEGO CA 92130						<b>4</b> =0.00	Ų-0.00	<b>V</b> =0.00	Ψ=0.00	<b>4</b> -0.00
50-22-03-154-015		0.20	\$665.83	\$133.17	DATE PAID					
ALAN MILLER		UNIT	*							
ROSANNE MILLER	PRIOTOL CORNERO MORTILLOT OF COST OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30490 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 25 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-03-154-016		0.20	\$665.83	\$133.17	DATE PAID					
THOMAS SUTHERLAND		UNIT								
SYLVIA SUTHERLAND	BRISTOL CORNERS NORTH LOT 26 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30478 PENNINGTON LN	003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50.00.00.454.047		0.00	<b>#</b> 005.00	M400 17	DATE DATE			-		<u> </u>
50-22-03-154-017		0.20	\$665.83	\$133.17	DATE PAID					
AMY L JOSS		UNIT			DALANIO =	0100.17	0400.50	<b>#70.00</b>	<b>#50.07</b>	000.00
2040C DENININGTON LA	BRISTOL CORNERS NORTH LOT 27 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30466 PENNINGTON LN	003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-03-154-018		0.20	\$665.83	\$133.17	DATE PAID			+		+
50-22-03-154-018 DAVID ZARRA		0.20 UNIT	δ8.600φ	φ133.17	DATE PAID					+
DENISE ZARRA		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
30454 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 28 6-25-03 FR				PRINCIPAL	\$133.17	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	003				INTEREST	\$26.63			\$26.63	\$20.00
NOVI IVII 403//					TOTAL	\$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$26.63	\$26.63

Page 41 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-154-019		0.20	\$665.83	\$133.17	DATE PAID					
JENNIFER PUZSAR		UNIT								
	BRISTOL CORNERS NORTH LOT 29 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30442 PENNINGTON LN	003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
E0 22 02 4EE 004		4.00	ФССТ 00	ФССТ 02	DATE DAID					
50-22-03-155-001 DANNY R HENSON		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
JULIE A HENSON		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	BENTLEY SUB LOT 15									· ·
1951 W LAKE DR NOVI MI 48377-1343	BENTLET SUB LOT 13				PRINCIPAL INTEREST	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133. \$0.0
NOVI WII 40377-1343					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					TOTAL	φ133.17	ψ133.1 <i>1</i>	φ133.17	Φ133.17	φ133.
50-22-03-155-002		1.00	\$665.83	\$665.83	DATE PAID					
DARRELL ROBERTSON		UNIT	ψ000.00	ψ003.03	DATETAID					
JULIE ROBERTSON		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1953 W LAKE DR	BENTLEY SUB LOT 14				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1343	52.11.22.1.005.20.1.1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 1111					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
						<b>\$100.11</b>	<b>V.00.11</b>	<b>\$100111</b>	ψ.ισσ	ψ.σσ.
50-22-03-155-003		1.00	\$665.83	\$665.83	DATE PAID					
MARK J MILLER		UNIT	***************************************	<b>*************</b>						
TINA M MILLER					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1957 W LAKE DR	BENTLEY SUB LOT 13				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
50-22-03-155-006		1.00	\$665.83	\$665.83	DATE PAID					
FRANCES E BURKETT		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
2005 W LAKE DR	BENTLEY SUB LOT 10				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
50-22-03-155-007		1.00	\$665.83	\$665.83	DATE PAID					
PETER CHEN		UNIT			5	****	<b>^-</b>	****	****	
2000 W I AKE DD	DENTI EV CUD LOT O				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
2009 W LAKE DR NOVI MI 48377-1344	BENTLEY SUB LOT 9				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
INOVI IVII 403/1-1344					INTEREST TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.0 \$133
					TOTAL	φ133.1 <i>1</i>	φ133.1 <i>1</i>	φ133.17	Φ133.17	φ133.
50-22-03-155-008		1.00	\$665.83	\$665.83	DATE PAID					+
CAROL E AMES TRUST		UNIT	ψυυυ.υυ	ψυυυ.υυ	DATEFAID					
STATE E PINES TAGE		01411			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
2011 W LAKE DR	BENTLEY SUB LOT 8				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					1	,	,	,		7.50
50-22-03-155-009		1.00	\$665.83	\$665.83	DATE PAID					
GARY SZYMANSKI		UNIT		,	1					
SARAH SZYMANSKI					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
2012 WEST LAKE DR	BENTLEY SUB LOT 7				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1347					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
		I								

Page 42 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-155-012		1.00	\$665.83	\$665.83	DATE PAID					
KATHERINE KENNEDY		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
2023 W LAKE DR	BENTLEY SUB LOT 4				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1344					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
FO 00 00 4FF 040		4.00	#00F 00	<b>\$005.00</b>	DATE PAID					
50-22-03-155-013 BLOMFIELD SUBDIVISION LAKE ACCESS		1.00	\$665.83	\$665.83	DATE PAID					
BLUWFIELD SUBDIVISION LAKE ACCESS		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
	BENTLEY SUB LOT 3				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
	DENTEET GOD EGT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
105 PENHILL ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1356					TOTAL	Ψ100.17	ψ100.17	ψ100.17	ψ100.17	Ψ100.17
50-22-03-155-014		1.00	\$665.83	\$665.83	DATE PAID					
KEVIN BYRD		UNIT	***************************************	7000.00						
VALERIE-ZELKO BYRD					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
2105 W LAKE DR	BENTLEY SUB LOT 2				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
50-22-03-155-015		1.00	\$665.83	\$665.83	DATE PAID					
CLAUDE MURPHY		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
2109 W LAKE DR	BENTLEY SUB LOT 1				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
26391 MANDALAY CIR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48374										
50-22-03-155-016	PART OF NW FRC 1/4 BEG AT SE COR OF LOT 1	1.00	\$665.83	\$665.83	DATE PAID					
NICHOLAS MALLES	BENTLEY SUB', TH N 54-13-00 W ALG SLY LINE	UNIT								
LORI MALLES	OF SAID LOT 125 FT TO BENTLEY AVE, TH S 18-				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
2111 W LAKE DR	45-00 W ALG ELY LINE OF BENTLEY AVE 35 FT.				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1345	TH S 54-13-00 E TO SHORE OF WALLED LAKE.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	TH NLY ALG SHORE TO BEG 0.10 A MN36				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
50.00.00.455.047		4.00	<b>#</b> 005.00	4005.00	DATE DAID					
50-22-03-155-017		1.00	\$665.83	\$665.83	DATE PAID					
MATTHEW GUDAITIS		UNIT			DALANOE	<b>#</b> 005.00	ФE00.00	\$000 F0	#000.00	£400.4
2445 W LAKE DD	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133.1 \$133.1
2115 W LAKE DR NOVI MI 48377-1345	See Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23233 TUCK RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
FARMINGTON MI 48336-3464					TOTAL	φ133.1 <i>1</i>	φ133.17	φ133.17	φ133.17	φ133.1
50-22-03-155-018		1.50	\$665.83	\$998.75	DATE PAID					
JAN DAVID ROSENTHAL TRUST		UNIT	ψ000.00	ψυυυ.1 υ	DATERAID					
C/O PATRICIA DWYER		CIVII			BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199.7
2117 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.7
NOVI MI 48377-1345	230 / 100000010 Cities for Edgar Doddription				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.7
					1	Ţ:	7	7	7	Ţ.2011
50-22-03-155-020		1.00	\$665.83	\$665.83	DATE PAID					
RONALD COON		UNIT		,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
2115 W LAKE DR	BENTLEY SUB LOTS 5 & 6 1-14-93 FR 010 & 011				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1345					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2018 W LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1344		II.	Ī	1	I	·			1	

Page 43 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-201-001		0.20	\$665.83	\$133.17	DATE PAID					
JOHN M PRIOR		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
124 N HAVEN ST	LAKE WALL SUB LOTS 24 & 25				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-03-201-002		0.20	\$665.83	\$133.17	DATE PAID					
STANLEY KELLY		UNIT	ψ000.00	Ψ100.17	DATETAID					
LYNDA KELLY		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
120 NORTH HAVEN DR	LAKE WALL SUB LOTS 22 & 23				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-201-004		0.20	\$665.83	\$133.17	DATE PAID					
LAURA NAPOLI		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
116 N HAVEN ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
E0 22 03 204 00E		0.20	¢cce oo	¢422.47	DATE DAID					
50-22-03-201-005 BRUCE A SIMON		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
JULIE K SIMON		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
112 N HAVEN ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	See Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1906 CARSONS CV					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-1869					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-202-001		0.20	\$665.83	\$133.17	DATE PAID					
EMANUEL MALLES		UNIT	•	,						
STACEY L NEWMAN					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
135 N HAVEN ST	LAKE WALL SUB LOTS 48 & 49				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-202-002		0.20	\$665.83	\$133.17	DATE PAID					
THOMAS E MARQUARDI		UNIT			DALANCE	£400.47	¢400 F2	¢70.00	ФE0.07	ተ ገር
121 NORTH HAVEN DR	LAKE WALL SUB LOTS 50 & 51				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26. \$26.
NOVI MI 48377	LANE WALL SUB LUTS SU & ST				INTEREST	\$26.63	\$26.63	\$0.00	\$20.03	\$26.
140 11 1011 4037 7					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-202-003		0.20	\$665.83	\$133.17	DATE PAID					
AFERDITA REDMOND		UNIT		, , ,						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
115 N HAVEN ST	LAKE WALL SUB LOTS 52, 53 & 54				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50.00.00.000.004		0.00	<b>#</b> 007.55	<b>0.402.1</b>	DATE SAIS					
50-22-03-202-004		0.20	\$665.83	\$133.17	DATE PAID					
JOSEPH WITEK		UNIT			DALANOE	£400.47	£400.50	Ф <b>7</b> 0.00	ФE0.07	000
440 DEVION CT	LAKE WALL CURLATORS SO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
118 REXTON ST	LAKE WALL SUB LOTS 58 & 59				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1359					INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	1	1		III	i IUIAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 44 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		_		INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-202-005		0.20	\$665.83	\$133.17	DATE PAID					
STEPHAN ZANOTTI &		UNIT	*	,						
ROXANNE ZANOTTI TRUST					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
112 REXTON ST	LAKE WALL SUB LOTS 56 & 57				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1359					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 V 1 WII 40077 1005					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20
50-22-03-202-006		0.20	\$665.83	\$133.17	DATE PAID					
RICHARD CURTIS		UNIT	φοσο.σσ	Ψ100.17	DATETAID					
GLAZEL CURTIS		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1320 W LAKE DR	LAKE WALL SUB LOT 55				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1333	EARL WALL SOD LOT 33				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 46377-1333					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$20
F0 00 00 000 004		0.00	Фоог оо	C400.47	DATE DAID					
50-22-03-203-001		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL DIANTONTIS		UNIT			DALANIOE	C400.47	£400 50	Ф <b>7</b> 0.00	<b>#50.07</b>	<b>#</b> 00
	1 AKE WALL OUR LOTO 04 00 0 00				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
117 REXTON ST	LAKE WALL SUB LOTS 81, 82 & 83				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-204-002	PART OF NE FRC 1/4 BEG AT PT DIST N 89-19-	1.50	\$665.83	\$998.75	DATE PAID					
ROBERT A GO	00 E 17.50 FT & N 166.67 FT FROM NW COR LOT	UNIT								
LORITA HOWLETT	17 'LAKE WALL SUB', TH N 90.53 FT, TH N 89-19-				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
1175 W LAKE DR	00 E 319.20 FT, TH S 29-20-00 W 232.12 FT, TH N				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
NOVI MI 48377-1337	62-16-00 W 232.15 FT TO BEG 1 A				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	MN33E				TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
	MINOSE									
50-22-03-204-003	PART OF NE FRC 1/4 BEG AT PT DIST N 89-19-	1.00	\$665.83	\$665.83	DATE PAID					
DAVID D DISMONDY	00 E 17.50 FT & N 116.98 FT FROM NW COR LOT	UNIT								
MARIA C DISMONDY	17 'LAKE WALL SUB', TH N 49.69 FT, TH S 62-16-				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1181 W LAKE DR	00 E 232.15 FT TO LAKE. TH S 29-20-00 W ALG				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1337	SHORE 44 FT, TH N 62-16-00 W 207.80 FT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	BEG 0.22 A MN33D				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	BEG U.ZZ A WINSSD									
50-22-03-204-004		1.00	\$665.83	\$665.83	DATE PAID					
CURTIS FAMILY LIVING TRUST	PART OF NE FRC 1/4 BEG AT PT DIST N 89-19-	UNIT								
	00 E 17.50 FT FROM NW COR LOT 17 'LAKE				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1192 W LAKE DR	WALL SUB', TH N 89-19-00 E 40 FT, TH N 64-44-				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1331	00 E 27.64 FT, TH N 70.54 FT, TH N 62-16-00 W				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	73.43 FT, TH S 116.98 FT TO BEG 0.13 A MN33A				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-204-010	LAKE WALL CUP DARTS OF LOTS 40 S 47 DEC	1.00	\$665.83	\$665.83	DATE PAID					
THOMAS H HARVEY	LAKE WALL SUB PARTS OF LOTS 16 & 17 BEG	UNIT	•							
MARY HARVEY	AT NW COR LOT 16, TH S 26-38-20 W 23.60 FT				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1195 W LAKE DR	TO SW LOT COR, TH S 60-04-10 E 150 FT TO SE				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1337	LOT COR, TH N 38-30-30 E ALG SHORE 45.46 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	TH N 60-04-10 W 121.65 FT, TH S 89-32-20 W				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
	42.30 FT TO BEG					,	,	,		7.0
50-22-03-204-011		1.00	\$665.83	\$665.83	DATE PAID					1
BRIAN A KOSAIAN		UNIT	<b>4000.00</b>	\$550.00						1
REBECCA E KOSAIAN		01411			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1251 W LAKE DR	LAKE WALL SUB LOTS 14 & 15				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377	LAKE WALL OOD LOTS 14 & 13				INTEREST				•	
INOVI IVII 403//					TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0. \$133
	1	n I		II .	i iuiai	3 1.5.5 1 /	301.5.5.17	51.55.17	51.55.17	· 51.3.

Page 45 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-204-012		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL SULLA		UNIT								
	LAKE WALL SUB NE 1/2 OF LOT 12 & ALL OF				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1259 W LAKE DR	LOT 13				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1338	201 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50.00.00.004.040		4.50	<b>A</b> 005.00	4000 75	DATE DAID					
50-22-03-204-013		1.50	\$665.83	\$998.75	DATE PAID					
LORI MCLEAN		UNIT			BALANCE	\$998.75	\$799.00	\$599.25	\$200 F0	\$199
1307 W LAKE DR	LAKE WALL SUB LOTS 10, 11 & SW 1/2 OF LOT				PRINCIPAL	\$998.75 \$199.75	\$199.00 \$199.75	\$199.75	\$399.50 \$199.75	\$199
NOVI MI 48377-1339	12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$198
NOVI IVII 403/7-1339					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
					TOTAL	ψ199.73	ψ199.73	ψ199.73	ψ199.73	φισσ
50-22-03-204-015		1.00	\$665.83	\$665.83	DATE PAID					
JOHN T HARVEY		UNIT	ψ000.00	Ψ000.00	DATETAID					
00/11/7/11/11/27		0.4			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1321 W LAKE DR	LAKE WALL SUB LOTS 7 & 8				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
						,				
50-22-03-204-016		1.00	\$665.83	\$665.83	DATE PAID					
ARTHUR YOUNG MOY		UNIT								
BARBARA MOY					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1327 W LAKE DR	LAKE WALL SUB LOT 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-204-017		1.00	\$665.83	\$665.83	DATE PAID					
RONALD E JOHNSTON SR		UNIT								
	LAKE WALL SUB LOT 4 EXC S 18 FT & ALL OF				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1331 W LAKE DR	LOT 5				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1339					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-204-021		1.00	\$665.83	\$665.83	DATE PAID					
ERNEST V SCHLAGER		UNIT	\$605.83	\$605.83	DATE PAID					
ERNEST V SCHEAGER		OINII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1419 W LAKE DR	J.W. HAWTHORN'S SUB LOT 8				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1340	3.11.13.11 THORITO GOD EGT G				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
						,		,	,	7.30
50-22-03-204-022		1.00	\$665.83	\$665.83	DATE PAID					
RAYMOND C OTT TRUST		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1425 W LAKE DR	J.W. HAWTHORN'S SUB LOT 7				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-204-023		1.00	\$665.83	\$665.83	DATE PAID					
JAMES HOARE		UNIT				400	<b>A=</b> 0	000	000	4
MADELANINE LYDA	LIM HAMTHODANO OUD LOT C				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1431 W LAKE DR	J.W. HAWTHORN'S SUB LOT 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1340					INTEREST TOTAL	\$0.00 \$133.17	\$0.00	\$0.00 \$133.17	\$0.00 \$133.17	\$0. \$133
	•				1 1 1 1 1 1 1 1	1 47.7.7.1	\$133.17	¥1331/	¥1331/	· %177

Page 46 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-204-024		1.00	\$665.83	\$665.83	DATE PAID					
LAWRENCE L LUCHI		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
1501 W LAKE DR	J. W. HAWTHORN'S SUB LOT 5				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1923 DEER PATH TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
WALLED LAKE MI 48390-1875										
50-22-03-204-025		1.00	\$665.83	\$665.83	DATE PAID					
STEVEN G LOE		UNIT								
PAULETTE H LOE	J.W. HAWTHORN'S SUB N 1/2 OF LOT 3 & ALL				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
1507 W LAKE DR	OF LOT 4				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377-1341	01 201 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
50-22-03-204-027		1.00	\$665.83	\$665.83	DATE PAID					
CURTIS FAMILY LIVING TRUST		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1192 WEST LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1331										
50-22-03-204-028		1.00	\$665.83	\$665.83	DATE PAID					
GERALDINE DISMONDY TRUST		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1185 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1337					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
		1.00	<b>^</b>	****	D. 1 = D. 1 D					
50-22-03-204-031		1.00	\$665.83	\$665.83	DATE PAID					
DAVID BOYER		UNIT			5	<b>^</b>	<b>^</b>	A	*****	<b>.</b>
	0 4 000 ( 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1191 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1337					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50.00.00.004.000		4.00	<b>#</b> 005.00	<b>\$005.00</b>	DATE DAID					
50-22-03-204-032		1.00	\$665.83	\$665.83	DATE PAID					
JAMES BOLZ		UNIT			DALANCE	\$665.83	\$532.66	£200 F0	¢200 22	\$133.
ANNE BOLZ	See Assessors Office for Legal Description				BALANCE			\$399.50	\$266.33	
1405 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1340					INTEREST TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.0 \$133.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
50-22-03-204-033		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL CONDON		UNIT	φυυυ.ου	φυυυ.ου	DATERAID		1			
WIGHALL GUNDON		CIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
1411 W LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1340	2007 Accessors Smooth Legal Beschiption				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 1011 1011					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					IOIAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100.
50-22-03-326-002		1.00	\$665.83	\$665.83	DATE PAID			1	1	
ARTHURE GIESSLER		UNIT	ψοσο.σσ	Ψ000.00	] 3,,,,,,,,,		1			
RUBY J GIESSLER		J			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
o oleoolii.	LAKEWOODS THAT PART OF LOT 61 LYING BET				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	SIDE LINES OF LOT 59 AS EXT ACROSS SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1311 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1827	1	II .		I	1	T	¥	¥ · · ·	+	7.50.

Page 47 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-326-003		1.00	\$665.83	\$665.83	DATE PAID					
ARTHURE GEISSLER		UNIT								
RUBY GEISSLER	LAKEWOODS THAT PART OF LOT 61 LYING BET				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	THE EXT OF E & W LINES OF LOT 58 ACROSS				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1311 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1827										
50-22-03-326-004		1.00	\$665.83	\$665.83	DATE PAID					
CHRISTOPHER CRAMER		UNIT		,						
	LAKENGODO THAT BART OF LOT OF LYING FLY				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS THAT PART OF LOT 61 LYING ELY				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF E LINE OF LOT 58 EXT ACROSS SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1301 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1827					101712	Ψ100.11	Ψ100.11	Ψ100.11	Ψ100.17	ψισο
50-22-03-327-002		1.00	\$665.83	\$665.83	DATE PAID					
PATRICIA MANIEWSKI		UNIT	ψ000.00	Ψ005.05	DATETAID					
I A I MOIA MANIEN OIM		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS W 75 FT OF E 112.50 FT OF LOT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	63				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1207 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					TOTAL	\$133.17	\$133.17	φ133.17	\$133.17	\$133
NOVI MI 48377-1826		4.00	Ф00E 00	Ф005 00	DATE DAID					
50-22-03-327-003		1.00	\$665.83	\$665.83	DATE PAID					
KATHERINE KENNEDY		UNIT			5	****	<b>^</b>	A	****	
MARC KENNEDY	1 AVEWOODS 5 07 50 5T 05 1 07 00				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS E 37.50 FT OF LOT 63				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1201 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1826										
50-22-03-327-004		1.00	\$665.83	\$665.83	DATE PAID					
DANOVI, LLC		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS LOT 64				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
28535 ORCHARD LAKE RD STE 100					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
FARMINGTON HILLS MI 48334-2918										
50-22-03-327-005		1.00	\$665.83	\$665.83	DATE PAID					
BARTH E PLOWMAN		UNIT								
SUSAN M PLOWMAN	LAKEWOODS W 72.85 FT OF LOT 63 11-27-91 FR				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	001				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1255 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1826										
50-22-03-327-006		1.00	\$665.83	\$665.83	DATE PAID					
THOMAS BELLER		UNIT				1				
MARGARET BELLER	LAKEWOODS E 73.95 ET OF W. 4.45 70 FT OF				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS E 72.85 FT OF W 145.70 FT OF				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	LOT 63 11-27-91 FR 001 5-22-92 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1235 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1826										
50-22-03-328-001		1.00	\$665.83	\$665.83	DATE PAID	ĺ				
HILDEGARD BORGER		UNIT	+5.00	7.50.00						
DOROTHY & MICHEL DUCHESNEAU					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS W 1/3 OF LOT 65				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	2.11.21.70030 17 1/0 01 201 00				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
125 HENNING ST					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
IZU I ILININI NO OI	1	i l		ii .	IOIAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψιου

Page 48 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-328-002		1.00	\$665.83	\$665.83	DATE PAID					
MICHEL DUCHESNEAU		UNIT								
DOROTHY DUCHESNEAU					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	LAKEWOODS E 1/3 OF W 2/3 OF LOT 65				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1191 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1852						¥.55	Ţ.55	¥.55	<b>4</b> .55	7.55
50-22-03-328-004		1.00	\$665.83	\$665.83	DATE PAID					
BRANDON R DAVIS		UNIT	φοσσ.σσ	Ψ000.00	DATE TABLE					
BRANDON R DAVIO		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	See Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1185 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1825					TOTAL	\$133.17	\$133.17	φ133.1 <i>1</i>	\$133.17	\$133
		4.00	<b></b>	\$665.83	DATE PAID	1		1		
50-22-03-329-001		1.00 UNIT	\$665.83	\$000.03	DATE PAID					
WILLIAM BARRINGER		UNII			DALANOE	<b>#</b> 005.00	<b>\$500.00</b>	\$000 F0	<b>#</b> 000 00	<b>#</b> 400
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 1				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
4400 O LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1109 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1825										
50-22-03-329-002		1.00	\$665.83	\$665.83	DATE PAID					
DAIVD B MURPHY		UNIT								
TAMARA K MURPHY	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 2				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDELINERE FARREOTZ				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1107 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1825										
50-22-03-329-003		1.00	\$665.83	\$665.83	DATE PAID					
WILLIAM J SCHWENZER		UNIT								
JACQUELINE B SCHWENZER	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
					PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEMERE PARK LOT 3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1105 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377						·		·	· ·	
50-22-03-329-004		1.00	\$665.83	\$665.83	DATE PAID					
REBECA M DELGADO GOMEZ		UNIT	φοσοίσο	Ψ000.00	371.2172					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEMERE PARK LOT 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1101 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1825					TOTAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψιου
50-22-03-330-001		1.00	\$665.83	\$665.83	DATE PAID			1		+
EVAN MATHIS		UNIT	ψυυυ.υυ	ψυυυ.υυ	DATERAID	1		+		
LVAN IVIA I I II O					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144									
	OF IDLEMERE PARK LOT 5				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
2162 PLOOMEIELD SUODE					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3162 BLOOMFIELD SHORE					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1824		4.00	<b>#</b> 005.00	#005.00	DATE DATE	1	1	1	1	1
50-22-03-330-002		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL & KELLY NOONAN TRUST		UNIT								1
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 6				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDELINERE FAIR EOF O				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1019 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377						1	1		1	

Page 49 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-330-006		1.00	\$665.83	\$665.83	DATE PAID					
CLAUDINE ANTOUNPOUR		UNIT								
THOMAS & HELEN ANTOUN	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	OF IDLEMERE PARK LOTS 7 & 8 8-3-95 FR 003 &				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1015 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1824										
50-22-03-331-013		0.20	\$665.83	\$133.17	DATE PAID					
DENNIS M SCHROTH		UNIT								
44 5 4 5 4 5 5 4 5 5 4 5 5 5 6 5 6 5 6 5	LAKEWOODS SELY 135 FT OF NLY 1/2 OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
124 BUFFINGTON ST	54, ALSO SELY 135 FT OF LOT 55				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1800	, ,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
E0 22 02 224 044		0.00	<u> </u>	¢400.47	DATE DAID					
50-22-03-331-014		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
GERALD F MONTES		UNIT			DALANCE	£400.47	¢400 F0	Ф <b>7</b> 0.00	<b>Ф</b> ГО 07	ተ ጋር
128 BUFFINGTON ST	LAKEWOODS LOT 53, ALSO SLY 1/2 OF LOT 54				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26. \$26.
NOVI MI 48377-1800	LAKEWOODS LOT 33, ALSO SET 1/2 OF LOT 34				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.
NOVI WII 46377-1600					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					IOTAL	Ψ20.03	Ψ20.03	Ψ20.03	\$20.03	Ψ20.
50-22-03-331-015	LAKEWOODS LOT 60, ALSO PART OF SW 1/4	1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL SEE	DESC AS BEG AT NW COR OF SD LOT 60, TH S	UNIT	ψ000.00	ψ005.05	DATETAID					
PAULA BRODRICK	02-42-10 E 178.33 FT. TH N 66-29-43 W 78.76 FT.	OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1321 SOUTH LAKE DR	TH N 23-30-17 E 160 FT TO BEG. ALSO THAT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377	PART OF LOT 61 OF SD 'SUB' WHICH LIES				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
140 VI WII 40077	BETW EXTENSIONS OF ELY & WLY PROPERTY				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	LINES THEREOF					ψ.σσ	ψ.σσ	ψ.σσ	<b>V.00</b>	<b>V.00</b>
50-22-03-332-012		0.20	\$665.83	\$133.17	DATE PAID					
BRIAN RONEY		UNIT	*	*						
SHARON RONEY					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
125 BUFFINGTON ST	LAKEWOODS LOTS 40 & 41 6/28/88 FR 001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1801					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-332-013		0.20	\$665.83	\$133.17	DATE PAID					
LAURA BALDWIN		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
131 BUFFINGTON ST	LAKEWOODS LOTS 42 & 43 6/28/88 FR 001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1801					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
			****	2100.17	5.75 5.1:-				-	
50-22-03-332-014		0.20	\$665.83	\$133.17	DATE PAID					
CALVIN HASHISAKA		UNIT			DAI	0400 17	<b>#</b> 400 =0	070.00	050.05	**-
SUSAN HASHISAKA	LAKEWOODS LOTS 44 8 45 0/00/00 FD 004				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
135 BUFFINGTON ST	LAKEWOODS LOTS 44 & 45 6/28/88 FR 001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1801					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
E0 22 02 222 04E		0.00	ФССТ 0.0	¢420.47	DATE DAID	 				
50-22-03-332-015		0.20	\$665.83	\$133.17	DATE PAID					
MARGUERITE BOSCA		UNIT			DALANCE	¢420.47	¢400.50	¢70.00	<b>¢</b> E0.07	<b>ФОО</b>
141 BUEFINGTON ST	LAKEWOODS LOTS 46 9 47 6/20/00 FD 204				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
141 BUFFINGTON ST	LAKEWOODS LOTS 46 & 47 6/28/88 FR 001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1801					INTEREST TOTAL	\$0.00 \$26.63	\$0.00	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.
		n l		II .	I IUIAL	. ຉ∠൛.൛≾	\$26.63	ა⊅∠ი.ია		J ⊅∠b.

Page 50 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-332-019		0.20	\$665.83	\$133.17	DATE PAID					
JOHN HALL		UNIT								
STEPHANIE R HALL	LAKEWOODS NLY 5 FT OF LOTS 22 & 23, ALSO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
145 BUFFINGTON ST	ALL OF LOT 48, ALSO ALL OF VAC PEMBINE ADJ				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1801	TO SAME 5-10-89 FROM 016 & 376-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-03-351-007		0.20	\$665.83	\$133.17	DATE PAID					
TRACY GALLOWAY	PART OF SW 1/4 BEG AT PT DIST N 02-20-00 E	UNIT			5	<b>*</b>	A	<b>A=-</b>	<b>^</b>	400
200 511551110501105	50 FT FROM SW COR 'LAKEWOODS', TH N 02-20-				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
202 BUFFINGTON ST	00 E 50 FT, TH N 87-40-00 W 150 FT, TH S 02-20-				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
NOVI MI 48377-1801	00 W 50 FT, TH S 87-40-00 E 150 FT TO BEG 0.17				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1241 EAST LAKE DR	AMN48E				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377		0.00	<b>\$005.00</b>	0400.47	DATE DAID					
50-22-03-351-009		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MICHAEL BARTOSH	PART OF SW 1/4 BEG AT SW COR	UNIT			BALANCE	¢400.47	£400 F0	Ф <b>7</b> 0 00	<b>ФГО О</b> 7	\$26.
200 PULETINGTON CT	'LAKEWOODS', TH S 02-20-00 W 50 FT, TH N 87-					\$133.17 \$26.63	\$106.53	\$79.90	\$53.27	\$26.0
208 BUFFINGTON ST	40-00 W 150 FT, TH N 02-20-00 E 50 FT, TH S 87-				PRINCIPAL		\$26.63	\$26.63	\$26.63	
NOVI MI 48377-1802	40-00 E FT TO BEG 0.17 AMN48D-1				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$20.
50-22-03-351-010		0.20	\$665.83	\$133.17	DATE PAID					
DANOVI LLC	PART OF SW 1/4 BEG AT PT DIST S 02-20-00 W	UNIT	φοσο.σσ	Ψ100.11	D/((L1/(ID					
57.110 TI 220	50 FT FROM SW COR 'LAKEWOODS'. TH S 02-20-				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
210 BUFFINGTON ST	00 W 150 FT, TH N 87-40-00 W 150 FT, TH N 02-				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1801	20-00 E 150 FT. TH S 87-40-00 E 150 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
28535 ORCHARD LAKE RD STE 100	.52 AMN48C				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
FARMINGTON HILLS MI 48334-2918	1027				101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-351-015		1.00	\$665.83	\$665.83	DATE PAID					
A. NELS CARLSON		UNIT	***************************************	***************************************						
DOLORES CARLSON					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1365 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
						*				
50-22-03-351-016		1.00	\$665.83	\$665.83	DATE PAID					
PETER LIGHT		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1351 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50.00.00.054.047		4.65	<b>#</b>	0007.00	DATE SAIS					
50-22-03-351-017		1.00	\$665.83	\$665.83	DATE PAID					
JAMES LOEFFLER		UNIT			DAI	4005.00	<b>#</b> 500.00	#000 TO	<b>#</b> 000 00	A
JOANNE LOEFFLER	0 4				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1341 SOUTH LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-351-018		1.00	\$665.83	\$665.83	DATE PAID			+		
GEORGE & LINDA ROURK TRUST		1.00 UNIT	δ9.C00φ	\$605.83	DATE PAID					
GLONGE & LINDA NOURN I RUSI		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
1331 S LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1827	Oce Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$133.17	\$133
INO VI IVII 4031 1-1021					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	•	ii l		III	IUIAL	ມ ຫາວວ.1 <i>1</i>	<b>あいろ.</b> 17	<b>あいろ.</b> 1/	□ <b>⊅</b> 133.17	ം മാഗ്

Page 51 of 172 6/4/2015 4:25 PM

DESCRIPTION   PROPERTY   PROPER	ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
\$0.226-3-351-023   \$1.027							2015	2016	2017	2018	2019
## ROSA RORN ROSA ROSA ROSA ROSA RORN ROSA RORN ROSA ROSA ROSA ROSA ROSA ROSA ROSA ROSA	AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
## PRINCIPAL PRI	50-22-03-351-023		0.20	\$665.83	\$133.17	DATE PAID					
## PRINCIPAL PRI				4000.00	***************************************						
### PRINCIPAL NOVIM ### PR			0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
NOVIM 48977-1823    NOVIM 48977-1823   S868.93		LILLEY POND LOT 1 8-3-99 FR 019									
SP-2249-351-024   LILEY FOND LOT 2 8-3-99 FR 019		EIZEETT OND EST TO 0 00 TH 0 10									
DATE PAID   SP66.83   \$133.17   \$106.83   \$79.90   \$53.27   \$26.63   \$26.	110 11 101 1 1020								· · · · · · · · · · · · · · · · · · ·		
BALANCE   PRINCIPAL   SESSION   SE						TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03
BALANCE   PRINCIPAL   SESSION   SE	50-22-03-351-024		0.20	\$665.83	¢122 17	DATE DAID					
SUSAN MACHUTA   UILLEY POND LOT 2 8-3-99 FR 019				ψ000.00	Ψ133.17	DATETAID					
PRINCIPAL   NOVIM 48371-1823   LILLEY POND LOT 2 8-3-99 FR 019   See 5. 92 6.53   \$26.63			ONIT			BALANCE	¢122 17	\$106.53	\$70.00	¢53.27	¢26.63
NOVIM 48577-1823   S2663   S		LILLEY DOND LOT 2.8-3-00 ED 010								*	*
TOTAL   \$26.63   \$2		LILLET FOND LOT 2 0-3-991 N 019				_		· ·			
\$6-22-03-351-025 XIAOL/ XIAO XIAOL XIA	NOVI WII 48377-1823										
29765   LILLEY POND LOT 3 8-3-99 FR 019						TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$20.03
29765   LILLEY POND LOT 3 8-3-99 FR 019	FO 00 00 0F4 00F		0.00	Ф00F 00	£400.47	DATE DAID					
## BALANCE PRINCIPAL \$26.63 \$78.90 \$53.27 \$26.63 \$2				\$665.83	\$133.17	DATE PAID					
## PRINCIPAL NOVIM ##837-1823 ## PRINCIPAL NOVIM ## PRINCIPAL NOVIM ##837-1823 ## PRINCIPAL NOVIM ## PRINCIPAL NOVI	XIAOLI XIAO		UNII			5	A	A	<b>^</b>	<b>^</b>	***
NOVI MI 48377-1823  NOVI MI 48377-1824  NOVI MI 48377-1825  NOVI MI 48377-1825  NOVI MI 48377-1825  NOVI MI 48377-1826  NOVI M		1    1   5   4   5   1   1   1   1   1   1   1   1   1									
TOTAL   \$26.63   \$2		LILLEY POND LOT 3 8-3-99 FR 019						· ·			
Section   Column	NOVI MI 48377-1823										
CHARLES AZZOUZ AMAL AZZOUZ AMAL AZZOUZ AMAL AZZOUZ 28905 LILLEY FRAIL NOVI MI 48377-1823  LILLEY POND LOT 4 8-3-99 FR 019  LILLEY POND LOT 4 8-3-99 FR 019  LILLEY POND LOT 4 8-3-99 FR 019  D. 20 LILLEY FRAIL NOVI MI 48377-1823  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 8 8-3-99 FR 019  LIL						TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
CHARLES AZZOUZ AMAL AZZOUZ AMAL AZZOUZ AMAL AZZOUZ 28905 LILLEY FRAIL NOVI MI 48377-1823  LILLEY POND LOT 4 8-3-99 FR 019  LILLEY POND LOT 4 8-3-99 FR 019  LILLEY POND LOT 4 8-3-99 FR 019  D. 20 LILLEY FRAIL NOVI MI 48377-1823  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 8 8-3-99 FR 019  LIL											
### AMAL AZZOUZ 28865 LILLEY TRAIL NOVI MI 48377-1823  **DILLEY POND LOT 4 8-3-99 FR 019**  **DILLEY POND LOT 4 8-3-99 FR 019**  **DILLEY POND LOT 5 8-3-99 FR 019**  **DILLEY POND LOT 6 8-3-99 FR 019**  **DILLEY POND LOT 7 8-3-99 FR 019**  **DILLEY POND LOT 8 8-3-99 FR	50-22-03-351-026			\$665.83	\$133.17	DATE PAID					
PRINCIPAL   NOVI MI 48377-1823			UNIT								
NOVI MI 48377-1823  ***DAWN TRANS***  ***DAWN TRANS**  ***DAWN TRANS***  ***DAWN TRA	AMAL AZZOUZ					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
TOTAL   \$26.63   \$2	29805 LILLEY TRAIL	LILLEY POND LOT 4 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
DALPH TRAVIS   DATE PAID   D	NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
DAWN TRAVIS  2835 LILLEY FRAIL NOVI MI 48377-1823  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 8 8-3-99 FR 019  LILLEY POND LOT						TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
DAWN TRAVIS  2835 LILLEY FRAIL NOVI MI 48377-1823  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 8 8-3-99 FR 019  LILLEY POND LOT											
2835 LILLEY TRAIL NOVI MI 48377-1823  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 5 8-3-99 FR 019  LILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 8-3-99 FR 019  LI	50-22-03-351-027		0.20	\$665.83	\$133.17	DATE PAID					
PRINCIPAL   NOVIMI 48377-1823	DAWN TRAVIS		UNIT								
NOVI MI 48377-1823    NTEREST TOTAL   \$0.00						BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
TOTAL   \$26.63   \$2	29835 LILLEY TRAIL	LILLEY POND LOT 5 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
S0-22-03-351-028	NOVI MI 48377-1823					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
CRISTA KUNKEL   LILLEY POND LOT 6 8-3-99 FR 019   LILLEY POND LOT 7 8-3-99 FR 019   LILLEY POND LOT 7 8-3-99 FR 019   LILLEY POND LOT 8 8-3-						TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
CRISTA KUNKEL   LILLEY POND LOT 6 8-3-99 FR 019   LILLEY POND LOT 7 8-3-99 FR 019   LILLEY POND LOT 7 8-3-99 FR 019   LILLEY POND LOT 8 8-3-											
CRISTA KUNKEL   LILLEY POND LOT 6 8-3-99 FR 019   LILLEY POND LOT 7 8-3-99 FR 019   LILLEY POND LOT 7 8-3-99 FR 019   LILLEY POND LOT 8 8-3-	50-22-03-351-028		0.20	\$665.83	\$133.17	DATE PAID					
BALANCE PRINCIPAL ILLEY POND LOT 6 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 8 8-3-99 FR 019  LILLEY ROLL ROLL ROLL ROLL ROLL ROLL ROLL ROL				*****	, , , ,						
PRINCIPAL   NOVI MI 48377-1823   LILLEY POND LOT 6 8-3-99 FR 019   PRINCIPAL   NITEREST TOTAL   \$26.63   \$26.						BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
NOVI MI 48377-1823    NTEREST TOTAL   \$26.63   \$20.00   \$0.00	29865 LILLEY TRI	LILLEY POND LOT 6 8-3-99 FR 019									
TOTAL   \$26.63   \$2											
50-22-03-351-029 KURT BEST RENEE BEST 29895 LILLEY TRAIL NOVI MI 48377-1823  LILLEY POND LOT 7 8-3-99 FR 019  0.20 UNIT  BALANCE PRINCIPAL INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 FOOD TOTAL  CHAD M WELLMAN CIARA A WELLMAN 29925 LILLEY TRI NOVI MI 48377-1849  LILLEY POND LOT 8 8-3-99 FR 019  LILLEY POND LOT 8 8-3-99 FR 019  0.20 UNIT  BALANCE PRINCIPAL BALANCE PRINCIPAL S26.63 \$26.63 \$26.63 \$26.63 \$26.63 S26.63 \$26.63 S26.63 \$26.63 S26.63 \$26.63 S26.63	11011 1001.1 1020					_		*		*	
NOVI MI 48377-1823							Ψ20.00	<b>\$20.00</b>	Ψ20.00	Ψ20.00	Ψ20.00
NOVI MI 48377-1823	50-22-03-351-029		0.20	\$665.83	\$133.17	DATE PAID		1			
RENEE BEST 29895 LILLEY TRAIL NOVI MI 48377-1823  LILLEY POND LOT 7 8-3-99 FR 019  Description of the principal series of t				<b>\$550.00</b>	<b></b>						
29895 LILLEY TRAIL NOVI MI 48377-1823  LILLEY POND LOT 7 8-3-99 FR 019  LILLEY POND LOT 7 8-3-99 FR 019  PRINCIPAL INTEREST TOTAL S26.63 \$26.63			51411			BALANCE	\$133.17	\$106.53	\$70 00	\$53.27	\$26.63
NOVI MI 48377-1823    INTEREST   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00   \$0.00		LILLEY POND LOT 7 8-3-99 FR 019									
50-22-03-351-030 CHAD M WELLMAN CIARA A WELLMAN 29925 LILLEY TRL NOVI MI 48377-1849  DATE PAID BALANCE \$133.17 \$106.53 \$79.90 \$53.27 \$26.63 \$2		LILLETT GIAD LOT 7 0-3-99 FIX 019									
50-22-03-351-030 CHAD M WELLMAN CIARA A WELLMAN 29925 LILLEY TRL NOVI MI 48377-1849  DATE PAID BALANCE PRINCIPAL S26.63	INO VI IVII TOOTT - IOZO										
CHAD M WELLMAN         UNIT           CIARA A WELLMAN         BALANCE         \$133.17         \$106.53         \$79.90         \$53.27         \$26.63           29925 LILLEY TRL         LILLEY POND LOT 8 8-3-99 FR 019         PRINCIPAL         \$26.63 <td></td> <td></td> <td></td> <td></td> <td></td> <td>IOIAL</td> <td>Ψ20.03</td> <td>Ψ20.03</td> <td>Ψ20.03</td> <td>Ψ20.03</td> <td>Ψ20.03</td>						IOIAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03
CHAD M WELLMAN         UNIT           CIARA A WELLMAN         BALANCE         \$133.17         \$106.53         \$79.90         \$53.27         \$26.63           29925 LILLEY TRL         LILLEY POND LOT 8 8-3-99 FR 019         PRINCIPAL         \$26.63 <td>50-22-03-351-030</td> <td></td> <td>0.20</td> <td>\$665.02</td> <td>¢122.17</td> <td>DATE DAID</td> <td><del> </del></td> <td>+</td> <td></td> <td></td> <td></td>	50-22-03-351-030		0.20	\$665.02	¢122.17	DATE DAID	<del> </del>	+			
CIARA A WELLMAN     BALANCE     \$133.17     \$106.53     \$79.90     \$53.27     \$26.63       29925 LILLEY TRL     LILLEY POND LOT 8 8-3-99 FR 019     PRINCIPAL     \$26.63     \$26.63     \$26.63     \$26.63     \$26.63     \$26.63     \$26.63       NOVI MI 48377-1849     NOVI MI 48377-1849     NOVI MI 48377-1849     \$0.00     \$0.00     \$0.00     \$0.00     \$0.00				φυυσ.οσ	φ133.17	DATE PAID					
29925 LILLEY TRL LILLEY POND LOT 8 8-3-99 FR 019 PRINCIPAL \$26.63 \$26.63 \$26.63 \$26.63 \$26.63 \$26.63 \$0.00 \$0.00 \$0.00 \$0.00			UNIT			DALANCE	¢422.47	\$400 FO	¢70.00	¢50.07	<b>Φ</b> ΩC CΩ
NOVI MI 48377-1849 INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		LILLEY DOND LOT 9 9 2 00 ED 040									
		LILLET POIND LOT 8 8-3-99 FR 019						<u> </u>			
101AL   \$26.63   \$26.63   \$26.63   \$26.63   \$26.63	NOVI MI 48377-1849										
						IOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63

Page 52 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<u> </u>	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-351-031		0.20	\$665.83	\$133.17	DATE PAID					
JAMES HIXSON		UNIT								
JILL HIXSON					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
29955 LILLEY TRL	LILLEY POND LOT 9 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1849					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-03-351-033		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL PALMER		UNIT	ψουσ.σσ	<b>V.00</b>	3711217112					
SUSAN PALMER					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1391 SOUTH LAKE DR	LILLEY POND LOT 10 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1827					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50.00.00.054.004		2.22	<b>A</b> 005.00	<b>0.100.17</b>	DATE DAID					
50-22-03-351-034 NABIL HADO		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
NABIL HADO		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1381 SOUTH LAKE DR	LILLEY POND LOT 11 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1827	EILLETT GIVE LOT IT 0-3-33 TK 019				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
43145 EMERSON WAY					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
50-22-03-351-035		0.20	\$665.83	\$133.17	DATE PAID					
PAUL FARNHAM		UNIT	•							
LISA FARNHAM					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
29770 LILLEY TRAIL	LILLEY POND LOT 12 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1822					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
50-22-03-351-036		0.20	\$665.83	\$133.17	DATE PAID					
ALLEN KOONTER		UNIT	φ005.65	φ133.17	DATE PAID					
PATRICIA KOONTER		OINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
29740 LILLEY TRAIL	LILLEY POND LOT 13 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1822	EILEETT GNB EGT 10 0 0 33 TK 013				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 111 10077 1022					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						<b>¥</b> =0.00	Ų	7=0.00	, and a	7=0.
50-22-03-351-037		0.20	\$665.83	\$133.17	DATE PAID					
MELANIE A FISHELL		UNIT			DAI 4110=	<b>0.106</b> 1 <b>-</b>	<b>0.100 TO</b>	070.00	<b>A</b> 50.07	
20740          EV TD A	LILLEY DOND LOT 44 9 2 00 FD 040				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
29710 LILLEY TRAIL	LILLEY POND LOT 14 8-3-99 FR 019				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1822					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.
					IOIAL	Φ∠∪.∇3	Φ∠0.03	Φ∠0.03	φ∠0.03	ֆ∠0.
50-22-03-376-007		0.20	\$665.83	\$133.17	DATE PAID					
JULL LEVY TRUST		UNIT	*	<b>*</b>						
	LAKEWOODS LOTS 19, 20 & 21, ALSO 1/2 VAC				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
208 HENNING DR	PEMBINE ADJ TO SAME 10-04-84 FR 002 & 005				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	10-17-89 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
42630 MORGAN CREEK					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377										
50-22-03-376-008		0.20	\$665.83	\$133.17	DATE PAID					
GERALD D COOPER		UNIT					*	4		
DEBRA COOPER	LAKEWOODS LOTS 22 & 23, EXC NLY 5 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
155 BUFFINGTON ST	BOTH SD LOTS, ALSO ALL OF LOTS 24 & 25 5-10	1			PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1801	89 FROM 006				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.0
							<b>せつに につ</b>	U (1) (2)	U.) (C (C)	4.00

Page 53 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-377-018		0.20	\$665.83	\$133.17	DATE PAID					
BRANDON R DAVIS		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1185 SOUTH LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1825					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50 00 00 070 005		0.00	<b>\$</b> 005.00	£400.47	DATE DAID					
50-22-03-379-005		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MARK ASHBAUGH		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	IDLEMERE PARK LOT 5				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26. \$26.
	IDLEWERE PARK LOT 5				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.
116 EUBANK ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1804					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.
50-22-03-379-006		0.20	\$665.83	\$133.17	DATE PAID					
MARK ASHBAUGH		UNIT	ψ000.00	ψ100.17	DATETAID					
<i></i> (1.1.2.1.0.01)		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
116 EUBANK ST	IDLEMERE PARK LOT 6				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						,			,	
50-22-03-379-009		0.20	\$665.83	\$133.17	DATE PAID					
BRYAN HOFFMEYER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
152 EUBANK ST	IDLEMERE PARK LOT 10				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1804					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-379-010		0.20	\$665.83	\$133.17	DATE PAID					
BRYAN HOFFMEYER		UNIT								
	IDLEMERE PARK LOT 11, ALSO 1/2 OF VAC				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	DAISY CT ADJ TO SAME 10-26-98 CORR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
450 FUDANIK OT					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
152 EUBANK ST NOVI MI 48377-1804					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-379-011		0.20	\$665.83	\$133.17	DATE PAID					
BRENT E WOOD		UNIT	φ000.03	\$133.17	DATE PAID					
KAREN LYNN WOOD	IDLEMERE PARK LOT 7, ALSO LOT 8 EXC THAT	UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
134 EUBANK ST	PART BEG AT SW LOT COR, TH N 17-21-20 W				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1804	36.17 FT, TH S 28				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	337 1, 111 0 20				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					1	<del>+=3.00</del>	7_3.00	7_3.00	Ţ_0.00	<u> </u>
50-22-03-379-012		0.20	\$665.83	\$133.17	DATE PAID					
RAUL UNZUETA		UNIT								
	IDLEMERE PARK LOT 9 EXC THAT PART BEG AT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
142 EUBANK ST	NE LOT COR, TH S 17-21-20 E 47.61 FT, TH N 28-				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1804	02-18 W 51.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 1785					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
DEARBORN MI 48121					<u> </u>					
50-22-03-380-005		0.20	\$665.83	\$133.17	DATE PAID					
BEN THORSEN		UNIT								
	IDLEMERE PARK LOTS 34 & 35, ALSO 1/2 OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
115 EUBANK ST	,	li l			PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	T VAC LILAC CT ADJ TO SAME									
NOVI MI 48377-1804 759 E WALLED LAKE DR	VAC LILAC CT ADJ TO SAME				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.

Page 54 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-380-006		0.20	\$665.83	\$133.17	DATE PAID					
AARON P ALBERTS		UNIT								
LISA A ALBERTS					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
135 EUBANK ST	IDLEMERE PARK LOT 32 & W 75 FT OF LOT 33				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1805					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-03-380-007		0.20	\$665.83	\$133.17	DATE PAID					
ANDREA BALDING		UNIT	ψουσίου	Ψ.σσ	3711217112					
	IDLEMERE PARK LOT 31, ALSO E 90 FT OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
920 LEMAY ST	33 & 1/2 OF VAC LILAC CT ADJ TO SAME				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377-1841	33 & 1/2 OF VAC EIEAC OF ADS TO SAIVIE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-03-381-003		0.20	\$665.83	\$133.17	DATE PAID					
CHRIS A DUNN		UNIT	φ005.65	φ133.17	DATE PAID					
		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
909 LEMAY ST	IDLEMERE PARK LOT 56				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
NOVI MI 48377-1842					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
50.00.00.004.004		2.22	<b>#</b> 205.00	0400.47	DATE DAID					
50-22-03-381-004 CHRISTOPHER POSTMA		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
LINDA POSTMA		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
905 LEMAY ST	IDLEMERE PARK LOTS 54 & 55				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
NOVI MI 48377-1842	IDELINEITE I / ITTLE OF G GG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
100111111111111111111111111111111111111					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-381-005		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL HODGES		UNIT			DAL ANIOE	<b>#</b> 100.47	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	<b>\$50.07</b>	000
000   FMAN OT	IDLEMEDE DADICI OTO ES 8 ES				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
903 LEMAY ST	IDLEMERE PARK LOTS 52 & 53				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1842					INTEREST	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$∠0.
50-22-03-381-006		0.20	\$665.83	\$133.17	DATE PAID					
LEE M BREWER		UNIT								
MARGARET A BREWER	ID. 5115D5 D4 D44 1 07 00				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
153 EUBANK ST	IDLEMERE PARK LOT 60				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1807					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-381-008		0.20	\$665.83	\$133.17	DATE PAID					+
KEITH A CLARK		UNIT	+0.00	Ţ						
KRISTA L CLARK					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
303 EUBANK ST	IDLEMERE PARK LOT 62				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1810					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
225 EUBANK ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377										
50-22-03-381-010		0.20	\$665.83	\$133.17	DATE PAID					1
MATTHEW T ALLISTON		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
309 EUBANK ST	IDLEMERE PARK LOT 64				PRINCIPAL	\$133.17 \$26.63	· · · · · · · · · · · · · · · · · · ·	\$79.90 \$26.63	\$53.27 \$26.63	\$26.
NOVI MI 48377-1810	IDLLIVILING FAINT LOT 04				INTEREST	\$26.63	\$26.63 \$0.00	\$26.63	\$26.63	\$20.0
NOVI WII 403/1-1010					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
	l	11		1	IOIAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	φ∠0.0

Page 55 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-381-011		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL HODGES		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	IDLEMERE PARK LOT 67				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
903 LEMAY ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1842										
50-22-03-381-012		0.20	\$665.83	\$133.17	DATE PAID					
MATTHEW T ALLISTON		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	IDLEMERE PARK LOTS 65 & 66				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
309 EUBANK ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377										
50-22-03-381-014		0.20	\$665.83	\$133.17	DATE PAID					
KEVIN DITTMER		UNIT								
JENNIFER DITTMER	IDLEMERE PARK NELY 1/2 OF LOT 58 & ALL OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
915 LEMAY ST	LOT 59 ALL DESC AS BEG AT MOST NE COR OF				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1842	LOT 59 TH S 44-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-381-015		0.20	\$665.83	\$133.17	DATE PAID					
STACEY MEDEN	IDLEMEDE DADICI OT 57 0 OFLY 4/0 OF LOT 50	UNIT			DALANIOE	0400.47	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	<b>050.07</b>	<b>#</b> 00
	IDLEMERE PARK LOT 57 & SELY 1/2 OF LOT 58				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	ALL DESC AS BEG AT PT DIST S 44-58-45 E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
4.40 4.50 //5.4	59.70 FT FROM MO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
142 ARVIDA					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390 50-22-03-381-016		0.20	\$665.83	\$133.17	DATE PAID				+	
KEITH CLARK		0.20 UNIT	Φ000.03	\$133.17	DATE PAID					
KRISTA CLARK		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
225 EUBANK ST	IDLEMERE PARK LOTS 61 & 63 10-18-06 FR 007				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26. \$26.
NOVI MI 48377-1808	& 009				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI IVII 40377-1000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	φ20.03	\$20.03	\$20.03	\$20.03	\$20
50-22-03-382-001		0.20	\$665.83	\$133.17	DATE PAID					
DAVID COOK		UNIT	ψ000.00	ψ100.17	DATETAID					
Divide Gook		O. t.i.			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	IDLEMERE PARK LOT 83, ALSO 1/2 OF VAC				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	DAISY CT ADJ TO SAME 10-26-98 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
306 EUBANK ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1808										
50-22-03-382-002		0.20	\$665.83	\$133.17	DATE PAID					
DAVID COOK		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
306 EUBANK ST	IDLEMERE PARK LOTS 81 & 82				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1808					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
		0.20	\$665.83	\$133.17	DATE PAID					
50-22-03-382-008	1	UNIT								
DAVID COOK					DALANOE	M40047	<b>0400 FO</b>	Φ <b>7</b> 0 00	ΦE0.07	400
DAVID COOK RAYMOND COOK	IDLEMERE PARK PART OF LOTS 75, 76 & 78,				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
DAVID COOK RAYMOND COOK 312 EUBANK ST	ALSO ALL OF LOTS 79 & 80 ALL DESC AS BEG				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
DAVID COOK RAYMOND COOK							'			

Page 56 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	20
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5
50-22-03-382-009		0.20	\$665.83	\$133.17	DATE PAID					
ROBERT WALEGA		UNIT								
	IDLEMERE PARK PART OF LOTS 75 & 76, ALSO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
302 MAUDLIN ST	ALL OF LOT 77, ALSO PART OF LOT 78 ALL				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1819	DESC AS BEG AT SE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$20
50-22-03-383-001 LAWRENCE W PAUL		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
LAWRENCE W FAUL	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	¢4.
1407 C L AVE DD # 400	CONDOMINIUM UNIT 1. BLDG A L 11495 P 288 8-								<del>                                     </del>	\$13
1127 S LAKE DR # 100	, , , , , , , , , , , , , , , , , , , ,				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
50-22-03-383-002		0.10	\$665.83	\$66.58	DATE PAID					
THOMAS SORRENTINO		UNIT	<del>+</del>	,,,,,,,	"""					
GEORGETTE SORRENTINO	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1
1127 S LAKE DR UNIT 101	CONDOMINIUM UNIT 2, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
		- 10	<b>A</b>	400.50	2.455.2412					
50-22-03-383-003 PIERA BOLDRIN		0.10	\$665.83	\$66.58	DATE PAID					
PIERA BOLDRIN DAVID BOLDRIN	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1
	CONDOMINIUM UNIT 3, BLDG A L 11495 P 288 8-									
1127 S LAKE DR # 102 NOVI MI 48377-1816	6-90 FR 378-005				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
NOVI WII 48377-1816	0-90 FK 376-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$1
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
50-22-03-383-004		0.10	\$665.83	\$66.58	DATE PAID					
JACQUELYN HARRISON		UNIT	*	,						
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1
1127 S LAKE DR UNIT 103	CONDOMINIUM UNIT 4, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1:
50.00.00.005		0.40	<b>#</b> 205.00	400.50	DATE DAID					
50-22-03-383-005 JANET DEFALCO		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
CATERINA DEFALCO	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1
1127 S LAKE DR UNIT 104	CONDOMINIUM UNIT 5, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$13.32	\$0.00	\$13.32	\$0.00	\$1
NOVI IVII 403/ / = 1010	0-30 FK 370-003				TOTAL	\$0.00 \$13.32	\$13.32	\$0.00	\$13.32	\$1
					IOIAL	φ13.32	φ13.3Z	φ13.32	φ13.32	<b>\$1</b>
50-22-03-383-006		0.10	\$665.83	\$66.58	DATE PAID					
RANDALL NICKERSON		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1
1127 S LAKE DR UNIT 105	CONDOMINIUM UNIT 6, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
320 S HUGHES DR LOT 156					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
HOWELL MI 48843										
50-22-03-383-007		0.10	\$665.83	\$66.58	DATE PAID					1
JAMES S & ARLENE V TURE TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			DALANCE	\$66.F0	<b>PEO 07</b>	¢20.05	<b>\$20.00</b>	Φ.4
4407 O LAKE DD # 400					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1:
1127 S LAKE DR # 106	CONDOMINIUM UNIT 7, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
NOVI MI 48377-1816					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13

Page 57 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-383-008		0.10	\$665.83	\$66.58	DATE PAID					
SAUVEUR M TANTARO		UNIT	***************************************	400.00						
PATRICIA TANTARO	CONDOMINIUM PLAN NO 687 SOUTH POINTE	O T T T			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 S LAKE DR UNIT 107	CONDOMINIUM UNIT 8, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST		\$0.00	<b>*</b>		
	0-90 FR 3/0-005				_	\$0.00	*	\$0.00	\$0.00	\$0.0
9027 PONTIAC LAKE RD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WHITE LAKE MI 48386										
50-22-03-383-009		0.10	\$665.83	\$66.58	DATE PAID					
SUSAN WITKOWSKI		UNIT								
GERALD WITKOWSKI	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 108	CONDOMINIUM UNIT 9, BLDG A L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1908 TRANQUIL CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
COMMERCE TOWNSHIP MI 48390-1861					TOTAL	ψ13.32	ψ13.32	ψ13.3Z	ψ13.3Z	ψ13.
		0.40	Ф00 <u>г</u> 00	COO 50	DATE DAID					
50-22-03-383-010		0.10	\$665.83	\$66.58	DATE PAID					
MARY FARR		UNIT								
MARLENE BORG & MARTIN FARR	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 109	CONDOMINIUM UNIT 10, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
							,	· ·	·	
50-22-03-383-011		0.10	\$665.83	\$66.58	DATE PAID					
CHERYL KANDEL		UNIT	φοσο.σσ	Ψ00.00	D/((Z 1 / (ID					
CHERTE NANDEL	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OIVII			DALANCE	<u></u>	<b>Ф</b> ГО О <b>7</b>	¢20.0Г	<b>COC CO</b>	£40
					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 110	CONDOMINIUM UNIT 11, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
31226 COUNTRY RIDGE CIR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
FARMINGTON HILLS MI 48331										
50-22-03-383-012		0.10	\$665.83	\$66.58	DATE PAID					
MARILYN L HICKMAN		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 111	CONDOMINIUM UNIT 12, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 VI WI 40077 1010	0 00 1 11 0 7 0 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	ψ13.32	ψ13.3Z	ψ13.3Z	ψ13.3Z	Ψ13.
F0 00 00 000 040		0.40	<b>\$005.00</b>	000.50	DATE DAID					
50-22-03-383-013		0.10	\$665.83	\$66.58	DATE PAID			+		
DAVID BIRDSALL	001100111111111111111111111111111111111	UNIT							1	
KAREN BIRDSALL	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 SOUTH LAKE DR UNIT 112	CONDOMINIUM UNIT 13, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
40688 LENOX PARK					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377						·				
50-22-03-383-014		0.10	\$665.83	\$66.58	DATE PAID				İ	1
CARL TRAVIS		UNIT	+5.00	7.5.55				1	1	
0/11/2 //01/10	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1107 C LAVE DD LINIT 110	CONDOMINIUM UNIT 14, BLDG A L 11495 P 288 8				_		·			
1127 S LAKE DR UNIT 113					PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
								1	1	1
50-22-03-383-015		0.10	\$665.83	\$66.58	DATE PAID					
VICTOR ABRAMSON		UNIT								
ILENE H ABRAMSON	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 114	CONDOMINIUM UNIT 15, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
140 VI IVII 400/ / - 10 10	0-90 FIX 370-003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 58 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-016		0.10	\$665.83	\$66.58	DATE PAID					
HOLLEY FAMILY TRUST		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 S LAKE DR UNIT 115	CONDOMINIUM UNIT 16, BLDG A L 11495 P 288 8	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-017		0.10	\$665.83	\$66.58	DATE PAID					
EMPIRE-SPARTAN LLC	CONDOMINIUMA DI ANI NO COZ COLITILI DOINITE	UNIT			5444405	Ann =0	<b>^</b>	^	***	0.0
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 SOUTH LAKE DR UNIT 116	CONDOMINIUM UNIT 17, BLDG A L 11495 P 288 8	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 7072					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48376		0.40	<b>#</b> 005.00	<b>\$00.50</b>	DATE DAID					
50-22-03-383-018 JOAN ZANGER		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
JOAN ZANGER	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNII			BALANCE	\$66.58	\$53.27	\$39.95	<b>\$26.62</b>	\$13.
1107 COLITH LAKE DD LINIT 117	CONDOMINIUM UNIT 18, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$26.63 \$13.32	\$13.
1127 SOUTH LAKE DR UNIT 117 NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
9395 COMMERCE RD	0-90 FK 376-003									
COMMERCE TOWNSHIP MI 48382					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-019	<u> </u>	0.10	\$665.83	\$66.58	DATE PAID					
MABEL A BOURDEAU		UNIT	φ005.63	\$00.56	DATE PAID					
WABEL A BOOKDEAU	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1107 COLITH LAKE DR LINIT 110	CONDOMINIUM UNIT 19, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
1127 SOUTH LAKE DR UNIT 118	6-90 FR 378-005					\$13.32	\$0.00			\$13.
NOVI MI 48377-1816	0-9011(370-003				INTEREST TOTAL	\$13.32	\$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$13.
					TOTAL	φ13.3Z	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-020		0.10	\$665.83	\$66.58	DATE PAID					
BERTRAND WILMOT		UNIT	φοσο.σσ	φοσ.σσ	D/((E1/(D					
JANE WILMOT	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 S LAKE DR UNIT 119	CONDOMINIUM UNIT 20, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10920 S 41 RD	0 30 1 10 70 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
CADILLAC MI 49601					TOTAL	ψ13.32	ψ13.32	ψ13.32	ψ10.0Z	Ψ10.
50-22-03-383-021		0.10	\$665.83	\$66.58	DATE PAID					
MARILYN KOVITZ		UNIT	ψ005.05	φου.36	DATEFAID					
MARIETTROVITE	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 120	CONDOMINIUM UNIT 21, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1816	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
THO VI WII TOOF I - TO TO	0 3011( 370-003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					.01/1	ψ10.02	ψ10.0 <u>2</u>	ψ10.0Z	ψ10.0 <u>2</u>	ψ10.
50-22-03-383-022		0.10	\$665.83	\$66.58	DATE PAID					
JAMES HEFFERNAN		UNIT								
MARY HEFFERNAN	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 122	CONDOMINIUM UNIT 22, BLDG A L 11495 P 288 8	l l			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3305 S PURPLE SAGE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
CHANDLER AZ 85248										,
50-22-03-383-023		0.10	\$665.83	\$66.58	DATE PAID					
JOHN LUNDIN		UNIT								
DELPHINE LUNDIN	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 S LAKE DR UNIT 200	CONDOMINIUM UNIT 23, BLDG A L 11495 P 288 8	Į l			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3

Page 59 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-024		0.10	\$665.83	\$66.58	DATE PAID					
EDMUND & LINDA BAPRAWSKI JR TR		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1127 SOUTH LAKE DR UNIT 201	CONDOMINIUM UNIT 24, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11856 PINE MOUNTAIN DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
BRIGHTON MI 48114										
50-22-03-383-025		0.10	\$665.83	\$66.58	DATE PAID					
RICHARD A MASI	CONDOMINIUM DI ANIMO COT COLITI I DOINITE	UNIT								
ELIZABETH A MASI	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1127 SOUTH LAKE DR UNIT 202	CONDOMINIUM UNIT 25, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3300 GULFSHORE BLVD #113					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NAPLES FL 34103										
50-22-03-383-026		0.10	\$665.83	\$66.58	DATE PAID					
BARBARA FITZGERALD	CONDOMINIUM DI ANIMO COZ COLITI I DOINITE	UNIT			5444405	400 =0	A		200.00	010.00
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1127 SOUTH LAKE DR UNIT 203	CONDOMINIUM UNIT 26, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
			<b>^</b>	<b>^</b>	5.475 5.45					
50-22-03-383-027		0.10	\$665.83	\$66.58	DATE PAID					
DAVID G MILLER TRUST	CONDOMINIUM DI ANIMO COZ COLITI I DOINITE	UNIT			DALANIOE	000.50	<b>#50.07</b>	400.05	400.00	<b>0.10.0</b>
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 SOUTH LAKE DR UNIT 204	CONDOMINIUM UNIT 27, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
E0 22 02 202 020		0.10	¢cce oo	<b>\$66.50</b>	DATE PAID			1		1
50-22-03-383-028		0.10	\$665.83	\$66.58	DATE PAID					
MARGARET GRISCO	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$66.58	\$53.27	\$20.0E	<b>\$26.63</b>	\$13.3
S LETZEISER & M CARROLL	CONDOMINIUM UNIT 28, BLDG A L 11495 P 288 8				_			\$39.95	\$26.63	
1127 SOUTH LAKE DR UNIT 205	6-90 FR 378-005				PRINCIPAL	\$13.32	\$13.32	\$13.32 \$0.00	\$13.32	\$13.3
NOVI MI 48377-1817	0-90 FR 370-005				INTEREST	\$0.00	\$0.00	*	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-029		0.10	\$665.83	\$66.58	DATE PAID					
GWENDOLYN MARTIN		UNIT	φ005.65	φ00.56	DATE FAID					
GWENDOLTNWARTIN	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 SOUTH LAKE DR UNIT 206	CONDOMINIUM UNIT 29, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI WII 40377-1017	0-90 T IX 370-003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					TOTAL	φ13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-030		0.10	\$665.83	\$66.58	DATE PAID			1		
DAVID LUBOWICKI		UNIT	ψοσο.σο	Ψ00.00	DATETAID			1		+
JUDITH LUBOWICKI	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 SOUTH LAKE DR # 207	CONDOMINIUM UNIT 30, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7044 DRIFTWOOD DR	0.0071(070.000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
FENTON MI 48430					101/12	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψιοι
50-22-03-383-031		0.10	\$665.83	\$66.58	DATE PAID					
MARVIN WITTKOPF		UNIT	Ψ000.00	Ψ00.00	5,11217115					
MARIAM WITTKOPF	CONDOMINIUM PLAN NO 687 SOUTH POINTE	<del>-</del> •			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1127 SOUTH LAKE DR UNIT 208	CONDOMINIUM UNIT 31, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
110 11 101 1 1011	0 00 / 10 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
							W10.02	ψ10.02	₩ 10.02	ψιυ.υ

Page 60 of 172 6/4/2015 4.25 PM

AND ADDRESS				II.	1	2045	2016	2017	2018	000
AND ADDDESS						2015	2010	2017	2016	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-032		0.10	\$665.83	\$66.58	DATE PAID					
KERRY CHASE		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR # 209	CONDOMINIUM UNIT 32, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-383-033		0.40	ФССТ 02	ФСС F0	DATE PAID					-
CHARLES FALLER		0.10 UNIT	\$665.83	\$66.58	DATE PAID					+
CINDY FALLER	CONDOMINIUM PLAN NO 687 SOUTH POINTE	01111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR UNIT 210	CONDOMINIUM UNIT 33, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
10 VI WII 40077 1017	0 00 1 11 0 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					101712	Ψ10.02	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	1 4.0
50-22-03-383-034		0.10	\$665.83	\$66.58	DATE PAID					
LUCILLE L EATON		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR UNIT 211	CONDOMINIUM UNIT 34, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-383-035		0.10	\$665.83	\$66.58	DATE PAID					+
ROBERT PACKARD		UNIT	ψ003.03	Ψ00.50	DATETAID					-
CAROL PACKARD	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR UNIT 212	CONDOMINIUM UNIT 35, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
7435 PONTIAC TRAIL RD	0 00 1 11 0 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NORTHVILLE MI 48168						¥.0.0	<b>,</b>	<b>V.0.0</b>	7.0.0=	7.7
50-22-03-383-036		0.10	\$665.83	\$66.58	DATE PAID					
CAROL M SMITH		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR UNIT 213	CONDOMINIUM UNIT 36, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-383-037		0.10	\$665.83	\$66.58	DATE PAID					
GEORGE KIBA		UNIT	φ003.63	φ00.56	DATE PAID					
VIRGINIA KIBA	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR UNIT 214	CONDOMINIUM UNIT 37, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
45182 W PARK DR - APT #35					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1301										
50-22-03-383-038		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT TRAUT	CONDOMINIUM DI ANI NO COZ COUTU DOINTE	UNIT			DALANOE	<b>\$00.50</b>	<b>#50.07</b>	<b>#00.05</b>	<b>#00.00</b>	0.10
LUELLA TRAUT	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1127 SOUTH LAKE DR UNIT 215	CONDOMINIUM UNIT 38, BLDG A L 11495 P 288 8	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST TOTAL	\$0.00 \$13.33	\$0.00 \$13.33	\$0.00	\$0.00	\$0 \$13
					IOIAL	\$13.32	\$13.32	\$13.32	\$13.32	<b>\$13</b>
50-22-03-383-039		0.10	\$665.83	\$66.58	DATE PAID			T		†
YASUKO DUKE		UNIT	•							
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
	LOON DOMINIU IN LINUT OO DI DO A L 44405 D 000 0				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
1127 SOUTH LAKE DR UNIT 216	CONDOMINIUM UNIT 39, BLDG A L 11495 P 288 8				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7.0.0	Ψ.σ.σ=	Ψ.0.0=	Ψ.σ.σ=	
1127 SOUTH LAKE DR UNIT 216 NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0

Page 61 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-040		0.10	\$665.83	\$66.58	DATE PAID					
TOMCHAK. FRANK TRUST		UNIT								
,	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 SOUTH LAKE DR UNIT 217	CONDOMINIUM UNIT 40, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						¥	<b>,</b>	¥.0.0=	7.0.0=	Ţ.c.
50-22-03-383-041		0.10	\$665.83	\$66.58	DATE PAID					
WILLIAM MARCUS		UNIT	φοσοίσσ	φσσ.σσ	5,112.7115					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 SOUTH LAKE DR # 218	CONDOMINIUM UNIT 41, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 111 10011	0 00 1 11 0 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					101712	Ψ10.02	Ψ10.02	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	Ψιο
50-22-03-383-042		0.10	\$665.83	\$66.58	DATE PAID					
NANCY SEDLER		UNIT	ψοσο.σσ	Ψ00.00	DATE FAID					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE	CIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 SOUTH LAKE DR # 219	CONDOMINIUM UNIT 42, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377-1017	0-3011(370-003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	Φ13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-043		0.10	\$665.83	\$66.58	DATE PAID					
CARROLL FRYE		0.10 UNIT	φ003.03	φου.3ο	DATE PAID					
	CONDOMINIUM DI ANIMO COZ COLITI I DOINTE	UNIT			DALANOE	<b>\$00.50</b>	<b>\$50.07</b>	<b>#00.05</b>	<b>#00.00</b>	<b>#</b> 40
SALLY FRYE	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 SOUTH LAKE DR UNIT 220	CONDOMINIUM UNIT 43, BLDG A L 11495 P 288 8	Ī			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
F0 00 00 000 044		0.40	<b>\$</b> 005.00	000.50	DATE DAID		1			
50-22-03-383-044		0.10	\$665.83	\$66.58	DATE PAID					
WILLIAM G ROBINSON		UNIT								
PAMELA B ROBINSON	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1127 SOUTH LAKE DR UNIT 222	CONDOMINIUM UNIT 44, BLDG A L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1817	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 930364					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WIXOM MI 48393										
50-22-03-383-045		0.10	\$665.83	\$66.58	DATE PAID					
DONALD JACOBS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 SOUTH LAKE DR UNIT 45	CONDOMINIUM UNIT 45, BLDG B L 11495 P 288 8	1			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-383-046		0.10	\$665.83	\$66.58	DATE PAID					
JOHN FRANCIC		UNIT								
MARY GAVIN	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1155 SOUTH LAKE DR UNIT 46	CONDOMINIUM UNIT 46, BLDG B L 11495 P 288 8	<del> </del>			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-383-047		0.10	\$665.83	\$66.58	DATE PAID					
MARGARET BOSCA		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1155 SOUTH LAKE DR UNIT 47	CONDOMINIUM UNIT 47, BLDG B L 11495 P 288 8	<b> </b>			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
		II		II						
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 62 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-048		0.10	\$665.83	\$66.58	DATE PAID					
WAYNE WANG		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1155 SOUTH LAKE DR UNIT 48	CONDOMINIUM UNIT 48, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-049 ROSE QUATTRO TRUST		0.10	\$665.83	\$66.58	DATE PAID					
RUSE QUATTRU TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			DALANCE	<u></u>	<b>ФГО О</b> 7	<b>Ф20.0</b> Г	<b>#</b> 00.00	\$13.3
AASS COLUTIVI AKS DD LINIT 40	CONDOMINIUM UNIT 49, BLDG B L 11495 P 288 8				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	
1155 SOUTH LAKE DR UNIT 49	6-90 FR 378-005				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-050		0.10	\$665.83	\$66.58	DATE PAID					
LOIS NUGENT		UNIT	ψοσοίσο	ψοσίου	2711217112					
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1155 SOUTH LAKE DR UNIT 50	CONDOMINIUM UNIT 50, BLDG B L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
50-22-03-383-051		0.10	\$665.83	\$66.58	DATE PAID					
JACQUELYN E LINVILLE		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1155 SOUTH LAKE DR UNIT 51	CONDOMINIUM UNIT 51, BLDG B L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
17664SHADY FIR LOOP					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
BEAVERTON OR 97006-8202										
50-22-03-383-052		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT F EDWARDS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1155 S LAKE DR UNIT 52	CONDOMINIUM UNIT 52, BLDG B L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
FO 00 00 000 0F0		0.40	<b>#</b> 005.00	<b>#00.50</b>	DATE DAID					
50-22-03-383-053 JANET DALY		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
SANET DALT	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 S LAKE DR UNIT 53	CONDOMINIUM UNIT 53, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
NOVI WII 40377-1050	0-90 FK 376-003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					TOTAL	Φ13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-054		0.10	\$665.83	\$66.58	DATE PAID					
EMMET HANNON		UNIT	*	*						
MARILYN HANNON	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 SOUTH LAKE DR UNIT 54	CONDOMINIUM UNIT 54, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-055		0.10	\$665.83	\$66.58	DATE PAID					
CATHERINE BOHDAN	CONDOMINIUM DI ANTIGO COT COUTTI DOCUTTI	UNIT			DAI 43300	400 70	<b>#</b> 50.55	000.07	<b>A</b> 00.00	A
DIANA DORER	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 S LAKE DR UNIT 55	CONDOMINIUM UNIT 55, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1127 SOUTH LAKE DR UNIT 116					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377							i .			

Page 63 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-383-056		0.10	\$665.83	\$66.58	DATE PAID					
DELORES SHEEDY		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 56	CONDOMINIUM UNIT 56, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
50-22-03-383-057		0.10	\$665.83	\$66.58	DATE PAID					
BEVERLY SPIESER		UNIT								
C/O MATTHEW DELEZENNE	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 57	CONDOMINIUM UNIT 57, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1850	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
9290 FLORIDA ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
LIVONIA MI 48150										
50-22-03-383-058		0.10	\$665.83	\$66.58	DATE PAID					
JANE WILMOT		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 58	CONDOMINIUM UNIT 58, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
10920 S 41 RD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
CADILLAC MI 49601										
50-22-03-383-059		0.10	\$665.83	\$66.58	DATE PAID					
JEFFREY WERNER		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 59	CONDOMINIUM UNIT 59, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 171					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
BLOOMFIELD HILLS MI 48303							•			
50-22-03-383-060		0.10	\$665.83	\$66.58	DATE PAID					
LILLIAN D MYERS		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 60	CONDOMINIUM UNIT 60, BLDG B L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		0.40	<b>^</b>	<b>^</b>	5.75 5.45					
50-22-03-383-061		0.10	\$665.83	\$66.58	DATE PAID					
RANDY A FLAGG	CONDOMINIUM DI ANIMO COZ COLITI I DOINITE	UNIT			541 41105	<b>#</b> 00.50	<b>#50.07</b>	<b>#00.05</b>	400.00	040.00
AASS OLAKS DRAINIT OA	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 61	CONDOMINIUM UNIT 61, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
50.00.00.000.000		0.10	<b>#</b> 005.00	<b>#</b> 00.50	DATE DATE				1	
50-22-03-383-062		0.10	\$665.83	\$66.58	DATE PAID					
NICHOLAS & KATHERINE COSENTINO	CONDOMINIUM DI ANIMO COZ COLUTU DOINITE	UNIT			DALANCE	<b>#</b> 00.50	<b>#FC 07</b>	<b>#00.05</b>	<b>#00.00</b>	<b>040.00</b>
TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 62	CONDOMINIUM UNIT 62, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22068 MERIDIAN LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48375		0.40	Ф005 00	\$00.50	DATE DATE				1	1
50-22-03-383-063		0.10	\$665.83	\$66.58	DATE PAID					
GLORIA DOWLING	CONDOMINIUM DI ANIMO COZ COLUTU DOINITE	UNIT			DAI	<b>#</b> 00 = 0	<b>AFC 3</b> =	<b>#06.5</b> =	000.00	040.00
C/O BARBARA COX	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
1155 S LAKE DR UNIT 63	CONDOMINIUM UNIT 63, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
955 GOLF VIEW DR DACULA GA 30019					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		i l		1	1		1	1		1

Page 64 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-383-064		0.10	\$665.83	\$66.58	DATE PAID					
MARSHA REDNER		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
1155 S LAKE DR UNIT 64	CONDOMINIUM UNIT 64, BLDG B L 11495 P 288 8-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-065		0.10	\$665.83	\$66.58	DATE PAID					
JOAN PILLON		UNIT								
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 S LAKE DR UNIT 65	CONDOMINIUM UNIT 65, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50.00.00.000		0.40	<b>#</b>	000.50	DATE DAID					
50-22-03-383-066		0.10	\$665.83	\$66.58	DATE PAID					
CAROLYN MCNEILLY	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			DALANCE	<b></b>	<b>Ф</b> ГО О <b>7</b>	<b>Ф20 О</b> Г	<b></b>	£40
AASS OLAKS DRILINIT OO					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 S LAKE DR UNIT 66	CONDOMINIUM UNIT 66, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-067		0.10	\$665.83	\$66.58	DATE PAID					
THERESA SANDBERG		0.10 UNIT	\$000.03	φο.σο	DATE PAID					
I HERESA SANDBERG	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			DALANCE	¢cc E0	<b>¢</b> E2 27	\$20.0E	<b>#</b> 26.62	¢12
AASS OLAKS DOLINIT OZ	CONDOMINIUM UNIT 67. BLDG B L 11495 P 288 8				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 S LAKE DR UNIT 67					PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
8714 RUSHSIDE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
PINCKNEY MI 48169 50-22-03-383-068		0.40	\$665.83	\$66.58	DATE PAID					
VIRGINIA LEE RUNYON TRUST		0.10 UNIT	\$000.03	φο.σο	DATE PAID					
VIRGINIA LEE KUNTON TRUST	CONDOMINIUM PLAN NO 687 SOUTH POINTE	UNIT			DALANCE	<u></u>	\$53.27	Ф20.0F	<b>የ</b> ንር ርን	\$13.
44EE C L AKE DD # C0	CONDOMINIUM UNIT 68, BLDG B L 11495 P 288 8-				BALANCE PRINCIPAL	\$66.58		\$39.95	\$26.63	\$13.
1155 S LAKE DR # 68 NOVI MI 48377-1851	6-90 FR 378-005					\$13.32	\$13.32	\$13.32	\$13.32	
NOVI IVII 48377-1851	0-90 FK 370-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
50-22-03-383-069		0.10	\$665.83	\$66.58	DATE PAID					
MARIA TATARELLI		UNIT	φ005.63	φ00.56	DATE PAID					
WANIA TATANLLLI	CONDOMINIUM PLAN NO 687 SOUTH POINTE	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1155 S LAKE DR UNIT 69	CONDOMINIUM UNIT 69, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
NOVI WII 40377-1031	0-30 i ix 370-003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
50-22-03-383-070		0.10	\$665.83	\$66.58	DATE PAID					
PETER J ZOROYA		UNIT	ψ000.00	Ψ00.00	5,					
DIANE K ZOROYA	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1155 S LAKE DR UNIT 70	CONDOMINIUM UNIT 70, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11 1111 100 11 100 1	0 00 1 10 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						ψ.υ.υ <u>L</u>	Ų.3.0 <u>2</u>	Ų. 3.0 <u>L</u>	Ų. 3.0 <u>2</u>	Ψ.0
50-22-03-383-071		0.10	\$665.83	\$66.58	DATE PAID					
MA DE LOS ANGELES AGUILERA VEL		UNIT		,						
JESSICA PINKSTON	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
1155 S LAKE DR UNIT 71	CONDOMINIUM UNIT 71, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
		1		1						
		l			TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 65 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-03-383-072		0.10	\$665.83	\$66.58	DATE PAID					
IRA FISHER		UNIT	•	, , , , , ,						
	CONDOMINIUM PLAN NO 687 SOUTH POINTE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
1155 S LAKE DR UNIT 72	CONDOMINIUM UNIT 72, BLDG B L 11495 P 288 8				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48377-1851	6-90 FR 378-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
							,			
50-22-03-401-003		1.00	\$665.83	\$665.83	DATE PAID					
MATTHEW & NATALIE KOTTMAN TR		UNIT	***************************************	700000						
	0110507/100010 0501 47 051 070 440 440 0 444				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEMERE PARK LOT 11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1850 DOGWOOD TRAIL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390						<b>V</b>	<b>V</b>	<b>V</b>	<b>4</b> . <b>6</b>	7
50-22-03-401-004		1.00	\$665.83	\$665.83	DATE PAID					
MATTHEW & NATALIE KOTTMAN TR		UNIT	ψ000.00	Ψ000.00	5,11217110					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEMERE PARK LOT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1850 DOGWOOD TRAIL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390					TOTAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψιοι
50-22-03-401-006		1.00	\$665.83	\$665.83	DATE PAID					
DOUGLAS HEATH		UNIT	φ005.05	ψ003.03	DATEFAID					
ELIZABETH HEATH	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144	OINII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
ELIZABETH HEATH	OF IDLEMERE PARK LOTS 9 & 10 2-10-93 FR 001				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	& 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$13
905 S LAKE DR	& 002					\$133.17		\$133.17		\$133
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
NOVI MI 48377-1815		4.00	<b>#</b> 005.00	\$005.00	DATE DAID					
50-22-03-402-001		1.00	\$665.83	\$665.83	DATE PAID					
ANN FORD		UNIT			DALANOE	0005.00	<b>#500.00</b>	<b>\$000.50</b>	4000.00	<b>0.40</b>
KYLE FORD	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 13				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
04400140001					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
31106 LAGOON					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377			****	<b>^</b>	5.75 5.15					
50-22-03-402-002		1.00	\$665.83	\$665.83	DATE PAID					
ANDREW VAUGHN		UNIT								
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 14				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
044 00 ITH AKE BBI (5					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
811 SOUTH LAKE DRIVE					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377			<b>A A A A A A A A A A</b>	000	· · · ·					
50-22-03-402-003		1.00	\$665.83	\$665.83	DATE PAID					
MARSHALL L KLEIN		UNIT								
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 15				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDELINETE FARRED TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
6960 ORCHARD LAKE RD STE 305					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WEST BLOOMFIELD MI 48322-4527						ļ		<u> </u>		
50-22-03-403-001		1.00	\$665.83	\$665.83	DATE PAID					
ARNOLD FISHER		UNIT								
LORRAINE FISHER	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 16				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEWIERE PARK LOT 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7207 CREEKS BEND DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WEST BLOOMFIELD MI 48322-3525		1		I	I					

Page 66 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-404-005	PART OF SW FRC 1/4 BEG AT PT S 83-53-00 E 10	1.00	\$665.83	\$665.83	DATE PAID					
STEPHEN XANTHEAS	FT FROM NW COR LOT 92 'IDLEMERE PARK', TH									
SOPHIA XANTHEAS	N 91.8 FT TO S SHORE WALLED LAKE. TH S 86-				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	15-00 E 90 FT, TH S 94.5 FT, TH N 83-53-00 W 90				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	FT TO BEG EXC 35 FT R/W FOR STREET				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5965 CAMPUS DR	0.12 A MN53				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
DEARBORN HEIGHTS MI 48127-2549	***************************************									
50-22-03-404-006		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT WALING		UNIT								
KIMBERLY WALING	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 23				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	05222				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
727 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1960										
50-22-03-404-007		1.00	\$665.83	\$665.83	DATE PAID					
WILLIAM D KRAUS		UNIT			1					
BARBARA D KRAUS	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 24				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDELINERE FARREOT 24				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
701 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1960										
50-22-03-404-009		1.00	\$665.83	\$665.83	DATE PAID					
HALINA NAPIERALA		UNIT								
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 20				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEWIERE PARK LOT 20				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
133 LEON RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390										
50-22-03-404-010		1.00	\$665.83	\$665.83	DATE PAID					
RICHARD HOENLE		UNIT								
RUTH HOENLE	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 21				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDLEWIERE PARK LOT 21				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
721 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1960										
50-22-03-404-011		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT WALING		UNIT			1	1				
KIMBERLY WALING	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOTS 17 & 18 02/02/84				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	FR001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
727 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1960										
50-22-03-404-012		1.00	\$665.83	\$665.83	DATE PAID					
GREGORY KERR		UNIT			1					
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 19 02/02/84 FR001				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OF IDELINERE FARREOT 19 02/02/04 FR001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
39823 WOODSIDE					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NORTHVILLE MI 48168					1					
50-22-03-404-013		1.00	\$665.83	\$665.83	DATE PAID					
KOPY LUCAS		UNIT			1					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
717 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1960	l				I	1		1	1	

Page 67 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-405-001		1.00	\$665.83	\$665.83	DATE PAID					
LISA M ASKER		UNIT								
	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	OF IDLEMERE PARK LOT 25				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	OF IDELINERE PARK LOT 23				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
623 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1959										
50-22-03-405-008		1.00	\$665.83	\$665.83	DATE PAID					
GREGORY ISZLER		UNIT			DALANOE	<b>#</b> 005.00	<b>#</b> 500.00	\$000 F0	#000 00	<b>C400</b>
ELIZABETH ISZLER	SUPERVISOR'S REPLAT OF LOTS 142, 143 & 144				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	OF IDLEMERE PARK LOT 26 & W 1/2 OF LOT 27				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
624 CLAVE DD					INTEREST	\$0.00	\$0.00	\$0.00 \$133.17	\$0.00	\$0.0 \$133
621 S LAKE DR NOVI MI 48377-1959					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
50-22-03-451-004		0.20	\$665.83	\$133.17	DATE PAID					
KYLE HECHT		UNIT	ψ003.03	ψ100.17	DATETAID					
KILLILOIII		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
901 S LAKE DR	IDLEMERE PARK LOT 19				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1815					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						<b>V</b> =0.00	7=0.00	7=0.00	¥=0.00	7-31
50-22-03-451-005		0.20	\$665.83	\$133.17	DATE PAID					
DAVID LADOMER		UNIT	•	,						
BRITTNEY GLOVIS	IDLEMEDE DADIK LOT 20. ALCO 4/2 OF MAC				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
108 MAUDLIN ST	IDLEMERE PARK LOT 20, ALSO 1/2 OF VAC				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1843	LILAC CT ADJ TO SAME				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-451-006		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL HAYNES		UNIT								
KELLY CARUSS	IDLEMERE PARK LOTS 21 & 22, ALSO 1/2 OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
112 MAUDLIN ST	VAC LILAC CT ADJ TO SAME				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-451-007		0.20	\$665.83	\$133.17	DATE PAID			+		
PAUL WINDEL		UNIT	φ000.03	\$133.17	DATE FAID					
FAUL WINDEL		ONIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
914 LEMAY ST	IDLEMERE PARK LOT 30				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	.5.1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
105 LAKE PINES DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
BRIGHTON MI 48114						<del>+=3.00</del>	<del>+-2.00</del>	Ţ_5.00	<del>+</del> _0.00	<b>\$20.</b>
50-22-03-451-009		0.20	\$665.83	\$133.17	DATE PAID	İ		İ		
DEBRA SOOP		UNIT			1					
	IDLEMEDE DADICI OTO 22 8 24 ALCO NELVA/2				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
118 MAUDLIN ST	IDLEMERE PARK LOTS 23 & 24, ALSO NELY 1/3 OF LOT 29				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1843	OF LOT 29				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					ļ				1	
50-22-03-451-011		0.20	\$665.83	\$133.17	DATE PAID					
GARY POPIELA		UNIT			1					
	IDI EMEDE DADICI OT CO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
128 MAUDLIN ST	IDLEMERE PARK LOT 26				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.0
					TOTAL	\$26.63	\$26.63			

Page 68 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			•	INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-451-012		0.20	\$665.83	\$133.17	DATE PAID					
CLEMENCE SHAYA ROSE FADEL		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
130 MAUDLIN ST	IDLEMERE PARK LOT 27				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1843					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1653 MARINER DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3658						•		,		
50-22-03-451-013		0.20	\$665.83	\$133.17	DATE PAID					
TED L MARCH		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
132 MAUDLIN ST	IDLEMERE PARK LOT 28				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1846					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
47297 AUTUMN PARK CT					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48374										
50-22-03-452-007		0.20	\$665.83	\$133.17	DATE PAID					
RICHARD JOSEPHSON		UNIT								
•	IDLEMERE PARK LOTS 68 & 69, ALSO 1/2 OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
163 MAUDLIN ST	VAC MAUDLIN DR ADJ TO SAME DESC AS BEG				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1846	AT NE COR OF LOT 68				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						,		,	·	
50-22-03-452-008		0.20	\$665.83	\$133.17	DATE PAID					
LAWRENCE E WESSON		UNIT		,						
	IDLEMERE PARK LOTS 72, 73 & 74, ALSO 1/2 OF	_			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
305 MAUDLIN ST	VAC MAUDLIN DR ADJ TO SAME 11-13-01 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1820	001 & 006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-452-009		0.20	\$665.83	\$133.17	DATE PAID					
JEFFREY J LAURIE JR		UNIT								
REBECCA OUBECK	IDLEMERE PARK LOTS 70 & 71 3-22-02 FR 002 &				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
185 MAUDLIN ST	003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1846	000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-453-005		0.20	\$665.83	\$133.17	DATE PAID					
TERRIA GARIEPY		UNIT			DALANOE	£400.47	£400 F0	<b>#70.00</b>	<b>#</b> 50.07	000
400 MALIDLINI OT	IDLEMEDE DARKLOT 40				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
109 MAUDLIN ST	IDLEMERE PARK LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-453-006		0.20	\$665.83	\$133.17	DATE PAID					+
TUTTLE FAMILY, LLC		UNIT	ψοσο.σο	ψ100.17	DATETAID		+	1		
ROLLIN J TUTTLE JR		0.111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
115 MAUDLIN ST	IDLEMERE PARK LOT 41				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1845	IDELINEITE I / MICEOT TI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
3100 BENSTEIN					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390						<del>4</del> _5.00	<b>\$25.00</b>	<del>\$</del> _5.00	<b>\$_5.00</b>	ΨΞ
50-22-03-453-007		0.20	\$665.83	\$133.17	DATE PAID					1
NANCY J SIMMONS		UNIT	+=====	Ţ : <b>-3</b>						1
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
117 MAUDLIN ST	IDLEMERE PARK LOT 42				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
		il		II .						\$26
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	JZD

Page 69 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
50-22-03-453-008		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL J OUELLETTE TRUST		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
119 MAUDLIN ST	IDLEMERE PARK LOT 43				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2664 PALOMAS DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-2054										
50-22-03-453-009		0.20	\$665.83	\$133.17	DATE PAID					
MAUDLIN RENTAL LLC		UNIT								
	IDI ELIEDE DADICI OT LI				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
121 MAUDLIN ST	IDLEMERE PARK LOT 44				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1845					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
724 IRVIN ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
PLYMOUTH MI 48170-1168			****	<b>*</b> * * * * * * * * * * * * * * * * * *	D. 1 = D. 1   D.					
50-22-03-453-010		0.20	\$665.83	\$133.17	DATE PAID					
BEN J THORSEN		UNIT			DALANOE	<b>0400.47</b>	£400 F0	Ф <b>7</b> 0.00	<b>#</b> 50.07	<b>#00</b>
	IDLEMERE PARK LOT 45, ALSO 1/2 OF VAC				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	IVYLEAF WALK ADJ TO SAME 6-30-00 CORR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
750 E WALLED LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390		0.00	<u></u>	¢400.47	DATE PAID					
50-22-03-453-011 KAREN M ASCENCIO		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
JAMES M ASCENCIO		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
JAMES IN ASCENCIO	IDLEMERE PARK LOT 46, ALSO 1/2 OF VAC				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	IVYLEAF WALK ADJ TO SAME 6-30-00 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.
38620 NORTHAMPTON					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WESTLAND MI 48186					TOTAL	φ20.03	\$20.03	\$20.03	\$20.03	φ20.
50-22-03-453-016		0.20	\$665.83	\$133.17	DATE PAID					
ARNOLD FISHER		UNIT	φοσο.σσ	Ψ100.17	DATETAID					
LORRAINE FISHER	IDLEMERE PARK ALL OF BOTANY BAY & THAT	0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
2010/01/12/1	PART OF WOODBINE LAKE LYING W OF LINE				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	DRAWN FROM SW COR OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7207 CREEKS BEND DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WEST BLOOMFIELD MI 48322-3525						Ψ20.00	Ψ20.00	Ψ20.00	<b>\$20.00</b>	Ψ20.
50-22-03-453-017		0.20	\$665.83	\$133.17	DATE PAID					
CHARLIE GATT		UNIT	*	,						
SHERYL GATT					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	IDLEMERE PARK LOT 104				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
135 OWENTON ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1963										
50-22-03-453-019		0.20	\$665.83	\$133.17	DATE PAID					
NEW CHAPTER HOMES		UNIT			1					
	IDLEMERE PARK ALL THAT PART OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	WOODBINE LAKE & GOLDENROD BAY LYING E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	OF LINE DRAWN FROM SW COR LOT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
46597 SOUTH VIEW LANE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
PLYMOUTH MI 48170			000	<b>A</b> 4 <b>a</b> = . =	<b></b>					
50-22-03-453-020		0.20	\$665.83	\$133.17	DATE PAID					
PALMA WEAVER		UNIT				<b>*</b> * * * * * * * * * * * * * * * * * *	<b>*</b> • • • • • • • • • • • • • • • • • • •	<b>A=</b> 6	0====	4 -
000 DEDMOTART OT	IDLEMEDE DADIGLOTO 107 0 100				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
206 BERNSTADT ST	IDLEMERE PARK LOTS 107 & 108				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1917					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
30790 BURLINGTON					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WESTLAND MI 48186	1			I	1	i	l .	1	1	

Page 70 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-453-021		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL J LINK		UNIT								
LEANNE M H LINK					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
210 BERNSTADT ST	IDLEMERE PARK LOTS 109 & 110				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1917					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-453-022		0.20	\$665.83	\$133.17	DATE PAID					
GLENDA A HAMILTON TRUST		UNIT	φ003.03	ψ133.17	DATEFAID					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
236 BERNSTADT ST	IDLEMERE PARK LOTS 111, 112 & 113				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1917	·				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50.00.00.450.000		0.00	<b>\$205.00</b>	0100.17	DATE DAID					
50-22-03-453-023 STANLEY SULLIVAN		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
STARLET GOLLIVAR		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
133 MAUDLIN ST	IDLEMERE PARK LOTS 47 & 48 5-10-93 FR 012 &				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1845	013				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 VI WII 40077 1040					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						<b>V</b> =0.00	<b>V</b> =3.33	<b>V</b> =3.33	, and	7_0
50-22-03-453-024		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL HILLEY	IDI EMEDE DADIKI OTO 40, 50 0,54, AI 00 4/0 OF	UNIT			541 41105	<b>#</b> 100.47	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	050.07	000
RUTH SHOUPE	IDLEMERE PARK LOTS 49, 50 & 51, ALSO 1/2 OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
135 MAUDLIN ST	VAC MAUDLIN DR ADJ TO SAME DESC AS BEG				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1845	AT SW COR OF LO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-454-013		0.20	\$665.83	\$133.17	DATE PAID					
BRIAN N HILFINGER		UNIT								
LAURA L VAUGHN	IDLEMERE PARK LOTS 94, 95 & 96 EXC S 40 FT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
114 BERNSTADT ST	OF EACH, ALSO ALL OF LOT 97				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1915	OF EACH, ALSO ALL OF LOT 97				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-454-014		0.20	\$665.83	\$133.17	DATE PAID					
TERRY OSMUN		UNIT	ψοσο.σο	ψ100.17	DATETAID					
DAPHINE SMITH					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
118 BERNSTADT ST	IDLEMERE PARK S 40 FT OF LOTS 94, 95 & 96				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1915					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-455-005		0.20	\$665.83	\$133.17	DATE PAID					
KEVIN BATES		UNIT	ψυυυ.υυ	Ψ.50.17	5,11217115					
RENEE BATES					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
113 BERNSTADT ST	IDLEMERE PARK LOT 122				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1916					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
E0 22 02 455 006		0.20	¢eer oo	¢122.47	DATE PAID					
50-22-03-455-006 THELMA NAPIER		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
117 BERNSTADT ST	IDLEMERE PARK LOTS 120 & 121				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1916					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 71 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<u> </u>	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-456-001		0.20	\$665.83	\$133.17	DATE PAID					
RAYMOND C HOYER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
203 BERNSTADT ST	IDLEMERE PARK LOT 119				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1918					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-456-002		0.20	\$665.83	\$133.17	DATE PAID					
MARTHA L HOYER		UNIT	ψουσ.σσ	<b>V.00</b>						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	IDLEMERE PARK LOTS 117 & 118				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
203 BERNSTADT ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1918										
50-22-03-456-003		0.20	\$665.83	\$133.17	DATE PAID					
WESLEY G LECKENBY		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
233 BERNSTADT ST	IDLEMERE PARK LOTS 115 & 116				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1918					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-03-456-004		0.20	\$665.83	\$133.17	DATE PAID					
WESLEY G LECKENBY		UNIT	ψοσο.σσ	Ψ100.17	BATETAIB					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	IDLEMERE PARK LOT 114				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
233 BERNSTADT ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1918										
50-22-03-476-003		1.00	\$665.83	\$665.83	DATE PAID					
JOHN THOMOPOULOS		UNIT								
SHELLY THOMOPOULOS					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
425 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1957		4.00	<b>^</b>	****						
50-22-03-476-004		1.00	\$665.83	\$665.83	DATE PAID					
GARY E ZACK		UNIT			DALANCE	<b>የ</b> ርርር 00	фгоо cc	¢200 F0	<b>#</b> 000 00	<b>#</b> 400
MAUREEN R ZACK	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133 \$133
	See Assessors Office for Legal Description				INTEREST	\$133.17	\$133.17	\$133.17	\$133.17	\$133
359 S LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1950					TOTAL	ψ133.17	φ133.17	ψ133.17	φισσ.17	φ130
50-22-03-476-005		1.00	\$665.83	\$665.83	DATE PAID		1			
JOHN DUNESKE		UNIT	<b>4000.00</b>	<b>\$555.55</b>	32					
DONNA DUNESKE					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	3				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
357 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377-1950					<u> </u>					
50-22-03-476-006		1.00	\$665.83	\$665.83	DATE PAID					
RANDY STEPHENSON		UNIT			1					
JANE STEPHENSON	WALLED LAKE SHORES NWLY 20 FT OF LOT 30,				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	ALL OF LOT 31 & NWLY 20 FT OF LOT 32				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	ALL OF LOT OF Q INVVLT 2011 OF LOT 32				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3970 VAN AMBURG					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
BRIGHTON MI 48114-9254	1					1			1	

Page 72 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-03-476-007		1.50	\$665.83	\$998.75	DATE PAID					
ROBERT THOMPSON		UNIT								
JUDY THOMPSON	WALLED LAKE SHORES LOT 32 EXC NWLY 20				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199.7
	FT & ALL OF LOTS 33 & 34				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.7
	1 1 4 1 1 2 3 1 2 3 1 3 3 4 3 1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
327 SOUTH LAKE DR					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199.7
NOVI MI 48377-1950										
50-22-03-476-008		1.00	\$665.83	\$665.83	DATE PAID					
RONALD JOHNSTON		UNIT			5	A	<b>^=</b>	A	*****	0.00
	WALLED LAKE OHODEO LOT OF				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	WALLED LAKE SHORES LOT 35				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
OOF OOUTH LAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
325 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1950			A	****	D. 1 == D. 1   D. 1					
50-22-03-476-009		1.00	\$665.83	\$665.83	DATE PAID					
ROBERT CZARNECKI		UNIT			54144105	<b>#</b> 005.00	<b>#</b> 500.00	<b>#</b> 000 50	<b>#</b>	<b>0.400</b>
CHRISTINE CZARNECKI	WALLED LAKE OHODEO LOT 00				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	WALLED LAKE SHORES LOT 36				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
OCC COUTULAKE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
323 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1950		4.00	<b>#</b> 005.00	<b>#</b> 005.00	DATE DAID					
50-22-03-476-013		1.00	\$665.83	\$665.83	DATE PAID					
EMIL KACZMAR		UNIT			DALANOE	<b>#</b> 005.00	<b>#</b> 500.00	\$000 F0	\$000.00	<b>6400</b>
HELEN & ELENA KACZMAR	WALLED LAKE CHORECLOT 20				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	WALLED LAKE SHORES LOT 39				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
445   4105					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
415 LANGE					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
TROY MI 48098-4672 50-22-03-476-017		1.00	\$665.83	\$665.83	DATE PAID					
THOMAS R PEMBROKE		UNIT	φ005.65	φ005.65	DATE PAID					
I HOWAS R PEWBRUKE		UNIT			DALANCE	\$665.83	\$532.66	\$399.50	<b>ተ</b> ጋርር ጋጋ	\$133.
	WALLED LAKE SHORES LOT 43				BALANCE PRINCIPAL	\$133.17	\$133.17	\$133.17	\$266.33 \$133.17	\$133.
	WALLED LAKE SHOKES LOT 43				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1414 BAYWOOD CIR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
BRIGHTON MI 48116-6777					IOIAL	φ133.17	ψ133.1 <i>1</i>	ψ133.17	ψ133.1 <i>1</i>	ψ133.
50-22-03-476-022		1.00	\$665.83	\$665.83	DATE PAID					
FRED N SCOTT	WALLED LAKE SHORES LOT 40, ALSO PART OF	UNIT	ψ000.00	Ψ005.05	DATETAID					
DORREN & MEGAN SCOTT	E 1/2 OF SE FRC 1/4 BEG AT NE COR OF LOT 39	OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
DOMMEN & MILOAN GOOT	OF SD 'SUB', TH S 79 FT, TH S 43-20-00 E 40.40				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	FT, TH N 88 FT, TH WLY ALG SHORE OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
PO BOX 2230	WALLED LAKE TO BEG 2-12-96 FR 014 & 015				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
HOWELL MI 48844					101712	ψ100.11	φ100.17	ψ100.17	φισσιιί	ψ100.
50-22-03-476-024		1.00	\$665.83	\$665.83	DATE PAID			1		
WILLIAM BORDEN		UNIT	<b>4000.00</b>	\$550.00	2217115			1		
IRENE ARPASI		=			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	WALLED LAKE SHORES LOTS 37 & 38 9-17-01				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	FR 011 & 012				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
313 SOUTH LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1950						,	,		,	Ţ.20.
50-22-03-477-005		1.00	\$665.83	\$665.83	DATE PAID	ĺ				
JOHN PISHA		UNIT		,						
KAREN PISHA					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
351 SOUTH LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377-1950					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					1	T	7.50	Ţ.50	Ţ	<b>\$.55.</b>

Page 73 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
50-22-03-477-006	PART OF E 1/2 OF SE 1/4 BEG AT NW COR OF	1.50	\$665.83	\$998.75	DATE PAID					
DEAN R WALDRUP	LOT 30 'WALLED LAKE SHORES', TH S 22-02-00	UNIT								
MARY E WALDRUP	W 639 FT, TH N 45-43-00 W 200 FT, TH N 22-02-				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
339 SOUTH LAKE DR	00 E 724 FT TO SLY SHORE WALLED LAKE, TH				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
NOVI MI 48377-1950	SELY ALG SHORE 200 FT, TH S 22-02-00 W 85				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	FT TO BEG 3.10 A MN59				TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
50-22-03-481-007		0.20	\$665.83	\$133.17	DATE PAID					
JOANNE SITTERLET		UNIT	·	·						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
317 DUANA ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1976					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						•	,	,		
50-22-03-481-011		0.20	\$665.83	\$133.17	DATE PAID					
HENRY GRUZWALSKI		UNIT								
MARIE SHILOFF					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
311 MADISON AVE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
CLAWSON MI 48017-1974 50-22-03-481-016		0.20	\$665.83	\$133.17	DATE PAID					
SUMMIT RESULTS, LLC		UNIT	ψ003.03	ψ133.17	DATETAID					
•					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
38421 HORTON DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
FARMINGTON HILLS MI 48331-2300										
50-22-03-483-006		0.20	\$665.83	\$133.17	DATE PAID					
BRIAN JONES		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
119 CHARLOTTE DR	PRATT SUB LOT 43				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1920					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-03-483-007		0.20	\$665.83	\$133.17	DATE PAID					
JOEL STREET		UNIT								
GRACE STREET					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
117 CHARLOTTE DR	PRATT SUB LOT 42				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377-1920					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-04-429-001		0.20	\$665.83	\$133.17	DATE PAID					
DARRIN M BOJI		UNIT	ψ003.03	ψ133.17	DATETAID					
	DDIOTOL CODNEDO MODELLI OT 4 0 07 00 70				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30291 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 1 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
E0 22 04 420 002		0.00	<b>\$</b> 005.00	f400.47	DATE DAID					
50-22-04-429-002 RICHARD DELONIS		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
LISA MARIE DELONIS		CINII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30291 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 2 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.
INO VI IVII 40077					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 74 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	•
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
50-22-04-429-003		0.20	\$665.83	\$133.17	DATE PAID					
ALICIA STRAYHORN TRUST		UNIT								
	BRISTOL CORNERS NORTH LOT 3 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30309 PENNINGTON LN	426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377	420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
50-22-04-429-004		0.20	\$665.83	\$133.17	DATE PAID					
NABIL BAHU		UNIT	ψ000.00	ψ100.17	DATETAID					
RANIA BAHU	PRIOTOL CORNERO MORTILLOT 4 0 05 00 FR	• • • • • • • • • • • • • • • • • • • •			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30315 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 4 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-04-429-005		0.20	\$665.83	\$133.17	DATE PAID					
TU FAMILY TRUST		UNIT			DALANCE	¢122.17	¢106.53	¢70.00	¢52.27	¢ac
20227 DENNINGTON I N	BRISTOL CORNERS NORTH LOT 5 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30327 PENNINGTON LN	426-001				PRINCIPAL INTEREST	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377					TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	φ∠0.
50-22-04-429-006		0.20	\$665.83	\$133.17	DATE PAID					
ATUL KALIA		UNIT								
GAYTRI KALIA	BRISTOL CORNERS NORTH LOT 6 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30333 PENNINGTON LN	426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	420 001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50-22-04-429-007		0.20	\$665.83	\$133.17	DATE PAID					
KEVIN MANUAL		UNIT	ψοσσ.σσ	<b>V.00</b>	2711217112					
KATHLEEN MANUAL	PRIOTOL CORNERO MORTILLOT 7 0 05 00 FR	• • • • • • • • • • • • • • • • • • • •			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30339 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 7 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50.00.04.400.000		0.00	<b>#</b> 205.00	<b>0.100.17</b>	DATE DAID					
50-22-04-429-008 MERFAT NAJJAR		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
EIHAB GALLOZI	DDIOTOL CODNETCO MODELLA CT CO CE TO	5.411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30353 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 8 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
50.00.04.400.000		0.00	<b>#</b> 005.00	<b>#</b> 460.47	DATE DATE					
50-22-04-429-009 NAVEEN YERNENI		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MOAFFIA I FIVIAFIAI		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
30375 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 9 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
110 11111 10011					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						·				
50-22-04-429-010		0.20	\$665.83	\$133.17	DATE PAID					
PRIYA KULANDAIVELU		UNIT			DALANCE	¢422.47	\$400 F0	¢70.00	<b>\$50.07</b>	<b>#</b> 00
RAJMOH KULANDAIVELU	BRISTOL CORNERS NORTH LOT 10 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
30387 PENNINGTON LN	426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	1	ll l		II.	TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 75 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-011		0.20	\$665.83	\$133.17	DATE PAID					
RAKESH GAMPALA		UNIT								
THOUTREDDY GAMPALA	DDIOTOL CODNEDO NODTILLOTALO OF CO ED				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
44451 BRISTOL CIR	BRISTOL CORNERS NORTH LOT 11 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	426-001 & 22-03-154-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
						,				
50-22-04-429-012		0.20	\$665.83	\$133.17	DATE PAID					
SCOT WERNETTE		UNIT								
HITOMI WERNETTE	BRISTOL CORNERS NORTH LOT 12 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
44463 BRISTOL CIR					PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-04-429-013		0.20	\$665.83	\$133.17	DATE PAID					
SINAN MONA		UNIT								
PILLAR MONA	BRISTOL CORNERS NORTH LOT 13 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
44475 BRISTOL CIR	426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	420-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-04-429-014		0.20	\$665.83	\$133.17	DATE PAID					
SCOTT FRANE		UNIT								
KIMBERLY FRANE	BRISTOL CORNERS NORTH LOT 30 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30400 PENNINGTON LN	426-001 & 22-03-154-003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	420-001 & 22-03-134-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-04-429-015		0.20	\$665.83	\$133.17	DATE PAID					
ROSS SCHMITZ		UNIT								
KARIN SCHMITZ	BRISTOL CORNERS NORTH LOT 31 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30388 PENNINGTON LN	426-001 & 22-03-154-003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377	420-001 & 22-03-134-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
50-22-04-429-016		0.20	\$665.83	\$133.17	DATE PAID					
TIRUMALA SURAPANENI		UNIT								
KIRAN SURAPANENI	BRISTOL CORNERS NORTH LOT 32 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30376 PENNINGTON LN	426-001 & 22-03-154-003				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
FO 22 04 420 047		0.00	ФООТ 00	¢400.47	DATE DAID					
50-22-04-429-017		0.20	\$665.83	\$133.17	DATE PAID					
WARREN WEBERMIN		UNIT			DALANCE	C400.47	¢400 F0	¢70.00	ФE2.07	<b>#00.00</b>
ANDREA WEBERMIN	BRISTOL CORNERS NORTH LOT 33 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30364 PENNINGTON LN	426-001				PRINCIPAL INTEREST	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48377					TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00	\$0.00 \$26.63	\$0.00 \$26.63
					IOTAL	φ20.03	φ∠0.03	\$26.63	φ∠0.03	φ∠0.03
50-22-04-429-018		0.20	\$665.83	\$133.17	DATE PAID		1			1
50-22-04-429-018 XIAOYI YANG		UNIT	დი.ია	φ133.17	DATE PAID					
QINGHANG LI & WENDI LI		OINII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30352 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 34 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
	426-001				INTEREST	\$26.63	\$26.63	\$26.63	\$26.63	\$20.03
NOV/1 MI 40277							DU UIG	.50100	ווט נות.	
NOVI MI 48377					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63

Page 76 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
50-22-04-429-019		0.20	\$665.83	\$133.17	DATE PAID					
MATTHEW GOEBEL		UNIT								
TRACIE GOEBEL	DDICTOL CODNEDC MODILLI OT 25 C 25 C2 FD				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
30340 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 35 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-04-429-020		0.20	\$665.83	\$133.17	DATE PAID					
JAMES SNOW		UNIT								
BRENDA SNOW	DDIOTOL CODNEDO NODTILLOT CO C OF CO ED				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
30328 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 36 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-04-429-021		0.20	\$665.83	\$133.17	DATE PAID					
DENNY MOYER		UNIT		·						
BEVERLY MOYER	DDICTOL CODNEDC MODILLI OT 27 C 25 C2 FD				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
30316 PENNINGTON LN	BRISTOL CORNERS NORTH LOT 37 6-25-03 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377	426-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50-22-04-429-022		0.20	\$665.83	\$133.17	DATE PAID					
DEBORAH MAJESKI		UNIT								
	BRISTOL CORNERS NORTH LOT 38 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
30304 PENNINGTON LN	426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377	.20 00.				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
50.00.04.400.000		0.00	<b>#005.00</b>	£400.47	DATE DAIS		1			1
50-22-04-429-023		0.20	\$665.83	\$133.17	DATE PAID					
NAMIR JIDA AL		UNIT			DALANOE	<b>6400.47</b>	£400 F0	<b>#70.00</b>	<b>#</b> 50.07	<b>#</b> 000.0
NOREEN JIDA AL	BRISTOL CORNERS NORTH LOT 39 6-25-03 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
30292 PENNINGTON LN	426-001				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
NOVI MI 48377					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6

Page 77 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
92-17-34-328-026		0.20	\$665.83	\$133.17	DATE PAID					
MARK KIDD		UNIT								
	PHILIPSKI'S WALLED LAKE SUB LOT 56 AND S				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
201 HALIFAX ST	1/2 OF LOT 57				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3421	1/2 OF LOT 3/				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
92-17-34-328-038		0.20	\$665.83	\$133.17	DATE PAID					
ALEXANDER ANDREW SZECKU		UNIT	φ005.65	\$133.17	DATE PAID					
TELM INDERVINDICENT GEEGING		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	PHILIPSKI'S WALLED LAKE SUB LOT 44				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
330 ROSEBUD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390						,	•			
92-17-34-328-039		0.20	\$665.83	\$133.17	DATE PAID					
ALEXANDER ANDREW SZECKU		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
330 ROSEBUD ST	PHILIPSKI'S WALLED LAKE SUB LOTS 42 & 43				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-328-047		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL RZEPKA		UNIT	φ005.65	φ133.17	DATE PAID					
JULIE A DORAN-RZEPKA		Olviii			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
247 ROSEBUD CT	PHILIPSKI'S WALLED LAKE SUB LOT 33				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3447					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLES LARE III 10000 0 1 11					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-328-048		0.20	\$665.83	\$133.17	DATE PAID					
RICHARD MELNECHUK		UNIT			DALANIOE	<b>0</b> 400.4 <b>7</b>	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	<b>450.07</b>	000
OOF DOOEDUD OF	PHILIPSKI'S WALLED LAKE SUB NELY 33 FT LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
235 ROSEBUD CT	34				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3447					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-328-060		0.20	\$665.83	\$133.17	DATE PAID					
JOSEPH CURRAN		UNIT	***************************************	***************************************						
	PHILIPSKI'S WALLED LAKE SUB NWLY 37 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
232 ROSEBUD ST	LOT 37 & ALL OF LOT 38				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390	2010147220120100				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
47955 BREWSTER CT					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
PLYMOUTH MI 48170-3303		0.00	<b>የ</b> ድር 02	¢420.47	DATE DAID					
92-17-34-328-061 HOSAM HNRI		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
LINDA SABBAGH	PHILIPSKI'S WALLED LAKE SUB WLY PART OF	UINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
226 ROSEBUD ST	LOT 36 MEAS 39.2 FT ON SWLY LOT LINE &				PRINCIPAL	\$133.17	\$26.63	\$79.90 \$26.63	\$26.63	\$26.
WALLED LAKE MI 48390	51.55 FT ON NELY LOT LINE, ALSO LOT 37 EXC				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
19528 SHADYSIDE	NWLY 37 FT				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
LIVONIA MI 48152					IOIAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-34-328-062		0.20	\$665.83	\$133.17	DATE PAID					
LOREN BADISH		UNIT	•							
ANGIE ROBBINS-BADISH	PHILIPSKI'S WALLED LAKE SUB N 1/2 OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	59, ALSO ALL OF LOT 60				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	59, ALSO ALL OF LOT 60				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
215 HALIFAX ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3421		II		III	i		1	1	1	

Page 78 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-328-063		0.20	\$665.83	\$133.17	DATE PAID					
LOREN BADISH		UNIT	*	,						
ANGIE ROBBINS		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
215 HALIFAX ST	PHILIPSKI'S WALLED LAKE SUB N 1/2 OF LOT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3421	57, ALL OF LOT 58, ALSO S 1/2 OF LOT 59				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WI 40390-3421					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	ֆ <b>2</b> 0.03	\$20.03	\$20.03	\$20.03	\$20
92-17-34-328-070		0.20	\$665.83	\$133.17	DATE PAID					
DARRYL YOUNG		UNIT	φοσο.σσ	Ψ100.11	D/((L1/(ID					
27.11.11.72 7.00.11.0		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
153 HALIFAX ST	PHILIPSKI'S WALLED LAKE SUB LOTS 54 & 55				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3419					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
8756 COLUMBIA CIR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
CANTON MI 48187					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	ΨΖΟ
92-17-34-328-071		0.10	\$665.83	\$66.58	DATE PAID					
DAVID TUTTLE		UNIT	φοσο.σσ	φου.σο	D/((L1/(ID					
ELIZABETH REYNOLDS	OAKLAND COUNTY CONDOMINIUM PLAN NO	01111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
152 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3333	UNIT 1, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WALLED LAKE WII 40390-3333	ONIT 1, BLDG A L 9072 F 300 12-10-00 FR 009				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	Φ13.32	\$13.32	\$13.32	\$13.32	φιο
92-17-34-328-072		0.10	\$665.83	\$66.58	DATE PAID					
MALLORY KLAVITTER		UNIT	ψ003.03	Ψ00.50	DATETAID					
WALLORT REAVITIER	OAKLAND COUNTY CONDOMINIUM PLAN NO	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
150 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	UNIT 2. BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$13
WALLED LAKE IVII 40390	UNIT 2, BLDG A L 9072 F 300 12-10-00 FK 009					\$13.32				
					TOTAL	ֆ13.3∠	\$13.32	\$13.32	\$13.32	\$13
92-17-34-328-073		0.10	\$665.83	\$66.58	DATE PAID					
SEAN DICK		UNIT	φοσο.σσ	φοσ.σσ	D/((L)/((D					
SEAN DION	OAKLAND COUNTY CONDOMINIUM PLAN NO	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
154 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	UNIT 3, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST		\$0.00	\$0.00		\$0
	UNIT 3, BLDG A L 9072 F 300 12-10-00 FK 009					\$0.00	*		\$0.00	
24474 FAIRWAY HILLS DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48374		2.12	<b>^</b>	<b>^</b>	D. T. D. I.D.					
92-17-34-328-074		0.10	\$665.83	\$66.58	DATE PAID					
PHYLLIS DUMOND	CALC AND COUNTY CONDOMINIUM DI ANI NO	UNIT			DALANOE	<b>#00.50</b>	<b>#50.07</b>	<b>\$00.05</b>	<b>COO.CO</b>	<b>C40</b>
440   488	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
148 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	UNIT 4, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
33201 NORFOLK ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
LIVONIA MI 48152		0.40	<b>#</b> 005.00	<b>#</b> 00 <b>5</b> 0	DATE DATE			-		-
92-17-34-328-075		0.10	\$665.83	\$66.58	DATE PAID					
KAREN R LANGDON	OALC AND COUNTY CONDOMINIUM TO STANK	UNIT				400 =0	<b>^</b>	***	400.00	
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
156 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3333	UNIT 5, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					<u> </u>					1
92-17-34-328-076		0.10	\$665.83	\$66.58	DATE PAID					1
KELLY NAMEL	0.144.4.15.001.15	UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
						M40 00	P42 22	P42 22	040.00	ተ ተፈገ
146 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	
146 LADD WALLED LAKE MI 48390	477 LAKESIDE TOWNHOUSE CONDOMINIUM UNIT 6, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$13.32 \$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$13 \$0. \$13

Page 79 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-328-077		0.10	\$665.83	\$66.58	DATE PAID					
MRTG ELECT REGISTRATION SYSTEMS INC		UNIT								
4501400	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
158 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390	UNIT 7, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1001 SEMMES AVE RICHMOND VA 23224-2245					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-328-078		0.10	\$665.83	\$66.58	DATE PAID					
DANIELA BOAR		UNIT	ψ000.00	Ψ00.30	DATETAID					
DANIELA BOAK	OAKLAND COUNTY CONDOMINIUM PLAN NO	Olvill			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
144 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	UNIT 8, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						·			·	
92-17-34-328-079		0.10	\$665.83	\$66.58	DATE PAID					
RYAN CRONIN		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
160 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3333	UNIT 9, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-328-080		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-320-000 ABBIE LETVIN		UNIT	\$000.00	Ф0.00	DATE PAID					
ADDIE LE I VIIV	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
142 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3333	UNIT 10. BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-328-081		0.10	\$665.83	\$66.58	DATE PAID					
ALEX SIGAL		UNIT								
MAYA SIGAL	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
162 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3333	UNIT 11, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
40660 PAISLEY CIR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48377 92-17-34-328-082		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-326-062 HAROLD JONES		UNIT	\$665.63	φο.56	DATE PAID					
HAROLD SONES	OAKLAND COUNTY CONDOMINIUM PLAN NO	ONIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
140 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3333	UNIT 12, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	, i				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-328-083		0.10	\$665.83	\$66.58	DATE PAID					
ERIC A WRIGHT		UNIT								
KELLY A WRIGHT	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
164 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	UNIT 13, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
23679 LYON RIDGE DR SOUTH LYON MI 48178					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-328-084		0.10	\$665.83	\$66.58	DATE PAID					
NANCY L. BROWN		UNIT	ψ000.00	φυυ.υυ	DATEFAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
138 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3333	UNIT 14, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
		1		II	1			·	1	

Page 80 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-328-085		0.10	\$665.83	\$66.58	DATE PAID					
LAURA CERVI	CALC AND COUNTY CONDOMINIUM DI ANI NO	UNIT			5444405	400 =0	<b>^</b>	A	***	<b>1</b> 10.0
100   ADD	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
166 LADD WALLED LAKE MI 48390	477 LAKESIDE TOWNHOUSE CONDOMINIUM UNIT 15, BLDG A L 9672 P 560 12-10-86 FR 069				PRINCIPAL INTEREST	\$13.32 \$0.00	\$13.32	\$13.32 \$0.00	\$13.32 \$0.00	\$13.3 \$0.0
WALLED LAKE WII 40390	UNIT 15, BLDG AL 9072 F 500 12-10-60 FK 009				TOTAL	\$13.32	\$0.00 \$13.32	\$13.32	\$13.32	\$13.3
					TOTAL	φ13.32	Φ13.32	\$13.32	Φ13.32	φ13.0
92-17-34-328-086		0.10	\$665.83	\$66.58	DATE PAID					
CALVIN DABISH		UNIT	φοσο.σσ	φοσίου	5,112.7115					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
136 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	UNIT 16, BLDG A L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7495 FINNEGAN DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WEST BLOOMFIELD MI 48322										
92-17-34-328-087		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT A FUCINARI	CALC AND COUNTY CONDOMINIUM DIANANO	UNIT								
400 1141 1547	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
123 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3419	UNIT 17, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0 \$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-328-088		0.10	\$665.83	\$66.58	DATE PAID					+
KAREN KOBINSKI		UNIT	ψ003.03	Ψ00.50	DATETAID					
TOAKEN KOBINGIA	OAKLAND COUNTY CONDOMINIUM PLAN NO	Ortin			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
124 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3333	UNIT 18, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-328-089		0.10	\$665.83	\$66.58	DATE PAID					
CANDACE M PERRY		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
121 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3419	UNIT 19, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0. \$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-328-090		0.10	\$665.83	\$66.58	DATE PAID					
DAVID TEUMER		UNIT	φοσο.σσ	φου.σο	DATETAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
122 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	UNIT 20, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2575 S SYRACUSE WAY # G101					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
DENVER CO 80231										
92-17-34-328-091		0.10	\$665.83	\$66.58	DATE PAID					
PHILIP F HENDRICKSON	CALCLAND COUNTY CONDOMINATION	UNIT								
440 1141 1547	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
119 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	UNIT 21, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
12181 JEFFERS LN FENTON MI 48430					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-328-092		0.10	\$665.83	\$66.58	DATE PAID		+	+	+	+
92-17-34-328-092 CATHERINE M FERNANDEZ		UNIT	φυυσ.οσ	φυυ.36	DATE PAID		+	<del> </del>	+	+
O,EIMIL III I LIMANULL	OAKLAND COUNTY CONDOMINIUM PLAN NO	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
					PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
120 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM									
120 LADD WALLED LAKE MI 48390										
120 LADD WALLED LAKE MI 48390	UNIT 22, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0. \$13.

Page 81 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	20
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5
92-17-34-328-093		0.10	\$665.83	\$66.58	DATE PAID					
NADINE NICHOLS		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
117 HALIFAX	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3419	UNIT 23, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
			A	A	5.475 5.45					
92-17-34-328-094		0.10	\$665.83	\$66.58	DATE PAID					
TRUSTEE SUZANNE NICHOLS	CALC AND COLINEY CONDOMINIUM DI ANIMO	UNIT			5	***	<b>^</b>	***	***	
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
118 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3333	UNIT 24, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
02 47 24 220 005		0.40	<u></u>	ФСС F0	DATE DAID					
92-17-34-328-095 PATRIFARM LLC		0.10 UNIT	\$665.83	\$66.58	DATE PAID		-	-	<u> </u>	
FAIRIFARINI LLU	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
115 HALIEAY	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$66.58 \$13.32	\$53.27 \$13.32	\$39.95 \$13.32	\$26.63 \$13.32	\$13
115 HALIFAX WALLED LAKE MI 48390	UNIT 25, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$13.32 \$0.00	\$13.32	\$13.32	\$13.32	\$1.
20979 PARKWOODS DR	ONT 20, DEDO DE 3072 F 300 12-10-00 FR 009				TOTAL	\$0.00 \$13.32	\$13.32	\$13.32	\$13.32	\$13
SOUTH LYON MI 48178					TOTAL	Φ13.32	Φ13.32	\$13.32	\$13.32	ال
92-17-34-328-096		0.10	\$665.83	\$66.58	DATE PAID					
ROBIN WALKER		UNIT	φ005.05	ψ00.30	DATEFAID					
ROBIN WALKER	OAKLAND COUNTY CONDOMINIUM PLAN NO	OINIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
116 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3333	UNIT 26, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
WALLED LAKE WII 40000-0000	01411 20, BEBO B E 30121 000 12 10 00111 003				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
					TOTAL	ψ10.02	ψ10.02	ψ10.02	ψ10.02	Ψι
92-17-34-328-097		0.10	\$665.83	\$66.58	DATE PAID					
DEWEY PLUMLEY		UNIT	ψ000.00	Ψ00.50	DATETAID					
DETTE TO THE TENTE OF THE TENTE	OAKLAND COUNTY CONDOMINIUM PLAN NO	01111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
114 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3333	UNIT 27, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
WALLED LANCE WILL TOOCO GOOD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1:
					101712	Ψ10.02	Ψ10.0 <u>2</u>	Ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	Ψι
92-17-34-328-098	i	0.10	\$665.83	\$66.58	DATE PAID					
LORI A LONGMATE		UNIT	*	<b>******</b>						
	OAKLAND COUNTY CONDOMINIUM PLAN NO	=::::			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$1:
412 PONTIAC TRAIL	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1:
WALLED LAKE MI 48390-3355	UNIT 28, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$(
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
						•	·		· ·	
		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-328-099			•							
92-17-34-328-099 APRIL MUNAFO		UNIT				<b>\$00.50</b>	\$53.27	\$39.95	\$26.63	\$13
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	φοσ.21	ψυσ.συ		
	OAKLAND COUNTY CONDOMINIUM PLAN NO 477 LAKESIDE TOWNHOUSE CONDOMINIUM				BALANCE PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$1
APRIL MUNAFO					PRINCIPAL	\$13.32	\$13.32	\$13.32		
APRIL MUNAFO 112 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM							· · · · · · · · · · · · · · · · · · ·	\$13.32 \$0.00 \$13.32	\$(
APRIL MUNAFO 112 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL INTEREST	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$0.00	\$(
APRIL MUNAFO 112 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM		\$665.83	\$66.58	PRINCIPAL INTEREST	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$0.00	\$(
APRIL MUNAFO 112 LADD WALLED LAKE MI 48390-3333	477 LAKESIDE TOWNHOUSE CONDOMINIUM	UNIT	\$665.83	\$66.58	PRINCIPAL INTEREST TOTAL	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$0.00	\$(
APRIL MUNAFO  112 LADD WALLED LAKE MI 48390-3333  92-17-34-328-100	477 LAKESIDE TOWNHOUSE CONDOMINIUM	UNIT 0.10	\$665.83	\$66.58	PRINCIPAL INTEREST TOTAL	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$0.00	\$0 \$13
APRIL MUNAFO  112 LADD WALLED LAKE MI 48390-3333  92-17-34-328-100	477 LAKESIDE TOWNHOUSE CONDOMINIUM UNIT 29, BLDG B L 9672 P 560 12-10-86 FR 069	UNIT 0.10	\$665.83	\$66.58	PRINCIPAL INTEREST TOTAL DATE PAID	\$13.32 \$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$0.00 \$13.32	\$0 \$10 \$10 \$10
APRIL MUNAFO  112 LADD  WALLED LAKE MI 48390-3333  92-17-34-328-100  KYLE F HOFFMEYER	477 LAKESIDE TOWNHOUSE CONDOMINIUM UNIT 29, BLDG B L 9672 P 560 12-10-86 FR 069  OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT 0.10	\$665.83	\$66.58	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$13.32 \$0.00 \$13.32 \$66.58	\$13.32 \$0.00 \$13.32 \$53.27	\$13.32 \$0.00 \$13.32 \$39.95	\$0.00 \$13.32 \$26.63	\$13 \$0 \$13 \$13 \$13 \$13 \$13

Page 82 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-328-101		0.10	\$665.83	\$66.58	DATE PAID					
STEVEN G BEAVIS		UNIT								
CYNTHIA LOPEZ BEAVIS	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
110 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3333	UNIT 31, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	·				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-328-102		0.10	\$665.83	\$66.58	DATE PAID					
ANNA KOLODZIEJZAK		UNIT	φοσοίσο	Ψοσίου	5,1121,111					
,	OAKLAND COUNTY CONDOMINIUM PLAN NO	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
416 PONTIAC TRAIL	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390	UNIT 32, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40000	01411 02, BEBO B E 3012 1 000 12 10 00 11 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	Ψ13.32	Ψ13.32	ψ13.32	ψ10.0Z	ψ10.
92-17-34-328-103		0.10	\$665.83	\$66.58	DATE PAID					
CHRIS OLSON		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
108 LADD	477 LAKESIDE TOWNHOUSE CONDOMINIUM				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	UNIT 33, BLDG B L 9672 P 560 12-10-86 FR 069				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1412 STANLEY					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
BIRMINGHAM MI 48009										
92-17-34-328-104		0.20	\$665.83	\$133.17	DATE PAID					
CHRISTOPHER SCHERBA	CLIDED VICODIC DI AT NO 3 LOT CO AL CO OF	UNIT			DALANOE	<b>#</b> 400.47	£400 F0	Ф <b>7</b> 0 00	<b>#</b> 50.07	<b>#00</b>
0.40 DOOEDUD OT	SUPERVISOR'S PLAT NO 2 LOT 60, ALSO OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
240 ROSEBUD CT	'PHILIPSKI'S WALLED LAKE SUB' PART OF LOTS				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3447	1 & 3 ALL DESC				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-328-105		0.20	\$665.83	\$133.17	DATE PAID					
HENRY MADSEN		UNIT	, ,	·						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
206 ROSEBUD CT	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390	· ·				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-328-106		0.20	\$665.83	\$133.17	DATE PAID					
KIRK E WAGONLANDER		UNIT	φ003.03	φ133.17	DATE PAID					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
220 ROSEBUD ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
736 E STATE ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
TRAVERSE CITY MI 49686-2625										
92-17-34-328-107		0.20	\$665.83	\$133.17	DATE PAID					
JON F GROH		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
210 ROSEBUD ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-328-108		0.20	\$665.83	\$133.17	DATE PAID					
BILL NOBLE		UNIT		,						
WILLIAM BRADSHAW	DUILIDEKI'S WALLED LAKE SUBLOTS 30, 40.9				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
314 ROSEBUD ST	PHILIPSKI'S WALLED LAKE SUB LOTS 39, 40 &				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
14/411 EB 1 41/E 141 40000	41 8-30-00 FR 040, 041 & 042				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390										
WALLED LAKE MI 48390					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 83 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-329-036		0.10	\$665.83	\$66.58	DATE PAID					
DAVID Y SHIN		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
211 WINDWAY DR	489 LAKE WINDS NORTH UNIT 1, BLDG A L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-329-037		0.10	\$665.83	\$66.58	DATE PAID					
MARILYN WEIDEL	CARLAND COUNTY CONDOMINIUM DI ANI NO	UNIT			DALANOE	<b>\$00.50</b>	<b>#</b> 50.07	<b>#00.05</b>	<b>#00.00</b>	<b>#</b> 40
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
221 WINDWAY DR	489 LAKE WINDS NORTH UNIT 2, BLDG A L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-329-038		0.10	\$665.83	\$66.58	DATE PAID					
LINDA HERSKOVITZ TRUST		UNIT	ψ000.00	ψ00.50	DATETAID					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
231 WINDWAY DR	489 LAKE WINDS NORTH UNIT 3, BLDG A L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						•		,		
92-17-34-329-039		0.10	\$665.83	\$66.58	DATE PAID					
NIRA DOLAN		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
239 WINDWAY DR	489 LAKE WINDS NORTH UNIT 4, BLDG A L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-329-040		0.10	\$665.83	\$66.58	DATE PAID					
ALLISON HUSTED		UNIT	φοσο.σσ	φοσισσ	571.2171.5					
7.22.00.1.100.22	OAKLAND COUNTY CONDOMINIUM PLAN NO	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
230 WINDWAY DR	489 LAKE WINDS NORTH UNIT 5, BLDG B L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LANCE IN 40000	1 0007 11 001 10 001 1102				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					101712	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ.ο
92-17-34-329-041		0.10	\$665.83	\$66.58	DATE PAID					
CHARLES P LAPHAM		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
240 WINDWAY DR	489 LAKE WINDS NORTH UNIT 6, BLDG B L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
P.O.BOX 939					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48167 92-17-34-329-042		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL DWYER		UNIT	ψ000.00	ψ00.00	BATETAID					
JUNE DWYER	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
250 WINDWAY DR	489 LAKE WINDS NORTH UNIT 7, BLDG B L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-329-043		0.10	\$665.83	\$66.58	DATE PAID					
GAIL MCKINNON	OAKLAND COUNTY CONDOMINIUMA DI ANIMO	UNIT			DALANCE	<b>#00.50</b>	<b>#FC 07</b>	<b>#00.05</b>	#00 00	A10
	OAKLAND COUNTY CONDOMINIUM PLAN NO 489 LAKE WINDS NORTH UNIT 8, BLDG B L 9828				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
000 14/14/D14/41/ DD	TANGLAKE WINDS MORTH UNITS RUGERT 0828	n I		1	PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
260 WINDWAY DR							Ac	Ac	Ac	_
260 WINDWAY DR WALLED LAKE MI 48390	P 568 7-11-88 FR 031 TO 034 INCL				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0. \$13.

Page 84 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-329-044		0.10	\$665.83	\$66.58	DATE PAID					
BRIAN BAZNER		UNIT	ψοσο.σσ	400.00	571.2171.5					
	OAKLAND COUNTY CONDOMINIUM PLAN NO	0.4.1			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
249 WINDWAY DR	489 LAKE WINDS NORTH UNIT 9. BLDG C L 9828				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LANE IVII 40590	1 300 7-11-00 11( 030				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	ψ13.3Z	\$13.32	\$13.32	\$13.32	ψ13.
92-17-34-329-045		0.10	\$665.83	\$66.58	DATE PAID					
YVONNE M PROVCI			\$000.00	φου.3ο	DATE PAID					
YVONNE IN PROVCI	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			DALANCE	<b></b>	ФE0.07	Ф20.0F	<b>#00.00</b>	£40
050 14/11/10/14/14/17/10/10					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
259 WINDWAY DR	489 LAKE WINDS NORTH UNIT 10, BLDG C L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-329-046		0.10	\$665.83	\$66.58	DATE PAID					
SHARON FRASER TRUST		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
269 WINDWAY DR	489 LAKE WINDS NORTH UNIT 11, BLDG C L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-329-047		0.10	\$665.83	\$66.58	DATE PAID					
STEPHEN M LUDA		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
279 WINDWAY DR	489 LAKE WINDS NORTH UNIT 12. BLDG C L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						ψ.σ.σ <u>-</u>	Ų.0.02	<b>V.0.02</b>	ψ.σ.σ <u>=</u>	ψ.σ.
92-17-34-329-048		0.10	\$665.83	\$66.58	DATE PAID					
STACY CZAJKA		UNIT	φοσο.σσ	Ψοσ.σσ	D/((L1/()D					
OTAGT GEAGINA	OAKLAND COUNTY CONDOMINIUM PLAN NO	Olvil			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
308 WINDWAY DR	489 LAKE WINDS NORTH UNIT 13, BLDG D L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 46590	9020 F 300 7-11-00 FR 030				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	φ13.32	\$13.32	\$13.32	\$13.32	\$13.
02 47 24 220 040		0.40	<b></b>	ФСС F0	DATE DAID					
92-17-34-329-049		0.10	\$665.83	\$66.58	DATE PAID					
ANTHONY JOHNS	CARLAND COUNTY CONDOMINIUM DI ANI NO	UNIT			DALANOE	<b>#00.50</b>	<b>#</b> 50.07	<b>#00.05</b>	<b>#00.00</b>	<b>C40</b>
000 14/11/2017 200	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
322 WINDWAY DR	489 LAKE WINDS NORTH UNIT 14, BLDG D L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
			<b>A</b>	007.77	B. T. T. T. T. T. T. T. T. T. T. T. T. T.			1	1	1
92-17-34-329-050		0.10	\$665.83	\$66.58	DATE PAID					
IRWIN CHAPMAN		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
330 WINDWAY DR	489 LAKE WINDS NORTH UNIT 15, BLDG D L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-329-051		0.10	\$665.83	\$66.58	DATE PAID					
SHERYL L PARDUE		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
342 WINDWAY DR	489 LAKE WINDS NORTH UNIT 16, BLDG D L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 7-11-88 FR 030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	3323 . 333 33 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 85 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		· · · · · · · · · · · · · · · · · · ·
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-329-052		0.10	\$665.83	\$66.58	DATE PAID					
JAMES A YEIP		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
289 WINDWAY DR	489 LAKE WINDS NORTH UNIT 17, BLDG E L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-329-053		0.10	\$665.83	\$66.58	DATE PAID					
PATRICIA A PEREZ		UNIT	***************************************	700.00						
	OAKLAND COUNTY CONDOMINIUM PLAN NO	• • • • • • • • • • • • • • • • • • • •			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
299 WINDWAY DR	489 LAKE WINDS NORTH UNIT 18, BLDG E L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						,				
92-17-34-329-054 ANDREW WILSON		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
LYNNE WILSON	OAKLAND COUNTY CONDOMINIUM PLAN NO	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
309 WINDWAY DR	489 LAKE WINDS NORTH UNIT 19, BLDG E L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LARKE IVII 40000	00201 000 10 20 00 11 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						*****	******	¥	7	7.0
92-17-34-329-055		0.10	\$665.83	\$66.58	DATE PAID					
NANCY S STALNECKER	OAKLAND COUNTY CONDOMINIUM PLAN NO	UNIT			DALANCE	<b></b>	<b>Ф</b> ГО 07	Ф20.0 <u>Г</u>	<b>#</b> 00.00	\$13.
004 MINIDMAN DD	489 LAKE WINDS NORTH UNIT 20, BLDG E L				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	
321 WINDWAY DR WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE WII 48390	9020 P 300 TU-20-00 FK 033				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0. \$13
					TOTAL	Ψ10.02	Ψ10.02	ψ10.02	ψ10.02	ΨΙΟ
92-17-34-329-056		0.10	\$665.83	\$66.58	DATE PAID					
CHRISTINE J KRUPA		UNIT								
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
409 WINDWAY DR	489 LAKE WINDS NORTH UNIT 21, BLDG F L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-329-057		0.10	\$665.83	\$66.58	DATE PAID					
RUSSELL E DANIELSON		UNIT	<b>+0.00</b>	7.0.00						1
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
419 WINDWAY DR	489 LAKE WINDS NORTH UNIT 22, BLDG F L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-329-058		0.10	\$665.83	\$66.58	DATE PAID					
DAVID DYE		UNIT	ψοσο.σο	\$55.55	5,((21,/(15					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
429 WINDWAY DR	489 LAKE WINDS NORTH UNIT 23, BLDG F L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-329-059		0.10	\$665.83	\$66.58	DATE PAID					
ERIC EBERWEIN		UNIT	Ψ000.00	<b>\$33.33</b>	3,2.,,,,,,					
	OAKLAND COUNTY CONDOMINIUM PLAN NO				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
439 WINDWAY DR	489 LAKE WINDS NORTH UNIT 24, BLDG F L				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	9828 P 568 10-20-88 FR 035				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
				ii .	1					

Page 86 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-376-002		0.20	\$665.83	\$133.17	DATE PAID					
KOKKO REVOCABLE TRUST		UNIT								
	JENNY PARK SUB LOT 33, EXC PART TAKEN				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
577 S PONTIAC TRL	FOR HWY & LYING WLY OF LINE DRAWN FROM				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3358	SW COR LOT 32 TO POI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-376-003		0.20	\$665.83	\$133.17	DATE PAID					
KOKKO REVOCABLE TRUST		UNIT	ψ000.00	ψ100.17	DATETAID					
	JENNY PARK SUB LOT 32, EXC PART TAKEN	0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
577 S PONTIAC TRL	FOR HWY & LYING WLY OF LINE DRAWN FROM				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3358	SW COR LOT 32 TO POI				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
			A	<b>*</b> • • • • • • • • • • • • • • • • • • •	5.75 5.45					
92-17-34-376-004		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
SCOTT CRANKSHAW		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
603 S PONTIAC TRL	JENNY PARK SUB LOTS 28 TO 31 INCL				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3360	SENIOT FAIN SOB ESTO 20 TO ST INCE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3300					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-34-376-005		0.20	\$665.83	\$133.17	DATE PAID					
GABRIEL SERRATO-LOPEZ		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
627 S PONTIAC TRL	JENNY PARK SUB LOTS 26 & 27				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-376-006		0.20	\$665.83	\$133.17	DATE PAID					
BAILEY A OLAND		UNIT	ψοσο.σσ	Ψ100.11	DATE TABLE					
2,2.,,, 02,2		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
631 S PONTIAC TRL	JENNY PARK SUB LOT 25				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
				<b>*</b> • • • • • • • • • • • • • • • • • • •						
92-17-34-376-008 MACY LEASING & REAL ESTATE LLC		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MACT LEASING & REAL ESTATE LEC		ONIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
481 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOT 57, EXC NLY PART				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3356	TAKEN FOR HWY M-218				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
955 HIGH HOUSE RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
CARY NC 27513										
92-17-34-376-009		0.20	\$665.83	\$133.17	DATE PAID					
OCCUPANT		UNIT				4				_
0 DOLITI 0 TD.	VIRGINIA PARK NO. 1 LOT 56, EXC N PART				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
477 S PONTIAC TRL	TAKEN FOR HWY				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3356	-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-376-010		0.20	\$665.83	\$133.17	DATE PAID					
MATTHEW G TRUSSLER		UNIT	ψυυυ.ου	ψ.55.11	2217.10					
<del></del> -	VIDOINIA DADIKNO 41 OTO 54 0 55 5YO YUY				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
453 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOTS 54 & 55, EXC NLY				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3356	PART TAKEN FOR HWY M-218				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	1	11		ii .	1		1	1	1 -	1

Page 87 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-376-011		0.20	\$665.83	\$133.17	DATE PAID					
MIKE LANGAN		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
435 S PONTIAC TRL	VIRGINIA PARK NO. 1 LOTS 52 & 53				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3356					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1225 E LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48377-1440										
92-17-34-376-012		0.20	\$665.83	\$133.17	DATE PAID					
BASHKIM S ZHULI		UNIT								
REKO ZHULI	\/\ DQ\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
480 CONWAY ST	VIRGINIA PARK NO. 1 LOT 83				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
			A	<b>^</b>	D. 1 == D. 1   D. 1					
92-17-34-376-013		0.20	\$665.83	\$133.17	DATE PAID					
ANN BEYER		UNIT			DALANIOE	0400.47	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	<b>A</b> 50.07	000
STEVEN RIGOULOT	VIDOINIA DADIANO A LOT 04				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
470 CONWAY ST	VIRGINIA PARK NO. 1 LOT 84				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00 47 24 270 044		0.00	<u></u>	¢400.47	DATE DAID					
92-17-34-376-014		0.20	\$665.83	\$133.17	DATE PAID					
DOLORES NEWMAN		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
462 CONWAY ST	VIRGINIA PARK NO. 1 LOT 85				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3329	VIRGINIA FARRINO. 1 LOT 05				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20.
WALLED LAKE IVII 40390-3329					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					TOTAL	φ20.03	\$20.03	\$20.03	\$20.03	Ψ20.
92-17-34-376-015		0.20	\$665.83	\$133.17	DATE PAID					
DENNIS M HAAS		UNIT	φοσο.σσ	Ψ100.17	DATETAID					
EVELYN T HAAS		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
454 CONWAY ST	VIRGINIA PARK NO. 1 LOT 86				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3329					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
**************************************					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						Ψ20.00	Ψ20.00	Ψ20.00	<b>\$20.00</b>	Ψ20.
92-17-34-376-022		0.20	\$665.83	\$133.17	DATE PAID					
DARRIN HOLMES		UNIT								1
JENNIFER HOLMES					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
228 OSPREY ST	JENNY PARK SUB LOT 15				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3343					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-376-023		0.20	\$665.83	\$133.17	DATE PAID					
JANET CROLL		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
633 S PONTIAC TRL	JENNY PARK SUB LOTS 22, 23 & 24				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3360					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
			<b>A</b>	<b>A</b> 40- :-	B. 4 = 5 - 1 - 1					1
92-17-34-376-024		0.20	\$665.83	\$133.17	DATE PAID					1
KENNY CARLISLE		UNIT			DAI ****	A400 :=	<b>#</b> 400 = 0	<b>#70.00</b>	050.05	*
AAS DEKALD OT	IENNIV DADIC CUD LOT CA				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
115 DEKALB ST	JENNY PARK SUB LOT 21				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3332					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.

Page 88 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-376-025		0.20	\$665.83	\$133.17	DATE PAID					
STEPHEN COLEMAN		UNIT								
CYNTHIA COLEMAN					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
123 DEKALB ST	JENNY PARK SUB LOT 20				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
00 47 24 270 020		0.00	ФССЕ 02	£400.47	DATE DAID					
92-17-34-376-026 AMANDA TUREL		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
7		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
125 DEKALB ST	JENNY PARK SUB LOT 19				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						<b>V</b> =0.00	Ţ=0.00	7=0.00	7=0.00	<b>,</b>
92-17-34-376-027		0.20	\$665.83	\$133.17	DATE PAID					
ANDREW MALTESE		UNIT			54144105	<b>0</b> 400.4 <b>7</b>	<b>#</b> 400 <b>F</b> 0	<b>470.00</b>	050.07	000
100 DE1411 D.OT	IENNY DARK OUR LOT 10				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
127 DEKALB ST	JENNY PARK SUB LOT 18				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-376-029		0.20	\$665.83	\$133.17	DATE PAID					
BARBERA PATERAKIS		UNIT	*	,						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
129 DEKALB ST	JENNY PARK SUB LOT 16				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3332					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-376-030		0.20	\$665.83	\$133.17	DATE PAID					
GAYLE BENNETT		UNIT	φοσσ.σσ	Ψ100.11	DATE TABLE					
5 <u>-</u> 2 -22	\(\(\text{ID O } \) \(\text{ID O } \) \(\text{ID O } \)				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
475 CONWAY ST	VIRGINIA PARK NO 1 W 1/2 OF BOTH LOTS 81 &				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3330	82 11/21/85 FR 016 & 017				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 351					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390						Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	<b>V</b> 20
92-17-34-376-033		0.20	\$665.83	\$133.17	DATE PAID					
WILLIAM WILLIAMS		UNIT	<b>4000.00</b>	<b></b>	2217.10					
	VIRGINIA PARK NO 1 LOT 80, ALSO E 1/2 OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
204 OSPREY ST	LOTS 81 & 82 3-3-94 FR 031 & 032				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3341	LO 10 01 & 02 3-3-34 FN 031 & 032				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-377-001		0.20	\$665.83	\$133.17	DATE PAID					
KELLY C THOMPSON		UNIT	φυυσ.οσ	φ133.17	DATE FAID					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
711 S PONTIAC TRL	JENNY PARK SUB LOT 1				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3362					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
02 47 24 277 002		0.00	<b>#</b> 005.00	¢400.47	DATE DAID					
92-17-34-377-002 GEORGI GEORGIEV ANGELOV		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
SESTO SESTORE ANGLES		CIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
106 DEKALB ST	JENNY PARK SUB LOT 2				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
				ii .		Ψ <u>-</u> 0.00	Ψ=0.00	Ψ=0.00	Ψ <u>-</u> 0.00	

Page 89 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<u> </u>	•
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-377-003		0.20	\$665.83	\$133.17	DATE PAID					
JEFF PALMER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
110 DEKALB ST	JENNY PARK SUB LOT 3				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-377-004		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL DEGRAZIA		UNIT	φοσο.σσ	Ψ100.11	B/(1217\lib					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
114 DEKALB ST	JENNY PARK SUB LOT 4				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-377-005		0.20	\$665.83	\$133.17	DATE PAID					
GERALD PLAS		UNIT	Ψ000.00	Ψ	3,1121,110					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
118 DEKALB ST	JENNY PARK SUB LOT 5				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
901 BENSTEIN RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-5930										
92-17-34-377-006		0.20	\$665.83	\$133.17	DATE PAID					
YVONNE JONES		UNIT			5	<b>*</b> * * * * * * * * * * * * * * * * * *	A	4=0.00	<b>A</b>	***
	IENNIV DADIV OUD LOT O				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
122 DEKALB ST	JENNY PARK SUB LOT 6				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-377-007		0.20	\$665.83	\$133.17	DATE PAID					
SHARON COOK		UNIT	********	***************************************						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
126 DEKALB ST	JENNY PARK SUB LOT 7				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-377-008		0.20	\$665.83	\$133.17	DATE PAID					
EQUITY TRUST COMPANY CUSTODIAN		UNIT	\$000.03	φ133.1 <i>1</i>	DATE PAID					
FBO RICHARD GUNTHER IRA					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
130 DEKALB ST	JENNY PARK SUB LOT 8				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3331					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
486 E WALLED LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390										
92-17-34-377-009		0.20	\$665.83	\$133.17	DATE PAID					
MR BRUCE E BEVIER JR		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
370 OSPREY ST	JENNY PARK SUB LOT 9				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3347					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
10716 AQUA LN					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
SOUTH LYON MI 48178-9591		2.22	0007.00	0400 17	DATE SAIS					
92-17-34-377-013		0.20	\$665.83	\$133.17	DATE PAID					
TALIA SAFARO		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
113 COALMONT ST	VIRGINIA PARK SUB LOT 4				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3328	VIICOINIA I AITTOOD EO I 4				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAIL WII 40030-3320					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$0. \$26.

Page 90 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-377-014		0.20	\$665.83	\$133.17	DATE PAID					
ROK IVEZAJ		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
117 COALMONT ST	VIRGINIA PARK SUB LOT 5				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-377-018		0.20	\$665.83	\$133.17	DATE PAID					
GEORGE GJERGI IVEZAJ		UNIT	φ003.03	φ133.17	DATEFAID					
0_010_00_10111_010		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
135 COALMONT ST	VIRGINIA PARK SUB LOT 9				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
			4007.00	<b>*</b> * * * * * * * * * * * * * * * * * *	5475 5445					
92-17-34-377-019 DAREN L REED		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
DAKEN L KEED		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
139 COALMONT ST	VIRGINIA PARK SUB LOT 10				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3328	VIICOINIATARROODEOTTO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3320					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-34-377-020		0.20	\$665.83	\$133.17	DATE PAID					
JOYCE PILLSBURY		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
145 COALMONT ST	VIRGINIA PARK SUB LOT 11				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-377-021		0.20	\$665.83	\$133.17	DATE PAID					
JOANNE GAINES		UNIT	4000.00							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
147 COALMONT ST	VIRGINIA PARK SUB LOT 12 & 13				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3328					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
00.47.04.077.000		0.00	<b>#</b> 205.00	<b>#</b> 400.47	DATE DAID					
92-17-34-377-023 SEAN JACQUES		0.20 UNIT	\$665.83	\$133.17	DATE PAID					+
OLAN UNOQUEO		01411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
725 S PONTIAC TRL	VIRGINIA PARK SUB N 1/2 OF LOTS 1 & 2				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3362					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
00.47.04.077.007		0.55	<b>#</b> 007.55	<b>0.1</b> 00.17	DATE SAIS					
92-17-34-377-027		0.20	\$665.83	\$133.17	DATE PAID					1
LUIGJ DEDA		UNIT			BALANCE	\$133.17	\$106.53	¢70.00	¢52.27	\$26
129 COALMONT ST	VIRGINIA PARK SUB LOT 6, ALSO LOT 7 EXC E				PRINCIPAL	\$133.17	\$106.53	\$79.90 \$26.63	\$53.27 \$26.63	\$26
WALLED LAKE MI 48390-3328	1/2 4-16-99 FR 015 & 016				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED EVILE INII 40090-0020					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
								,		, ,
92-17-34-377-028		0.20	\$665.83	\$133.17	DATE PAID					
CHRISTOPHER YEZBICK		UNIT								
KIMBERLY L YEZBICK	VIRGINIA PARK SUB E 1/2 OF LOT 7, ALSO ALL				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
131 COALMONT ST	OF LOT 8 4-16-99 FR 016 & 017				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3328	5. 25. 5 5 55 5 . 5 d 617				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.

Page 91 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-377-029		0.20	\$665.83	\$133.17	DATE PAID					
CAROL HAIR		UNIT								
	VIRGINIA PARK SUB S 1/2 OF LOTS 1, 2 & 3 3-17-				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
739 S PONTIAC TRL					PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3362	09 FR 024 & 026				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
						,			·	
92-17-34-378-001		1.00	\$665.83	\$665.83	DATE PAID					
JONATHAN D BOBOIGE		UNIT		,						
	011DED\(100D\000D\000D\000D\000D\000D\000D\00				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
222 S PONTIAC TRL	SUPERVISOR'S PLAT NO. 2 W 70.72 FT OF LOT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3351	56				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
						ψ.σσ	<b>4.00</b>	<b>\$100111</b>	ψσσ	ψ.σσ
92-17-34-378-002		1.00	\$665.83	\$665.83	DATE PAID					
AMAR ABRO		UNIT	φοσο.σσ	φοσο.σσ	D/((L1/(ib					
AMAN ADNO		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S PLAT NO. 2 ELY 6 FT OF LOT 57				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	OUI ENVIOUNTENT NO. 2 EET 01 1 OF EOT 37				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
47133 W 9 MILE RD					TOTAL		\$133.17		\$133.17	\$133
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48374		4.00	Фоот оо	\$005.00	DATE PAID					
92-17-34-378-003		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL TOMKOW		UNIT			5444405	****	<b>^</b>	****	****	
	SUPERVISOR'S PLAT NO. 2 LOT 57 EXC ELY 6				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
244 S PONTIAC TRL	FT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3351					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 2263					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
FARMINGTON HILLS MI 48333-2263										
92-17-34-378-004		1.00	\$665.83	\$665.83	DATE PAID					
NEVA HELIKER		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S PLAT NO. 2 LOT 58				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
252 S PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3351										
92-17-34-378-007		1.00	\$665.83	\$665.83	DATE PAID					
KIT A TOMKOW		UNIT								
	VIRGINIA PARK NO. 1 NELY PART LOT 51, SAME				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
301 S PONTIAC TRL	MEASURING 64.85 FT ON ROAD & 55 FT ON				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3354	LAKE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-378-008		1.00	\$665.83	\$665.83	DATE PAID					
02 17 04 070 000		UNIT			1					
FRED WILCOX		01111			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	VIRGINIA PARK NO. 1 E 7 FT LOT 49, ALL LOT	01111								
FRED WILCOX	VIRGINIA PARK NO. 1 E 7 FT LOT 49, ALL LOT 50 & SWLY PART LOT 51, SAME MEASURING	51411			PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
FRED WILCOX MARY WILCOX		J.W.				\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL	50 & SWLY PART LOT 51, SAME MEASURING	O.W.I			PRINCIPAL					\$0.
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL	50 & SWLY PART LOT 51, SAME MEASURING	Giui			PRINCIPAL INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL WALLED LAKE MI 48390-3354	50 & SWLY PART LOT 51, SAME MEASURING		\$665.83	\$665.83	PRINCIPAL INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL WALLED LAKE MI 48390-3354	50 & SWLY PART LOT 51, SAME MEASURING	1.00	\$665.83	\$665.83	PRINCIPAL INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL WALLED LAKE MI 48390-3354  92-17-34-378-011 MARK A KOHN	50 & SWLY PART LOT 51, SAME MEASURING		\$665.83	\$665.83	PRINCIPAL INTEREST TOTAL DATE PAID	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.4 \$133
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL WALLED LAKE MI 48390-3354	50 & SWLY PART LOT 51, SAME MEASURING 54.85 FT ON ROAD & 45 FT ON LAKE	1.00	\$665.83	\$665.83	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$0.00 \$133.17 \$665.83	\$0.00 \$133.17 \$532.66	\$0.00 \$133.17 \$399.50	\$0.00 \$133.17 \$266.33	\$0.0 \$133 \$133
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL WALLED LAKE MI 48390-3354  92-17-34-378-011 MARK A KOHN	50 & SWLY PART LOT 51, SAME MEASURING	1.00	\$665.83	\$665.83	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE PRINCIPAL	\$0.00 \$133.17 \$665.83 \$133.17	\$0.00 \$133.17 \$532.66 \$133.17	\$0.00 \$133.17 \$399.50 \$133.17	\$0.00 \$133.17 \$266.33 \$133.17	\$0.0 \$133 \$133 \$133
FRED WILCOX MARY WILCOX 313 S PONTIAC TRL WALLED LAKE MI 48390-3354  92-17-34-378-011 MARK A KOHN	50 & SWLY PART LOT 51, SAME MEASURING 54.85 FT ON ROAD & 45 FT ON LAKE	1.00	\$665.83	\$665.83	PRINCIPAL INTEREST TOTAL DATE PAID BALANCE	\$0.00 \$133.17 \$665.83	\$0.00 \$133.17 \$532.66	\$0.00 \$133.17 \$399.50	\$0.00 \$133.17 \$266.33	\$133. \$0.0 \$133. \$133. \$133. \$0.0 \$133.

Page 92 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-378-012		1.00	\$665.83	\$665.83	DATE PAID					
MARK A KOHN		UNIT								
LESLEE A KOHN					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
139 OSPREY ST	VIRGINIA PARK NO. 1 LOT 43				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
WALLED LAKE MI 48390-3340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
92-17-34-378-013		1.00	\$665.83	\$665.83	DATE PAID					
SUSAN ALICE STEFFEY		UNIT	•	·						
MICHAEL LEE MISENER					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
155 OSPREY ST	VIRGINIA PARK NO. 1 LOT 42				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390-3340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-378-014		1.00	\$665.83	\$665.83	DATE PAID					
FRANCES B AMES		UNIT	ψοσο.σσ	Ψοσο.σο	B/(1217(18					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
171 OSPREY ST	VIRGINIA PARK NO. 1 LOT 41				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390-3340					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-378-016		1.00	\$665.83	\$665.83	DATE PAID					
THOMAS GOGOE		UNIT	•	,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
201 OSPREY ST	VIRGINIA PARK NO. 1 LOT 39				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
92-17-34-378-017		1.00	\$665.83	\$665.83	DATE PAID					
MARK TOMES		UNIT	***************************************	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
209 OSPREY ST	VIRGINIA PARK NO. 1 LOT 38				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-378-018		1.00	\$665.83	\$665.83	DATE PAID					
NANCY JEAN GROSSMAN		UNIT	ψουσίου	Ψσσσ.σσ	2711217112					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
215 OSPREY ST	VIRGINIA PARK NO. 1 LOT 37				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-378-019		1.00	\$665.83	\$665.83	DATE PAID					<del>                                     </del>
DAN BAUMGARTEN		UNIT	ψ000.00	ψοσο.σο	BATETAID					
MARY BAUMGARTEN					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
221 OSPREY ST	VIRGINIA PARK NO. 1 LOT 36				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3342					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-378-020		1.00	\$665.83	\$665.83	DATE PAID					<del>                                     </del>
RONALD KWASNIEWWICZ	PART OF SW FRC 1/4 BEG AT SW COR OF LOT	UNIT	φυυυ.ου	ψυυυ.ου	DATE FAID					1
- ···· <del>·</del>	36 OF 'VIRGINIA PARK NO. 1', TH S 12-41-00 W				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
227 OSPREY ST	80 FT, TH S 89-30-00 E 165 FT TO SHORE OF				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3342	WALLED LAKE, THINLY ALG SD SHORE 80 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	TO SE COR OF SD LOT 36, TH N 89-30-00 W 170 FT TO BEG 0.30 A 10-12-90 CORR				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133

Page 93 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-378-021		1.00	\$665.83	\$665.83	DATE PAID					
CARL ATWATER		UNIT	***************************************	<b>4000.00</b>						
ALICIA ATWATER					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
333 OSPREY ST	JENNY PARK SUB LOT 14				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3346	52 552 25				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40090-0040					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					TOTAL	ψ100.17	ψ100.17	ψ133.17	ψ133.17	ψισο
92-17-34-378-022		1.00	\$665.83	\$665.83	DATE PAID					
JO ELLEN FOSTER		UNIT	***************************************	<b>4000.00</b>						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
355 OSPREY ST	JENNY PARK SUB LOT 13				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3346					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WYNEED ENINE INIT 40000 0040					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					TOTAL	Ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψιοι
92-17-34-378-027		1.00	\$665.83	\$665.83	DATE PAID					
CHRISTOPHER C RECKTENWALD		UNIT	φοσο.σσ	ψοσοίσο	37.1.2.7.1.2					
LIZA A RECKTENWALD		0.111			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
363 OSPREY ST	JENNY PARK SUB N 25 FT OF LOT 11, ALSO ALL				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3348	OF LOT 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WALEED EARL IN 40000 0040					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
					TOTAL	Ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψιοι
92-17-34-378-028		1.00	\$665.83	\$665.83	DATE PAID					
DENNIS PATRICK O'ROURKE		UNIT	φοσο.σσ	ψοσοίσο	5,112.7115					
DEMNIOT ATMION O'NOONNE		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
371 OSPREY ST	JENNY PARK SUB LOT 10, ALSO S 20 FT OF LOT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3348	11				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WALLED LAIL WII 40000-0040					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
					TOTAL	ψ100.17	ψ100.17	ψ133.17	ψ100.17	Ψισ
92-17-34-378-030		1.00	\$665.83	\$665.83	DATE PAID					
THOMAS J LANGAN		UNIT	φοσο.σσ	ψοσοίσο	5,112.7115					
7770111710 0 2711107111		0.4			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
131 OSPREY ST	VIRGINIA PARK NO 1 LOTS 45 & 46 6/22/88 FR				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3340	010				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WALLED LAKE WII 40000-0040					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
					TOTAL	ψ133.1 <i>1</i>	ψ133.1 <i>1</i>	ψ133.17	φ133.17	φισ
92-17-34-378-031		1.50	\$665.83	\$998.75	DATE PAID					
GEORGE HAWKINS		UNIT	φοσο.σσ	ψ550.75	DATETAID					
PENNY HAWKINS		OIVII			BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$19
123 OSPREY ST	VIRGINIA PARK NO 1 LOTS 47 & 48, ALSO LOT				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$19
WALLED LAKE MI 48390-3447	49 EXC E 7.00 FT 7-19-88 FROM 009 & 029				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$19
WALLED LANE IVII 40030-0447					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
					IOIAL	ψ133.13	ψ133.13	ψ133.13	ψ133.13	ψ19
92-17-34-378-032		1.00	\$665.83	\$665.83	DATE PAID			+		1
CHRISTOPHER SCHERBA		UNIT	ψοσο.σο	ψ000.00	DATETAID					
oo. o. nen oonenen		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
240 ROSEBUD CT	SUPERVISOR'S PLAT NO. 2, E 1/2 OF LOT 59 7-				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
WALLED LAKE MI 48390-3447	9-01 FR 005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$13
WALLED EVIVE INIT 40030-0441					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$13
					1017.	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψιο
92-17-34-378-033		1.00	\$665.83	\$665.83	DATE PAID			1	1	1
JENNIFER GUNDERSEN		UNIT	4000.00	<b>\$550.00</b>	27.1.2.17.113					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$13
	SUPERVISOR'S PLAT NO. 2, W1/2 OF LOT 59 7-9				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	01 FR 005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$130
										\$133
252 ROSEBUD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	4.1.2.

Page 94 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-379-003		0.20	\$665.83	\$133.17	DATE PAID					
EDWARD GILBERT		UNIT								
400 COALMONT OT	VIDCINIA DADICCUDI OT 24				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
108 COALMONT ST	VIRGINIA PARK SUB LOT 24				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-379-004		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL MAURER		UNIT	ψοσο.σσ	Ψ100.17	BATETAID					
		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
118 COALMONT ST	VIRGINIA PARK SUB LOT 23				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-379-007		0.20	\$665.83	\$133.17	DATE PAID					
NAOMI COLEY		UNIT								
GREGORY COLEY					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
128 COALMONT ST	VIRGINIA PARK SUB LOT 20				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00.47.04.070.000		0.00	<b>#</b> 005.00	£400.47	DATE DAID					
92-17-34-379-008		0.20	\$665.83	\$133.17	DATE PAID					
RUSSELL A MCCLELLAND		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
132 COALMONT ST	VIRGINIA PARK SUB LOT 19				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3327	VIICOINIAT ARRESOD EST 19				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAIKE WII 40030-0021					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-34-379-009		0.20	\$665.83	\$133.17	DATE PAID					
DONALD E MILLS		UNIT	·							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
134 COALMONT ST	VIRGINIA PARK SUB LOT 18				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 94					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390										
92-17-34-379-010		0.20	\$665.83	\$133.17	DATE PAID					
MARK MATKOVICH		UNIT								
400 00 41 MONT OT	VIDCINIA DADIZ OUD LOT CT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
138 COALMONT ST	VIRGINIA PARK SUB LOT 17				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3934 7TH ST WYANDOTTE MI 48192-6812					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-379-011		0.20	\$665.83	\$133.17	DATE PAID					
DAVID J LUCCHETTI		UNIT	ψ000.00	ψ100.17	DATETAID				1	
		51411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
144 COALMONT ST	VIRGINIA PARK SUB LOT 16				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-379-012		0.20	\$665.83	\$133.17	DATE PAID					
KIMBERLY D URSING		UNIT			1					
JULIAN C URSING					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	VIRGINIA PARK SUB LOT 14				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
148 COALMONT ST	VIIIOIIVII/II /IIIII GOD EOT 14									
148 COALMONT ST WALLED LAKE MI 48390-3327	VIICOINIATY ANG GOD EST 14				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.

Page 95 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-013		0.20	\$665.83	\$133.17	DATE PAID					
KATIE ELLEN FERGUSON		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
150 COALMONT ST	VIRGINIA PARK SUB LOT 15				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3327					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-379-015		0.10	\$665.83	\$66.58	DATE PAID					
ROGER INGLES		UNIT	\$665.63	ф0.56	DATE PAID					
NOOLN INGLES		OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
	See Assessors Office for Legal Description				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
	Coc / locococi C misc for Logar Docs.ip.io				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
75 LOCKWOOD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
ORTONVILLE MI 48462						ψ.σ.σ <u>-</u>	<b>\$10.02</b>	<b>V.0.02</b>	ψ.σ.σ <u>2</u>	ψ.σ.
92-17-34-379-016		0.10	\$665.83	\$66.58	DATE PAID					
SUZANNE SALTER		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
855 S PONTIAC TRL # A101	CONDOMINIUM UNIT 1, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
10769 WATERFALL CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
SOUTH LYON MI 48178										
92-17-34-379-017		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT BUCK SR	CONDOMINIUM DI ANIMO COO CHODELINE	UNIT			5	400 50	<b>^</b>	****	400.00	<b>1</b>
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
855 S PONTIAC TRL # A102	CONDOMINIUM UNIT 2, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-018		0.10	\$665.83	\$66.58	DATE PAID					
MARJORIE MERFERT		UNIT	ψ000.00	ψ00.50	DATETAID					
MAROORIE MERT ERT	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
855 S PONTIAC TRL # A103	CONDOMINIUM UNIT 3, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						•			,	,
92-17-34-379-019		0.10	\$665.83	\$66.58	DATE PAID					
HARVEY NELSON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
855 S PONTIAC TRL # A104	CONDOMINIUM UNIT 4, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
241 WOODCREEK CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390		0.40	<b>#005.00</b>	#00 F0	DATE DATE		1			
92-17-34-379-020		0.10	\$665.83	\$66.58	DATE PAID					
FUAD PEYSAKHOV	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	<b>ሰ</b> ላ ጋ
855 S PONTIAC TRL # A105	CONDOMINIUM UNIT 5, BLDG 1 L 8715 P 620				PRINCIPAL	\$66.58 \$13.32	\$53.27 \$13.32	\$39.95 \$13.32	\$26.63 \$13.32	\$13. \$13.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$13.32	\$0.00	\$13.32	\$0.00	\$13.
6344 ODESSA DR	07/00/04 1 13 0 14				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$0. \$13.
WEST BLOOMFIELD MI 48324					IOIAL	ψ10.02	ψ13.32	ψ13.32	ψ10.02	ψ13.
92-17-34-379-021		0.10	\$665.83	\$66.58	DATE PAID					
BRAD ARMSTRONG		UNIT	<b>\$550.00</b>	<b>\$33.00</b>	22.7,115					
	CONDOMINIUM PLAN NO 383 SHORELINE	=:			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
855 S PONTIAC TRL # A106	CONDOMINIUM UNIT 6, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 700287					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
PLYMOUTH MI 48170	1			1	1				1	

Page 96 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-022		0.10	\$665.83	\$66.58	DATE PAID					
JOHN M PRIOR JR		UNIT	<b>4</b> 000.00	400.00						
	CONDOMINIUM PLAN NO 383 SHORELINE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
855 S PONTIAC TRL # A107	CONDOMINIUM UNIT 7, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
166 N HAVEN	07/03/04110114				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48377					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		0.40	<u> </u>	ФСС <b>Г</b> О	DATE PAID					
92-17-34-379-023		0.10	\$665.83	\$66.58	DATE PAID					
RICHARD GIBBONS	COMPONING IN DIAM NO COO CHORELINE	UNIT			5444405	A	<b>^</b>	***	400.00	***
PHYLLIS GIBBONS	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
855 S PONTIAC TRL # A201	CONDOMINIUM UNIT 8, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-024		0.10	\$665.83	\$66.58	DATE PAID					
AMY F ADCOCK		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
855 S PONTIAC TRL # A202	CONDOMINIUM UNIT 9, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					101712	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>
92-17-34-379-025		0.10	\$665.83	\$66.58	DATE PAID					
BONNIE J SCHILAWSKE		UNIT	ψ000.00	Ψ00.50	DATETAID					
BONNIE J SCHILAWSKE	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
OFF O DONTIAO TOL # ACCO										
855 S PONTIAC TRL # A203	CONDOMINIUM UNIT 10, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		0.40	****	A = 0	D. T. D. I.D.					
92-17-34-379-026		0.10	\$665.83	\$66.58	DATE PAID					
LEWIS TSAPARAS		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
855 S PONTIAC TRL # A204	CONDOMINIUM UNIT 11, BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-027		0.10	\$665.83	\$66.58	DATE PAID					
JOHN HAGUE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
855 S PONTIAC TRL # A205	CONDOMINIUM UNIT 12 BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1820 BIRCHWOOD CIR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390						ψ.σ.σ <u>=</u>	ψ.ιο.ιο <u>-</u>	<b>V.0.02</b>	ψ.σ.σ <u>=</u>	<b>V.0.02</b>
92-17-34-379-028		0.10	\$665.83	\$66.58	DATE PAID					1
MIKE ARMSTRONG		UNIT	ψοσο.σο	ψου.σο	DATETAID					1
MINE ANNOTHONG	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			BALANCE	\$66.58	\$53.27	\$20.0E	¢26.62	\$13.32
REE C DONTIAC TO! # ADDC	CONDOMINIUM UNIT 13, BLDG 1 L 8715 P 620							\$39.95	\$26.63	
855 S PONTIAC TRL # A206					PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3301	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 700287					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
PLYMOUTH MI 48170		0.10	#00= 00	005.75	DATE SAIS				1	1
92-17-34-379-029		0.10	\$665.83	\$66.58	DATE PAID					
JAMIE LIMBRIGHT		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
855 S PONTIAC TRL # A207	CONDOMINIUM UNIT 14 BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
855 S PONTIAC TRL # A207 WALLED LAKE MI 48390-3301					PRINCIPAL INTEREST	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00
	CONDOMINIUM UNIT 14 BLDG 1 L 8715 P 620						·	· · · · · · · · · · · · · · · · · · ·		<u> </u>

Page 97 of 172 6/4/2015 4:25 PM

### SES SPORTING TRUE # A301  WALED LAVE MERSON STORY  WALED LAVE MERSON STORY  PORT CRANGE FL. 92139  PORT CRANGE	ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
18-31-34-378-030							2015	2016	2017	2018	2019
JOHN ANDERSON   CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN	AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
LINDA ANDERSON   CONCOMINUM FLAN NO 383 SHORELINE   See 5.8 PORT TO THE ASDIT OF	92-17-34-379-030		0.10	\$665.83	\$66.58	DATE PAID					
### SPONTINC TRL # A301  **CONDOMINUM INT' IS BLOS 1 8 19 6 20  **O'O'09694 FR 014  **	JOHN ANDERSON		UNIT								
885 S PONTINC TRL # A301 VALED LARG M (4800) 5010 VALED LARG M (4800) 5	LINDA ANDERSON	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
### PACE DAKE MINSO BY APT 3  ### PACE DAKE DAKE MINSO BY APT 3  ### PACE DAKE DAKE MINSO BY APT 3  ### PACE DAKE DAKE MINSO BY APT 3  ### PACE DAKE DAKE MINSO BY APT 3  ### PACE DAKE DAKE DAKE DAKE DAKE DAKE DAKE DAK	855 S PONTIAC TRL # A301	CONDOMINIUM UNIT 15 BLDG 1 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32		\$13.32	\$13.32
TOTAL PORT OFFINION CELL 92:22  FOR TOP ALL PLANE PLAN		07/05/84 FR 014									
## PORT CRANNE FL 32720 ### PORT CRANNE FL 322											
10.10   10.1							,				
## RONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHORELI			0.10	\$665.83	\$66.58	DATE PAID					
### BALANCE   S85.2 PONTINCT TR. # 2012   CONDOMINUM PLAN NO 383 SHORELINE   CONDOMINU				4000.00	700.00						
## S85 PONTIAC TRL # A302 WALED LAKE M #\$890-3301  **PRINCIPAL **P		CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
### WALLED LAKE MI 48390-3301  ### WALLED LAKE MI 48390-3301											
### P2-17-34-379-032 #### P3-17-34-379-032 #### P3-17-34-379-032 ### P3-17-34-379-032 ### P3-17-34-379-032 ### P3-17-34-379-033 ### P3-17-34-379-033 ### P3-17-34-379-033 ### P3-17-34-379-033 ### P3-17-34-379-034 ### P3-17-34-379-034 ### P3-17-34-379-035 ### P3-17-34-379-035 ### P3-17-34-379-035 ### P3-17-34-379-035 ### P3-17-34-379-036 ### P3-		•				-					+
92-17-34-379-032 MARLED LAKE MI 4890-3301  **CONDOMINUM FLAN NO 383 SHORELINE CONDOMINUM FLAN NO 383 SHORELINE FLAN FLAN FLAN FLAN FLAN FLAN FLAN FLAN		***************************************									
### A303 ### A304 ### A305 ### A304 ### A305 ### A304 ### A305 ### A304 ### A305 ###						101712	ψ10.0 <u>2</u>	Ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02
### A303 ### A304 ### A305 ### A304 ### A305 ### A304 ### A305 ### A304 ### A305 ###	92-17-34-379-032		0.10	\$665.83	\$66.58	DATE PAID					
BALANCE PRINCIPAL \$13.32 \$13.3				φοσο.σσ	Ψοσ.σσ	DATE TAILS					
865 S PONTIAC TR. # A903 WALLED LAKE M 48390-3301  22-17-34-379-833 BENJAMM FLES CONDOMINIUM DLAN NO 383 SHORELINE CONDOMINIUM DLAN NO 383 SHO	MARCAINE HODDARD	CONDOMINIUM PLAN NO 383 SHORELINE	Oitiii			BALANCE	\$66.58	¢53.27	\$30.05	\$26.63	¢12 22
## ALLED LAKE MI 48390-3301  ## ALLED LAKE MI	855 S DONTIAC TDI # A303					_		+			
92-17-34-379-033 BENJAMM ELES  CONDOMINUM PLAN NO 383 SHORELINE CO		,				-					
### PATH CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 S	WALLED LAKE WII 40330-3301	01/00/04 1 10 014									
## BALANCE   BALANCE   BALANCE   S66.58   S53.27   S39.95   \$26.63   \$13.32						TOTAL	ψ10.0Z	ψ10.0Z	ψ13.32	ψ13.32	Ψ10.02
## BALANCE   BALANCE   BALANCE   S66.58   S53.27   S39.95   \$26.63   \$13.32	02-17-34-370-033		0.10	\$665.83	\$66.58	DATE DAID					
CONDOMINIUM PLAN NO 383 SHORELINE   S65.8 PONTIAC TRL # A304   CONDOMINIUM PLAN NO 383 SHORELINE   PRINCIPAL   \$13.32 \$				ψ000.00	ψ00.50	DATETAID					
## SES S PONTIAC TR. # A304 WALED LAKE MI 48390-3301 7/16 9N HENDERSON RD DAVISON MI 49423  92-17-34-379-034 RAY LAWRENCE  855 S PONTIAC TR. # A305 WALLED LAKE MI 48390-3301 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE 29-17-34-379-035 TRESSA L SCHULKE  855 S PONTIAC TR. # A306 WALLED LAKE MI 48390-3301 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE ECONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383	BENJAMIN LEES	CONDOMINIUM PLAN NO 383 SHORELINE	ONIT			BALANCE	\$66.58	¢53.27	\$30.05	\$26.63	¢12 22
WALLED LAKE MI 48390-3301   07/05/84 FR 014   0.10   0.1	OFF C DONTIAC TOL # A204					_					
7169 H HENDERSON RD DAYSON M 48423  92-17-34-379-034  RAY LAWRENCE  855 S PONTIAC TRL # A305 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A306 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # A307 WALLED LAKE M 48390-3301 10900 BLAINE RD SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WALLED LAKE M 48390-3306  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  UNIT  SEGS S PONTIAC TRL # B101 WALLED LAKE M 48390-3306  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  SEGS S PONTIAC TRL # B101 WALLED LAKE M 48390-3306  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B101 WINT  SEGS S PONTIAC TRL # B10						_					
DAVISON MI 48423   P3-17-34-379-034   RAY LAWRENCE   CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO		07/03/04 1 13 0 14									
92-17-34-379-034 RAY LAWRENCE  CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHORELINE S5 S PONTIAC TRL # A305 WALLED LAKE MI 48390-3301 S92-17-34-379-035 TERESA L SCHULKE  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 20, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM UNIT 21, BLDG 1 L 8715 P 620 O7/05/84 FR 014  CONDOMINUM PLAN NO 383 SHORELINE CONDOMINUM PLAN NO 383 SHOR						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
## RAY LAWRENCE    CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 19, BLDG 1 L 8715 P 620			0.10	<b>\$665.00</b>	\$66.E0	DATE DAID					
## S5 S PONTIAC TRL # A305 CONDOMINIUM PLAN NO 383 SHORELINE REMAIN PROPER				\$600.00	φου.3ο	DATE PAID					
## SP PONTIAC TRL # A305 WALLED LAKE MI #8390-3301 S391 BRIDGE TRL W COMMERCE TWP MI #8382  ## CONDOMINIUM UNIT 19, BLDG 1 L 8715 P 620  ## S665.83  ## F865.83  ## F866.83  #	RAY LAWRENCE	CONDOMINIUM DI ANINO 393 CHODELINE	UNIT			DALANCE	<b></b>	<b>Ф</b> БО 07	Ф20.0F	<b></b>	£42.20
WALLED LAKE MI 48390-3301   07/05/84 FR 014	OFF C DONTIAC TOL # A20F					_		*	*		+
S39 BRIDGE TRL W COMMERCE TWP MI 48382  COMMERCE TWP MI 48382  29-17-34-379-035  TERESA L SCHULKE  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE BALANCE PRINCIPAL S13.32		,									
Section   Sect		07/05/04 FR 014									
92-17-34-379-035 TERESA L SCHULKE  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 20, BLDG 1 L 8715 P 620 WALLED LAKE MI 48390-3301 10900 BLAINE RD BRIGHTON MI 48114  855 S PONTIAC TRL # A307 WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RITH E. MILAN LIVING TRUST  875 S PONTIAC TRL # B101 WALLED LAKE MI 48390-3306  0.10 UNIT  0.10						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
TERESA L SCHULKE  CONDOMINIUM PLAN NO 383 SHORELINE 855 S PONTIAC TRL # A306 WALLED LAKE MI 48390-3301 10900 BLAINE RD BRIGHTON MI 48114  92-17-34-379-036 NEMER HADDAD  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 UNIT  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 UNIT  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 24, BLDG 2 L 8715 P 620 07/05/84 FR 014  CONDOMINUM UNIT 24, BLDG			0.40	<b>#</b> 005.00	400.50	DATE DAID					
CONDOMINIUM PLAN NO 383 SHORELINE WALLED LAKE MI 48390-3301 10900 BLAINER PD BRIGHTON MI 48114  92-17-34-379-036 NEMER HADDAD  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLA				\$665.83	\$66.58	DATE PAID					
R55 S PONTIAC TRL # A306   WALLED LAKE MI 48390-3301   O7/05/84 FR 014   S13.32   \$13.32	I EKESA L SCHULKE	OON DOMINIUM BY AN AIG SOO SHOPE: 12:5	UNII			DAI	000 70	050.05	#05.5 <b>-</b>	000.00	040.00
WALLED LAKE MI 48390-3301 10900 BLAINE RD BRIGHTON MI 48114  92-17-34-379-036 NEMER HADDAD  CONDOMINIUM PLAN NO 383 SHORELINE 655 S PONTIAC TRL # A307 WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 WALLED LAKE MI 48390-3306  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 WALLED LAKE MI 48390-3306  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 WALLED LAKE MI 48390-3306  DATE PAID  S665.83  S66.58  DATE PAID  UNIT  S665.83  DATE PAID  BALANCE BALANCE BALANCE S66.58 S53.27 S39.95 S26.63 S13.32	055 0 BONTIAO TRI # 4000					_					
10900 BLAINE RD BRIGHTON MI 48114  92-17-34-379-036 NEMER HADDAD  CONDOMINIUM PLAN NO 383 SHORELINE WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 UNIT  OTAL  \$13.32 \$13.3		•									
BRIGHTON MI 48114  92-17-34-379-036 NEMER HADDAD  CONDOMINIUM PLAN NO 383 SHORELINE 855 S PONTIAC TRL # A307 WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  0.10 UNIT  BALANCE PRINCIPAL 131.32 \$13.		07/05/84 FR 014									
92-17-34-379-036 NEMER HADDAD  CONDOMINIUM PLAN NO 383 SHORELINE 855 S PONTIAC TRL # A307 WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 UNIT  O7/05/84 FR 014  O.10 UNIT  S665.83  \$66.58  DATE PAID BALANCE PRINCIPAL INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$13.32 \$13						IOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NEMER HADDAD   CONDOMINIUM PLAN NO 383 SHORELINE   855 S PONTIAC TRL # A307   WALLED LAKE MI 48390-3301   G220 BRANFORD   WEST BLOOMFIELD MI 48322   WEST BLOOMFIELD MI 48322   S13.32			0.10	#00 <b>-</b>	000 -0	DATE SAIS					
SET S PONTIAC TRL # A307   CONDOMINIUM PLAN NO 383 SHORELINE   CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620   FRINCIPAL   INTEREST   \$0.00   \$0.				\$665.83	\$66.58	DATE PAID					
855 S PONTIAC TRL # A307 WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE 875 S PONTIAC TRL # B101 WALLED LAKE MI 48390-3306  CONDOMINIUM UNIT 21, BLDG 1 L 8715 P 620 07/05/84 FR 014  PRINCIPAL S13.32	NEMER HADDAD	001/001/11/11/14/15/14/14/14/14/14/14/14/14/14/14/14/14/14/	UNIT								
WALLED LAKE MI 48390-3301 6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE 875 S PONTIAC TRL # B101 WALLED LAKE MI 48390-3306  O7/05/84 FR 014  UNIT  NITEREST TOTAL \$0.00 \$0.00 \$0.00 \$13.32 \$						_		*	4		
6220 BRANFORD WEST BLOOMFIELD MI 48322  92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 WALLED LAKE MI 48390-3306  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  TOTAL \$13.32						_					
WEST BLOOMFIELD MI 48322  92-17-34-379-037  RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE  875 S PONTIAC TRL # B101  WALLED LAKE MI 48390-3306  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620  07/05/84 FR 014  DATE PAID  BALANCE PRINCIPAL INTEREST  \$0.00  \$0.00  \$0.00  \$0.00  \$0.00		07/05/84 FR 014									
92-17-34-379-037 RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE 875 S PONTIAC TRL # B101 WALLED LAKE MI 48390-3306  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  0.10 UNIT  \$665.83 \$66.58 DATE PAID BALANCE PRINCIPAL PRINCIPAL INTEREST \$0.00 \$0.00 \$0.00 \$0.00 \$0.00						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
RUTH E. MILAN LIVING TRUST  CONDOMINIUM PLAN NO 383 SHORELINE 875 S PONTIAC TRL # B101 WALLED LAKE MI 48390-3306  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  UNIT  BALANCE PRINCIPAL S13.32 S1			0.10	#00 <b>-</b>	000 -0	DATE SAIS		-	-	-	
CONDOMINIUM PLAN NO 383 SHORELINE 875 S PONTIAC TRL # B101 WALLED LAKE MI 48390-3306  CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 07/05/84 FR 014  BALANCE PRINCIPAL S13.32 \$				\$665.83	\$66.58	DATE PAID					
875 S PONTIAC TRL # B101 CONDOMINIUM UNIT 22, BLDG 2 L 8715 P 620 PRINCIPAL \$13.32 \$13	RUTH E. MILAN LIVING TRUST	001100111111111111111111111111111111111	UNIT								
WALLED LAKE MI 48390-3306 07/05/84 FR 014 INTEREST \$0.00 \$0.00 \$0.00 \$0.00						_					\$13.32
		,									\$13.32
TOTAL \$13.32 \$13.32 \$13.32 \$13.32 \$13.32	WALLED LAKE MI 48390-3306	07/05/84 FR 014									\$0.00
						TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32

Page 98 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-038		0.10	\$665.83	\$66.58	DATE PAID					
PHILLIP THEAKER		UNIT								
VIRGINIA S THEAKER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B102	CONDOMINIUM UNIT 23, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1941 CARLA HILLS DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WHITE LAKE MI 48383						ψ.σ.σ <u>=</u>	ψ.ιο.ιο <u>-</u>	Ų.0.0 <u>2</u>	ψ.σ.σ <u>=</u>	ψ.σ.σ <u>=</u>
92-17-34-379-039		0.10	\$665.83	\$66.58	DATE PAID					
ALAN LAPOINTE		UNIT	ψ000.00	ψ00.00	BATETAID					
ALAIT LAI VIITIL	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B103	CONDOMINIUM UNIT 24, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3300	07/03/04 FR 014					\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.070.040		0.40	<b>#</b> 005.00	000.50	DATE DAID					
92-17-34-379-040		0.10	\$665.83	\$66.58	DATE PAID					
JAMES R BABCOCK II	CONDOMINIUM DI ANI NO COO CHODELINE	UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B104	CONDOMINIUM UNIT 25, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
20320 HIGHLAND HALL DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
MONTGOMERY VILLA MD 20886										
92-17-34-379-041		0.10	\$665.83	\$66.58	DATE PAID					
SARAH MCNEILLY		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B105	CONDOMINIUM UNIT 26, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						ψ.σ.σ <u>=</u>	ψ.ιο.ιο <u>-</u>	Ų.0.0 <u>2</u>	ψ.σ.σ <u>=</u>	ψ.σ.σ <u>=</u>
92-17-34-379-042		0.10	\$665.83	\$66.58	DATE PAID					
PHILLIP NAPPO		UNIT	ψ000.00	ψ00.00	DATETAID					
THELIT WALL	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
975 C DONTIAC TOL # D106	CONDOMINIUM UNIT 27, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	*	\$13.32	\$13.32	\$13.32
875 S PONTIAC TRL # B106	07/05/84 FR 014						\$13.32	· · · · · · · · · · · · · · · · · · ·		
WALLED LAKE MI 48390-3306	07/05/04 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-043		0.10	\$665.83	\$66.58	DATE PAID					
DANIEL THOMAS ROWE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B107	CONDOMINIUM UNIT 28, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-044		0.10	\$665.83	\$66.58	DATE PAID					
JULIE A POPIELARZ		UNIT	-							
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B108	CONDOMINIUM UNIT 29, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	3.,30,0111011				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					101/12	ψ10.0 <u>2</u>	ψ10.02	Ψ10.02	Ψ10.02	ψ10.02
92-17-34-379-045		0.10	\$665.83	\$66.58	DATE PAID			1		
			φυυυ.ου	φυυ.υο	DATERAID			1		
JAMES BECK	CONDOMINIUM DI ANIMO 202 CHODELINE	UNIT			DALANCE	<b>#</b> 00.50	<b>ФГО О</b> 7	<b>#20.05</b>	<b>#</b> 00.00	¢40.00
JOANNE BECK	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B109	CONDOMINIUM UNIT 30, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2043 PALMER DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WIXOM MI 48393										

Page 99 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	5	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-046		0.10	\$665.83	\$66.58	DATE PAID					
JAMESON MACBETH		UNIT	φοσοίσσ	400.00	571.2171.5					
SAMESON MASSETTI	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # 201	CONDOMINIUM UNIT 31, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3300	07/03/64 FK 014				_	*	*		*	
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		0.40	<b>^</b>	***	D. 1 == D. 1   D					
92-17-34-379-047		0.10	\$665.83	\$66.58	DATE PAID					
JOHN J BLAKE		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B202	CONDOMINIUM UNIT 32, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						,	·	·		
92-17-34-379-048		0.10	\$665.83	\$66.58	DATE PAID					
TOOD POOLE TRUSTEE		UNIT	***************************************	700.00						
7002700227100722	CONDOMINIUM PLAN NO 383 SHORELINE	O. C.			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B203	CONDOMINIUM UNIT 33, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3300	07/03/64 FK 014				_		*		\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		0.10	A	A	D. T. D. I.D.					
92-17-34-379-049		0.10	\$665.83	\$66.58	DATE PAID					
ELIZABETH LARSEN		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B204	CONDOMINIUM UNIT 34, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-050		0.10	\$665.83	\$66.58	DATE PAID					
MARK GALARDI		UNIT	·	,						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B205	CONDOMINIUM UNIT 35, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LANCE IVII 40000 0000	01/00/0111(011				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	ψ13.32	ψ13.3Z	ψ13.3Z	ψ13.3Z
00 47 04 070 054		0.40	<b>#</b> 005.00	<b>\$00.50</b>	DATE DAID					
92-17-34-379-051		0.10	\$665.83	\$66.58	DATE PAID					
KENNETH DURYN	001/001/01/01/01/01/01/01/01/01/01/01/01	UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B206	CONDOMINIUM UNIT 36, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-052		0.10	\$665.83	\$66.58	DATE PAID	1				
MICHAEL J ROSSO		UNIT								
DIANE M ROSSO	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # 207	CONDOMINIUM UNIT 37, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	2.700/01.11.01.1				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					IOIAL	ψ10.0Z	Ψ10.02	ψ10.02	ψ10.02	Ψ10.02
92-17-34-379-053		0.10	\$665.83	\$66.58	DATE PAID					
		UNIT	ψυυυ.συ	ψυυ.υσ	DATERMID	1		+	+	
MELVIN SCHROEDER	CONDOMINITIM DE ANTINO 303 CHORELINE	UNIT			DALANOE	<b>#</b> 00 50	ФE0.07	<b>#20.05</b>	<b>#00.00</b>	£40.00
SHARON SCHROEDER	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B208	CONDOMINIUM UNIT 38, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4444 GOLF VIEW DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
BRIGHTON MI 48116						İ				

Page 100 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-379-054		0.10	\$665.83	\$66.58	DATE PAID					
LAURIE ROBINSON		UNIT		,						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
875 S PONTIAC TRL # B209	CONDOMINIUM UNIT 39, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
White B Exist Will 10000 0000	31,33,31111311				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					101712	ψ10.0 <u>L</u>	ψ10.0 <u>2</u>	Ψ10.02	Ψ10.02	ψ10.
92-17-34-379-055		0.10	\$665.83	\$66.58	DATE PAID					
JANICE L BARLOW		UNIT	ψοσο.σσ	Ψ00.00	B/((E1/(B					
VANIOL L BAILLOW	CONDOMINIUM PLAN NO 383 SHORELINE	Olvii			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
875 S PONTIAC TRL # B301	CONDOMINIUM UNIT 40, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3300	07/03/04 1 10 014				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-379-056		0.40	<u></u>	ФСС <b>Г</b> О	DATE DAID					
		0.10	\$665.83	\$66.58	DATE PAID					
GLENDA RAY	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			DALANCE	<b>#</b> 00.50	<b>Ф</b> ГО 07	<b>#20.05</b>	<b>#</b> 00.00	<b>M40</b>
0 DOLITIA 0 TDL # D000					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
875 S PONTIAC TRL # B302	CONDOMINIUM UNIT 41, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
24556 BASHIAN CT UNIT B					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NOVI MI 48375							1			
92-17-34-379-057		0.10	\$665.83	\$66.58	DATE PAID					
CORRINE TIPTON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
875 S PONTIAC TRL # B303	CONDOMINIUM UNIT 42, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-379-058		0.10	\$665.83	\$66.58	DATE PAID					
CARL GLOVER		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
875 S PONTIAC TRL # B304	CONDOMINIUM UNIT 43, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7898 TIMBERLANE TRL					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WEST BLOOMFIELS MI 48323										
92-17-34-379-059		0.10	\$665.83	\$66.58	DATE PAID					
RANDY RUBIN		UNIT	•							
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
875 S PONTIAC TRL # B305	CONDOMINIUM UNIT 44, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						¥	<b>*</b>	¥1010=	¥.0.0=	7
92-17-34-379-060		0.10	\$665.83	\$66.58	DATE PAID			1		
SHANE LYNN		UNIT	Ψοσο.σο	<b>\$55.55</b>	]			1		
	CONDOMINIUM PLAN NO 383 SHORELINE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
875 S PONTIAC TRL # B306	CONDOMINIUM UNIT 45. BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2645 WIXOM RD	51/55/0 <del>4</del> 1 10 14				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
COMMERCE TOWNSHIP MI 48382					IOIAL	Ψ10.02	ψ10.0Z	ψ10.02	Ψ10.02	Ψισ
92-17-34-379-061	1	0.10	\$665.83	\$66.58	DATE PAID					
7 WINSTON		UNIT	ψυυυ.συ	ψυυ.υσ	DATE FAID			1		
I WINGIUN	CONDOMINIUM PLAN NO 383 SHORELINE	UNII			DALANCE	<b>¢cc =0</b>	ΦE0.07	\$20.0F	<b>\$20.00</b>	<b>#40</b>
	CONDOMINION FLAM INO 303 SHOKELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
OZE C DONTING TOL # DOGZ	CONDOMINIUM LINIT 46 DLDC 3 L 9745 D 000	l l								
875 S PONTIAC TRL # B307	CONDOMINIUM UNIT 46, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
875 S PONTIAC TRL # B307 WALLED LAKE MI 48390 43422 W OAKS DR #218	CONDOMINIUM UNIT 46, BLDG 2 L 8715 P 620 07/05/84 FR 014				PRINCIPAL INTEREST TOTAL	\$13.32 \$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$13 \$0. \$13

Page 101 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<u> </u>	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-379-062		0.10	\$665.83	\$66.58	DATE PAID	_				
HARVEY NELSON		UNIT	ψ000.00	ψου.ου	DATETAID					
JANE NELSON	CONDOMINIUM PLAN NO 383 SHORELINE	OINII			BALANCE	\$66.58	\$53.27	¢20.05	<b>#</b> 20.00	\$13.32
	CONDOMINIUM UNIT 47. BLDG 2 L 8715 P 620				_	*	*	\$39.95	\$26.63	
875 S PONTIAC TRL # B308					PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3306	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
241 WOODCREEK CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
COMMERCE TOWNSHIP MI 48382										
92-17-34-379-063		0.10	\$665.83	\$66.58	DATE PAID					
HARVEY NELSON		UNIT								
JANE NELSON	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
875 S PONTIAC TRL # B309	CONDOMINIUM UNIT 48, BLDG 2 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
241 WOODCREEK CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
COMMERCE TOWNSHIP MI 48382						ψ.σ.σ <u>=</u>	ψ.σ.σ <u>=</u>	Ų.0.02	Ų.0.02	ψ.0.02
92-17-34-379-064		0.10	\$665.83	\$66.58	DATE PAID					
KENNETH J KARPSLIS		UNIT	ψ000.00	ψ00.50	DATETAID					
KENNETH J KARPSLIS	CONDOMINIUM PLAN NO 383 SHORELINE	UNIT			DALANOE	<b>#00.50</b>	<b>650.07</b>	\$00.0F	<b>#00.00</b>	£40.00
005 0 DONTIA 0 TDL # 0404					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
895 S PONTIAC TRL # C101	CONDOMINIUM UNIT 49, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-065		0.10	\$665.83	\$66.58	DATE PAID					
BRANDON C GUGALA		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
895 S PONTIAC TRL # C102	CONDOMINIUM UNIT 50, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						¥ 1019=	¥.5.5	¥	¥	¥
92-17-34-379-066		0.10	\$665.83	\$66.58	DATE PAID					
RENEE RIDING		UNIT	φοσοίσο	400.00	5711217115					
RENEE RIDING	CONDOMINIUM PLAN NO 383 SHORELINE	Olvill			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
895 S PONTIAC TRL # C103	CONDOMINIUM UNIT 51, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40390-3313	07/03/04 1 10 014				TOTAL	\$13.32		\$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.070.007		2.42	<b>#</b> 005.00	000.50	DATE DAID					
92-17-34-379-067		0.10	\$665.83	\$66.58	DATE PAID					
LISA RAFTARY		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
895 S PONTIAC TRL # C104	CONDOMINIUM UNIT 52, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-379-068		0.10	\$665.83	\$66.58	DATE PAID					
OCCUPANT		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
895 S PONTIAC TRL # C105	CONDOMINIUM UNIT 53, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 356	37,30,0411014				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALHALLA MI 49458					IOIAL	ψ13.32	ψ10.02	ψ13.32	ψ13.32	ψ13.32
		0.10	\$665.83	\$66.58	DATE PAID			+	+	
92-17-34-379-069			δ0.C00φ	φ0.0δ	DATE PAID					
GERALYNN M MILLER	CONDOMINIUM DI ANI NO 000 CI ICEEI INE	UNIT				***	<b>^</b>	***	***	
000 0 DONTH 0 TD: :: 5 : 5	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
895 S PONTIAC TRL # C106	CONDOMINIUM UNIT 54, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
										_

Page 102 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
92-17-34-379-070		0.10	\$665.83	\$66.58	DATE PAID					
JULIE KATHLEEN GLASSCO		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
895 S PONTIAC TRL # C107	CONDOMINIUM UNIT 55, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-071		0.10	\$665.83	\$66.58	DATE PAID					
NICHOLAS PAPADAKOS		UNIT	ψοσο.σσ	φου.σο	DATE TAIL					
PETER PAPADAKOS	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C108	CONDOMINIUM UNIT 56, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-072		0.40	\$665.83	<b>\$00.50</b>	DATE PAID					
WENNETH BANACH		0.10 UNIT	\$605.83	\$66.58	DATE PAID					
	CONDOMINIUM PLAN NO 383 SHORELINE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C109	CONDOMINIUM UNIT 57, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-073		0.40	\$665.83	\$66.58	DATE PAID					
92-17-34-379-073 JOHN WESSON		0.10 UNIT	\$605.83	\$6.58	DATE PAID					
JOHN WESSON	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C201	CONDOMINIUM UNIT 58, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
8865 BASELINE RD LOT 527	01/00/01111011				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
MESA AZ 85209						ψ.σ.σ <u>-</u>	ψ.σ.σ <u>2</u>	ψ.σ.σ <u>2</u>	<b>V.0.02</b>	<b>V.</b> 5.
92-17-34-379-074		0.10	\$665.83	\$66.58	DATE PAID					
DAVID A SPOONER		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C202	CONDOMINIUM UNIT 59, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-075		0.10	\$665.83	\$66.58	DATE PAID					
NORMAN L SANDLES		UNIT	ψ003.03	ψυυ.υυ	DATEFAID					1
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C203	CONDOMINIUM UNIT 60, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
34119 W 12 MILE RD STE 201					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
FARMINGTON HILLS MI 48331-3300		0.40	<b>\$</b> 005.00	<b>\$00.50</b>	DATE DAID					
92-17-34-379-076 OCCUPANT		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
COOUTAIN	CONDOMINIUM PLAN NO 383 SHORELINE	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C204	CONDOMINIUM UNIT 61, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
02 47 24 270 077		0.40	¢cc- 02	ФСС F0	DATE DAID					
92-17-34-379-077 PATRICK C GAWLOWSKI		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
FAIRION C GAWLOWSKI	CONDOMINIUM PLAN NO 383 SHORELINE	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C205	CONDOMINIUM UNIT 62, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
*** **********************************	01/00/04111014				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 103 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-379-078		0.10	\$665.83	\$66.58	DATE PAID					
AMANDA L JACKSON		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
895 S PONTIAC TRL # C206	CONDOMINIUM UNIT 63, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-079		0.10	\$665.83	\$66.58	DATE PAID					
SCOTT SHUKWIT		UNIT	φ003.03	φ00.56	DATE PAID					
ooon onekum	CONDOMINIUM PLAN NO 383 SHORELINE	O T T T			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C207	CONDOMINIUM UNIT 64, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLES EARL IVII 10000 0010	57765761111611				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	ψ10.0 <u>2</u>	ψ10.02	ψ10.02	ψ10.02	Ψισ
92-17-34-379-080		0.10	\$665.83	\$66.58	DATE PAID					
LINDA BASHI		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C208	CONDOMINIUM UNIT 65, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-081		0.10	\$665.83	\$66.58	DATE PAID					
LEE SHERWOOD		UNIT	ψ000.00	Ψ00.50	DATETAID					
	CONDOMINIUM PLAN NO 383 SHORELINE	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C209	CONDOMINIUM UNIT 66, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
While B Like Will 10000 0010	07700701111011				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
								·		
92-17-34-379-082		0.10	\$665.83	\$66.58	DATE PAID					
WENDY L FOSS TRUST	001/201/201/201/201/201/201/201/201/201/	UNIT								
WENDY L FOSS TRUSTEE	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C301	CONDOMINIUM UNIT 67, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
27189 WINCHESTER CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
FARMINGTON HILLS MI 48331 92-17-34-379-083		0.10	\$665.83	\$66.58	DATE PAID					
PARVIZ PEZESHKIAN		UNIT	φυυ3.03	φυυ.36	DATE PAID					
PARVAN SHOJACI	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
895 S PONTIAC TRL # C302	CONDOMINIUM UNIT 68, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
802 HIDDEN CREEK					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
SOUTH LYON MI 48178						Ţ.J.J_	Ţ.3.0 <u>2</u>	Ţ.3.0 <u>2</u>	Q.0.02	Ψ.0
92-17-34-379-084		0.10	\$665.83	\$66.58	DATE PAID					
JEFFREY RUSSO	001/001/01/01/01/01/01/01/01/01/01/01/01	UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
895 S PONTIAC TRL # 303	CONDOMINIUM UNIT 69, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-379-085		0.10	\$665.83	\$66.58	DATE PAID					
MARY HARTLEY		UNIT	<b>+0.00</b>	7-3.00						
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C304	CONDOMINIUM UNIT 70, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3095 BROCK ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
KEEGO HARBOR MI 48320	1	11		II .	1			1		+

Page 104 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-379-086		0.10	\$665.83	\$66.58	DATE PAID					
LEONARD J GIAMPINO		UNIT	***************************************	400.00						
	CONDOMINIUM PLAN NO 383 SHORELINE	0.4			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
895 S PONTIAC TRL # C305	CONDOMINIUM UNIT 71, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
	07/05/84 FR 014									
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-379-087		0.10	\$665.83	\$66.58	DATE PAID					
OCCUPANT		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
895 S PONTIAC TRL # C306	CONDOMINIUM UNIT 72, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						ψ.0.0 <u>2</u>	ψ10.0 <u>2</u>	ψ.σ.σ <u>=</u>	ψ.σ.σ <u>-</u>	<b>V.</b> 0
92-17-34-379-088		0.10	\$665.83	\$66.58	DATE PAID					
ART VARTANIAN		UNIT	ψ000.00	ψ00.00	DATETAID					
ANT VARTAINIAN	CONDOMINIUM PLAN NO 383 SHORELINE	UNII			DALANCE	<b>¢cc ro</b>	ΦE0.07	\$20.0F	<b>Φ</b> ΩC CΩ	<b>#</b> 40
005 0 DONTIA 0 TDL # 0007					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
895 S PONTIAC TRL # C307	CONDOMINIUM UNIT 73, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-379-089		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL GIANUNZIO		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
895 S PONTIAC TRL # C308	CONDOMINIUM UNIT 74, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LANE IVII 40390-3313	07/03/0411(014				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	φιο
00.47.04.070.000		0.40	<b>#</b> 005.00	000.50	DATE DAID					
92-17-34-379-090		0.10	\$665.83	\$66.58	DATE PAID					
ERIC MASCOT		UNIT								
	CONDOMINIUM PLAN NO 383 SHORELINE				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
895 S PONTIAC TRL # C309	CONDOMINIUM UNIT 75, BLDG 3 L 8715 P 620				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3313	07/05/84 FR 014				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-379-091		0.20	\$665.83	\$133.17	DATE PAID					
FLORIN MOLDOVAN		UNIT	***************************************	<b>*</b>						
		J			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
98 COALMONT ST	VIRGINIA PARK SUB LOTS 25 & 26 11-5-92 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3325	001 & 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20
WALLED LAKE WII 4009U-0020									'	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
00.47.04.070.000		0.00	<b>#</b> 007.00	0400 17	DATE SAIS			1	1	
92-17-34-379-092		0.20	\$665.83	\$133.17	DATE PAID					
JOSHUA CRESWELL		UNIT			1					
GAIL CRESWELL	VIRGINIA PARK SUB LOTS 21 & 22 5-7-09 FR 005				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
122 COALMONT ST	& 006				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390	α 000				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					1	,	, ,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	7
92-17-34-412-001		1.00	\$665.83	\$665.83	DATE PAID					1
INMEI REAL ESTATE LLC		UNIT	ψ000.00	ψ000.00	DATETAID					
INWILL REAL ESTATE LLU		UNII			DALANCE	<b>PECT 00</b>	ΦΕ20.00	\$200 FO	¢260.22	<b>#</b> 404
	CUREDVICORIO DI ATAVO, O E 04 00 ET CE I CTEC				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S PLAT NO. 2 E 61.28 FT OF LOT56				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
17177 N LAUREL PARK DR STE 441					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
LIVONIA MI 48152	•			ii .	1	i i	1	1	1	1

Page 105 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-412-004		1.00	\$665.83	\$665.83	DATE PAID					
ADRAIN HILL		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	SUPERVISOR'S PLAT NO. 2 LOT 53				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
162 S PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390-3349										
92-17-34-412-005		1.00	\$665.83	\$665.83	DATE PAID					
TIMOTHY VORCE		UNIT								
MARILYN VORCE					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	SUPERVISOR'S PLAT NO. 2 LOT 52				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
148 S PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3349										
92-17-34-412-006		1.00	\$665.83	\$665.83	DATE PAID					
KEVIN LEE		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	SUPERVISOR'S PLAT NO. 2 LOT 51				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390										
92-17-34-412-007		1.00	\$665.83	\$665.83	DATE PAID					
KEVIN LEE		UNIT								
	SUPERVISOR'S PLAT NO. 2 LOT 50 EXC ELY				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	64.5 FT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
100 0 001/714 0 701					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390		0.00	<b>#</b> 005.00	04.007.40	DATE DAID					
92-17-34-412-016		3.00	\$665.83	\$1,997.49	DATE PAID					
CORNERSTONE PRODUCTIONS LLC		UNIT			DALANIOE	<b>*</b> 4 007 40	<b>04 507 00</b>	04.400.40	<b>A</b> 700.00	0000
100 5 1441 50 141/5 00	CUREDVICORIC DI AT NO. 3 LOT 44				BALANCE	\$1,997.49	\$1,597.99	\$1,198.49	\$799.00	\$399.
136 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 44				PRINCIPAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399.
WALLED LAKE MI 48390-3552					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
715 DEER PATH TRL					TOTAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
WATERFORD MI 48327		0.00	<b>#</b> 005.00	C4 007 40	DATE DAID					
92-17-34-412-017		3.00	\$665.83	\$1,997.49	DATE PAID					
KEY LARGO, L.L.C.		UNIT			DALANCE	¢4 007 40	¢4 507 00	£4.400.40	¢700.00	<b>#200</b>
142 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 2 LOT 43				BALANCE PRINCIPAL	\$1,997.49 \$399.50	\$1,597.99 \$399.50	\$1,198.49 \$399.50	\$799.00 \$399.50	\$399 \$399
WALLED LAKE DR WALLED LAKE MI 48390-3552	SUF LINVISON S FLAT INC. 2 LOT 43				INTEREST	\$399.50	\$399.50	\$399.50	\$399.50	\$399.
829 E WALLED LAKE DR					TOTAL	\$0.00	\$399.50	\$399.50	\$399.50	\$399
WALLED LAKE MI 48390-3601					IOIAL	დაჟუ.ეს	დაშშ. <u>ე</u>	ψυσσ.υυ	ψυσσ.υυ	ф399.
92-17-34-412-027	1	0.75	\$665.83	\$499.37	DATE PAID					1
ARLENE RIEGNER		UNIT	ψυυυ.υυ	ψτσσ.στ	DATEFAID			+		+
ANELIE MEGILEN		CIVII			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.8
116 E WALLED LAKE DR UNIT 1	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3500	BLDG A, UNIT 1 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
16863 OLD BEDFORD RD					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.8
NORTHVILLE MI 48168					101/12	Ψ00.01	ψοσ.στ	ψου.στ	ψοσ.σ1	Ψυυ.
92-17-34-412-028		0.75	\$665.83	\$499.37	DATE PAID					1
ERICA MICHELLE MAZUR		UNIT	ψ000.00	ψ-33.07	5,(121,110					
		0			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.8
116 E WALLED LAKE DR UNIT 2	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.8
WALLED LAKE MI 48390-3500	BLDG A, UNIT 2 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	1	II .								\$99.8
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	*444 X

Page 106 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Tł
92-17-34-412-029		0.75	\$665.83	\$499.37	DATE PAID					
SHEFALI BHAVSAR		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.8
116 E WALLED LAKE DR UNIT 3	BLDG A, UNIT 3 L 6424 P 862				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3500	BLDG A, UNIT 3 L 0424 F 802				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
92-17-34-412-030		0.75	\$665.83	\$499.37	DATE PAID					
92-17-34-412-030 CASJ LLC		UNIT	φουσ.ου	Ф499.37	DATE PAID					
0/100 220	CONDOMINIUM DI ANI NO 407 DOINITE DI LI AO	O			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
116 E WALLED LAKE DR UNIT 4	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3508	BLDG A, UNIT 4 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 764					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
NOVI MI 48376						400.01	¥3333	<b>,</b>	, , , , , , , , , , , , , , , , , , ,	700
92-17-34-412-031		0.75	\$665.83	\$499.37	DATE PAID					
RUTH A PATAKY		UNIT			5	<b>*</b> 400 0=	4000 =0		<b>A</b> 4 2 2 = =	
AAO E WALLED LAKE DD LINIT S	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
116 E WALLED LAKE DR UNIT 5	BLDG A, UNIT 5 L 6424 P 862				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3508	,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
92-17-34-412-032		0.75	\$665.83	\$499.37	DATE PAID					
KIMBERLY BAUGHMAN		UNIT	·							
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
116 E WALLED LAKE DR UNIT 6	BLDG A, UNIT 6 L 6424 P 862				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3508	BLDG A, ONIT 0 L 0424 F 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
92-17-34-412-033		0.75	\$665.83	\$499.37	DATE PAID					
ROBERT W THOMAS		UNIT	φ005.65	φ499.37	DATE FAID					
NOBERT W THOMAS		Olviii			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
106 E WALLED LAKE DR UNIT 7	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3516	BLDG B, UNIT 7 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLES BARE IN 18880 00 TO					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
						·		·	·	
92-17-34-412-034		0.75	\$665.83	\$499.37	DATE PAID					
TIMOTHY WHITE		UNIT			DALANCE	A 400 07	<b>#</b> 000 50	<b>#</b> 000 00	0400.75	000
BARBARA SATTERTHWAITE	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
106 E WALLED LAKE DR UNIT 8	BLDG B, UNIT 8 L 6424 P 862				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3516					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2302 SANDLEWOOD DR WHITE LAKE MI 48383					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
92-17-34-412-035		0.75	\$665.83	\$499.37	DATE PAID					
HENRY ADAMS		UNIT								
	CONDOMINIUM PLAN NO 197 POINTE DU LAC				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
106 E WALLED LAKE DR UNIT 9	BLDG B, UNIT 9 L 6424 P 862				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3516	DEDO D, ONIT 9 E 0424 F 002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
92-17-34-412-036		0.75	\$665.83	\$499.37	DATE PAID					
NEMER HADDAD		UNIT	ψυυυ.υυ	Ψ-33.31	DATEFAID					
	CONDOMINIUM DI ANIMO 407 DOINTE DULI AC				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
106 E WALLED LAKE DR UNIT 10	CONDOMINIUM PLAN NO 197 POINTE DU LAC				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3516	BLDG B, UNIT 10 L 6424 P 862				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WYNEELED EARNE WILL TOOCO OO TO										
WALLES BARE IN 18880 88 TO					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.

Page 107 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			•	INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-412-037		1.00	\$665.83	\$665.83	DATE PAID					
GERALD L ANDERSON JR		UNIT								
	0 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
127 S PONTIAC TRL	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390-3350					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-412-038		1.50	\$665.83	\$998.75	DATE PAID					
FRANK CHRISTOPHER		UNIT	ψοσοίσο	φσσσσ	2711217112					
					BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
174 S PONTIAC TRL	SUPERVISOR'S PLAT NO. 2 LOTS 54 & 55				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
00.47.04.400.000		0.00	<b>\$005.00</b>	<b>#</b> 400.47	DATE DAID					
92-17-34-426-006 ANDY THUIS		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
ANDT THOIS		OINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
529 NORTHPORT ST	HILL CROFT SUB LOTS 5 & 6				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3551	THEE GROTT GGB EGTG G & G				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
W/\LEED E/\\\L \\\\ 40000 0001					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						7=0.00	, and a	7=0.00	7=0:00	<b>4</b> _0.
92-17-34-426-009		0.20	\$665.83	\$133.17	DATE PAID					
ROY RULE		UNIT								
	HILL CROFT SUB W 10 FT OF LOT 10, ALSO ALL				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
435 NORTHPORT ST	OF LOTS 11 & 12				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3549	01 2010 11 4 12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-34-426-010		0.20	\$665.83	\$133.17	DATE PAID					
CHRISTINE LESPERANCE		UNIT	ψ003.03	Ψ133.17	DATETAID					
01111011112 2201 210 11102					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
501 NORTHPORT ST	HILL CROFT SUB LOT 9, ALSO LOT 10 EXC W 10				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3551	FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						·				
92-17-34-426-011		0.20	\$665.83	\$133.17	DATE PAID					
DAVID J SEMIZIAN		UNIT			DALANIGE	0400.47	0400.50	<b>#70.00</b>	<b>AFO 07</b>	000
FOE NORTHBORT OF	LIII L ODOET CUD L OTO 0 0 4 0/0/00 ED 007				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
535 NORTHPORT ST	HILL CROFT SUB LOTS 3 & 4 3/6/92 FR 007				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3551					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	φ20.
92-17-34-426-012		0.20	\$665.83	\$133.17	DATE PAID					
CASEY AMBROSE		UNIT	*	<b>+</b> · · · · · · ·						
CHRISTY BROWN-AMBROSE					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	HILL CROFT SUB LOTS 1 & 2 3/6/92 FR 007				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
440 E WALLED LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3560			<b>^</b>	<b>A</b>	D. T. D. ( )					
92-17-34-426-013		0.20	\$665.83	\$133.17	DATE PAID					
DONALD J RIMATZKI		UNIT			DALANCE	¢122.47	\$106 F2	¢70.00	¢52.07	<b>#</b> 20
F1F NORTHDORT ST	LILL CDOET CLID LOTS 7 9 9 9 4 04 ED 004 9 005				BALANCE PRINCIPAL	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
515 NORTHPORT ST	HILL CROFT SUB LOTS 7 & 8 8-4-94 FR 004 & 005					\$26.63	\$26.63	\$26.63	\$26.63 \$0.00	\$26.
WALLED LAKE MI 48390-3551					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.
	1	ı I		1	IOTAL	φ <b>∠</b> 0.03	φ∠0.03	φ∠0.03	φ∠0.03	φ∠0.

Page 108 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-427-003		0.20	\$665.83	\$133.17	DATE PAID					1
KEITH A VARGO		UNIT		,						
		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
231 HILLCROFT DR	HILL CROFT SUB LOTS 13 & 14				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3521					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
**************************************					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	ΨΣΟ
92-17-34-427-021		0.20	\$665.83	\$133.17	DATE PAID					1
KEITH VARGO		UNIT	ψοσο.σσ	ψσσ	27.1.2.7.1.2					+
	HILL CROFT SUB LOT 15, ALSO LOT 16 EXC S 10				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
217 HILLCROFT DR	FT, ALSO S 21 FT OF E 47 FT OF LOT 13 & E 47				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3521	FT OF LOT 14 OF 'SUPERVISOR'S PLAT NO 2'				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
**************************************					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20
92-17-34-427-023		0.20	\$665.83	\$133.17	DATE PAID					+
PAUL A REXIN		UNIT	ψοσο.σο	ψ100.17	DATETAID			+		+
I AVE A NEAM	SUPERVISOR'S PLAT NO 2 LOT 16, ALSO PART	OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
435 E WALLED LAKE DR	OF LOTS 17 & 18 BEG AT PT DIST S 84 FT & W				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3521	24 FT FROM NE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$20
WALLED LAINE WII 40030-302 I	ZTITIOWINE				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					IOIAL	Ψ20.00	Ψ20.03	Ψ20.00	Ψ20.03	ΨΖΟ
92-17-34-427-026		0.20	\$665.83	\$133.17	DATE PAID					+
92-17-34-427-026 KEITH VARGO	HILL CROFT SUB S 10 FT OF LOT 18, ALSO ALL	UNIT	φουσ.ου	\$133.17	DATE PAID					+
KEITH VARGO	OF LOT 19, ALSO LOT 20 EXC S 4 FT, ALSO OF	UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
420 MARKET OT	'SUPERVISOR'S PLAT NO 2' PART OF LOT 17				_				*	
432 MARKET ST WALLED LAKE MI 48390-3538	DESC AS BEG AT NE LOT COR, TH S 84 FT, TH				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE WI 48390-3538 231 HILLCROFT	W 44 FT, TH N TO NW LOT COR, TH E 44 FT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390	BEG 10-30-89 FR 012 & 025				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-427-028		0.20	\$665.83	\$133.17	DATE PAID					+
92-17-34-427-026 RICHARD M GARIAN			φουσ.ου	\$133.17	DATE PAID					+
RICHARD IN GARIAN	SUPERVISOR'S PLAT NO 2 E 30 FT OF LOT 15,	UNIT			DALANOE	£400.47	£400.50	Ф <b>7</b> 0.00	<b>#50.07</b>	<b>*</b>
400 MARKET OT	ALSO OF 'HILL CROFT SUB', S 10 FT OF LOT 16,				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
439 MARKET ST	ALL OF LOT 17, ALSO LOT 18 EXC S 10 FT 8-5-94				PRINCIPAL INTEREST	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3539	FR 007 & 024				_	\$0.00	\$0.00	\$0.00	\$0.00 \$26.63	\$0
W16188 SANDTOWN RD					TOTAL	\$26.63	\$26.63	\$26.63	\$20.03	\$26
CURTIS MI 49820		0.00	<b>#</b> 005.00	<b>0.100.17</b>	DATE DAID					+
92-17-34-428-003		0.20	\$665.83	\$133.17	DATE PAID					+
SHEILA J TEUFEL		UNIT			DALANCE	£400.47	¢400.50	Ф <b>7</b> 0 00	<b>Ф</b> ГО 07	000
000 LIII L ODOFT DD	HILL CROFT SUBLOT 22				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
220 HILLCROFT DR	HILL CROFT SUB LOT 26				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-428-006		0.20	\$665.83	\$133.17	DATE PAID					+
92-17-34-428-006 JEAN LAMARCA			80.000¢	φ133.17	DATE PAID					+
JEAN LAWAKUA		UNIT			DALANCE	¢422.47	¢400.50	<b>670.00</b>	<b>¢</b> E0.07	<b>#</b> 00
200 HILL CROET DR	HILL CROFT SUB LOT 23				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
200 HILLCROFT DR	MILL CROFT SUB LOT 23				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3519					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-34-428-007		0.20	\$665.83	\$133.17	DATE PAID			+		+
92-17-34-428-007 JOSEPH PROVENZOLA		0.20 UNIT	88.600¢	φ133.17	DATE PAID					+
JUSEFH FRUVENZULA		UNIT			DALANCE	¢122.47	¢106 52	¢70.00	¢52.07	000
	HILL CROFT SUB LOTS 21 & 22				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
		i I		I	PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
130 HILLCROFT DR					INITEDECT	<u></u>	ውር ሳሳ	ውር ርር	ው	
130 HILLCROFT DR WALLED LAKE MI 48390-3518					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.

Page 109 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<u> </u>	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-428-010		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL K STREHL		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
523 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
WALLED LAKE MI 48390	Coo / lococcoro Cinico for Eagar Bacomption				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
00.47.04.400.044		0.00	<b>#</b> 005.00	<b>#</b> 400.47	DATE DAID					
92-17-34-428-011 JAMES K ARNOLD		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
MICHELLE M ARNOLD		ONT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
	HILL CROFT SUB LOT 31				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5900 TURNBERRY DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
COMMERCE TOWNSHIP MI 48382-4804 92-17-34-428-025		0.20	\$665.83	\$133.17	DATE PAID					
EAST BAY VILLAGE CONDO ASSOC.		UNIT	φουσ.ου	φ133.17	DATE PAID					
27.07 27.1 17.227.02 007.20 7.00007		0.4.1			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
	CLUTZ LAKEVIEW WOODLANDS LOT 18				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
40000 GRAND RIVER AVE STE 100					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
NOVI MI 48375 92-17-34-428-029		0.20	\$665.83	\$133.17	DATE PAID					
DOROTHY VAILLIENCOURT		UNIT	φ003.03	φ133.17	DATEFAID					
DONOTHI VIII ZIIZINGGONI		0.4.1			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
121 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 20				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-34-428-030		0.20	\$665.83	\$133.17	DATE PAID					
JONATHAN SEMIZIAN		UNIT	φοσο.σσ	Ψ100.17	B/(1217(18					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
125 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 21				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-34-428-031		0.20	\$665.83	\$133.17	DATE PAID					
DOUGLAS GIEROSKY		UNIT	4000.00	ψ.σσ						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
129 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 22				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-34-428-032		0.20	\$665.83	\$133.17	DATE PAID					
HALINA NAPIERALA		UNIT	<del>+</del>	Ţ	1					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
133 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 23				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3523					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-34-428-033		0.20	\$665.83	\$133.17	DATE PAID					
HALINA NAPIERALA		UNIT	·	,						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
				II.	PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
133 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 24									
133 LEON RD WALLED LAKE MI 48390-3523	CLUTZ LAKEVIEW WOODLANDS LOT 24				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63

Page 110 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-428-036		0.20	\$665.83	\$133.17	DATE PAID					
BENJAMIN D KNAPP		UNIT								
RENEE M KNAPP	HILL CROFT SUB LOTS 24 & 25				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
212 HILLCROFT DR	HILL CROFT SUB LOTS 24 & 25				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3519					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$20.03
92-17-34-428-039		1.00	\$665.83	\$665.83	DATE PAID					
CHAD APAP		UNIT	***************************************	7000.00						
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
515 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
WALLED LAKE MI 48390-3563					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
92-17-34-428-040		0.20	\$665.83	\$133.17	DATE PAID					
ERIC RABY		UNIT			5	A.co. 1=	<b>^</b>	<b>^</b>	<b>^</b>	***
000 1 111 1 0 D 0 ET D D	HILL CROFT SUB LOTS 27 TO 30 INCL 1-11-02				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
230 HILLCROFT DR WALLED LAKE MI 48390-3520	FR 001 & 002				PRINCIPAL INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00
15081 CAVELL ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
LIVONIA MI 48154					TOTAL	Ψ20.03	\$20.03	Ψ20.03	Ψ20.03	Ψ20.03
92-17-34-429-004		1.00	\$665.83	\$665.83	DATE PAID					
CASEY J AMBROSE		UNIT	ψ000.00	Ψ000.00	DATETAID					
CHRISTY M BROWN		0			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
440 E WALLED LAKE DR	See Assessors Office for Legal Description				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
WALLED LAKE MI 48390-3560					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
92-17-34-429-007		1.00	\$665.83	\$665.83	DATE PAID					
WILLIAM MARCUS		UNIT								
500 5 WALLED LAKE DD	CUREDVICORIC DI ATMO 4 LOT 22 EVO W 0 ET				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.17
536 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 23 EXC W 9 FT				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.17
WALLED LAKE MI 48390-3562					INTEREST TOTAL	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17	\$0.00 \$133.17
					TOTAL	\$133.17	ψ133.1 <i>1</i>	φ133.17	Φ133.17	φ133.17
92-17-34-429-008		3.00	\$665.83	\$1,997.49	DATE PAID					+
WALLED LAKE INVESTMENTS, LLC		UNIT	φοσσ.σσ	Ψ1,007.10	DATE TAILS					
		0			BALANCE	\$1,997.49	\$1,597.99	\$1,198.49	\$799.00	\$399.50
	SUPERVISOR'S PLAT NO. 1 LOT 22				PRINCIPAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399.50
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1711 WOODSBORO					TOTAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399.50
ROYAL OAK MI 48067					1			1		
92-17-34-429-009		1.00	\$665.83	\$665.83	DATE PAID					
TRACY SOLTIS		UNIT			DAI	#00= cc	0500.00	0000 70	<b>#</b> 000 00	0.00
	CUDEDVICODIC DI AT MO 4 I OT 04				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	SUPERVISOR'S PLAT NO. 1 LOT 21				PRINCIPAL INTEREST	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17	\$133.17 \$0.00	\$133.17 \$0.00
561 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$0.00 \$133.17	\$133.17	\$133.17
WALLED LAKE MI 48390-3563					IOIAL	ψ133.17	φ100.17	φ133.17	φ133.17	φ133.11
92-17-34-429-010		1.00	\$665.83	\$665.83	DATE PAID			+		<del>                                     </del>
KEITH VARGO		UNIT	ψοσο.σσ	ψοσο.σσ	5,,,,,,,,,					
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
569 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 20				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
WALLED LAKE MI 48390-3563					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
217 HILLCROFT					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
WALLED LAKE MI 48390										

Page 111 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-429-011		1.00	\$665.83	\$665.83	DATE PAID					
ANA SIEBENALER		UNIT								
					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
566 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 19				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3562					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-429-012		4.00	<u> </u>	\$665.83	DATE PAID					
92-17-34-429-012 DAVID TUCKER		1.00 UNIT	\$665.83	\$605.83	DATE PAID					
BARBARA TUCKER		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
BARBARA TUCKER	SUPERVISOR'S PLAT NO. 1 LOT 18				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	GOI ERVIGOROT EAT NO. 1 EOT 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2025 W ALLEN RD					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
HOWELL MI 48855-9313					TOTAL	ψ133.17	ψ133.17	ψ133.17	ψ133.17	ψιο
92-17-34-429-013		1.00	\$665.83	\$665.83	DATE PAID					
WILLIAM ROBERTS		UNIT	***************************************	***************************************						
ALICIA ROBERTS					BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
584 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 17				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3562					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-429-014		0.00	\$665.83	\$0.00	DATE PAID					
WILLIAM ROBERTS		UNIT								
ALICIA ROBERTS					BALANCE	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
584 E WALLED LAKE DR	SUPERVISOR'S PLAT NO. 1 LOT 16				PRINCIPAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE MI 48390-3562					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
92-17-34-429-015		4.00	\$665.83	\$665.83	DATE PAID					
ROLLIN TUTTLE		1.00 UNIT	φ000.03	\$605.63	DATE PAID					
ROLLIN TOTTLE		UNII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SUPERVISOR'S PLAT NO. 1 LOT 15				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	COLEKVIOOK OT EAT NO. 1 EOT 13				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
11589 HILLCREST DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
KALKASKA MI 49646					101712	Ψ100.11	ψ100.11	ψ100.11	ψ100.11	ψισο
92-17-34-429-018		1.50	\$665.83	\$998.75	DATE PAID					
JOANNE FRANCIS	OUDED VICODIO DI ATAIO O DADT OF LOT OF	UNIT	***************************************	***************************************						
	SUPERVISOR'S PLAT NO 2 PART OF LOT 31				BALANCE	\$998.75	\$799.00	\$599.25	\$399.50	\$199
426 E WALLED LAKE DR	BEG AT NW LOT COR, TH SLY 42 FT, TH ELY 3				PRINCIPAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
WALLED LAKE MI 48390-3560	FT, TH NLY 40 FT, TH N 71-37-50 W 6.23 FT TO BEG, ALSO ALL OF LOT 32 7-7-92 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	DEG, ALGO ALL OF LOT 32 1-1-92 CORK				TOTAL	\$199.75	\$199.75	\$199.75	\$199.75	\$199
92-17-34-429-021		1.00	\$665.83	\$665.83	DATE PAID					
COURTENAY KONET		UNIT					<b>A</b> =0	000	000	
RICHARD GUNTHER	SUPERVISOR'S PLAT NO 1 LOT 24 4-12-07 FR				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
486 E WALLED LAKE DR	019 & 020				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3560	1.12 2.12				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-34-430-001		1.00	\$665.83	\$665.83	DATE PAID		1	1		
EAST BAY VILLAGE CONDO ASSOC.		1.00 UNIT	δα.ςοσφ	\$5.600¢	DATE PAID					
EAST DAT VILLAGE CUNDO ASSUC.		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	CLUTZ LAKEVIEW WOODLANDS LOT 19				PRINCIPAL		\$133.17	\$133.17	\$200.33	\$133
	ASSESSED WITH 17-34-428-025				INTEREST	\$133.17 \$0.00	\$133.17	\$133.17	\$133.17	\$133
40000 GRAND RIVER AVE STE 100					TOTAL	\$0.00 \$133.17	\$133.17	\$133.17	\$133.17	\$133
TUUUU GIVAND INIVEN AVE SIE 100		ii .		II .	IOIAL	ψ100.1 <i>1</i>	ψ1JJ.11	ψ133.17	ψ1JJ.11	ு சால

Page 112 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-430-002		1.00	\$665.83	\$665.83	DATE PAID					
THE LEO GROUP, L.L.C.		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 16				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.1
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
	AGGEGGED WITH 17-54-420-007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
46820 A MAGELLAN DR STE A					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
NOVI MI 48377										
92-17-34-430-003		1.00	\$665.83	\$665.83	DATE PAID					
THE LEO GROUP, L.L.C.		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 15				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	ASSESSED WITH 17-34-428-037				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
46820 A MAGELLAN DR STE A					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
NOVI MI 48377		4.00	<b>#</b> 205.00	<b>*</b>	DATE DAID					
92-17-34-430-004		1.00	\$665.83	\$665.83	DATE PAID					
THE LEO GROUP, L.L.C.		UNIT			DALANOE	<b>#</b> 005.00	<b>#</b> 500.00	#000 F0	\$000.00	\$133.
	CLUTZ LAKEVIEW WOODLANDS LOT 12				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133
	ASSESSED WITH 17-34-428-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
46820 A MAGELLAN DR STE A					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
NOVI MI 48377					TOTAL	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100
92-17-34-430-006		0.75	\$665.83	\$499.37	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		UNIT	φοσο.σσ	φ+33.07	BATETAID					
777 1222 27 17 17 17 18 17 12 12 12 12 12 12 12 12 12 12 12 12 12		O Tu			BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.8
	CLUTZ LAKEVIEW WOODLANDS LOTS 8 & 9				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
	ASSESSED WITH 17-34-431-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.8
WALLED LAKE MI 48390						*			,	
92-17-34-430-007		0.75	\$665.83	\$499.37	DATE PAID					
WALLED LAKE HOMESTEAD LLC		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 5				BALANCE	\$499.37	\$399.50	\$299.62	\$199.75	\$99.
	ASSESSED WITH 17-34-431-004				PRINCIPAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
	ASSESSED WITH 17-34-431-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
136 S PONTIAC TRAIL					TOTAL	\$99.87	\$99.87	\$99.87	\$99.87	\$99.
WALLED LAKE MI 48390-3349										
92-17-34-430-008		1.00	\$665.83	\$665.83	DATE PAID					
FRED YALDO		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 4				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	ASSESSED WITH 17-34-431-005				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
739 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390		4.00	<b>#</b> 005.00	#005.00	DATE DATE					1
92-17-34-430-009		1.00	\$665.83	\$665.83	DATE PAID					
GERALD PLAS		UNIT			DALANOS	<b>#</b> 005.00	<b>#</b> 500.00	\$000 F0	\$000.00	<b>M</b> 400
742 E WALLED LAKE DD	CLUTZ LAKEVIEW WOODLANDS LOT 1				BALANCE	\$665.83 \$133.17	\$532.66	\$399.50	\$266.33	\$133
743 E WALLED LAKE DR WALLED LAKE MI 48390-3568	ASSESSED WITH 17-34-431-006				PRINCIPAL INTEREST	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133.17 \$0.00	\$133 \$0.0
901 BENSTEIN RD					TOTAL	\$0.00 \$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390-5930					IOIAL	ψ100.17	φ133.11	ψ133.17	ψ133.11	φ133.
92-17-34-430-010		1.00	\$665.83	\$665.83	DATE PAID					
DERRICK REA		UNIT	φυυυ.ου	ψυυυ.συ	DATERAID					
DENNION NEA	1	ONLI			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
745 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 1 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3568	17-35-302-022				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	1	11		ii .	101/L	ψ100.17	ψ100.17	ψ100.17	ψ100.17	ψ100.

Page 113 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-430-011		1.00	\$665.83	\$665.83	DATE PAID					
MICHELE TITUS		UNIT								
	WELFARE LAKE VIEW LOT 2 ACCESS FOR 17-				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	35-302-049 8-6-07 CORR				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
0004 TOUR AINE LA					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2024 TOURAINE LN					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
HALF MOON BAY CA 94019		4.00	\$665.83	<b>\$005.00</b>	DATE PAID					
92-17-34-430-012 MICHELE TITUS		1.00 UNIT	\$605.83	\$665.83	DATE PAID					
WICHELE 11103		UNII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	WELFARE LAKE VIEW LOT 3 ACCESS FOR 17-				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	35-302-049 8-6-07 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$133
2024 TOURAINE LN					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
HALF MOON BAY CA 94019					TOTAL	ψ133.17	ψ133.17	ψ133.17	ψ133.17	ψιου
92-17-34-430-013		1.00	\$665.83	\$665.83	DATE PAID					
BEN THORSEN		UNIT	φοσο.σσ	ψ000.00	DATETAID					
DEN THORISEN		O T T T			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	WELFARE LAKE VIEW LOT 4 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	17-35-302-025				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3568						¥	***************************************	· · · · · · · · · · · · · · · · · · ·	<b>V</b>	7
92-17-34-430-014		1.00	\$665.83	\$665.83	DATE PAID					
JAMES BOYLAN		UNIT	*	******						
MARILYN BOYLAN	MELEADE LAKE MEM LOT CACCED MUTU				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	WELFARE LAKE VIEW LOT 5 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	17-35-302-026				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
761 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3568										
92-17-34-431-002		0.20	\$665.83	\$133.17	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	CLUTZ LAKEVIEW WOODLANDS LOT 82				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
136 S PONTIAC TRL					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390										
92-17-34-431-003		0.20	\$665.83	\$133.17	DATE PAID					
WALLED LAKE HOMESTEAD, LLC		UNIT								
	0.1.177.1.177.177.177.177.177.177.177.17				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	CLUTZ LAKEVIEW WOODLANDS LOT 81				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
400 0 DONITIA O TDI					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
136 S PONTIAC TRL					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390		0.40	Ф005 00	<b>#</b> 00.50	DATE DAID					
92-17-34-432-001		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL WALKER	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	<u></u>	<b>ФЕО О</b> 7	¢20.0Г	<b>#</b> 20,02	<b>0.4.0</b>
100 E BAY DR	VILLAGE UNIT 1, BLDG 1 L 26159 P 001 7-30-02				BALANCE PRINCIPAL	\$66.58 \$13.32	\$53.27 \$13.32	\$39.95 \$13.32	\$26.63 \$13.32	\$13. \$13.
100 E BAY DR WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$13.32 \$0.00	\$13.32	\$13.32	\$13.32	\$13
VVALLED LAKE IVII 40390-3320	117 720-022,0230024				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$0. \$13.
					IOIAL	ψ10.02	ψ13.32	Ψ13.32	ψ10.02	ψισ
92-17-34-432-002		0.10	\$665.83	\$66.58	DATE PAID					
DAVID WHANG		UNIT	ψυυυ.υυ	ψυυ.υυ	DATEFAID					
MI KYOUNG WHANG	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
102 E BAY DR	VILLAGE UNIT 2. BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1805 GOLF RIDGE DR	111 120 022,020021				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
BLOOMFIELD HILLS MI 48302		II I			. 5 17 12	Ψ10.02	Ψ10.02	Ψ10.02	ψ10.02	ψ10.

Page 114 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-003		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT D OAK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
104 E BAY DR	VILLAGE UNIT 3, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-004		0.10	\$665.83	\$66.58	DATE PAID					
ROBERT L JOHNSTON JR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
106 E BAY DR	VILLAGE UNIT 4, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-005		0.10	\$665.83	\$66.58	DATE PAID					
BRADLEY C MOSS	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
	VILLAGE UNIT 5, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
108 E BAY DR	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE MI 48390-3526					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
		0.40	<b>^</b>	<b>^</b>	D. 1 == D. 1   D					
92-17-34-432-006		0.10	\$665.83	\$66.58	DATE PAID					
MARK LAMPINEN	CONDOMINIUMA DI ANI NO 4450 EACT DAV	UNIT			DALANIOE	<b>\$00.50</b>	<b>#50.07</b>	<b>#00.05</b>	400.00	040
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
110 E BAY DR	VILLAGE UNIT 6, BLDG 1 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-022,023&024				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-007		0.10	\$665.83	\$66.58	DATE PAID					
CHRISTOPHER OLSON		UNIT	φ000.00	φ00.56	DATE PAID					
SANDRA OLSON	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
111 SANDY LN	VILLAGE UNIT 7, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 46390-3326	117 420-020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	Φ13.32	\$13.32	\$13.32	\$13.32	φ13.
92-17-34-432-008		0.10	\$665.83	\$66.58	DATE PAID					
MARCOS VILLANUEVA		UNIT	ψ000.00	ψ00.50	DATETAID					
MAROOS VILLANGL VA	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
107 SANDY LN	VILLAGE UNIT 8, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1875 HIGHLAND GROVE DR	110 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
DELRAY BEACH FL 33445					101712	Ψ10.02	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ10.0 <u>L</u>	Ψ10.
92-17-34-432-009		0.10	\$665.83	\$66.58	DATE PAID					
KRISTIN HELLMAN		UNIT	Ţ-10.00	<b>+-5.55</b>						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
109 SANDY LN	VILLAGE UNIT 9, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					<u>]                                     </u>					
92-17-34-432-010		0.10	\$665.83	\$66.58	DATE PAID					
NANETTE T LONG		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
103 SANDY LN	VILLAGE UNIT 10, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	1			1	TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					IOIAL	Ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02	ψ10.0

Page 115 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	<b>)</b>	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-011	OF FROILERT	0.10	\$665.83	\$66.58	DATE PAID		ZIVD	OND		0111
JAMES SCHMIEDER		UNIT	ψ000.00	ψ00.50	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	<b></b>	<b>Ф</b> ГО О7	#20.0F	<b>COC CO</b>	£40.00
NOIME SCHMIEDER					_	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
105 SANDY LN	VILLAGE UNIT 11, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
21919 BARCLAY DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48374										
92-17-34-432-012		0.10	\$665.83	\$66.58	DATE PAID					
ABDUL AL ZUBAIDI		UNIT								
FERDOSA AL SAIEGH	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
101 SANDY LN	VILLAGE UNIT 12, BLDG 2 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						ψ.σ.σ <u>2</u>	ψ.σ.σ <u>2</u>	ψ.ιο.ο <u>-</u>	ψ.σ.σ <u>2</u>	ψ.0.02
92-17-34-432-013		0.10	\$665.83	\$66.58	DATE PAID					
CHERYL LEVINE		UNIT	ψ000.00	ψ00.50	DATETAID					
CHERTL LEVINE	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
404 F RAY DR					_		+			
121 E BAY DR	VILLAGE UNIT 13, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5069 BALLAST RD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
SOUTHPORT NC 28461										
92-17-34-432-014		0.10	\$665.83	\$66.58	DATE PAID					
ANTHONY OLIVERI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
123 E BAY DR	VILLAGE UNIT 14, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-015		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL BROCK		UNIT	700000	700.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY	• • • • • • • • • • • • • • • • • • • •			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
125 E BAY DR	VILLAGE UNIT 15, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAIKE WII 40330-3320	1 11 420 022 Q 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	ψ10.0Z	ψ10.02	Ψ10.02	ψ10.0Z	Ψ10.02
92-17-34-432-016		0.10	\$665.83	\$66.58	DATE PAID					
			φ000.03	φ00.36	DATE PAID					
KRISTIN ROUBIE	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			5444405	400 -0	<b>^</b>	****	***	4.0.00
407 F DAY DD	CONDOMINIUM PLAN NO 1452 EAST BAY		1		BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
127 E BAY DR	VILLAGE UNIT 16, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
			1		TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-017		0.10	\$665.83	\$66.58	DATE PAID					
BRYAN D CASEBERE		UNIT	1							
	CONDOMINIUM PLAN NO 1452 EAST BAY		1		BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
129 E BAY DR	VILLAGE UNIT 17, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3526	FR 428-022 & 023		1		INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
			1			,	, ,,,,,,	,	,	, ,,,,,,
92-17-34-432-018		0.10	\$665.83	\$66.58	DATE PAID					
DAVID WHANG		UNIT	<b>\$555.55</b>	400.00	3					
MI KYOUNG WHANG	CONDOMINIUM PLAN NO 1452 EAST BAY	J. 111	1		BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
131 E BAY DR	VILLAGE UNIT 18, BLDG 3 L 26159 P 001 7-30-02		1		PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
	FR 428-022 & 023		1					\$13.32		
WALLED LAKE MI 48390-3526	FN 420-UZZ & UZ3		1		INTEREST	\$0.00	\$0.00		\$0.00	\$0.00
1805 GOLF RIDGE DR			1		TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
BLOOMFIELD HILLS MI 48302									1	

Page 116 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-432-019		0.10	\$665.83	\$66.58	DATE PAID					
KATHY KATKE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
133 E BAY DR	VILLAGE UNIT 19, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1870 RIDGELINE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WOLVERINE MI 49799										
92-17-34-432-020		0.10	\$665.83	\$66.58	DATE PAID					
TADEUSZ LUKAWSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
135 E BAY DR	VILLAGE UNIT 20, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						ψ.σ.σ <u>-</u>	ψ.σ.σ <u>2</u>	ψ.ιο.ιο <u>-</u>	Ţ.0.0 <u>2</u>	ψ.σ.
92-17-34-432-021		0.10	\$665.83	\$66.58	DATE PAID					
ALEKSANDAR JOVANOSKI		UNIT	4000.00	\$55.00						
10, 1115, 111 00 1/1110011	CONDOMINIUM PLAN NO 1452 EAST BAY	0.,,,			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
137 E BAY DR	VILLAGE UNIT 21, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
128 SANDY LN	1 11 420 022 d 025				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390					TOTAL	Ψ10.02	ψ13.32	Ψ13.32	ψ10.0Z	Ψ10.
92-17-34-432-022		0.10	\$665.83	\$66.58	DATE PAID					
NORMAN M PARKER JR			φ000.03	φ00.56	DATE PAID					
	CONDOMINIUM DI ANI NO 1452 EAST DAV	UNIT			DALANCE	<u></u>	<b>Ф</b> ГО О <b>7</b>	Ф20.0F	<b>#00.00</b>	£40
ELLEN S PARKER	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
139 E BAY DR	VILLAGE UNIT 22, BLDG 3 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-022 & 023				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
			<b>^</b>	200 -0	D. 1 == D. 1   D					
92-17-34-432-023		0.10	\$665.83	\$66.58	DATE PAID					
WENDI BROWN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
120 SANDY LN	VILLAGE UNIT 23, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-024		0.10	\$665.83	\$66.58	DATE PAID					
ANSELM Y YAM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
122 SANDY LN	VILLAGE UNIT 24, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-025		0.10	\$665.83	\$66.58	DATE PAID					
DONALD PARSHAL JR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
124 SANDY LN	VILLAGE UNIT 25, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-026		0.10	\$665.83	\$66.58	DATE PAID					
SEAN MULDOON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY	-			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
126 SANDY LN	VILLAGE UNIT 26. BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5047 SUGAR HOLLOW RD	. 17 120 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 117 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-027		0.10	\$665.83	\$66.58	DATE PAID					
PETAR JOVANOSKI		UNIT	•	*****						
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
128 SANDY LN	VILLAGE UNIT 27. BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40030-0020	111 420 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					TOTAL	Ψ10.02	Ψ10.02	ψ10.02	ψ10.0Z	ψ10.0
92-17-34-432-028		0.10	\$665.83	\$66.58	DATE PAID					
			φ005.65	φ00.56	DATE PAID					
SHAWN LEBRESH	CONDOMINIUM DI ANI NO 1452 EAST DAV	UNIT			DALANCE	<b></b>	<b>Ф</b> ГО О <b>7</b>	Ф20.0F	<b>#00.00</b>	<b>#40.0</b>
400 CANDVIN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
130 SANDY LN	VILLAGE UNIT 28, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-029		0.10	\$665.83	\$66.58	DATE PAID					
JARAD HOSSEINI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
132 SANDY LN	VILLAGE UNIT 29, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
41931 WOLFE PASS					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NOVI MI 48377-2867						¥	<b>*</b>	7.0.02	¥1010	7.5.0
92-17-34-432-030		0.10	\$665.83	\$66.58	DATE PAID					
LISA M MENDEZ		UNIT	ψουσ.σσ	ψ00.00	DATETAID					
LIGA III III LIVULL	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
134 SANDY LN	VILLAGE UNIT 30, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	,							· · · · · · · · · · · · · · · · · · ·		
	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1070 LALOND AVE					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WATERFORD MI 48327		0.40	<b>#</b> 005.00	000.50	DATE DAID					
92-17-34-432-031		0.10	\$665.83	\$66.58	DATE PAID					
KOMALJIT BHASIN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
136 SANDY LN	VILLAGE UNIT 31, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-032		0.10	\$665.83	\$66.58	DATE PAID					
MARYBETH NOVITSKY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
138 SANDY LN	VILLAGE UNIT 32, BLDG 4 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					101712	ψ10.0 <u>2</u>	Ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	Ψ10.02	ψιοι
92-17-34-432-033		0.10	\$665.83	\$66.58	DATE PAID				1	
CAROLYN A SCHWEDT		UNIT	ψ000.00	Ψ00.00	DATETAID	1		+	+	
O.M.OLIN A COMMEDI	CONDOMINIUM PLAN NO 1452 EAST BAY	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
141 E BAY DD	VILLAGE UNIT 33, BLDG 5 L 26159 P 001 7-30-02									
141 E BAY DR					PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
00.47.04.400.004		0.40	<b>#005.00</b>	<b>#00.50</b>	DATE DATE		<u> </u>	1	1	1
92-17-34-432-034		0.10	\$665.83	\$66.58	DATE PAID					
THOMAS E CARLSON	001100111111111111111111111111111111111	UNIT								
KAY F CARLSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
143 E BAY DR	VILLAGE UNIT 34, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
MALLED LAKE ML40200 2526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40390-3320										
WALLED LAKE MI 48390-3526					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3

Page 118 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			·	INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
92-17-34-432-035		0.10	\$665.83	\$66.58	DATE PAID					
MAURO CORNO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
145 E BAY DR	VILLAGE UNIT 35, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1377 PINECREST CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WIXOM MI 48393										
92-17-34-432-036		0.10	\$665.83	\$66.58	DATE PAID					
MARY DAAR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
147 E BAY DR	VILLAGE UNIT 36, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-037		0.10	\$665.83	\$66.58	DATE PAID					
DARRYL STOLARCZYK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
149 E BAY DR	VILLAGE UNIT 37, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2824 PINE BLFS					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
HIGHLAND MI 48357		_							1	1
92-17-34-432-038		0.10	\$665.83	\$66.58	DATE PAID					
KRISTEN ROBB		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
151 E BAY DR	VILLAGE UNIT 38, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-039		0.40	\$665.83	ФСС <b>Г</b> О	DATE PAID					
JUERGEN PENKER		0.10	\$605.63	\$66.58	DATE PAID					
JUERGEN PENKER	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE	<b>\$00.50</b>	ФE0.07	<b>#00.05</b>	<b>#00.00</b>	<b>#</b> 40
152 E DAV DD	VILLAGE UNIT 39, BLDG 5 L 26159 P 001 7-30-02				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
153 E BAY DR	FR 428-020				PRINCIPAL INTEREST	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32	\$13.32 \$0.00	\$13. \$0.
WALLED LAKE MI 48390-3526 50714 CENTURY CT	FN 420-020				TOTAL	\$13.32	\$13.32	\$0.00 \$13.32	\$13.32	\$13.
WIXOM MI 48393					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-040		0.10	\$665.83	\$66.58	DATE PAID					
SEAN T HYLAND		UNIT	ψ000.00	φυυ.υυ	DATEFAID					
VERIT I II LAND	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
155 E BAY DR	VILLAGE UNIT 40, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						,	,	,	,	7.0
92-17-34-432-041		0.10	\$665.83	\$66.58	DATE PAID					
GEORGE K RILEY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
157 E BAY DR	VILLAGE UNIT 41, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
00.47.04.400.040		0.40	<b>#</b> 005.00	<b>#00.50</b>	DATE DATE			1		1
92-17-34-432-042		0.10	\$665.83	\$66.58	DATE PAID			-		
RANDAL ST LAURENT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	ФОС <b>Т</b> О	<b>Ф</b> ГО 07	#20.0F	<b>#</b> 20,02	<b>040</b>
150 E BAY DB					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
159 E BAY DR WALLED LAKE MI 48390-3526	VILLAGE UNIT 42, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
	FR 428-020	ii I			INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40330-3320		l l			TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 119 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TI
92-17-34-432-043		0.10	\$665.83	\$66.58	DATE PAID					
KATHY M KRAMAR		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
161 E BAY DR	VILLAGE UNIT 43, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-044		0.10	\$665.83	\$66.58	DATE PAID					
BRYAN R MASI		UNIT								
LAURIE J MASI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
163 E BAY DR	VILLAGE UNIT 44, BLDG 5 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3526	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-045		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL CRAIG	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	ФСС <b>Г</b> О	<b>ФГО О</b> 7	Ф20.0 <u>Г</u>	<b>COC CO</b>	£40
440 04NDVIN					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
140 SANDY LN	VILLAGE UNIT 45, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-046		0.10	\$665.83	\$66.58	DATE PAID					
GARY BENEDICT		UNIT	ψ003.03	ψ00.36	DATEFAID					
GART BENEDICT	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
142 SANDY LN	VILLAGE UNIT 46, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40330-3320	111 420 020				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	ψ10.0 <u>2</u>	ψ10.02	ψ10.02	ψ10.02	Ψ10.
92-17-34-432-047		0.10	\$665.83	\$66.58	DATE PAID					
CARMEN L HERNANDEZ		UNIT	*	******						
ISOBEL HERNANDEZ	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
144 SANDY LN	VILLAGE UNIT 47, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						ψ.σ.σ <u>-</u>	ψ.σ.σ <u>2</u>	ψ.σ.σ <u>2</u>	<b>V.0.02</b>	ψ.σ.
92-17-34-432-048		0.10	\$665.83	\$66.58	DATE PAID					
RAYMOND L OSENROTH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
146 SANDY LN	VILLAGE UNIT 48, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-049		0.10	\$665.83	\$66.58	DATE PAID					
RYAN MONROE	CONDOMINIUM DI ANI NO 4450 EAGT DAY	UNIT			DAI 43300	<b>400 70</b>	050.05	000.07	000.00	A
440 041/07/11	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
148 SANDY LN	VILLAGE UNIT 49, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2237 MANOR CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
CLEARWATER FL 33763		0.40	<b>#</b> 005.00	<b>#00.50</b>	DATE DATE					
92-17-34-432-050		0.10	\$665.83	\$66.58	DATE PAID					
LEAISA MCCARTY	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	<b>የ</b> ድድ ፫ 0	<b>\$50.07</b>	¢20.05	¢20.00	<b>#40</b>
4FO CANDVIN					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
150 SANDY LN	VILLAGE UNIT 50, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32 \$0.00	\$13.32 \$0.00	\$13. \$0.
MALLED LAKE ML 40000 0500								w(1) (1)(1)	W(1) (1(1)	- wn
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$13.32	\$13.32	\$13.

Page 120 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-051		0.10	\$665.83	\$66.58	DATE PAID					
RAYMOND FOLDEN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
152 SANDY LN	VILLAGE UNIT 51, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-052		0.10	\$665.83	\$66.58	DATE PAID					
RYAN SUTTER		UNIT	ψ000.00	ψ00.50	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	J			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
154 SANDY LN	VILLAGE UNIT 52, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						•		,		
92-17-34-432-053		0.10	\$665.83	\$66.58	DATE PAID					
SERGEY PESCH	00010004001110401040104450505007004	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
156 SANDY LN	VILLAGE UNIT 53, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-054		0.10	\$665.83	\$66.58	DATE PAID					
MARC ALEXANDER		UNIT	ψουσ.σσ	400.00	2711217112					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
158 SANDY LN	VILLAGE UNIT 54, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1405 VANSTONE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
COMMERCE TWP MI 48382										
92-17-34-432-055		0.10	\$665.83	\$66.58	DATE PAID					
IGOR GARCIA	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			5	400.70	<b>^</b>	****	200.00	<b>1</b>
ELIZABETH MALONEY-HAHN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
160 SANDY LN	VILLAGE UNIT 55, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-056		0.10	\$665.83	\$66.58	DATE PAID					
ELLEN DEMRAY TRUSTEE		UNIT	*****	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
162 SANDY LN	VILLAGE UNIT 56, BLDG 6 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3528	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-057		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-057 MICHAEL WUNKEL		0.10 UNIT	δQ.C00Φ	δC.00φ	DATE PAID					
MONAL HOMEL	CONDOMINIUM PLAN NO 1452 EAST BAY	0.411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
160 CLUB HOUSE CIR	VILLAGE UNIT 57. BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
3333 3332					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					1					
92-17-34-432-058		0.10	\$665.83	\$66.58	DATE PAID					
MARK KAJY	CONDOMINIUM DI ANIMO 4452 EACT DAV	UNIT			DALANOE	<b>#</b> 00.50	ФE0.07	#20.0F	#00.00	<b>640</b>
162 CLUB HOUSE CIP	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 58, BLDG 7 L 26159 P 001 7-30-02				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
162 CLUB HOUSE CIR	FR 428-020				PRINCIPAL	\$13.32 \$0.00	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532 12383 CALLE ALBARA APT 4	r* N 420-U2U				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0. \$13.
17JOH CALLE ALDAKA APL 4				II .	LUIAL	D 1.3.3/	1 01.3.3/	⊨ ຫ⊥ວ.ວ∠	⊨ ຫ⊥ວ.ວ∠	ı DIJ.

Page 121 of 172 6/4/2015 4:25 PM

AND ADDRESS 92-17-34-432-059 ELIZABETH C SKIKUN  164 CLUB HOUSE CIR WALLED LAKE MI 48390-3532	OF PROPERTY  CONDOMINIUM PLAN NO 1452 EAST BAY	FRONTAGE 0.10	PER	CHARGE		2015 1ST	2016 2ND	2017 3RD	2018 4TH	2019
92-17-34-432-059 <i>ELIZABETH C SKIKUN</i> 164 CLUB HOUSE CIR				CHARGE		1ST	SNID	3BD	<b>∕</b> /TH	
ELIZABETH C SKIKUN  164 CLUB HOUSE CIR	CONDOMINIUM DI ANI NO 1452 EAST PAV	0.10				101	ZIND	SIND	7111	5TH
164 CLUB HOUSE CIR	CONDOMINIUM DI AN NO 1452 EAST DAY		\$665.83	\$66.58	DATE PAID					
		UNIT								
					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
WALLED LAKE MI 48390-3532	VILLAGE UNIT 59, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-060		0.10	\$665.83	\$66.58	DATE PAID					
BOBAN RISTOVSKI		UNIT	φ003.63	φ00.56	DATE PAID					
BOBAN NOTOVON	CONDOMINIUM PLAN NO 1452 EAST BAY	O I VIII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
166 CLUB HOUSE CIR	VILLAGE UNIT 60. BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					1017.2	ψ.σ.σ <u>=</u>	ψ.σ.σ <u>-</u>	<b>V.0.02</b>	<b>V.0.02</b>	ψ.σ.
92-17-34-432-061		0.10	\$665.83	\$66.58	DATE PAID					
ALLEN HAJDUK		UNIT								
HEATHER HAJDUK	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
168 CLUB HOUSE CIR	VILLAGE UNIT 61, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-062		0.10	\$665.83	\$66.58	DATE PAID					
DAVID HEATHCOTE		UNIT	ψ003.03	ψ00.50	DATETAID					
SUZETTE HEATHCOTE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
170 CLUB HOUSE CIR	VILLAGE UNIT 62, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
49744 PARKSIDE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168						• • • • • • • • • • • • • • • • • • • •				
92-17-34-432-063		0.10	\$665.83	\$66.58	DATE PAID					
AIMEE BOYETTE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
172 CLUB HOUSE CIR	VILLAGE UNIT 63, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-064		0.10	\$665.83	\$66.58	DATE PAID					
MEGAN BOLAND		UNIT	ψ003.03	Ψ00.30	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
174 CLUB HOUSE CIR	VILLAGE UNIT 64, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532	FR 428-020				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
		1								
92-17-34-432-065		0.10	\$665.83	\$66.58	DATE PAID					
RAMINDER CHHATWAL	CONDOMINIUM DI ANINO 4450 FACT DAY	UNIT			DALANCE	<b>#</b> 00.50	ФE0.07	<b>#20.05</b>	<b>#</b> 00.00	M40
470 OLLIP LIQUICE CIP	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
176 CLUB HOUSE CIR	VILLAGE UNIT 65, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3532 28077 HICKORY	FR 428-020				INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00 \$13.32	\$0.
FARMINGTON HILLS MI 48331		į J			IOIAL	\$13.32	\$13.32	\$13.32	Φ13.3∠	\$13.
92-17-34-432-066		0.10	\$665.83	\$66.58	DATE PAID					
DANIEL SLOWINS		UNIT	·	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
178 CLUB HOUSE CIR	VILLAGE UNIT 66, BLDG 7 L 26159 P 001 7-30-02				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
176 CLOB HOUSE CIR	ED 100 000	il J		1	INTEREST	\$0.00	\$0.00	<b>ФО ОО</b>	00.00	Φ0
WALLED LAKE MI 48390-3532	FR 428-020	ų l			INTEREST	\$13.32	\$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.0 \$13.

Page 122 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-067		0.10	\$665.83	\$66.58	DATE PAID					
JAMES W ROSE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
415 BOARDWALK DR	VILLAGE UNIT 67, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
24814 BROMPTON WAY CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
LYON TWP MI 48178										
92-17-34-432-068		0.10	\$665.83	\$66.58	DATE PAID					
WALLED LAKE HOMESTEAD LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
417 BOARDWALK DR	VILLAGE UNIT 68, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
136 S PONTIAC TRL					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390										
92-17-34-432-069		0.10	\$665.83	\$66.58	DATE PAID					
ELENA TATIANA VLAD		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
411 BOARDWALK DR	VILLAGE UNIT 69, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-070		0.10	\$665.83	\$66.58	DATE PAID					
JASON BAYLIS		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
413 BOARDWALK DR	VILLAGE UNIT 70, BLDG 8 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-071		0.10	\$665.83	\$66.58	DATE PAID					
SRIKANTH LOGANATHAN	001100111111111111111111111111111111111	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
410 BOARDWALK DR	VILLAGE UNIT 71, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
6352 PINE FIELD DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
HILLIARD OH 43026			A	400.50						
92-17-34-432-072		0.10	\$665.83	\$66.58	DATE PAID					
BRIGITT GOLDMAN	CONDOMINIUM DI ANINO 4450 FACT DAV	UNIT			5	400 =0	<b>^</b> -	***	***	
440 000 000 000 000 000	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
412 BOARDWALK DR	VILLAGE UNIT 72, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
5806 MILL POND CT WEST BLOOMFIELD MI 48322					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-073		0.10	\$665.83	\$66.58	DATE PAID			1		1
STACY AMBROZIAK		UNIT	80.000¢	ος.σοφ	DATE PAID					
STACT AWDRULIAN	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
414 BOARDWALK DR	VILLAGE UNIT 73, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
46352 PINEHURST DR	11(11-00-001-000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					IOIAL	ψ10.02	ψ13.32	ψ10.02	ψ10.02	ψ13.
92-17-34-432-074		0.10	\$665.83	\$66.58	DATE PAID					
KALIOPE CHRISTO		UNIT	ψυυυ.υυ	ψ00.00	DATEFAID			1		
75.2.57 £ 077107 0	CONDOMINIUM PLAN NO 1452 EAST BAY	01411			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
416 BOARDWALK DR	VILLAGE UNIT 74. BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
TT LEED LY INC IVII TOOSO OOTT	11(1) 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.

Page 123 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-075		0.10	\$665.83	\$66.58	DATE PAID					
RAHUL BASHO		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
418 BOARDWALK DR	VILLAGE UNIT 75, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
231 WOODLAND TRL					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
HANNIBAL MO 63401										
92-17-34-432-076		0.10	\$665.83	\$66.58	DATE PAID					
MELISSA DELONGE	CONDOMINIUMA DI ANIMO 4450 FACT DAV	UNIT			DALANIOE	000.50	<b>#50.07</b>	<b>#00.05</b>	000.00	0.10
400 BOARDWALK BR	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
420 BOARDWALK DR	VILLAGE UNIT 76, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-077		0.10	\$665.83	<b>\$66.50</b>	DATE PAID					
92-17-34-432-077 ROBYN A WEHAB		0.10 UNIT	\$605.83	\$66.58	DATE PAID					
NOD IN A WERAD	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
422 BOARDWALK DR	VILLAGE UNIT 77, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13. \$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE IVII 40090-0044	11(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					101712	ψ10.0 <u>L</u>	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	Ψ10.02	Ψ10.
92-17-34-432-078		0.10	\$665.83	\$66.58	DATE PAID					
MARY ANN SZWABOWSKI		UNIT	***************************************	400.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
424 BOARDWALK DR	VILLAGE UNIT 78, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-079		0.10	\$665.83	\$66.58	DATE PAID					
SHANE BESLOCK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
426 BOARDWALK DR	VILLAGE UNIT 79, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
00.47.04.400.000		0.40	<b>#</b> 005.00	400.50	DATE DAID					
92-17-34-432-080		0.10	\$665.83	\$66.58	DATE PAID					
GARY SCHOENBORN	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	¢cc Eo	¢52.07	\$20.0E	¢26.62	<b>#40</b>
428 BOARDWALK DR	VILLAGE UNIT 80, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$66.58 \$13.32	\$53.27 \$13.32	\$39.95 \$13.32	\$26.63 \$13.32	\$13. \$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5025 FAIRGROVE LN	11(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
COMMERCE TOWNSHIP MI 48382					101/12	ψ10.02	ψ10.02	ψ10.02	ψ10.0Z	ψ10.
92-17-34-432-081		0.10	\$665.83	\$66.58	DATE PAID				1	
HEATHER KNIGHT		UNIT	+5.00	7-5.00						
-	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
430 BOARDWALK DR	VILLAGE UNIT 81, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
105 LAKE PINES DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
BRIGHTON MI 48114					<u> </u>					
		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-082	1	UNIT			1					
92-17-34-432-082 JANICE WEBBER				II .	D 41 4 410 E	A00 F0	ФEO 07	Φ20.0F	<b>#00.00</b>	<b>040</b>
JANICE WEBBER	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	
JANICE WEBBER 432 BOARDWALK DR	VILLAGE UNIT 82, BLDG 9 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13. \$13.
JANICE WEBBER										

Page 124 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-083		0.10	\$665.83	\$66.58	DATE PAID					
JOSHUA REDER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
434 BOARDWALK DR	VILLAGE UNIT 83, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					<u> </u>					
92-17-34-432-084		0.10	\$665.83	\$66.58	DATE PAID					
KRISTIE L TERK	CONDOMINIUM DI ANIMO 4452 FACT DAV	UNIT			DALANOE	<b>\$00.50</b>	<b>#</b> 50.07	\$00.0F	<b>#00.00</b>	<b>C40.00</b>
400 DO ADDIMALK DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
436 BOARDWALK DR	VILLAGE UNIT 84, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-085		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-065 NATHAN W BARRETT		UNIT	φ000.03	\$00.30	DATE PAID					
CANDIDA D BARRETT	CONDOMINIUM PLAN NO 1452 EAST BAY	OINIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
438 BOARDWALK DR	VILLAGE UNIT 85, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00		\$0.00	\$0.00
WALLED LAKE WII 40390-3344	11/17-55-501-050				TOTAL	\$13.32	\$13.32	\$0.00 \$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-086		0.10	\$665.83	\$66.58	DATE PAID					
STEPHEN WOIROL		UNIT	ψ003.03	Ψ00.50	DATETAID					
STEI HEN WOINGE	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
440 BOARDWALK DR	VILLAGE UNIT 86, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LANE IVII 40090-0044	11(17-55-501-050				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	Ψ10.02	ψ10.02	ψ10.02	Ψ10.02	Ψ10.02
92-17-34-432-087		0.10	\$665.83	\$66.58	DATE PAID					
RICHARD SMITH		UNIT	*	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
442 BOARDWALK DR	VILLAGE UNIT 87, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-088		0.10	\$665.83	\$66.58	DATE PAID					
TONG GE		UNIT								
WEIWEN CHEN	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
444 BOARDWALK DR	VILLAGE UNIT 88, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
15508 PRESTWICK CIR N					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-089		0.10	\$665.83	\$66.58	DATE PAID					
AMY FRIEDMAN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
446 BOARDWALK DR	VILLAGE UNIT 89, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
02.47.24.422.000		0.40	фоот оо	\$00.50	DATE DAID	<u> </u>		1	1	1
92-17-34-432-090		0.10	\$665.83	\$66.58	DATE PAID					
NICHOLAS BUNKLEY	CONDOMINIUM DI ANI NO 4450 EACT DAY	UNIT			DALANCE	<b>#00.50</b>	<b>#</b> FC 07	#00 0F	#00 00	040.00
NIKA SCHULTS	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
448 BOARDWALK DR	VILLAGE UNIT 90, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
178 EASTON DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
SOUTH LYON MI 48178										

Page 125 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-091		0.10	\$665.83	\$66.58	DATE PAID					
HEATHER L HARRINGTON		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
450 BOARDWALK DR	VILLAGE UNIT 91, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		2.42	<b>^</b>	<b>^</b>	5.75 5.45					
92-17-34-432-092		0.10	\$665.83	\$66.58	DATE PAID					
KRISTI HANSON	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			DALANOE	<b>#00.50</b>	<b>#50.07</b>	<b>\$00.05</b>	<b>#00.00</b>	£40.00
450 00 4 00 14 14 14 00	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
452 BOARDWALK DR	VILLAGE UNIT 92, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.400.000		0.40	<b>#</b> 005.00	<b>\$00.50</b>	DATE DAID					
92-17-34-432-093		0.10	\$665.83	\$66.58	DATE PAID					
CHARLES D SCOGGINS	CONDOMINIUM DI ANI NO 1453 EACT DAV	UNIT			DALANOE	<b>#00.50</b>	<b>#50.07</b>	<b>#00.05</b>	<b>#00.00</b>	£40.00
454 004 001 114 114 00	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
454 BOARDWALK DR	VILLAGE UNIT 93, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.400.004		0.40	ФООТ 00	<b>\$00.50</b>	DATE DAID					
92-17-34-432-094		0.10	\$665.83	\$66.58	DATE PAID					
JOHN BREVIK	CONDOMINIUM DI ANI NO 1453 EACT DAV	UNIT			DALANOE	<b>#00.50</b>	<b>#50.07</b>	<b>#00.05</b>	<b>#00.00</b>	£40.00
450 00 4 00 14 14 14 00	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
456 BOARDWALK DR	VILLAGE UNIT 94, BLDG 10 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3544	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-095		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-093 GERALD ADAMS		UNIT	φ005.65	φ00.56	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
KAREN ADAMS	VILLAGE UNIT 95, BLDG 11 L 26159 P 001 1-21-03				BALANCE	\$13.32	•	· · · · · · · · · · · · · · · · · · ·	\$13.32	\$13.32
423 OLD PINE WAY	FR 17-35-301-036				PRINCIPAL		\$13.32	\$13.32		
WALLED LAKE MI 48390-3546	FK 17-30-301-030				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
369 W THIRD ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
HARBOR SPRINGS MI 49740 92-17-34-432-096		0.10	\$665.83	\$66.58	DATE PAID				1	-
CHRISTOPHER CHAPUT		UNIT	φουσ.οσ	Ф00.00	DATE PAID					
CHRISTOPHER CHAPUT	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	<b></b>	<b>ሰ</b> ርር 07	Ф20.0F	<b>COC CO</b>	£40.00
440 OLD DINE WAY	VILLAGE UNIT 96, BLDG 11 L 26159 P 001 1-21-03				PRINCIPAL	\$66.58	\$53.27 \$13.32	\$39.95 \$13.32	\$26.63 \$13.32	\$13.32 \$13.32
419 OLD PINE WAY	FR 17-35-301-036					\$13.32			· ·	
WALLED LAKE MI 48390-3546	FK 17-30-301-030				INTEREST	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00	\$0.00	\$0.00 \$13.32
105 DUANE ST PSC B NEW YORK NY 10007					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-097		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-097 TAMARA LOUD		UNIT	φυυο.οο	φυυ.30	DATE PAID					
I AMANA LOOD	CONDOMINIUM PLAN NO 1452 EAST BAY	UINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
421 OLD PINE WAY	VILLAGE UNIT 97, BLDG 11 L 26159 P 001 1-21-03				PRINCIPAL	\$66.58 \$13.32	\$53.27 \$13.32	· · · · · · · · · · · · · · · · · · ·	\$26.63	\$13.32 \$13.32
WALLED LAKE MI 48390-3546	FR 17-35-301-036				INTEREST	\$13.32	\$0.00	\$13.32 \$0.00	\$13.32	\$13.32
WALLED LAKE IVII 4009U-0040	117.17-30-301-030				TOTAL	\$0.00 \$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	ψ10.32	ψ13.32	ψ13.32	ψ13.32	φ13.32
92-17-34-432-098		0.10	\$665.83	\$66.58	DATE PAID					
52-17-34-432-096 KEVIN PFEIFLE		UNIT	ψυυυ.υυ	ψ00.00	DATEFAID				1	
JULIE HALL	CONDOMINIUM PLAN NO 1452 EAST BAY	CIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
	VILLAGE UNIT 98, BLDG 11 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
A15 OLD DINE WAY				1	FRINGIFAL	カ 1 3 . 3 と	φ13.32	φ13.3Z	φ13.3Z	φ13.32
415 OLD PINE WAY	,				INITEDEST		00.02	00.02	00.02	ድስ ሰብ
415 OLD PINE WAY WALLED LAKE MI 48390-3546 222 E ORCHARD ST	FR 17-35-301-036				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32

Page 126 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-099		0.10	\$665.83	\$66.58	DATE PAID					
JOHN L TAGGART		UNIT								
SARA K TAGGART	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
417 OLD PINE WAY	VILLAGE UNIT 99, BLDG 11 L 26159 P 001 1-21-03				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22299 ANTLER DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NOVI MI 48375					TOTAL	Ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02
92-17-34-432-100		0.10	\$665.83	\$66.58	DATE PAID					
DARLINE ELREDA		UNIT	φ000.03	φ00.36	DATE PAID					
DARLINE ELREDA	CONDOMINIUM DI ANINO 4450 FACT DAV	UNIT			DALANOE	<b>\$00.50</b>	<b>#FO 07</b>	<b>#00.05</b>	<b>#00.00</b>	<b>#40.00</b>
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
411 OLD PINE WAY	VILLAGE UNIT 100, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1410 LEED WOOD RDG					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
COMMERCE TOWNSHIP MI 48390										
92-17-34-432-101		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL ZELDES		UNIT		·						
-	CONDOMINIUM PLAN NO 1452 EAST BAY	-			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
413 OLD PINE WAY	VILLAGE UNIT 101, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40090-0040	0011(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	ψ13.32	Ψ13.32	ψ13.3Z	ψ13.3Z	ψ13.32
92-17-34-432-102		0.10	\$665.83	\$66.58	DATE PAID					+
			φοοσ.οσ	Φ00.30	DATE PAID					
BRETT A CARPANI	00010004101111041010445054055407	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
407 OLD PINE WAY	VILLAGE UNIT 102, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-103		0.10	\$665.83	\$66.58	DATE PAID					
BASEL HAMZEH		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
409 OLD PINE WAY	VILLAGE UNIT 103, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAIKE WII 40090-0040	0011(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.400.404		0.40	<b>#</b> 005.00	<b>COO. 50</b>	DATE DAID					
92-17-34-432-104		0.10	\$665.83	\$66.58	DATE PAID					
STEVE BLOOM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
403 OLD PINE WAY	VILLAGE UNIT 104, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6517 ROSEBERRY CIR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WEST BLOOMFIELD MI 48322										
92-17-34-432-105		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL A LEZOTTE		UNIT	*	*						
	CONDOMINIUM PLAN NO 1452 EAST BAY	0.111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
405 OLD PINE WAY	VILLAGE UNIT 105, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
MATER TAVE INI 409A0-9940	03   13   17-30-30   -030									
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.400.400		0.10	<b>#</b> 005.00	<b>#00.50</b>	DATE DAID		1			1
92-17-34-432-106		0.10	\$665.83	\$66.58	DATE PAID					1
WENDYE MINGO		UNIT								1
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
404 OLD DINE WAY	VILLAGE UNIT 106, BLDG 11 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
401 OLD PINE WAY										
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	03 FR 17-35-301-036				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32

Page 127 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-107		0.10	\$665.83	\$66.58	DATE PAID					
ELLEN OPPENHEIM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
445 OLD PINE WAY	VILLAGE UNIT 107, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
02.47.24.422.400		0.10	¢cc= 02	¢cc 50	DATE PAID					
92-17-34-432-108 MICHELLE S SKLAR		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
MICHELLE O SKLAR	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
447 OLD PINE WAY	VILLAGE UNIT 108, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 46390-3340	0311(17-33-301-030				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	φ13.32	\$13.32	\$13.32	\$13.32	<b>Φ13.</b>
92-17-34-432-109		0.10	\$665.83	\$66.58	DATE PAID					
ALAN BOBERG		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
441 OLD PINE WAY	VILLAGE UNIT 109, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-110		0.10	\$665.83	\$66.58	DATE PAID					
JESSICA PERRECA		UNIT	£0.000	ф00.00	DATE PAID					
JACLYN PERRECA	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
443 OLD PINE WAY	VILLAGE UNIT 110. BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 46390-3346	0311(17-33-301-030				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	ψ13.32	ψ13.3Z	ψ13.32	ψ13.32	ψ13.
92-17-34-432-111		0.10	\$665.83	\$66.58	DATE PAID					
SUE VANLANDINGHAM		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
437 OLD PINE WAY	VILLAGE UNIT 111, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
00.47.04.400.440		0.40	<b>#</b> 005.00	#00.50	DATE DAID					
92-17-34-432-112 SUNDARA E PANDIYAN		0.10 UNIT	\$665.83	\$66.58	DATE PAID					
SHOBANA A VINCENT	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
439 OLD PINE WAY	VILLAGE UNIT 112, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
**ALLED LANE IVII 40330-3340	0511(17-55-501-050				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					IOIAL	ψ10.32	ψ13.32	ψ13.32	ψ13.32	φ13.
92-17-34-432-113		0.10	\$665.83	\$66.58	DATE PAID					1
JOESEPH CURTIS NETHER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
433 OLD PINE WAY	VILLAGE UNIT 113, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4558 MAPLE CREEK					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WEST BLOOMFIELD MI 48322										
92-17-34-432-114		0.10	\$665.83	\$66.58	DATE PAID					
CASEY BEAR	001701111111111111111111111111111111111	UNIT								1
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
435 OLD PINE WAY	VILLAGE UNIT 114, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1996 HAYNES					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
BIRMINGHAM MI 48009	<b> </b>	II I		1	1		1	1	1	1

Page 128 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-115		0.10	\$665.83	\$66.58	DATE PAID					
TOM CLACHER JR		UNIT	*	*						
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
429 OLD PINE WAY	VILLAGE UNIT 115, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE WII 40000	0011(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	ψ13.32	ψ13.32	ψ13.32	ψ13.3Z	ψ13.32
92-17-34-432-116		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-116 SUSAN MATVEYEVA			φ000.03	φου.30	DATE PAID					
	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			DALANIOE	<b>#00.50</b>	<b>#50.07</b>	<b>#00.05</b>	000.00	<b>0.10.0</b>
NADIA MATVEYEVA	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
431 OLD PINE WAY	VILLAGE UNIT 116, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-117		0.10	\$665.83	\$66.58	DATE PAID					
AZIZA YATOOMA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
425 OLD PINE WAY	VILLAGE UNIT 117, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40030-0040	0011(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					TOTAL	Ψ10.02	ψ10.0Z	ψ10.0Z	ψ10.0Z	ψ10.0
92-17-34-432-118		0.10	\$665.83	\$66.58	DATE PAID					
			φ000.03	φου.30	DATE PAID					
JOHN C WELCH	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			5444405	A.o	<b>^</b> -	****	***	0100
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
427 OLD PINE WAY	VILLAGE UNIT 118, BLDG 12 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
12140 LUCCA ST APT 202					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
FORT MYERS FL 33966										
92-17-34-432-119		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
469 OLD PINE WAY	VILLAGE UNIT 119, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	0011(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168					TOTAL	\$13.32	\$13.32	\$13.32	ψ13.3Z	φ13.3
		0.40	<b>\$005.00</b>	<b>COO. CO</b>	DATE DAID					
92-17-34-432-120		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT					<b>A</b>	<b>A</b>		
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
471 OLD PINE WAY	VILLAGE UNIT 120, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168										
92-17-34-432-121		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
465 OLD PINE WAY	VILLAGE UNIT 121, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	00111111 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168					IOIAL	ψ10.02	ψ10.02	ψ13.32	ψ10.02	φ13.3
		0.40	ФССТ 0.0	<b>\$60.50</b>	DATE DAID				+	+
92-17-34-432-122		0.10	\$665.83	\$66.58	DATE PAID				1	
SANT/HADASH EAST BAY VILLAGE LLC	001/001/01/01/01/01/01/01/01/01/01/01/01	UNIT				400 =0	<b>^</b>	****	200.00	0.1-
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
467 OLD PINE WAY	VILLAGE UNIT 122, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3

Page 129 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-123		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
461 OLD PINE WAY	VILLAGE UNIT 123, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168						¥.5.5	¥.3.5=	Ţ.0.0=	Ţ <u></u>	¥
92-17-34-432-124		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	φοσ.σσ	D/((E1/(ID					
CANTINIADAGIT EAGT BAT VILLAGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	Olviii			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
463 OLD PINE WAY	VILLAGE UNIT 124, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011(17 00 001 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					TOTAL	Ψ10.02	Ψ10.02	ψ10.0Z	Ψ10.02	ψ10.0Z
92-17-34-432-125		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ003.03	ψ00.30	DATEFAID					
SANT/NADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
457 OLD DINE WAY	VILLAGE UNIT 125, BLDG 13 L 26159 P 001 1-21-				_		\$13.32	· ·	,	\$13.32
457 OLD PINE WAY	03 FR 17-35-301-036				PRINCIPAL	\$13.32		\$13.32	\$13.32	
WALLED LAKE MI 48390-3546 7754 HIDDEN RIDGE LN	03 FK 17-33-301-030				INTEREST TOTAL	\$0.00	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168		0.40	<b>\$005.00</b>	<b>#</b> 00.50	DATE DAID					
92-17-34-432-126		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM BLANCHO 4450 FACT BAY	UNIT			5444405	A	<b>^</b>	400.00	400.00	<b>*</b> • • • • • • • • • • • • • • • • • • •
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
459 OLD PINE WAY	VILLAGE UNIT 126, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-127		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
453 OLD PINE WAY	VILLAGE UNIT 127, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-128		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
455 OLD PINE WAY	VILLAGE UNIT 128, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-129		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
451 OLD PINE WAY	VILLAGE UNIT 129, BLDG 13 L 26159 P 001 1-21-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 17-35-301-036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-130		0.10	\$665.83	\$66.58	DATE PAID					
RALPH F NEWMAN		UNIT	*	7						
RUTH A NEWMAN	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
	VILLAGE UNIT 130. BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
402 OLD PINE WAY										Ψ I U.UZ
402 OLD PINE WAY WALLED LAKE MI 48390-3546										\$0.00
402 OLD PINE WAY WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32

Page 130 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-131		0.10	\$665.83	\$66.58	DATE PAID					
DAVID VERDUYN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
404 OLD PINE WAY	VILLAGE UNIT 131, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2863 DINA DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
TROY MI 48085										
92-17-34-432-132		0.10	\$665.83	\$66.58	DATE PAID					
WANG FANG		UNIT								
ZHU JUN LIE	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
406 OLD PINE WAY	VILLAGE UNIT 132, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
17610 STONEBROOK DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168										
92-17-34-432-133		0.10	\$665.83	\$66.58	DATE PAID					
RUTH ANN PETRES		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
408 OLD PINE WAY	VILLAGE UNIT 133, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-134		0.10	\$665.83	\$66.58	DATE PAID					
MISHO RISTOVSKI		UNIT								
SIMONE RISTOVSKI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
410 OLD PINE WAY	VILLAGE UNIT 134, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
00.47.04.400.405		0.40	<b>#</b> 205.00	<b>400.50</b>	DATE DAID					
92-17-34-432-135		0.10	\$665.83	\$66.58	DATE PAID					
DARLENE KASTELIC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANOE	<b>\$00.50</b>	<b>#</b> 50.07	\$00.0F	<b>#00.00</b>	<b>640</b>
440 OLD DINE WAY					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
412 OLD PINE WAY	VILLAGE UNIT 135, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-136		0.10	\$665.83	\$66.58	DATE PAID					
VALERIE HEATLEY		UNIT	φ000.03	Ф0.56	DATE PAID					
VALERIE HEATLET	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
414 OLD PINE WAY	VILLAGE UNIT 136, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL		\$13.32	\$39.95 \$13.32	\$26.63	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$13.32 \$0.00	\$0.00	\$0.00	\$0.00	\$13.
WALLED LAKE IVII 40390-3340	00110001				TOTAL	\$0.00 \$13.32	\$13.32	\$13.32	\$13.32	\$13.
					IOIAL	ψ10.32	ψ13.32	ψ13.32	ψ13.32	φ13.
92-17-34-432-137		0.10	\$665.83	\$66.58	DATE PAID					
KWAN CHUANG		UNIT	ψοσο.σο	Ψ00.00	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0.11			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
416 OLD PINE WAY	VILLAGE UNIT 137, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
3000 00 .0					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						·	,	,	, ,,,,,,	7.5.
92-17-34-432-138		0.10	\$665.83	\$66.58	DATE PAID					
ZHENGPING ZHUANG		UNIT		,	''					
-	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
418 OLD PINE WAY	VILLAGE UNIT 138, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
10411 AUBINOE FARM DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
BETHESDA MD 20914	1	II I		II .	1	*	1	1	1	1

Page 131 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-139		0.10	\$665.83	\$66.58	DATE PAID					
JENNIFER CAMILLERI		UNIT	*	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
420 OLD PINE WAY	VILLAGE UNIT 139, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40390-3340	03 1 1( 35-30 1-037				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	ψ13.3Z	ψ13.32	ψ13.32	ψ13.3Z	ψ13.32
92-17-34-432-140		0.10	\$665.83	\$66.58	DATE PAID					
CATHERINE SAILUS			φ000.03	\$00.56	DATE FAID					
CATHERINE SAILUS	CONDOMINIUM DI ANINO 4453 FACT DAV	UNIT			DALANOE	<b>#00.50</b>	<b>#</b> 50.07	<b>#00.05</b>	<b>#00.00</b>	£40.00
100 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
422 OLD PINE WAY	VILLAGE UNIT 140, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-141		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL A GRAY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
424 OLD PINE WAY	VILLAGE UNIT 141, BLDG 14 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						<b>V</b>	<b>V</b>	7.0.0=	7.0.02	¥ 1010=
92-17-34-432-142		0.10	\$665.83	\$66.58	DATE PAID					
SUSAN SWANSON		UNIT	ψ000.00	ψ00.50	DATETAID					
303AN SWANSON	CONDOMINIUM PLAN NO 1452 EAST BAY	OINIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
400 OLD DINE WAY										
428 OLD PINE WAY	VILLAGE UNIT 142, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		2.12	<b>^</b>	<b>^</b>	5.75 5.15					
92-17-34-432-143		0.10	\$665.83	\$66.58	DATE PAID					
DANIEL MCSWEENEY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
430 OLD PINE WAY	VILLAGE UNIT 143, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-144		0.10	\$665.83	\$66.58	DATE PAID					
ANDREW DERVARTANIAN		UNIT	*	,						
CINDY SERDENKOVSKI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
432 OLD PINE WAY	VILLAGE UNIT 144, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
36036 GRENNADA	0011(00 001 001				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
LIVONIA MI 48154					TOTAL	ψ13.32	ψ13.32	ψ13.32	ψ13.3Z	ψ13.32
		0.40	<b></b>	ФСС F0	DATE DAID					
92-17-34-432-145		0.10	\$665.83	\$66.58	DATE PAID		-		+	+
MATTHEW NELSON	CONDOMINIUM DI ANIMO 4450 FACT DAVI	UNIT			DALANCE	<b>#00.50</b>	<b>#</b> FC 07	<b>#00.05</b>	<b>#00.00</b>	<b>#</b> 40.00
KINDSEY NELSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
434 OLD PINE WAY	VILLAGE UNIT 145, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
										<u> </u>
92-17-34-432-146		0.10	\$665.83	\$66.58	DATE PAID					
KEVIN BELYK		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
436 OLD PINE WAY	VILLAGE UNIT 146, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23 GEORGE ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
METUCHEN NJ 08840						Ţ.J.J.	\$ . 5.0 <u>L</u>	Ţ.0.0 <u>L</u>	₩. J. J. J. J. J. J. J. J. J. J. J. J. J.	ψ.υ.υ.
IVIL I UUTEN INJ U004U						l	1			1

Page 132 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-147		0.10	\$665.83	\$66.58	DATE PAID					
MQA LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
438 OLD PINE WAY	VILLAGE UNIT 147, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1211 HICKORY RD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
HILLSDALE MI 49242										
92-17-34-432-148		0.10	\$665.83	\$66.58	DATE PAID					
THOMAS PASCARIS		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
440 OLD PINE WAY	VILLAGE UNIT 148, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
4944 BIRKDALE DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
COMMERCE TWP MI 48382						¥	¥ 1010=	¥1010=	¥.0.0=	7.0
92-17-34-432-149		0.10	\$665.83	\$66.58	DATE PAID					
NADIA MARTINEZ		UNIT	φοσο.σσ	φσσισσ	5,1121,1115					
NADIA MARTINEE	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
442 OLD PINE WAY	VILLAGE UNIT 149, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLED LAKE WII 40000-0040	0011(00 001 007				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					TOTAL	Ψ10.02	Ψ10.02	ψ10.0Z	ψ10.02	Ψ13.
92-17-34-432-150		0.10	\$665.83	\$66.58	DATE PAID					
MARY DRYER		UNIT	φ003.03	ψ00.30	DATEFAID					
WART DRIER	CONDOMINIUM PLAN NO 1452 EAST BAY	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
444 OLD PINE WAY	VILLAGE UNIT 150, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1600 S PRAIRIE AVE UNIT 1207	0311(33-301-037				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
CHICAGO IL 60616					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-151		0.10	\$665.83	\$66.58	DATE PAID			1		1
DEON CLEVELAND		UNIT	φ003.03	ψ00.30	DATEFAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
INDIA CLEVELAND	VILLAGE UNIT 151, BLDG 15 L 26159 P 001 8-13-				BALANCE		· ·		\$13.32	\$13.
446 OLD PINE WAY	03 FR 35-301-037				PRINCIPAL	\$13.32	\$13.32	\$13.32		\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
00.47.04.400.450		0.40	<b>#</b> 005.00	<b>\$00.50</b>	DATE DAID					
92-17-34-432-152		0.10	\$665.83	\$66.58	DATE PAID					
CHAD DEMERY	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			DALANIOE	<b>\$00.50</b>	<b>#</b> 50.07	000.05	<b>#</b> 00.00	040
440 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
448 OLD PINE WAY	VILLAGE UNIT 152, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-153		0.40	<b>የ</b> ድድ	<b>\$60.50</b>	DATE DAID		1	+		1
		0.10	\$665.83	\$66.58	DATE PAID					1
JEFFREY SMITH	CONDOMINIU IM DI ANI NO 4450 EACT DAY	UNIT			DALANCE	<b>#00.50</b>	ΦEC 07	<b>#00.05</b>	#00 00	0.10
450 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
450 OLD PINE WAY	VILLAGE UNIT 153, BLDG 15 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-154		0.40	<b>የ</b> ድድ	<b>\$60.50</b>	DATE DAID		1			1
		0.10	\$665.83	\$66.58	DATE PAID					
	1	UNIT			BALANCE	<b>#00.50</b>	<b>#50.07</b>	<b>#00.05</b>	<b>#00.00</b>	040
BRETT W TUTTLE	CONDOMINIUM DI ANIMO 4450 EAST DAV				HALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
BRETT W TUTTLE RUTHANN TUTTLE	CONDOMINIUM PLAN NO 1452 EAST BAY									
BRETT W TUTTLE RUTHANN TUTTLE 454 OLD PINE WAY	VILLAGE UNIT 154, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
BRETT W TUTTLE RUTHANN TUTTLE										

Page 133 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-155		0.10	\$665.83	\$66.58	DATE PAID					
NICHOLAS HAINER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
456 OLD PINE WAY	VILLAGE UNIT 155, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
00.47.04.400.450		0.40	<b>A</b> 005.00	<b>400.50</b>	DATE DAID					
92-17-34-432-156 ARBEN ISHMAKEJ		0.10	\$665.83	\$66.58	DATE PAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
ALKETA ISHMAKEJ	VILLAGE UNIT 156, BLDG 16 L 26159 P 001 8-13-				BALANCE	•	· ·			\$13.32
458 OLD PINE WAY	03 FR 35-301-037				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	
WALLED LAKE MI 48390-3546	03 FK 35-301-037				INTEREST TOTAL	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-157		0.10	\$665.83	\$66.58	DATE PAID					
REBECCA P WENGLINSKI		UNIT	***************************************	700.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
460 OLD PINE WAY	VILLAGE UNIT 157, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-158		0.10	\$665.83	\$66.58	DATE PAID					
JASON D BRASSFIELD		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
462 OLD PINE WAY	VILLAGE UNIT 158, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-159		0.10	\$665.83	\$66.58	DATE PAID					
MICHAEL MARCOTTE		UNIT	φ005.05	φου.50	DATEFAID					
TRINH MARCOTTE	CONDOMINIUM PLAN NO 1452 EAST BAY	OINIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
464 OLD PINE WAY	VILLAGE UNIT 159, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
1701 PLATEAU DR SW	0011(30 301 007				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WYOMING MI 49519					TOTAL	ψ10.02	ψ10.02	ψ10.02	ψ10.0Z	ψ10.0Z
92-17-34-432-160		0.10	\$665.83	\$66.58	DATE PAID					
TAMMY UNSWORTH		UNIT	φοσο.σσ	400.00	571.2171.5					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
466 OLD PINE WAY	VILLAGE UNIT 160, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-161		0.10	\$665.83	\$66.58	DATE PAID					
ZARKO K KOSTOV	CONDOMINIUM DI ANI NO 4450 EACT DAVI	UNIT			DAI	400 ==	050.05	000.00	000.00	0:00
400 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
468 OLD PINE WAY	VILLAGE UNIT 161, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-162		0.10	\$665.83	\$66.58	DATE PAID		1			
JAVAD HOSSEINI		UNIT	<b>4000.00</b>	400.00	3,2.,,,,,,					
ANZHELIKA OBRAZTSOVA	CONDOMINIUM PLAN NO 1452 EAST BAY	J			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
470 OLD PINE WAY	VILLAGE UNIT 162, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
41931 WOLFE PASS					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
				II .	1					

Page 134 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-163		0.10	\$665.83	\$66.58	DATE PAID					
ADRIANA GILES		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
472 OLD PINE WAY	VILLAGE UNIT 163, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-164		0.10	\$665.83	\$66.58	DATE PAID					
RICHARD KALMETA		UNIT			541 41105	000.50	<b>#50.07</b>	400.05	400.00	0.40
474 OLD DINE WAY	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
474 OLD PINE WAY	VILLAGE UNIT 164, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-165		0.10	\$665.83	\$66.58	DATE PAID					
SUSAN BECK		UNIT	ψ003.03	ψου.5ο	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	• • • • • • • • • • • • • • • • • • • •			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
476 OLD PINE WAY	VILLAGE UNIT 165, BLDG 16 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3546	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
While B Erite Wil 10000 00 10	33 1 1 3 3 3 3 3 3 3				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						ψ.ο.ο <u>-</u>	ψ.σ.σ <u>=</u>	<b>V.0.02</b>	<b>V.0.02</b>	<b>V.</b> 0.
92-17-34-432-166		0.10	\$665.83	\$66.58	DATE PAID					
MATTHEW DUTTON		UNIT								
LISA DUTTON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
427 VILLAGE DR	VILLAGE UNIT 166, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-167		0.10	\$665.83	\$66.58	DATE PAID					
HAROLD B MCLAREN	001/001/01/01/01/01/01/01/01/01/01/01/01	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
423 VILLAGE DR	VILLAGE UNIT 167, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
6976 LONE OAK BLVD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NAPLES FL 34109										
92-17-34-432-168		0.10	\$665.83	\$66.58	DATE PAID					
BEN WONG	CONDOMINIUM DI ANI NO 1453 EAST DAV	UNIT			DALANOE	<b>\$00.50</b>	ФE0.07	<b>#00.05</b>	<b>#00.00</b>	<b>#</b> 40
THERESA WONG	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
425 VILLAGE DR	VILLAGE UNIT 168, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5571 S PICADILLY CIR WEST BLOOMFIELD MI 48322					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-169		0.10	\$665.83	\$66.58	DATE PAID			1		
KATHLEEN LORENZ		UNIT	ψ000.00	ψου.σο	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
419 VILLAGE DR	VILLAGE UNIT 169, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	22.1.00 00.00.				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-170		I LINIT								
92-17-34-432-170 MEGHANN K LLOYD		UNIT								
MEGHANN K LLOYD	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	
MEGHANN K LLOYD 421 VILLAGE DR	VILLAGE UNIT 170, BLDG 17 L 26159 P 001 8-13-	ONIT			PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
MEGHANN K LLOYD		UNIT			_					\$13. \$13. \$0.0 \$13.

Page 135 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-171		0.10	\$665.83	\$66.58	DATE PAID					
ANTHONY KERN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
415 VILLAGE DR	VILLAGE UNIT 171, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
00.47.04.400.470		0.40	<b>A</b> 005.00	<b>#</b> 00.50	DATE DAID					
92-17-34-432-172		0.10	\$665.83	\$66.58	DATE PAID					
NICOLAS CERNEKA	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DALANCE	<b></b>	<b>Ф</b> ГО 07	Ф20.0F	<b>#20.02</b>	<b>(*4.</b> )
417 VILLAGE DR	VILLAGE UNIT 172, BLDG 17 L 26159 P 001 8-13-				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				PRINCIPAL INTEREST	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$13.32 \$0.00	\$13 \$0
WALLED LAKE WII 40390-3330	03 FK 35-301-037				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					TOTAL	Φ13.32	\$13.32	\$13.32	\$13.32	φ13
92-17-34-432-173		0.10	\$665.83	\$66.58	DATE PAID					
KRISTOFFER GUNDRUM		UNIT	ψ000.00	Ψ00.00	DATETAID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
411 VILLAGE DR	VILLAGE UNIT 173, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
6911 BONNIE RIDGE DR APT 12					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
BALTIMORE MD 21209						¥1010=	<b>,</b>	7.0.0=	Ţ	7.0
92-17-34-432-174		0.10	\$665.83	\$66.58	DATE PAID					
MATTHEW BUKALA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
413 VILLAGE DR	VILLAGE UNIT 174, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
1786 KRISTINA DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WHITE LAKE MI 48386										
92-17-34-432-175		0.10	\$665.83	\$66.58	DATE PAID					
TERRY LEVERETT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
407 VILLAGE DR	VILLAGE UNIT 175, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
		2.12	****	<b>^ ^ ^ ^ ^ ^ ^ ^ ^ ^</b>						
92-17-34-432-176		0.10	\$665.83	\$66.58	DATE PAID					
JENNIFER ROBERTS	CONDOMINIUM DI ANINO 1452 EACT DAV	UNIT			DALANCE	<b></b>	<b>Ф</b> ГО 07	Ф20.0 <u>Г</u>	<b>#</b> 20,02	<b>C40</b>
409 VILLAGE DR	CONDOMINIUM PLAN NO 1452 EAST BAY VILLAGE UNIT 176, BLDG 17 L 26159 P 001 8-13-				BALANCE PRINCIPAL	\$66.58 \$13.32	\$53.27 \$13.32	\$39.95 \$13.32	\$26.63 \$13.32	\$13 \$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$13.32	\$0.00	\$0.00	\$13.32	\$13
VVALLED LAIVE IVII 40030-0000	00 1 1( 00-001-001				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					IOIAL	Ψ10.02	ψ10.02	ψ10.02	ψ10.02	Ψισ
92-17-34-432-177		0.10	\$665.83	\$66.58	DATE PAID					
WALTER A VAN ROTH		UNIT	<b>4000.00</b>	\$55.55				1		
	CONDOMINIUM PLAN NO 1452 EAST BAY	2			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
405 VILLAGE DR	VILLAGE UNIT 177, BLDG 17 L 26159 P 001 8-13-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	03 FR 35-301-037				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-269		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT			1					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
600 POINTE DR	VILLAGE UNIT 269, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NORTHVILLE MI 48168					I		1		1	

Page 136 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-270		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
602 POINTE DR	VILLAGE UNIT 270, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-271		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
640 POINTE DR	VILLAGE UNIT 271, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168							•			
92-17-34-432-272		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANI NO 4450 FACT DAV	UNIT			5	400 =0	<b>^</b> -	***	***	212.00
0.40 POINTE PP	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
642 POINTE DR	VILLAGE UNIT 272, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168		0.40	<b></b>	ФСС F0	DATE DAID					
92-17-34-432-273		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	<b>CC FO</b>	\$53.27	¢20.05	\$26.63	\$13.32
636 POINTE DR	VILLAGE UNIT 273, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$66.58 \$13.32	\$13.32	\$39.95 \$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00 FK 033-301 TO 036				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-274		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ000.00	ψ00.50	DATETAID					
SANT/HADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	ONIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
638 POINTE DR	VILLAGE UNIT 274, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011( 000 001 10 000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					TOTAL	ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02	ψ10.02
92-17-34-432-275		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ000.00	ψ00.50	DATETAID					
ONITINIDADITE ENOT BATT TIEERIGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	O. t.i.			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
632 POINTE DR	VILLAGE UNIT 275, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	33111333 33113 333				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168						+	,	, ,,,,,,	,	,
92-17-34-432-276		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT		,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
634 POINTE DR	VILLAGE UNIT 276, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-277		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
628 POINTE DR	VILLAGE UNIT 277, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168		li l			1		1			

Page 137 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-278		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
630 POINTE DR	VILLAGE UNIT 278, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-279		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψουσίου	Ψοσίου	57.1.2.7.1.5					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
624 POINTE DR	VILLAGE UNIT 279, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011100000110000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					101712	Ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02
92-17-34-432-280		0.10	\$665.83	\$66.58	DATE PAID			+		
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ000.00	Ψ00.50	DATETAID					
SANT/HADASH EAST BAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
626 POINTE DR	VILLAGE UNIT 280, BLDG 28 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				_			· · · · · · · · · · · · · · · · · · ·		\$0.00
	00 FR 035-301 TO 036				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168		0.40	<b>\$005.00</b>	<b>\$00.50</b>	DATE DAID					
92-17-34-432-281		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	OON DOMINIUMA DI ANIMO 4450 FACT DAV	UNIT			5	A	<b>^</b>	***	***	***
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
647 POINTE DR	VILLAGE UNIT 281, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-282		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
649 POINTE DR	VILLAGE UNIT 282, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-283		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
651 POINTE DR	VILLAGE UNIT 283, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-284		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	•							
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
653 POINTE DR	VILLAGE UNIT 284, BLDG 29 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 035-301 TO 038				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168										1
92-17-34-432-285		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	<b>4000.00</b>	\$55.55	27217.119		1	1		
	CONDOMINIUM PLAN NO 1452 EAST BAY	0.111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
451 VILLAGE DR	VILLAGE UNIT 178. BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 178 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00 1 K 170 11-00-00 00KK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
TOT THOUSEN NOOL LIN	I	1		III	IOIAL	ψ10.02	Ψ10.02	ψ10.02	ψ10.02	ψ10.04

Page 138 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-286		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
453 VILLAGE DR	VILLAGE UNIT 179, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 179 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN NORTHVILLE MI 48168					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-287		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	ψοσ.σσ	D/((L)/(D					
GARANTINE AGIT ENGT EAT VICE AGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	O. t.i.			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
447 VILLAGE DR	VILLAGE UNIT 180. BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 180 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168					101712	Ψ10.02	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	Ψισι
92-17-34-432-288		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	***************************************	700.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY	J			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
449 VILLAGE DR	VILLAGE UNIT 181, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 181 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168						<del></del>	Ţ	¥.5.5	Ţ.5.5=	7.5
92-17-34-432-289		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	***************************************	700.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
443 VILLAGE DR	VILLAGE UNIT 182, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 182 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	30 1 K 102 1 1 00 00 00 KK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					101712	Ψ10.02	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	ψ10.
92-17-34-432-290		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	400.00	571.2171.5					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
445 VILLAGE DR	VILLAGE UNIT 183, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 183 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					101712	Ψ10.02	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	Ψ10.
92-17-34-432-291		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	φου.σο	D/((L)/((D					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
439 VILLAGE DR	VILLAGE UNIT 184, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 184 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168						,	,	,	,	,
92-17-34-432-292		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	*	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
441 VILLAGE DR	VILLAGE UNIT 185, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 185 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					]	,	, ,,,,,	, ,,,,,,	, ,,,,,	7.01
92-17-34-432-293		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT		,	1					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
435 VILLAGE DR	VILLAGE UNIT 186, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 186 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168		l l		1	1	Ţ . J.U.	Ţ.J.U <u>L</u>	7.3.02	Ţ:3:0 <u>=</u>	ψ.σ.,

Page 139 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-294		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
437 VILLAGE DR	VILLAGE UNIT 187, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 187 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN NORTHVILLE MI 48168					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-295		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ000.00	ψ00.50	DATETAID					
OANT/HADAON EACT DAT VILLAGE LEG	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
431 VILLAGE DR	VILLAGE UNIT 188. BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 188 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168					TOTAL	ψ10.02	ψ10.02	Ψ10.02	Ψ10.02	ψ10.
92-17-34-432-296		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	φου.σο	D/(ILI/(ID					
ONITY THE PROPERTY OF THE PROP	CONDOMINIUM PLAN NO 1452 EAST BAY	O. W.			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
433 VILLAGE DR	VILLAGE UNIT 189, BLDG 18 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 189 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	0011(100110000				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					TOTAL	ψ10.02	ψ10.02	Ψ10.02	Ψ10.02	ψ10.
92-17-34-432-297		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	φου.σο	D/(ILI/(ID					
OANT/MADAGIT EAGT BAT VILLAGE ELG	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
459 VILLAGE DR	VILLAGE UNIT 190, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 190 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	0011(13011 00 00				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					TOTAL	ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02	ψ10.
92-17-34-432-298		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	ψου.σο	571.2171.5					
ONITIVIDADITE ENGI BATT TILEFIGE ELG	CONDOMINIUM PLAN NO 1452 EAST BAY	O. t.i.			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
461 VILLAGE DR	VILLAGE UNIT 191, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 191 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					101712	Ψ10.02	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	ψ10.
92-17-34-432-299		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	φου.σο	D/(ILI/(ID					
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
463 VILLAGE DR	VILLAGE UNIT 192, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 192 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168									,	, ,
92-17-34-432-300		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	*	,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
465 VILLAGE DR	VILLAGE UNIT 193, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 193 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168						•			,	, , , ,
92-17-34-432-301		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT		,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
467 VILLAGE DR	VILLAGE UNIT 194, BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 194 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168		l l		1	1	Ţ . J.U.	Ţ:3.UZ	7.5.52	7.5.02	Ψ.σ.

Page 140 of 12 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5
92-17-34-432-302		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	φου.σο	D/((E1/(D					
CANTITIADAGIT EAGT DAT VILLAGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	Oitiii			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
469 VILLAGE DR	VILLAGE UNIT 195. BLDG 19 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 195 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	00 FK 195 11-00-00					*	*			
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
NORTHVILLE MI 48168										
92-17-34-432-303		0.10	\$665.83	\$66.58	DATE PAID					
KENNETH KAMBA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
472 VILLAGE DR	VILLAGE UNIT 196, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 196 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						ψ.0.0 <u>2</u>	ψ.ιο.ιο <u>-</u>	Ų.0.02	ψ.0.02	ψ.0
92-17-34-432-304		0.10	\$665.83	\$66.58	DATE PAID			+		
92-11-34-432-304 YONGCHAO LI		UNIT	φυυυ.ου	ψ00.06	DATE FAID			+		1
	CONDOMINIUM DUANINO 4450 FACT DAY	UNII			DALANOE	<b>#</b> 00.50	<b>Ф</b> ГО 07	<b>#20.05</b>	<b>#00.00</b>	040
FEINI ZHENG	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
474 VILLAGE DR	VILLAGE UNIT 197, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 197 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
2257 WOOSTER ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
CANTON MI 48188										
92-17-34-432-305		0.10	\$665.83	\$66.58	DATE PAID					
FREDA ANSARA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
476 VILLAGE DR	VILLAGE UNIT 198. BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 198 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WALLED LAKE WII 40390-3330	0011(19011-00-00									
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
00.47.04.400.000		0.40	<b>#</b>	<b>\$00.50</b>	DATE DAID					
92-17-34-432-306		0.10	\$665.83	\$66.58	DATE PAID					
BRIAN NACE		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
478 VILLAGE DR	VILLAGE UNIT 199, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 199 11-08-06				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-307		0.10	\$665.83	\$66.58	DATE PAID					
KENNETH EGGERT		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
480 VILLAGE DR	VILLAGE UNIT 200, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 200 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
WALLED FULL INIT #0030-9000	00 1 K 200 11-00-00 COKK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					IOTAL	क्।उ.उ८	φ13.32	φ13.32	φ13.32	φla
02 47 24 422 200		0.40	ФССЕ 00	<b>\$00.50</b>	DATE DAID			+	-	-
92-17-34-432-308		0.10	\$665.83	\$66.58	DATE PAID			+		
HELAYNE SHAW	001001111111111111111111111111111111111	UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
482 VILLAGE DR	VILLAGE UNIT 201, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3550	06 FR 201 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-309		0.10	\$665.83	\$66.58	DATE PAID					
STEVEN CAMERELLA		UNIT	+5.00	, : 3.00						
·	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
	CONDOMINATION LANGE THE EAST DATE	I I								
494 VILLAGE DD	VILLAGE LINIT 202 RLDG 201 26150 D 001 5 24	l l								
484 VILLAGE DR	VILLAGE UNIT 202, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
484 VILLAGE DR WALLED LAKE MI 48390-3550	VILLAGE UNIT 202, BLDG 20 L 26159 P 001 5-24- 06 FR 202 11-08-06 CORR				INTEREST TOTAL	\$13.32 \$0.00 \$13.32	\$0.00 \$13.32	\$0.00 \$13.32	\$13.32 \$0.00 \$13.32	\$13 \$0 \$13

Page 141 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-310		0.10	\$665.83	\$66.58	DATE PAID					
MATHEW HUTCHINSON		UNIT	***************************************	700.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY	<b>0</b>			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
486 VILLAGE DR	VILLAGE UNIT 203. BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 203 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5731 BINGHAM DR	00 1 K 203 11-00-00 COKK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
COMMERCE TWP MI 48382		0.40	<b>#</b> 005.00	400.50	DATE DAID					
92-17-34-432-311		0.10	\$665.83	\$66.58	DATE PAID					
LISA KE YUAN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
488 VILLAGE DR	VILLAGE UNIT 204, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 204 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						,				
92-17-34-432-312		0.10	\$665.83	\$66.58	DATE PAID					
THERESA CASCIO		UNIT	***************************************	¥*******						
	CONDOMINIUM PLAN NO 1452 EAST BAY	5.111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
490 VILLAGE DR	VILLAGE UNIT 205, BLDG 20 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	· ·									
WALLED LAKE WI 48390-3550	06 FR 205 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		0.10	A	<b>^</b>	D. 1 == D. 1   D					
92-17-34-432-313		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
436 VILLAGE DR	VILLAGE UNIT 206, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 206,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-314		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	***************************************	700.00						
o,,	CONDOMINIUM PLAN NO 1452 EAST BAY	<b>0</b>			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
438 VILLAGE DR	VILLAGE UNIT 207, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 207,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00 1 K 201,222,223 & 224 11-00-00 COKK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	φ13.3.
NORTHVILLE MI 48168		0.40	<b>#</b> 005.00	400.50	DATE DAID					
92-17-34-432-315		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
440 VILLAGE DR	VILLAGE UNIT 208, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 208,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168					1					
92-17-34-432-316		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY	_			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
442 VILLAGE DR	VILLAGE UNIT 209. BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 209,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	33 1 1 200,222,220 Q 224 11 00 00 00 NIX				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
NORTHVILLE MI 48168					IOIAL	ψ13.32	ψ13.32	ψ13.32	ψ13.32	φ13.3
		0.40	<b>PECE 00</b>	<b>\$60.50</b>	DATE DAID					+
92-17-34-432-317		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANIMO 4450 54CT DAY	UNIT				400 =0	<b>^</b>	****	400.00	0.55
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
444 VILLAGE DR	VILLAGE UNIT 210, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 210,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
	1	ii l		II .	1		1			1

Page 142 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-318		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.3
446 VILLAGE DR	VILLAGE UNIT 211, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
WALLED LAKE MI 48390-3550	06 FR 211,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN NORTHVILLE MI 48168					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.3
92-17-34-432-319		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	Ψ00.00	DATETAID					
OANT/HADAON EACT DAT VILLAGE EEC	CONDOMINIUM PLAN NO 1452 EAST BAY	ONT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
448 VILLAGE DR	VILLAGE UNIT 212. BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 212,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	00 1 K 212,222,220 G 22 1 1 1 00 00 00 KK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168					TOTAL	ψ10.02	ψ10.02	Ψ10.02	Ψ10.02	ψ10.
92-17-34-432-320		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	4000.00	\$55.00				1		
C, III DAGI ENGI DAT TILLAGE LEG	CONDOMINIUM PLAN NO 1452 EAST BAY	0.111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
450 VILLAGE DR	VILLAGE UNIT 213, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 213,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN	00111210,222,220 012111100 00 001111				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168						7.5.5	¥.3.5=	Ţ.0.0=	Ţ.0.0=	7.51
92-17-34-432-321		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	***************************************	400.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
452 VILLAGE DR	VILLAGE UNIT 214. BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 214,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168						¥	¥.0.0=	¥1010=	Ţ	7.51
92-17-34-432-322		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	*	*						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
454 VILLAGE DR	VILLAGE UNIT 215, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 215,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN	, ,				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168									,	, ,
92-17-34-432-323		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	*	*******						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
456 VILLAGE DR	VILLAGE UNIT 216, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 216,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168										
92-17-34-432-324		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT			1					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
458 VILLAGE DR	VILLAGE UNIT 217, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 217,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168										
92-17-34-432-325		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT			1					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
460 VILLAGE DR	VILLAGE UNIT 218, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3550	06 FR 218,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NORTHVILLE MI 48168		II			I	-			1	1

Page 143 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-326		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
462 VILLAGE DR	VILLAGE UNIT 219, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 219,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN NORTHVILLE MI 48168					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-327		0.10	\$665.83	\$66.58	DATE PAID					
		UNIT	\$000.00	φ00.30	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
464 VILLAGE DR	VILLAGE UNIT 220, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 220,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00 1 K 220,222,223 & 224 11-00-00 COKK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					TOTAL	ψ13.3Z	ψ13.3Z	ψ13.32	ψ13.32	ψ13.32
92-17-34-432-328		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ000.00	φου.30	DATEFAID					
SANT/HADASH EAST BAT VILLAGE ELC	CONDOMINIUM PLAN NO 1452 EAST BAY	CIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
466 VILLAGE DR	VILLAGE UNIT 221, BLDG 22 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3550	06 FR 221,222,223 & 224 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	0011(221,222,220 d 224 11 00 00 001()				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					101712	ψ10.0 <u>2</u>	Ψ10.0 <u>L</u>	ψ10.0 <u>2</u>	Ψ10.0 <u>2</u>	ψ10.0 <u>2</u>
92-17-34-432-329		0.10	\$665.83	\$66.58	DATE PAID					
CAROL O'CONNELL		UNIT	***************************************	755.55						
O 02 0 00 222	CONDOMINIUM PLAN NO 1452 EAST BAY	0			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
514 RED OAK CT	VILLAGE UNIT 225, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3554	06 FR 225 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
						7.0.0=	<b>,</b>	7.0.0=	<b>V</b>	¥.0.0=
92-17-34-432-330		0.10	\$665.83	\$66.58	DATE PAID					
ALAN MACK		UNIT	*	, , , , , , ,						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
516 RED OAK CT	VILLAGE UNIT 226, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3554	06 FR 226 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 26903					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
SAN FRANCISO CA 94126						,	·		·	·
92-17-34-432-331		0.10	\$665.83	\$66.58	DATE PAID					
JAMES SCHNEIDER		UNIT								
EDIE SCHNEIDER	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
518 RED OAK CT	VILLAGE UNIT 227, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3554	06 FR 227 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4753 PAISLEY CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WEST BLOOMFIELD MI 48322										
92-17-34-432-332		0.10	\$665.83	\$66.58	DATE PAID					
MATTHEW GLOWACKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
520 RED OAK CT	VILLAGE UNIT 228, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3554	06 FR 228 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
		_								
92-17-34-432-333		0.10	\$665.83	\$66.58	DATE PAID				1	
JOHN TOURNAUD	001001111111111111111111111111111111111	UNIT				000	<b>0.</b> 5	005.77	005.55	
SANDRA TOURNAUD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
522 RED OAK CT	VILLAGE UNIT 229, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3554	06 FR 229 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
10070 SW 47TH AVE					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
OCALA FL 34476	1	II I		I	I	Ī	II.	1	1	1

Page 144 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	1			INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-334		0.10	\$665.83	\$66.58	DATE PAID					
STEVEN AMBURGY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
524 RED OAK CT	VILLAGE UNIT 230, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 230 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-335		0.10	\$665.83	\$66.58	DATE PAID					
SARAH GORSKI		UNIT	φουο.ου	<b>ФО.</b> 50	DATE PAID					
SAKAH GOKSKI	CONDOMINIUM PLAN NO 1452 EAST BAY	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
526 RED OAK CT	VILLAGE UNIT 231, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 231 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
W/\LLEB E/\\\L\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	0011(201110000000111(				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					101712	Ψ10.02	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	Ψισ
92-17-34-432-336		0.10	\$665.83	\$66.58	DATE PAID					
LINDSAY INNES		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
528 RED OAK CT	VILLAGE UNIT 232, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 232 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-337		0.10	\$665.83	\$66.58	DATE PAID					
QUALITY RENTAL PROPERTIES LLC	CONDOMINIUM DI ANINO 4450 FACT DAV	UNIT			DALANIOE	000.50	<b>#50.07</b>	<b>#</b> 00.05	400.00	040
500 DED OAK OT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
530 RED OAK CT	VILLAGE UNIT 233, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 233 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
425 W MAIN ST BRIGHTON MI 48116					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-338		0.10	\$665.83	\$66.58	DATE PAID					
DANA GLEASON		UNIT	φ000.00	φου.30	DATEFAID					
DANA GLLASON	CONDOMINIUM PLAN NO 1452 EAST BAY	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
532 RED OAK CT	VILLAGE UNIT 234, BLDG 23 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 234 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
21 REEF LN	00 1 K 204 11 00 00 00 KK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
LITTLE EGG HARBOR NJ 08087					TOTAL	Ψ10.02	ψ10.02	Ψ10.02	Ψ10.02	Ψ10.
92-17-34-432-339		0.10	\$665.83	\$66.58	DATE PAID					
ANDERY RICHERT		UNIT	***************************************	400.00						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
521 RED OAK CT	VILLAGE UNIT 235, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3554	06 FR 235 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
25890 CLARK ST					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
NOVI MI 48375					1			1		1
92-17-34-432-340		0.10	\$665.83	\$66.58	DATE PAID					
MARCY BOSKEE	CONDOMINIUM DI ANIMO 4450 5407 5414	UNIT			DAI	400 70	050.05	000.00	000.00	A
FOO DED CALLOT	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
523 RED OAK CT	VILLAGE UNIT 236, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3554	06 FR 236 11-06-08 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-341		0.10	\$665.83	\$66.58	DATE PAID			+		+
92-17-34-432-341 HO YON KIM		UNIT	φυυυ.ου	φυυ.υσ	DATERAID			+		+
IIO ION IUM	CONDOMINIUM PLAN NO 1452 EAST BAY	OINII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
525 RED OAK CT	VILLAGE UNIT 237, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 237 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
*** **********************************	3311120711 00 00 001111				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
		II		III		ψ10.02	ψ.υ.υ2	Ψ10.02	Ψ10.02	ψιυ.

Page 145 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-342		0.10	\$665.83	\$66.58	DATE PAID					
LEONARD RUMIJA		UNIT		·						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
527 RED OAK CT	VILLAGE UNIT 238, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 238 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
						•	,	,	1	
92-17-34-432-343		0.10	\$665.83	\$66.58	DATE PAID					
JULIE COUGHLIN		UNIT	·	·						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
529 RED OAK CT	VILLAGE UNIT 239, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 239 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 1548					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
KEY WEST FL 33041						<del></del>	<b>7</b> .0.0	<b>7</b> .0.0	¥.0.0=	¥
92-17-34-432-344		0.10	\$665.83	\$66.58	DATE PAID					
JACQUELINE CUFFEY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
531 RED OAK CT	VILLAGE UNIT 240, BLDG 24 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3554	06 FR 240 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-345		0.10	\$665.83	\$66.58	DATE PAID					
MARK SZCZEPKOWSKI		UNIT								
ALEX SZCZEPKOWSKI	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
534 RIVIERA CT	VILLAGE UNIT 241, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 241 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
							,	,	, , , , ,	
92-17-34-432-346		0.10	\$665.83	\$66.58	DATE PAID					
DRAGISA DJURIC		UNIT								
ANA DJURIC	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
536 RIVIERA CT	VILLAGE UNIT 242, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 242 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
10489 MORNING LIGHT CT					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
SOUTH LYON MI 48178						¥	<b>,</b>	7.002	7.0.0=	
92-17-34-432-347		0.10	\$665.83	\$66.58	DATE PAID					
MICHELLE VALENTINE-GALA		UNIT	·	·						
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
538 RIVIERA CT	VILLAGE UNIT 243, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 243 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					<u> </u>					
92-17-34-432-348		0.10	\$665.83	\$66.58	DATE PAID					
TERRY LONDY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
540 RIVIERA CT	VILLAGE UNIT 244, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 244 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
<u> </u>					<u> </u>					
92-17-34-432-349		0.10	\$665.83	\$66.58	DATE PAID					
GEORGE DOULAVERIS		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
542 RIVIERA CT	VILLAGE UNIT 245, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 245 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	İ	l l			TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
					IOIAL	Ψ10.02				

Page 146 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-34-432-350		0.10	\$665.83	\$66.58	DATE PAID					
ANDREW CEIFETZ		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
544 RIVIERA CT	VILLAGE UNIT 246, BLDG 25 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 246 11-06-08 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
92-17-34-432-351		0.10	\$665.83	\$66.58	DATE PAID					
92-17-34-432-331 BEN THORSEN		UNIT	φουο.ου	<b>ФО.</b> 50	DATE PAID					
BEN MORGEN	CONDOMINIUM PLAN NO 1452 EAST BAY	CIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
533 RIVIERA CT	VILLAGE UNIT 247, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 247 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
759 E WALLED LAKE DR	3011(ZII 11 00 00 GG1(()				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390					TOTAL	ψ10.02	Ψ10.02	Ψ10.02	Ψ10.02	ψισ
92-17-34-432-352		0.10	\$665.83	\$66.58	DATE PAID					
KIMBERLY WISNIEWSKI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
535 RIVIERA CT	VILLAGE UNIT 248, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 248 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
00.47.04.400.050		0.40	0005.00	<b>\$00.50</b>	DATE DAID					1
92-17-34-432-353		0.10	\$665.83	\$66.58	DATE PAID					
PAUL JOHNSON	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	ФСС F0	\$53.27	Ф20.0F	\$26.63	\$13.
537 RIVIERA CT	VILLAGE UNIT 249, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$66.58 \$13.32	\$13.32	\$39.95 \$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 249 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 46390-3330	00 1 K 249 11-00-00 COKK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
					101712	ψ10.0 <u>L</u>	ψ10.0 <u>2</u>	Ψ10.02	ψ10.0 <u>2</u>	Ψισ
92-17-34-432-354		0.10	\$665.83	\$66.58	DATE PAID					
MARY WHALEN		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.
539 RIVIERA CT	VILLAGE UNIT 250, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 250 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
00.47.04.400.055		0.40	<b>A</b> 005.00	<b>#</b> 00.50	DATE DAID					
92-17-34-432-355 JENNIFER MAILLARD		0.10 UNIT	\$665.83	\$66.58	DATE PAID					_
JENNIFER WAILLARD	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
541 RIVIERA CT	VILLAGE UNIT 251, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3556	06 FR 251 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
*** **********************************	33 1 1 201 11 00 00 00 III				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
						ψ.3.0 <u>L</u>	₩ . J.J.	ψ.υ.υ <u></u>	Ţ.J.J.	Ψ.0
92-17-34-432-356		0.10	\$665.83	\$66.58	DATE PAID					
JOSEPH NETHER		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
543 RIVIERA CT	VILLAGE UNIT 252, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
WALLED LAKE MI 48390-3556	06 FR 252 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13
92-17-34-432-357		0.10	\$665.83	\$66.58	DATE PAID			+		+
LINDA BACHMEIER		UNIT	ψυυυ.υυ	ψου.σο	DATEFAID			1		+
	CONDOMINIUM PLAN NO 1452 EAST BAY	0.111			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13
545 RIVIERA CT	VILLAGE UNIT 253, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
WALLED LAKE MI 48390-3556	06 FR 253 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
8135 ELDORA BLVD					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.
COMMERCE TWP MI 48382		ii l				T	7	+	¥	Ţ.U.

Page 147 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-358		0.10	\$665.83	\$66.58	DATE PAID					
MONICA CORNELIA		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
547 RIVIERA CT	VILLAGE UNIT 254, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3556	06 FR 254 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
8390 DOUTREMONT AVE					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
MONTREAL QC CANADA H3N 2M6										
92-17-34-432-359		0.10	\$665.83	\$66.58	DATE PAID					
JUDY MCLLMURRAY		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
549 RIVIERA CT	VILLAGE UNIT 255, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3556	06 FR 255 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-360		0.10	\$665.83	\$66.58	DATE PAID					
JASON BIANCHI		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
551 RIVIERA CT	VILLAGE UNIT 256, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3556	06 FR 256 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-361		0.10	\$665.83	\$66.58	DATE PAID					
THOMAS CARLSON	CONDOMINIUM DI ANIMO 4450 FACT DAV	UNIT			5	400 =0	<b>^</b>	***	200.00	010.00
KAYCARLSON	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
553 RIVIERA CT	VILLAGE UNIT 257, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3556	06 FR 257 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
143 E BAY DR					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390 92-17-34-432-362		0.40	\$665.83	ФСС F0	DATE PAID					
		0.10	\$605.83	\$66.58	DATE PAID					
KUOTSU FUKUNAGA	CONDOMINIUM DI ANINO 1452 EACT DAV	UNIT			DALANOE	<b>\$00.50</b>	ФE0.07	<b>#00.05</b>	<b>#00.00</b>	<b>C40.00</b>
NORIKO FUKUNAGA	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
555 RIVIERA CT	VILLAGE UNIT 258, BLDG 26 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390-3556	06 FR 258 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
92-17-34-432-363		0.10	\$665.83	\$66.58	DATE PAID					1
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φ005.65	φ00.56	DATE PAID					
SANT/HADASH EAST BAT VILLAGE EEG	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
620 POINTE DR	VILLAGE UNIT 259, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 259 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN	00 1 K 200 11 00 00 00 KK				TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					101/12	ψ10.02	ψ10.0 <u>2</u>	ψ10.02	ψ10.02	ψ10.02
92-17-34-432-364		0.10	\$665.83	\$66.58	DATE PAID					1
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	<b>4000.00</b>	400.00	32					
The state of the s	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
622 POINTE DR	VILLAGE UNIT 260, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 260 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168						•	,			
92-17-34-432-365		0.10	\$665.83	\$66.58	DATE PAID				İ	
SANT/HADASH EAST BAY VILLAGE LLC		UNIT			1					
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
616 POINTE DR	VILLAGE UNIT 261, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 261 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168				1						

Page 148 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-34-432-366		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	φοσο.σσ	Ψ00.00	D/((E)/(ib					
SANT/HADASH EAST DAT VILLAGE LEC	CONDOMINIUM PLAN NO 1452 EAST BAY	OIVII			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
618 POINTE DR	VILLAGE UNIT 262. BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
							*			
WALLED LAKE MI 48390	06 FR 262 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					<del> </del>		1		1	
92-17-34-432-367		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
612 POINTE DR	VILLAGE UNIT 263, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 263 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168						<b>*</b>	Ţ.0.02	<b>*</b> ***********************************	¥1010=	*******
92-17-34-432-368		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT	ψ000.00	ψ00.50	DATETAID					
SANT/HADASH EAST DAT VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	CIVIT			BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
C44 POINTE DD					_					
614 POINTE DR	VILLAGE UNIT 264, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 264 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-369		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
608 POINTE DR	VILLAGE UNIT 265, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 265 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					101712	ψ10.0 <u>L</u>	ψ10.0 <u>L</u>	Ψ10.02	ψ10.02	Ψ10.02
92-17-34-432-370		0.10	\$665.83	\$66.58	DATE PAID					
			φ000.03	φ00.36	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM PLAN NO 1452 EAST BAY	UNIT			DAL ANOF	<b>#00.50</b>	ФE0.07	<b>\$00.05</b>	<b>COO.OO</b>	£40.00
OLO DOINTE DE					BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
610 POINTE DR	VILLAGE UNIT 266, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 266 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168										
92-17-34-432-371		0.10	\$665.83	\$66.58	DATE PAID					
SANT/HADASH EAST BAY VILLAGE LLC		UNIT								
	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
604 POINTE DR	VILLAGE UNIT 267, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 267 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168					101712	Ψ10.0 <u>L</u>	ψ10.0 <u>L</u>	Ψ10.0 <u>2</u>	ψ10.0 <u>2</u>	ψ10.0 <u>2</u>
92-17-34-432-372		0.10	\$665.83	\$66.58	DATE PAID		+			
			ψυυυ.ου	φυυ.υσ	DATERAID		1	-		
SANT/HADASH EAST BAY VILLAGE LLC	CONDOMINIUM DI ANI NO 4450 EACT DAY	UNIT			DALANCE	<b>#</b> 00.50	<b>Ф</b> БО 07	<b>#20.05</b>	<b>#</b> 00.00	<b>#40.00</b>
COO DOINTE DD	CONDOMINIUM PLAN NO 1452 EAST BAY				BALANCE	\$66.58	\$53.27	\$39.95	\$26.63	\$13.32
606 POINTE DR	VILLAGE UNIT 268, BLDG 27 L 26159 P 001 5-24-				PRINCIPAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
WALLED LAKE MI 48390	06 FR 268 11-08-06 CORR				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7754 HIDDEN RIDGE LN					TOTAL	\$13.32	\$13.32	\$13.32	\$13.32	\$13.32
NORTHVILLE MI 48168							<u> </u>			
92-17-35-301-002		0.20	\$665.83	\$133.17	DATE PAID					
DON CULLEN		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
225 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 26 & 27				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3525	SEGIZ ENICEVIEW WOODENING EGIG 20 & 21				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2120 N PONTIAC TRL									\$26.63	
WALLED LAKE MI 48390-3161					TOTAL	\$26.63	\$26.63	\$26.63	ֆ∠0.03	\$26.63
VV ALT ELLI AK E IVII /IXXUNEX161	•	II I	i)	II .	1	i	1	1	1	1

Page 149 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
92-17-35-301-003		0.20	\$665.83	\$133.17	DATE PAID					
JEFF KLEIN		UNIT								
301 LEON RD					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
WALLED LAKE MI 48390-3527	CLUTZ LAKEVIEW WOODLANDS LOT 28				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-004		0.20	\$665.83	\$133.17	DATE PAID					
J T GENTRY INC		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
309 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 29				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2550 E HIGHLAND RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
HIGHLAND MI 48356-2724 92-17-35-301-005		0.20	\$665.83	\$133.17	DATE PAID					
ALAN D BARNETT		UNIT	ψοσοίσο	Ψ.σσ	2711217112					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
321 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 30				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-006		0.20	\$665.83	\$133.17	DATE PAID					
OCCUPANT		UNIT	φ005.63	\$133.17	DATE FAID					
		• • • • • • • • • • • • • • • • • • • •			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
329 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 31 & 32				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3527					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-007		0.20	\$665.83	\$133.17	DATE PAID					
ROMAN MINEVICH		0.20 UNIT	φουσ.ου	\$133.17	DATE PAID					
ZOYA MINEVICH		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
415 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 33				PRINCIPAL		\$26.63	· ·	\$26.63	\$26.
	GLOTZ LAKEVIEW WOODLANDS EOT 33				INTEREST	\$26.63 \$0.00		\$26.63	\$0.00	\$20.
WALLED LAKE MI 48390-3529							\$0.00	\$0.00	*	\$0. \$26.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$20.
92-17-35-301-008		0.20	\$665.83	\$133.17	DATE PAID					
JOYCE GROSS		UNIT			DALANCE	<b>#</b> 400.47	M400 50	ф <b>т</b> с 00	<b>#50.07</b>	000
PAUL GROSS	CLUTZ LAKEVIEW WOODLANDO LOT 04				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
427 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 34				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-009		0.20	\$665.83	\$133.17	DATE PAID					
DEREK MCDUFFIE		UNIT	•							
SHAWN MCDUFFIE					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
435 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 35				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3529					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-010		0.20	\$665.83	\$133.17	DATE PAID					
FAUSTO BAGALAY		UNIT	<b>4</b> 000.00	Ţ.55.17	221,415					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
501 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 36				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3531					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	1	ı I		ii .	1	7-3.00	7-3.00	7-3.00	7_3.00	Ψ=0.

Page 150 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-301-013		0.20	\$665.83	\$133.17	DATE PAID					
KATHERINE QUITMEYER		UNIT								
	CLUTZ LAKEVIEW WOODLANDS N 200 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
455 SPARKS LN	LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3760	201 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
			****	<b>A</b> 400.4 <b>=</b>	D. 1 = D. 1   D.					
92-17-35-301-014		0.20	\$665.83	\$133.17	DATE PAID					
MICHAEL DAVID WAGNER		UNIT			DALANOE	<b>0400.47</b>	£400 F0	Ф <b>7</b> 0.00	<b>#50.07</b>	<b></b>
447 004 010 1 11	CLUTZ LAKEVIEW WOODLANDS S 80 FT OF N				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
447 SPARKS LN	280 FT LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3760					INTEREST TOTAL	\$0.00	\$0.00	\$0.00	\$0.00 \$26.63	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$20.03	\$26.6
92-17-35-301-021		0.20	\$665.83	\$133.17	DATE PAID					
CAROLYN DANCY		UNIT	φυυυ.ου	ψ100.17	DATERAID					1
PAUL DANCY		CIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
464 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 100 FT OF				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3759	LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
WALLES EARLE WILL 10000 0700					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ_0.
92-17-35-301-022		0.20	\$665.83	\$133.17	DATE PAID					
LYNN R LONG		UNIT	***************************************	<b>V</b>						
	OLUTZ LAKEN/JENA/MOODLANDO O 400 FT OF N				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
452 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS S 100 FT OF N				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3759	200 FT LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
125 ARVIDA					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390										
92-17-35-301-023		0.20	\$665.83	\$133.17	DATE PAID					
CHARLES WILSON		UNIT								
	CLUTZ LAKEVIEW WOODLANDS S 80 FT OF N				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
440 SPARKS LN	280 FT LOT 41				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3759	2001120111				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-024		0.20	\$665.83	\$133.17	DATE PAID					
BAC HOME LOANS SERVICING LP		UNIT			DALANOE	<b>0400.47</b>	£400 F0	Ф <b>7</b> 0.00	<b>#50.07</b>	<b></b>
400 CDADICC I N	CLUTZ LAKEVIEW WOODLANDS N 83.40 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
428 SPARKS LN WALLED LAKE MI 48390-3759	S 343.40 FT OF LOT 41				PRINCIPAL INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26. \$0.
400 COUNTRYWIDE WAY					TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.
SIMI VALLEY CA 93065					IOIAL	ψ20.03	Ψ20.03	Ψ20.03	ψ20.03	φ∠0.
92-17-35-301-025		0.20	\$665.83	\$133.17	DATE PAID					
CHARLES R WALTERS		UNIT	ψοσο.σσ	ψ100.17	DATE FAID					
		0.411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
424 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 60 FT OF S				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3759	260 FT OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
		<u> </u>			<u> </u>					
92-17-35-301-026		0.20	\$665.83	\$133.17	DATE PAID					
RONALD SEGGIE		UNIT	•							
	CLUTZ LAKEVIEW WOODLANDS N 88 FT OF S				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
416 SPARKS LN	200 FT OF LOT 41				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3759	200 FT OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
		II I		II	1				1	1

Page 151 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-301-028		0.20	\$665.83	\$133.17	DATE PAID					
PAULA ALLEN		UNIT		,						
	01 1177 1 AVEV (15) AV 10 0 DI ANDO 51 V 00 57 05 0				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
675 LEON RD	CLUTZ LAKEVIEW WOODLANDS ELY 90 FT OF S				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3644	112 FT OF LOT 41				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
4223 KELLY CIRCLE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-1319					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	ΨΣΟ
92-17-35-301-029		0.20	\$665.83	\$133.17	DATE PAID					
MARY QUALIS TRUSTEE		UNIT	φοσσ.σσ	ψ100.17	D/((L1/(D					
MARY C QUALLS		Oitii			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
717 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 42				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3646	OLOTZ LINCEVIEW WOODLINDO LOT 42				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3040					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	\$20.03	\$20.03	\$20.03	φ20.03	\$20
02 47 25 204 020		0.20	¢cce oo	¢422.47	DATE PAID					
92-17-35-301-030		0.20	\$665.83	\$133.17	DATE PAID					
JAMES RICHARDS		UNIT			DALANCE	£400.47	¢400.50	¢70.00	ФE0.07	<b>#</b> 00
40FF LEON DD	CLUTZ LAKEVIEW WOODLANDS LOT 45				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1255 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 43				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3674					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-301-032		0.20	\$665.83	\$133.17	DATE PAID					
KIMBERLY K ROCHFORD		UNIT								
	CLUTZ LAKEVIEW WOODLANDS S 160 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
615 LEON RD	LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3643	201 10				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-301-033		0.20	\$665.83	\$133.17	DATE PAID					
LINDA KLUTAS		UNIT								
	CLUTZ LAKEVIEW WOODLANDS S 83.40 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
433 SPARKS LN	N 363.40 FT OF LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3760	N 303.4011 OF EOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
500 STONEY CREEK RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
DAUPHIN PA 17018										
92-17-35-301-034		0.20	\$665.83	\$133.17	DATE PAID					
DONNA JEAN THOMPSON		UNIT								
	CLUTZ LAVEVIEW WOODLANDS N 400 FT OF S				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
419 SPARKS LN	CLUTZ LAKEVIEW WOODLANDS N 100 FT OF S 260 FT OF LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3760	200 FT OF LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-301-035		0.20	\$665.83	\$133.17	DATE PAID					
RANDOLPH CHAMPE		UNIT	•							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1275 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOTS 44 & 47				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3674					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
						+=3.00	<del>+</del> =3.00	<del>+</del> =3.00	Ţ_5.00	<b>\$_0</b>
92-17-35-302-003		0.20	\$665.83	\$133.17	DATE PAID				1	
KAROL DRABEK	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT	ψ000.00	Ψ100.17	D/(ILI/(ID					1
	80. BEG ON NLY LOT LINE DIST N 50-40-00 E 50	0.111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
100   50   50	FT FROM NW LOT COR, TH S 42-35-00 E 100 FT,				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
		11								
138 LEON RD	TH N 50-40-00 F 50 FT TH N 42-35-00 W 400 FT	l l			INITEDECT	ደስ ሰስ				
138 LEON RD WALLED LAKE MI 48390-3522	TH N 50-40-00 E 50 FT, TH N 42-35-00 W 100 FT, TH WLY ALG NLY LOT LINE 49.99 FT TO BEG				INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.

Page 152 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-302-004	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$665.83	\$133.17	DATE PAID					
NICHOLE BROWN	80, BEG ON NLY LOT LINE DIST N 50-40-00 E	UNIT								
	87.92 FT & ALG CURVE TO RIGHT 37.07 FT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
210 LEON RD	FROM NW LOT COR. TH S 42-35-00 E 100 FT. TH				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3524	N 59-45-30 E 40.41 FT, TH N 36-56-40 W 101.82				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
440 E WALLED LAKE DR	FT, TH WLY ALG NLY LOT LINE 50 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390	TT, TT WET ALONET EOT EINE OUT TTO BEG									
92-17-35-302-007		0.20	\$665.83	\$133.17	DATE PAID					
RUBY LEWANDOWSKI	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	80, BEG ON NLY LOT LINE DIST S 63-56-00 W				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
	158.33 FT FROM NE LOT COR, TH S 26-04-00 E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
	100 FT, TH S 63-56-00 W 50 FT, TH N 26-04-00 W				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
218 LEON RD	100 FT TH N 63-56-00 E 50 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3524										
92-17-35-302-010		0.20	\$665.83	\$133.17	DATE PAID					
KEVIN PFEIFLE	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
JULIE PFEIFLE	74 BEG AT SW LOT COR, TH S 87-17-00 E 72.77				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
	FT, TH N 26-04-00 W 69.18 FT, TH S 63-56-00 W				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
	47.85 FT TH S 01-17-00 E 37.81 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
222 E ORCHARD ST	47.0011 111001 17 00 E 07.011 1 10 BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
PERRY MI 48872										
92-17-35-302-011	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$665.83	\$133.17	DATE PAID					
CLINTON CHILDERS	74 BEG AT PT ON S LOT LINE DIST S 87-17-00 E	UNIT								
	72.77 FT FROM SW LOT COR, TH S 87-17-00 E				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
	114.10 FT, TH N 26-04-00 W 123.98 FT, TH S 63-				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
	56-00 W 100 FT. TH S 26-04-00 E 69.18 FT TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2021 LOVELL CT	BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
MILFORD MI 48381										
92-17-35-302-012		0.20	\$665.83	\$133.17	DATE PAID					
PAUL DELMOTTE		UNIT			5	A	****	<b>^-</b>	<b>^</b>	***
	0 4 000 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
520 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-35-302-013		0.00	\$665.83	\$133.17	DATE PAID					
92-17-35-302-013 GLEN NELSON	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20 UNIT	\$605.83	\$133.17	DATE PAID					
GLEN NELSON	74 BEG AT NE LOT COR, TH S 05-35-00 E ALG	UNIT			BALANCE	\$133.17	\$406 E2	\$79.90	\$53.27	\$26.6
FOOLFONIDD	LOT LINE 65.32 FT, TH N 87-09-00 W 142.04 FT,				PRINCIPAL	\$26.63	\$106.53 \$26.63		\$26.63	\$26.6
530 LEON RD WALLED LAKE MI 48390-3530	TH N 00-29-00 E 64.29 FT TO N LOT LINE, TH				INTEREST	\$0.00	\$0.00	\$26.63 \$0.00	\$0.00	\$0.0
WALLED LAKE IVII 48390-3530	ALG SD LINE S 88-27-00 E 15 FT, TH S 87-09-00 E				TOTAL	\$0.00 \$26.63	\$0.00	\$26.63	\$26.63	\$26.6
	120 FT TO BEG				TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$20.0
92-17-35-302-014		0.20	\$665.83	\$133.17	DATE PAID					
EQUITY TRUST CO		UNIT	ψυυυ.υυ	ψ100.17	DATEFAID					
FBO RICHARD GUNTHER		01411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
335 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3513	SSS . ISSSSSS.S SINGS ISI EGGAI BOSONPHON				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
486 E WALLED LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390						Ψ=0.00	<b>\$20.00</b>	<b>\$20.00</b>	<b>\$20.00</b>	Ψ20.0
92-17-35-302-015	0	0.20	\$665.83	\$133.17	DATE PAID					1
GERALD R EAGLETON	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT	ψουσ.σσ	ψ100.11	3,1121,110				1	
RITA C EAGLETON	74, BEG AT SE LOT COR, TH N 87-17-00 W ALG	-			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
331 ARVIDA ST	SLY LOT LINE 165 FT, TH N 00-29-00 E 54 FT, TH				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3513	S 87-09-00 E 149.38 FT TO ELY LOT LINE, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 273	ALG CURVE TO LEFT, WHOSE CHORD BEARS S				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
	15-55-00 E 56.28 FT, A DIST OF 56.35 FT TO BEG					Ψ <b>-</b> 0.00	Ψ=0.00	Ψ=0.00	Ψ <u>-</u> 0.00	Ψ20.00

Page 153 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	6	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-302-016		0.20	\$665.83	\$133.17	DATE PAID					
DONNA M BLANCHA		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
315 ARVIDA ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390										
92-17-35-302-017		0.20	\$665.83	\$133.17	DATE PAID					
MARK TOMES	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
DAWN TOMES	75 BEG AT NE LOT COR, TH N 87-17-00 W 150				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
327 ARVIDA ST	FT, TH S 02-53-00 W 50 FT, TH S 87-17-00 E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
WALLED LAKE MI 48390-3513	174.50 FT, TH N 23-43-00 W 55.70 FT ALG WLY				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
	LINE MAPLE BLVD TO PT OF BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						<b>\$20.00</b>	Ψ20.00	Ψ20.00	Ψ20.00	Ψ=0.
92-17-35-302-018		0.20	\$665.83	\$133.17	DATE PAID					
DONNA M BLANCHA		UNIT	ψοσο.σο	ψ.56.17	5,21,,,,,					
DUMA III DEANGIA		01411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	Oce 7 65655613 Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
315 ARVIDA ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390					IOIAL	\$20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.
92-17-35-302-020		0.20	\$665.83	\$133.17	DATE PAID					
ROBERT L BEANE JR		UNIT	φ000.00	φ133.17	DATE PAID					
RUBERT L BEANE JR		UNIT			DALANCE	£400.47	£400 F2	Ф <b>7</b> 0.00	<b>Ф</b> ГО О <b>7</b>	\$26.
005 ADVIDA OT	CLUTZ LAKEVIEW WOODLANDS LOT 77				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	
265 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT //				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00.47.05.000.004		0.00	ФООТ 00	C400.47	DATE PAID					
92-17-35-302-021		0.20	\$665.83	\$133.17	DATE PAID					
DONALD MARTIN		UNIT			DALANIOE	<b>0.100.17</b>	<b>0</b> 400 <b>5</b> 0	<b>470.00</b>	<b>#50.07</b>	000
DEBRA MARTIN	01 1177   AKENTEM MOOD! ANDO I OT 70				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
215 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 78				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3511					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-302-031		0.20	\$665.83	\$133.17	DATE PAID					
PETER T CHRISTY JR		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
115 ARVIDA ST	WELFARE LAKE VIEW LOT 58				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-302-032		0.20	\$665.83	\$133.17	DATE PAID					
DALE PACYNSKI		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
121 ARVIDA ST	WELFARE LAKE VIEW LOT 59				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2705 LAKERIDGE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WIXOM MI 48393-1217										
92-17-35-302-033		0.20	\$665.83	\$133.17	DATE PAID					
JAMES R CRENSHAW		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
123 ARVIDA ST	WELFARE LAKE VIEW LOT 60				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	1	n I		III	1	· · · · · · · · · · · · · · · · · · ·	1	1	· · · · · · · · · · · · · · · · · · ·	

Page 154 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-302-038		0.20	\$665.83	\$133.17	DATE PAID					
ROBERT J MCLLMURRAY TR		UNIT	***************************************	<b>*</b> 1.00111						
		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
135 ARVIDA ST	WELFARE LAKE VIEW LOT 64				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 7072					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
NOVI MI 48376					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-35-302-041		0.20	\$665.83	\$133.17	DATE PAID					
DIANE DEGRANDCHAMP		UNIT	ψ000.00	Ψ133.17	DATETAID					
DIANE DEGRANDONAME		OINII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
145 ARVIDA ST	WELFARE LAKE VIEW LOT 67				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3507	WELLAND LAND VIEW LOT OF				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LAKE WII 40390-3307					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	ֆ∠0.03	\$20.03	\$20.03	\$20.03	\$20
00 47 25 202 042		0.00	<u></u>	¢400.47	DATE DAID					
92-17-35-302-042		0.20	\$665.83	\$133.17	DATE PAID					
JOYCE BROUILLETTE		UNIT			DALANCE	C400.47	¢400.50	<b>Ф70 00</b>	<b>Ф</b> ГО О7	<b>#</b> 00
440 ADVIDA CT	WELEADE LAKE WEWLOT CO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
149 ARVIDA ST	WELFARE LAKE VIEW LOT 68				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3507					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-302-043		0.20	\$665.83	\$133.17	DATE PAID					
JONATHAN EDWARD HERSTEK		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
155 ARVIDA ST	WELFARE LAKE VIEW LOT 69				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3510					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-302-046		0.20	\$665.83	\$133.17	DATE PAID					
DONNA M BLANCHA	CLUTZ LAKEVIEW WOODLANDS LOT 76 EXC	UNIT								
	BEG AT NE LOT COR TH S 23-43-00 E 135.35 FT,				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	TH N 86-05-00 W 170.08 FT, TH N 03-55-00 E 120				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	FT, TH S 86-05-00 E 107.30 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
315 ARVIDA ST	11, 1110 00 00 00 2 101.0011 10 520				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390										
92-17-35-302-047		0.20	\$665.83	\$133.17	DATE PAID					
DONNA M BLANCHA-WATTLE	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT								
	76 BEG AT NE LOT COR, TH S 23-43-00 E 135.35				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
315 ARVIDA ST	FT. TH N 86-05-00 W 170.08 FT. TH N 03-55-00 E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3513	120 FT, TH S 86-05-00 E 107.30 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	12011, 1110 00 00-00 E 107.0011 10 BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-302-048	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$665.83	\$133.17	DATE PAID					
RUBY LEWANDOWSKI	80 BEG AT PT DIST S 63-56-00 W 208.33 FT	UNIT			1					
	FROM MOST NLY LOT COR, TH S 26-04-00 E 100				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
218 LEON RD	FT, TH S 59-45-30 W 80.82 FT, TH N 31-30-00 W				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3524	101.82 FT, TH NELY 100 FT ALG NLY LOT LINE				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
	TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	IO DEG				<u> </u>					
92-17-35-302-051		0.20	\$665.83	\$133.17	DATE PAID					
LYNN R LONG		UNIT	•							
	WELFARE LAKE VIEW LOT 61 & SWLY 1/2 OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
125 ARVIDA ST	LOT 62, ALSO LOT 79 OF 'CLUTZ LAKEVIEW				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3507	WOODLANDS'				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	1	n I		II .		Ψ=0.00	Ψ=0.00	ψ=3.00	Ψ=0.00	Ψ-0

Page 155 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Tł
92-17-35-302-052		0.20	\$665.83	\$133.17	DATE PAID					
LAUREN BILLIU		UNIT								
	WELFARE LAKE VIEW NELY 1/2 OF LOT 62 EXC				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
131 ARVIDA ST	6 FT X 6 FT SQUARE PARCEL OFF SELY LOT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3507	COR, ALSO ALL OF LOT 63				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-302-053	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	0.20	\$665.83	\$133.17	DATE PAID					
DAN CULLEN	80 BEG AT PT DIST NELY 50 FT ALG NLY LOT	UNIT								
	LINE FROM NE COR OF LOT 81, TH SWLY 50 FT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
132 LEON RD	TO SD NE COR OF LOT 81, TH SELY ALG LOT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3522	LINE TO SE COR OF LOT 81, TH NELY 50 FT ALG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2088 N PONTIAC TRL WALLED LAKE MI 48390-3159	LOT LINE, TH NWLY TO BEG 08/08/86 FR 001 & 002				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-302-054	002	0.20	\$665.83	\$133.17	DATE PAID					
GREG ABBOTT		UNIT								
	WELFARE LAKE VIEW LOTS 65 & 66 8-1-01 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
141 ARVIDA ST	039 & 040				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3507	039 & 040				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-302-055		0.20	\$665.83	\$133.17	DATE PAID					
CHRIS A ANDROFF		UNIT	ψ000.00	ψ.σσ	271.2.71.2					
HANNAH ANDROFF	WELEADE LAKE VIEW LOTO TO 0 74 0 4 04 ED				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
185 ARVIDA ST	WELFARE LAKE VIEW LOTS 70 & 71 8-1-01 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3510	044 & 045				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-004		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL CLEMINTE		UNIT	ψ003.03	φ133.17	DATEFAID					
D/WILL GEEMMITE		O T T T			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1286 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3675					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00.47.05.000.005		0.00	<b>A</b> 225.22	<b>D</b> 100.17	DATE BAID					
92-17-35-303-005 DANIEL CLEMINTE		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
		J			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1278 LEON RD	CLUTZ LAKEVIEW WOODLANDS E 14 FT OF				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3675	LOTS 72 & 73				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-006		0.20	\$665.83	\$133.17	DATE PAID					
JACK TURNER		UNIT	ψυυυ.υυ	ψ100.17	DATEFAID					
	CLUTZ LAKEVIEW WOODLANDS LOT 74 EVO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
310 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 71 EXC ELY 180 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3512	LLI 100 F1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-007		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL CLEMINTE		UNIT	<b>*</b>							
	CLUTZ LAKEVIEW WOODLANDS ELY 180 FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1278 LEON RD	LOT 71				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3675	1				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	1				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 156 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5Th
92-17-35-303-009		0.20	\$665.83	\$133.17	DATE PAID					
DENNIS YEZBICK		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
302 ARVIDA ST	CLUTZ LAKEVIEW WOODLANDS LOT 69				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3512					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-010		0.20	\$665.83	\$133.17	DATE PAID					
THEODORE COULTER		UNIT			DALANOE	£400.47	£400 F0	Ф <b>7</b> 0 00	<b>#</b> 50.07	<b>#</b> 00
KATHLEEN COULTER	CLUTZ LAKEVIEW WOODLANDS LOT 68				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
214 ARVIDA ST WALLED LAKE MI 48390-3509	CLUTZ LAKEVIEW WOODLANDS LOT 66				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE IVII 48390-3509					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00	\$0.00 \$26.63	\$0. \$26.
					TOTAL	\$20.03	\$20.03	\$26.63	\$20.03	\$20.
92-17-35-303-012		0.20	\$665.83	\$133.17	DATE PAID					
MARK LAFLUER		UNIT	ψ000.00	ψ100.17	DATETAID					
WARR EAF LOEK		CIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
217 CHERITON ST	WELFARE LAKE VIEW LOT 73				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3622					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
						ų=0.00	Ų-0.00	<b>V</b> =0.00	<b>V</b> =0.00	<b>,</b>
92-17-35-303-013		0.20	\$665.83	\$133.17	DATE PAID					
PHILIP H RUNDELL		UNIT	***************************************	***************************************						
		• • • • • • • • • • • • • • • • • • • •			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
213 CHERITON ST	WELFARE LAKE VIEW LOT 74				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3622					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-018		0.20	\$665.83	\$133.17	DATE PAID					
FREDERICK CHUMACK		UNIT								
	0.4. 0.4. 1.5. 1.4.				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
340 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3512					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
02.47.25.202.040		0.00	<u> </u>	£400.47	DATE DAID					
92-17-35-303-019		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
JENNIFER BOYLAN		UNIT			DALANCE	¢422.47	\$406 F2	¢70.00	¢52.27	¢26
660 LEON RD	See Assessors Office for Legal Description				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26. \$26.
WALLED LAKE MI 48390-3642	Oce Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
761 E WALLED LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-35-303-021		0.20	\$665.83	\$133.17	DATE PAID	İ				
GABRIEL J COSTANZO		UNIT	+0.00	Ţ.30						
DEBRA B COSTANZO					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
815 BLUFFTON ST	WELFARE LAKE VIEW LOTS 77 & 78				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3614					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-022		0.20	\$665.83	\$133.17	DATE PAID					
JANET SNYDER	CLUTZ LAKEVIEW WOODLANDS PART OF LOTS	UNIT								
	72 & 73 BEG AT PT ON N LI OF LOT 73 DIST WLY				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
950 LEON RD	130 FT FROM NE COR OF LOT 73, TH S 06-02-00				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3681	W 110 FT, TH N 83-58-00 W 105 FT, TH N 06-02-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	00 E 110 FT, TH S 83-58-00 E 105 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
		I		I		1			1	

Page 157 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-303-024		0.20	\$665.83	\$133.17	DATE PAID					
SCOTT LOWN	WELFARE LAKE VIEW LOT 72, ALSO PART OF	UNIT								
	LOT 109 BEG AT NELY LOT COR, TH S 00-16-00				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
315 CHERITON ST	E 100 FT, TH S 61-25-49 W 60 FT, TH N 25-19-21				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3624	W 75 FT, TH N 54-13-50 E 105 FT TO BEG 11-22-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	91 CORR				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-025		0.20	\$665.83	\$133.17	DATE PAID					
CHARLES JACKSON	CLUTZ LAKEVIEW WOODLANDS PART OF LOT	UNIT	ψ003.03	ψ133.17	DATETAID					
	70 BEG AT PT DIST S 23-43-00 E 30.00 FT FROM				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
304 ARVIDA ST	NW LOT COR, TH N 84-37-00 E 160.50 FT, TH S				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3512	05-23-00 E 85.95 FT, TH S 84-31-26 W 131.95 FT,				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	TH N 23-43-00 W 90.77 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-026		0.20	\$665.83	\$133.17	DATE PAID					
OLIVA BUCHANAN TRUST	CLUTZ LAKEVIEW WOODLANDS PART OF LOT 70 BEG AT NW LOT COR, TH N 84-37-00 E 496.70	LINIT	ψοσο.σσ	ψ100.17	BATETAIB					
	· · · · · · · · · · · · · · · · · · ·				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
308 ARVIDA ST	FT, TH S 03-03-21 W 115.17 FT TH S 84-31-26 W				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3512	309.86 FT, TH N 05-23-00 W 85.95 FT, TH S 84-37-				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
	00 W 160.50 FT, TH N 23-43-00 W 30.00 FT TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-028		0.20	\$665.83	\$133.17	DATE PAID					
MR JOHN MCDONALD		UNIT	φ003.03	\$133.17	DATEFAID					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
320 ARVIDA ST	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3512					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-029		0.20	\$665.83	\$133.17	DATE PAID					
WALTER KUCZEWSKI		UNIT	φοσο.σσ	ψ100.17	DATETAID					
PATRICIA KUCZEWSKI		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
800 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3683	dee Assessors Office for Legal Description				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LANE IVII 40390-3003					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					TOTAL	Ψ20.03	\$20.03	Ψ20.03	Ψ20.03	Ψ20.
92-17-35-303-030		0.20	\$665.83	\$133.17	DATE PAID					
STEVEN D STEPHAN		UNIT								
000 0115017011.07	WELFARE LAKE VIEW LOTS 75 & 76 10-02-08 FR				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
209 CHERITON ST	014 & 015				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-031		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL P MUNRO		UNIT	•							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
732 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3645					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-303-032		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL P MUNRO		UNIT	<b>4000.00</b>	Ų.30.11						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
734 LEON RD	See Assessors Office for Legal Description				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3645					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
				II .	•					

Page 158 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-326-001		0.20	\$665.83	\$133.17	DATE PAID					
HARLAN COMBS		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
501 DECKER RD	CLUTZ LAKEVIEW WOODLANDS LOT 45				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3805					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-326-002		0.20	\$665.83	\$133.17	DATE PAID					
PROPERTY OWNER		UNIT	φ000.00	ψ133.17	DATEFAID					
THO ENTONIES		01111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	CLUTZ LAKEVIEW WOODLANDS W 662.86 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	OF LOT 46				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5607 WARRENSHIRE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WEST BLOOMFIELD MI 48322						Ψ20.00	Ψ20.00	Ψ20.00	<b>\$20.00</b>	Ψ20.
92-17-35-326-003		0.20	\$665.83	\$133.17	DATE PAID					
TONY E JACKSON		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 46 EXC W				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
457 DECKER RD					PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3804	662.86 FT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
2900 WELCH RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-1562									·	
92-17-35-326-005		0.20	\$665.83	\$133.17	DATE PAID					
LEON INVESTMENTS		UNIT								
	CLUTZ LAKEVIEW WOODLANDS THE W 110 FT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1335 LEON RD	OF LOT 48				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3673	OI LOT 40				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
30500 NORTHWESTERN HWY STE 316C					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
FARMINGTON HILLS MI 48334-3178										
92-17-35-326-006		0.20	\$665.83	\$133.17	DATE PAID					
PROPERTY OWNER		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 48, EXC				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	THE W 110 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	1112 W 11011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5607 WARRENSHIRE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WEST BLOOMFIELD MI 48322										
92-17-35-326-007		0.20	\$665.83	\$133.17	DATE PAID					
TOM LANGAN		UNIT			DALANCE	<b>#400.47</b>	£400 50	Ф <b>7</b> С ОО	<b>#FO 07</b>	000
4045   FON DD	CLUTZ LAKEVIEW WOODLANDS W 1/2 OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1345 LEON RD	49				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3673					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
38321 GOLFVIEW DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
FARMINGTON HILLS MI 48331 92-17-35-326-008		0.20	\$665.83	\$133.17	DATE PAID		1		-	
92-17-35-326-008 SETH GARVIN		UNIT	δ8.600φ	\$133.17	DATE PAID					
SETTI GARVIN		UINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1385 LEON RD	CLUTZ LAKEVIEW WOODLANDS E 1/2 OF LOT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3673	49				INTEREST	\$26.63	\$0.00	\$0.00	\$0.00	\$20.
WALLED LANE WII 40390-30/3					TOTAL	\$0.00 \$26.63	\$26.63	\$26.63	\$26.63	\$0. \$26.
					IOIAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.00	ΨΖΟ
92-17-35-326-009		0.20	\$665.83	\$133.17	DATE PAID					
GERALD M BASSETT		UNIT		,						
	CLUTZ LAKEVIEW WOODLANDS W CO FT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1411 LEON RD	CLUTZ LAKEVIEW WOODLANDS W 60 FT OF				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3648	LOT 50				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.

Page 159 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-326-010		0.20	\$665.83	\$133.17	DATE PAID					
GLEN HAUENSTEIN		UNIT								
	CLUTZ LAKEVIEW WOODLANDS LOT 50 EXC W				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1445 LEON RD	60 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3648	0011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-326-011		0.20	\$665.83	\$133.17	DATE PAID					
LEON INVESTMENTS		UNIT	ψοσο.σσ	Ψ100.17	BATETAID					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
1525 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 51				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3650					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
30500 NORTHWESTERN HWY STE 316C					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
FARMINGTON HILLS MI 48334-3178										
92-17-35-326-012		0.20	\$665.83	\$133.17	DATE PAID					
JOHN HENEHAN		UNIT			DALANOE	£400.47	£400 F0	Ф <b>7</b> 0.00	<b>\$50.07</b>	<b>#</b> 00
4545 LEON DD	CLUTZ LAKEVIEW WOODLANDS LOT 52				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1545 LEON RD WALLED LAKE MI 48390-3650	CLUTZ LAKEVIEW WOODLANDS LOT 52				PRINCIPAL INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63	\$26.63	\$26. \$0.
WALLED LAKE IVII 48390-3000					TOTAL	\$26.63	\$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	\$∠0.
92-17-35-326-013		0.20	\$665.83	\$133.17	DATE PAID					
GARY P BENEDICT		UNIT	***************************************	***************************************						
ANNETTE S BENEDICT					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1563 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 53				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3603					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00 47 25 220 044		0.00	ФССТ 02	£400.47	DATE DAID					
92-17-35-326-014 NORMA HOOK		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
NORINA HOOK		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
	CLUTZ LAKEVIEW WOODLANDS LOT 54				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
	OLOTZ LAKE VIEW WOODLANDO LOT 54				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
5645 ARENAC ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
COMMERCE TWP MI 48382					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-35-326-016		0.20	\$665.83	\$133.17	DATE PAID					
CHRIS TAMER		UNIT								
ELIZABETH TAMER	CLUTZ LAKEVIEW WOODLANDS LOT 55 EXC S				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
435 DECKER RD	150 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3804	13011				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-326-017		0.20	\$665.83	\$133.17	DATE PAID					
TIMOTHY K SIPES		UNIT	φυυο.οο	क्।३३.।/	DATE PAID					
ALICE M SIPES		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
425 DECKER RD	CLUTZ LAKEVIEW WOODLANDS S 150 FT OF				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3804	LOT 55				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
										,
92-17-35-327-001		0.20	\$665.83	\$133.17	DATE PAID					
JAMES GROSS		UNIT								
40404.504.55	OLUTZI AKEVIEW WOOD, ANDOLOT OF				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1316 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 65				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3612					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0. \$26.
						T WYG GY	4.00.03	U (1) (2)	U (1) (1) (1)	4.00

Page 160 of 172 6/4/2015 425 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-327-002		0.20	\$665.83	\$133.17	DATE PAID					
JESSE COCKERHAM		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1344 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 64				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3612					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
92-17-35-327-003		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL CLEMINTE		UNIT	φοσο.σσ	Ψ100.11	DATE TAIL					
DANIELA CLEMINTE					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1370 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 63				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3612					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
1278 LEON RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3675						,	,		,	,
92-17-35-327-004		0.20	\$665.83	\$133.17	DATE PAID					
JOYCE L CHAPLIN LIVING TRUST		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1490 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 62				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3647					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00 47 25 227 005		0.20	ФССТ 0.2	¢400.47	DATE DAID					
92-17-35-327-005 BOB HARRIS		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
LORRAINE HARRIS		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1510 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 61				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3649	OLOTZ LYNCEVIEW WOODLYNDO LOT OT				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 129					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.
92-17-35-327-006		0.20	\$665.83	\$133.17	DATE PAID					
MARGARET FLOWER		UNIT	, ,							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1530 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 60				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-327-008		0.20	\$665.83	\$133.17	DATE PAID					
KENNETH STUDT		UNIT	φ003.63	φ133.17	DATE FAID					
VALERIE STUDT					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1634 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 57				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3651					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-327-009		0.20	\$665.83	\$133.17	DATE PAID					
ESTELLE STELLA HAYS		UNIT	φυυσ.οσ	φ133.17	DATE PAID					+
==		5.111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
1676 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 56				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3651					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
00 47 05 007 040		0.00	#005.00	#400 17	DATE SAIS					
92-17-35-327-010 LAKES BAPTIST CHRUCH		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
LANES DAF HOT CHINOCH		CINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
347 DECKER RD	CLUTZ LAKEVIEW WOODLANDS LOT 66				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3630					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
309 DECKER RD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
							Ψ=0.00	Ψ=0.00	Ψ=0.00	

Page 161 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-327-012		0.20	\$665.83	\$133.17	DATE PAID					
PAUL SAUVE		UNIT								
LISA SAUVE	CLUTZ LAKEVIEW WOODLANDS LOT 50 0 15 00				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
1550 LEON RD	CLUTZ LAKEVIEW WOODLANDS LOT 59 9-15-03				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3649	FR 007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-327-013		0.20	\$665.83	\$133.17	DATE PAID					
SAAD SAID		UNIT			DALANCE	¢400.47	¢400.50	\$79.90	<b>ФГО О</b> 7	\$26.
4570 LEON DD	CLUTZ LAKEVIEW WOODLANDS LOT 58 9-15-03				BALANCE	\$133.17	\$106.53		\$53.27	
1570 LEON RD	FR 007				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3649					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-351-001		1.00	\$665.83	\$665.83	DATE PAID					
N & B PROPERTIES		UNIT	φοσο.σσ	φοσο.σσ	BATETAID					
	MELEADE LAKE MEM LOTIC ACCECCED MITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
765 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 6 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3566	17-35-302-027				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
33202 EMMA CIR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
COMMERCE TWP MI 48390										
92-17-35-351-002		1.00	\$665.83	\$665.83	DATE PAID					
SUSAN COWLING		UNIT			DAI 41105	<b>#</b> 205.00	<b>#</b> 500.00	#000 F0	<b>#</b> 000 00	0.400
	WELFARE LAKE VIEW LOT 7 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	17-35-302-028				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
767 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3568										
92-17-35-351-003		1.00	\$665.83	\$665.83	DATE PAID					
BRIAN SCHWARTZ		UNIT			5	400=00	<b>^</b>	*****	****	
	WELFARE LAKE VIEW LOT 8 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	17-35-302-029				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
22222 WEST EV DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
23632 WESLEY DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
FARMINGTON MI 48335										
92-17-35-351-004		1.00	\$665.83	\$665.83	DATE PAID					
DAVID DIEGEL		UNIT			DALANOE	<b>#</b> 005.00	ФE00.00	#000 F0	#000 00	<b>#</b> 400
	WELFARE LAKE VIEW LOT 9 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	17-35-302-030				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
777 E WALLED LAVE DD					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
777 E WALLED LAKE DR WALLED LAKE MI 48390-3568					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-35-351-006		1.00	\$665.83	\$665.83	DATE PAID		<u> </u>			
RICHARD PATTERSON		UNIT	ψ000.00	Ψ000.00	5,1121,110					
	MELEADE LAKE MEM LOT 40 ACCESSES MUTU				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
805 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 12 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3666	17-35-352-002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
		1.00	\$665.83	\$665.83	DATE PAID		<u> </u>			
92-17-35-351-007		UNIT								
92-17-35-351-007 JEROME NELL		0								M400
	WELFARE LAKE VIEW LOT 13 ASSESSED WITH	<b>5</b> 111.			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	
	WELFARE LAKE VIEW LOT 13 ASSESSED WITH 17-35-352-003				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
		0								\$133 \$133 \$0.0 \$133

Page 162 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL	1			INSTALLMENTS		
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-351-008		1.00	\$665.83	\$665.83	DATE PAID					
JEROME NELL		UNIT								
	WELFARE LAKE VIEW LOT 14 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	17-35-352-004				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	17-33-332-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
809 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3666										
92-17-35-351-009		1.00	\$665.83	\$665.83	DATE PAID					
MICHAEL KERNEN		UNIT								
	WELFARE LAKE VIEW LOT 15 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	17-35-352-005				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
817 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390			<b>^</b>	<b>^</b>						
92-17-35-351-010		1.00	\$665.83	\$665.83	DATE PAID					
BENJAMIN T BERRY		UNIT			DAI 41105	<b>#</b> 005.00	<b>#</b> 500.00	0000 50	<b>#</b> 000 00	0.00
004 5 WALLED LAKE DD	WELFARE LAKE VIEW LOT 16 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
821 E WALLED LAKE DR	17-35-352-006				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3666					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
00.47.05.054.044		4.00	<b>#</b> 005.00	<b>#</b> 005.00	DATE DAID					
92-17-35-351-011		1.00	\$665.83	\$665.83	DATE PAID					
BRUNO B TOME		UNIT			DALANIOE	<b>#</b> 005.00	<b>#</b> 500.00	<b>#</b> 000 50	<b>#</b> 000 00	<b>0.40</b> 6
KELLY J TOME	WELFARE LAKE VIEW LOT 17 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	17-35-352-007				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
OOF F WALLED LAKE DD					INTEREST TOTAL	\$0.00 \$133.17	\$0.00	\$0.00	\$0.00	\$0. \$133
825 E WALLED LAKE DR WALLED LAKE MI 48390-3666					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
92-17-35-351-013		1.00	\$665.83	\$665.83	DATE PAID					
KENNETH C HOLMES		UNIT	φουσ.οσ	\$605.63	DATE PAID					
		UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
DEBORAH M BRAUNINGER	WELFARE LAKE VIEW LOT 21 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	17-35-353-002				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
905 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3667					TOTAL	ψ133.17	ψ133.17	ψ133.17	ψ133.17	ψισο
92-17-35-351-014		1.00	\$665.83	\$665.83	DATE PAID					
MARGARET GRAVES		UNIT	ψ000.00	ψ003.03	DATETAID					
MICHELLE SHATZER		OIVII			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	WELFARE LAKE VIEW LOT 22 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	17-35-353-003				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0
909 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390					1	Ţ.=w	Ţ	7.50	Ţ	<b>\$.50</b>
92-17-35-351-015		1.00	\$665.83	\$665.83	DATE PAID					
HARRY E BEESON		UNIT	<b>4000.00</b>	<b>\$555.55</b>	32					
	NAME FARE LAKE VIEW CT OF A CORREST CONTROL	J			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	WELFARE LAKE VIEW LOT 23 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	17-35-353-004				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
911 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3667					1					
92-17-35-351-016		1.00	\$665.83	\$665.83	DATE PAID					
ALLEN MCPHEE		UNIT	•		1					
CAROLE MCPHEE	WELEADE LAKE VIEW LOT 24 ASSESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
913 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 24 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390-3667	17-35-353-005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
				II .	1			+	+	, , , , ,

Page 163 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-351-017		1.00	\$665.83	\$665.83	DATE PAID					
PHILIP COOPER		UNIT			DALANCE	ФСС <u>Г</u> 00	фгоо cc	¢200 F0	<b>#</b> 000 00	\$133.1
915 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 25 ASSESSED WITH				BALANCE PRINCIPAL	\$665.83 \$133.17	\$532.66 \$133.17	\$399.50 \$133.17	\$266.33 \$133.17	\$133.1
WALLED LAKE MI 48390-3667	17-35-353-006				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
W/\LEED E (\Left(\) 40000 0007					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.1
00.47.05.054.040		4.00	<b>#</b>	<b>#</b> 005.00	DATE DAID					
92-17-35-351-018 MATTHEW FRANKLAND		1.00 UNIT	\$665.83	\$665.83	DATE PAID					
	WELEARE LAKE WEW LOT OF ACCESSED WITH				BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133.
	WELFARE LAKE VIEW LOT 26 ASSESSED WITH				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
	17-35-353-007				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
917 E WALLED LAKE DR					TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133.
WALLED LAKE MI 48390		2.22	<b>^</b>	A	5.475 5.415					
92-17-35-351-020 THEODORE ANDRIS		3.00 UNIT	\$665.83	\$1,997.49	DATE PAID					
	WELFARE LAKE VIEW LOT OF ACCESSES WITH				BALANCE	\$1,997.49	\$1,597.99	\$1,198.49	\$799.00	\$399.
	WELFARE LAKE VIEW LOT 29 ASSESSED WITH				PRINCIPAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
	17-35-354-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
24901 NORTHWESTERN STE 411					TOTAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
SOUTHFIELD MI 48075 92-17-35-351-021		3.00	\$665.83	\$1,997,49	DATE PAID					
MYRNA E ROMAIN LIVING TR		UNIT	ψ003.03	Ψ1,997.49	DATETAID					
	WELFARE LAKE VIEW LOT 30 ASSESSED WITH				BALANCE	\$1,997.49	\$1,597.99	\$1,198.49	\$799.00	\$399
	17-35-354-001				PRINCIPAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
	17-33-334-001				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
28800 HIDDEN TRL					TOTAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
FARMINGTON HILLS MI 48331 92-17-35-351-022	T2N. R8E. SEC 35 N 10.30 FT OF PARCEL DESC	3.00	\$665.83	\$1,997,49	DATE PAID					
WALLED LAKE FOREST APTS	AS PART OF SW 1/4 BEG AT SE COR OF LOT 30	UNIT	\$000.00	\$1,997.49	DATE PAID					
WALLED LAKE FOREST AF TO	'WELFARE LAKEVIEW', TH SELY ALG RD LINE	ONT			BALANCE	\$1.997.49	\$1.597.99	\$1.198.49	\$799.00	\$399
42820 W 14 MILE RD	20.60 FT, TH W ALG SEC LINE SHORE LINE OF				PRINCIPAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
WALLED LAKE MI 48390-3671	WALLED LAKE, TH NWLY ALG SHORE LINE TO				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
PO BOX 735	SW COR OF LOT 30, TH ELY TO BEG 0.005 A				TOTAL	\$399.50	\$399.50	\$399.50	\$399.50	\$399
NORTHVILLE MI 48167	OF WALLED LAKE, TH NWLY ALG SHORE LINE				<u> </u>	<u> </u>				
92-17-35-351-023	T2N, R8E, SEC 35 PART OF SW 1/4 BEG AT SE	1.00	\$665.83	\$665.83	DATE PAID					
EVAN RISKIN	COR OF LOT 30 'WELFARE LAKEVIEW', TH SELY ALG RD LINE 20.60 FT, TH W ALG SEC LINE TO	UNIT			BALANCE	\$665.83	\$532.66	\$399.50	\$266.33	\$133
	SHORE LINE OF WALLED LAKE, TH NWLY				PRINCIPAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
	ALONG SHORE LINE TO SW COR OF LOT 30, TH				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
120 LEEDS	ELY TO BEG EXC N 10.30 FT 0.005 A				TOTAL	\$133.17	\$133.17	\$133.17	\$133.17	\$133
WALLED LAKE MI 48390	ALONG SHORE LINE TO SW COR OF LOT 30, TH					·				
92-17-35-352-001		0.20	\$665.83	\$133.17	DATE PAID					
DONALD BUDZYNSKI		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
801 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 48				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3666	The state of the s				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-352-008		0.20	\$665.83	\$133.17	DATE PAID	1				1
92-17-35-352-008 JOHN KHALAF		0.20 UNIT	\$6.C00¢	\$133.17	DATE PAID					
		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
000 E WALLED LAKE DD	WELFARE LAKE VIEW LOT 41				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
829 E WALLED LAKE DR										
WALLED LAKE MI 48390-3601					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.6

Page 164 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS		_
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-352-009		0.20	\$665.83	\$133.17	DATE PAID					
DAVID L HULTGREN		UNIT								
LYDIA LYPKA-HULTGREN	WELFARE LAKE VIEW W 1/2 OF LOT 89 ALSO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
116 ARVIDA ST	ALL OF LOT 90				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3506	ALE OF LOT 30				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-352-010		0.20	\$665.83	\$133.17	DATE PAID					
JOAN BRISBOIS		UNIT	φοσο.σσ	ψ.σσ						
	WELFARE LAKE VIEW LOTS 87 & 88 ALSO E 1/2				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
122 ARVIDA ST	OF LOT 89				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3506	01 201 03				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-352-011		0.20	\$665.83	\$133.17	DATE PAID					
LAURA A CIPIELEWSKI		UNIT	φοσο.σσ	ψ100.11	5,11217115					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
128 ARVIDA ST	WELFARE LAKE VIEW LOT 86				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-352-016		0.20	\$665.83	\$133.17	DATE PAID					
DANIEL A TREMBLAY		UNIT	φ003.03	φ133.17	DATEFAID					
		• • • • • • • • • • • • • • • • • • • •			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
144 ARVIDA ST	WELFARE LAKE VIEW LOT 81				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-352-017	<del></del>	0.20	\$665.83	\$133.17	DATE PAID					
THERESA DAAR		UNIT	φ000.00	φ133.17	DATEFAID					
BOB DAAR		O. t.i.			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
148 ARVIDA ST	WELFARE LAKE VIEW LOT 80				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
00 47 05 050 040		0.00	<b>#</b> 205.00	<b>0.100.17</b>	DATE DAID					
92-17-35-352-018 JAMES WALASZEK		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
SHERYL CHARBONEAU		Ortin			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
814 BLUFFTON ST	WELFARE LAKE VIEW LOT 79				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3613					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
02 17 25 252 010		0.20	¢eer oo	¢122.47	DATE DAID					
92-17-35-352-019 CARL GONCZY		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
119 WELFARE BLVD	WELFARE LAKE VIEW LOT 91				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
02 17 25 252 021		0.20	¢eef oo	¢122.47	DATE PAID	<u> </u>				
92-17-35-352-021 GORDON HAMILTON		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
		0.111			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
123 WELFARE BLVD	WELFARE LAKE VIEW LOT 93				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16101 ROARING BROOK DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
HERSHEY MI 49369				I	I	i .	1			

Page 165 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	201
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5T
92-17-35-352-022		0.20	\$665.83	\$133.17	DATE PAID					
LAUREN A DICKIE		UNIT	*	, , , ,						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
127 WELFARE BLVD	WELFARE LAKE VIEW LOT 94				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED EARLE WII 10000 0070					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.
92-17-35-352-023		0.20	\$665.83	\$133.17	DATE PAID					
KHAMPAUN CHANTHAVONG		UNIT	φοσο.σσ	Ψ100.17	DATETAID					
MIAMI AUN CHANTHATONG		OIVII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
133 WELFARE BLVD	WELFARE LAKE VIEW LOT 95				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670	WELLAND LAND VIEW EOT 93				INTEREST	\$0.00		\$0.00	·	\$0.
WALLED LAKE WII 40390-3070							\$0.00		\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
00.47.05.050.004		0.00	ФООТ 00	C400.47	DATE DAID					
92-17-35-352-024		0.20	\$665.83	\$133.17	DATE PAID					
JAMES C JOHNSON		UNIT			541 44105	0400 47	<b>0.100.50</b>	<b>#70.00</b>	050.07	000
105 11/51 54 55 51 1/5	MELEADE LAKE MEM LOT 00				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
135 WELFARE BLVD	WELFARE LAKE VIEW LOT 96				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
92-17-35-352-030		0.20	\$665.83	\$133.17	DATE PAID					
MARILYN BOYLAN		UNIT								
JENNIFER BOYLAN					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
153 WELFARE BLVD	WELFARE LAKE VIEW LOT 102				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
761 E WALLED LAKE DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390										
92-17-35-352-031		0.20	\$665.83	\$133.17	DATE PAID					
RICHARD DYER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
130 ARVIDA ST	WELFARE LAKE VIEW LOTS 84 & 85				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3506					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
WALLED LANCE IN 10000 0000					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	ΨΖΟ
92-17-35-352-032		0.20	\$665.83	\$133.17	DATE PAID					
CARL GONCZY		UNIT	ψ000.00	Ψ133.17	DATETAID					
CARL GONGET		OINII			DAI ANCE	¢122.17	¢106.52	¢70.00	\$53.27	\$26
	WELFARE LAKE VIEW WLY 1/2 OF LOT 92				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$26.63	\$26
	WELLIANE LANE VIEW WELT 1/2 OF LOT 92				INTEREST	\$26.63	\$26.63	\$26.63		\$20
119 WELFARE BLVD									\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3670		0.00	ФООТ 00	£400.47	DATE DAID					
92-17-35-352-033		0.20	\$665.83	\$133.17	DATE PAID					
GORDON HAMILTON		UNIT			DAI	A400 1=	<b>#</b> 400 =0	070.00	050.05	*
100 14/51 5105 511/5	MELEADE LAKE VIEW ELVARO CE LOT CO				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
123 WELFARE BLVD	WELFARE LAKE VIEW ELY 1/2 OF LOT 92				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
16101 ROARING BROOK DR					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
HERSHEY MI 49369										
92-17-35-352-034		0.20	\$665.83	\$133.17	DATE PAID					
RUTH A FISHER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26
143 WELFARE BLVD	WELFARE LAKE VIEW LOT 98 EXC WLY 3.0 FT				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26
WALLED LAKE MI 48390-3670					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
		n I		III	1			+		+

Page 166 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	3	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-352-035		0.20	\$665.83	\$133.17	DATE PAID					
OCCUPANT		UNIT								
	WELFARE LAKE VIEW LOT 97, ALSO WLY 3.0 FT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
139 WELFARE BLVD	OF LOT 98				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3670	01 201 30				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
00.47.05.050.000		0.00	#00F 00	£400.47	DATE PAID					
92-17-35-352-036 REBECCA GINTHER		0.20 UNIT	\$665.83	\$133.17	DATE PAID					
REBECCA GINTHER		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
149 WELFARE BLVD	WELFARE LAKE VIEW LOTS 100 & 101 10/02/86				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3670	FR 028 & 029				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
WALLED LAKE IVII 40390-3070					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00
92-17-35-352-037		0.20	\$665.83	\$133.17	DATE PAID					
ADAM VIRGA		UNIT	Ψ000.00	ψ.σσ	571.2171.2					
	WELENBER WE WE WE ARE A SECOND OF SECOND	0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
142 ARVIDA ST	WELFARE LAKE VIEW LOTS 82 & 83 9-25-08 FR				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3506	014 & 015				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-35-353-001		0.20	\$665.83	\$133.17	DATE PAID					
JASON EASTER		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
903 E WALLED LAKE DR	WELFARE LAKE VIEW LOT 40				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3600					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
			A	<b>*</b> * * * * * * * * * * * * * * * * * *	D. 1 = D. 1   D.	1			1	1
92-17-35-353-008		0.20	\$665.83	\$133.17	DATE PAID					
GML & L3 HOLDING LLC		UNIT			DALANOE	£400.47	£400 F0	Ф <b>7</b> 0 00	<b>\$50.07</b>	<b>#00.00</b>
000 E WALLED LAKE DD	WELFARE LAKE VIEW LOT 33				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
923 E WALLED LAKE DR WALLED LAKE MI 48390-3667	WELFARE LAKE VIEW LOT 33				PRINCIPAL INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00
118 LEXINGTON AVE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
EAST LANSING MI 48823-4623					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00
92-17-35-353-009		0.20	\$665.83	\$133.17	DATE PAID					
ANDREW KEENE		UNIT	Ψ000.00	Ψ100.17	DATETAID					
72.X.=		0			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
118 WELFARE BLVD	WELFARE LAKE VIEW LOT 119				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-35-353-010		0.20	\$665.83	\$133.17	DATE PAID					
EARL W WISE		UNIT			1					
LINDSEY R WISE					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
120 WELFARE BLVD	WELFARE LAKE VIEW LOT 118				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
		0.00	<b>\$665.00</b>	¢420.47	DATE PAID	<u> </u>				
02 47 25 252 044		0.20	\$665.83	\$133.17	DATE PAID			<u> </u>	1	1
92-17-35-353-011			1	iii	1	1	1	i .	1	1
92-17-35-353-011 KIM RICHARDS		UNIT			DALANCE	¢122.47	\$10c E2	¢70.00	¢52.27	¢26.62
KIM RICHARDS	WELFARE LAKE VIEW LOT 117	UNII			BALANCE	\$133.17	\$106.53	\$79.90 \$26.63	\$53.27	\$26.63
KIM RICHARDS  122 WELFARE BLVD	WELFARE LAKE VIEW LOT 117	UNII			PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
KIM RICHARDS	WELFARE LAKE VIEW LOT 117	UNII			_					

Page 167 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL				INSTALLMENTS	S	
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-353-012		0.20	\$665.83	\$133.17	DATE PAID					
JOHN V THOMOPOULOS		UNIT								
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
126 WELFARE BLVD	WELFARE LAKE VIEW LOT 116				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
PO BOX 0091					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-			<b>^</b>	<b>*</b>	5.75 5.15					
92-17-35-353-013		0.20	\$665.83	\$133.17	DATE PAID					
BARRY RIDENOUR		UNIT			DALANCE	£400.47	¢400 F0	<b>Ф70 00</b>	<b></b>	<b>#</b> 20,02
130 WELFARE BLVD	WELFARE LAKE VIEW LOT 115				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26.63 \$26.63
WALLED LAKE MI 48390-3669	WELFARE LAKE VIEW LOT 115				INTEREST	\$26.63	\$26.63	\$26.63	\$20.03	\$26.63
WALLED LAKE WII 40390-3009					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					TOTAL	\$20.03	\$20.03	\$20.03	\$20.03	φ20.03
92-17-35-353-014		0.20	\$665.83	\$133.17	DATE PAID					
RANDY HAIRALD		UNIT	ψ000.00	Ψ133.17	DATETAID					
NAME I HAINALE		Olviii			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
134 WELFARE BLVD	WELFARE LAKE VIEW LOT 114				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
						ų=0.00	<b>V</b> =0.00	Ψ=0.00	7=0.00	<b>4</b> =0.00
92-17-35-353-015		0.20	\$665.83	\$133.17	DATE PAID					
KEVIN TENASLIA		UNIT	*							
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
138 WELFARE BLVD	WELFARE LAKE VIEW LOT 113				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
92-17-35-353-016		0.20	\$665.83	\$133.17	DATE PAID					
DAVID EXFORD		UNIT								
JENNIFER MILLS					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
142 WELFARE BLVD	WELFARE LAKE VIEW LOT 112				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3669					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
00 47 05 050 040		2.22	<b>#</b> 005.00	0100.17	DATE DAID					
92-17-35-353-018		0.20	\$665.83	\$133.17	DATE PAID					
JOSEPH T LINCK		UNIT			DALANCE	£400.47	¢400 F0	<b>Ф70 00</b>	<b>Ф</b> ГО О <b>7</b>	<b>#</b> 00.00
450 MELEADE DI VD	WELFARE LAKE VIEW LOT 110				BALANCE PRINCIPAL	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
150 WELFARE BLVD WALLED LAKE MI 48390-3669	WELLAND LAND VIEW LOT 110				INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00
WALLED LAKE WII 46390-3009					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03
92-17-35-353-019		0.20	\$665.83	\$133.17	DATE PAID					†
IAN B DORAN		UNIT	ψοσο.σσ	ψ100.17	DATE FAID				1	1
RACHEL M DORAN		51411			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
119 LEEDS ST	WELFARE LAKE VIEW LOT 120				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
					1					
92-17-35-353-020		0.20	\$665.83	\$133.17	DATE PAID					
CHARLES C RAY JR		UNIT								
PENNY EVANS					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63
121 LEEDS ST	WELFARE LAKE VIEW LOT 121				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
262 HAVANA					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63
COMMERCE MI 48382				II.	1	1	1	1		1

Page 168 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		INSTALLMENTS				
						2015	2016	2017	2018	2019
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH
92-17-35-353-021		0.20	\$665.83	\$133.17	DATE PAID					
CYNTHIA JUROSEK TRUSTEE		UNIT								
40-1-5-0.0-	\\\E\ E \ \\ \\ \\ \\ \\ \\ \\ \\ \\ \\				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
127 LEEDS ST	WELFARE LAKE VIEW LOT 122				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2715 APACHE TRL WIXOM MI 48393-2121					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
92-17-35-353-022		0.20	\$665.83	\$133.17	DATE PAID					
CINDY JUROSEK TRUSTEE		UNIT	φ005.65	φ133.17	DATE PAID					
CIND I JONOSEK I KOSTEL		OINIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6
127 LEEDS ST	WELFARE LAKE VIEW LOT 123				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
2715 APACHE TRL					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
WIXOM MI 48393						Ψ20.00	<b>\$20.00</b>	Ψ20.00	Ψ20.00	Ψ20.
92-17-35-353-028		0.20	\$665.83	\$133.17	DATE PAID					
LINDA HOGAN WILSON	T2N, R8E, SEC 35 WELFARE LAKE VIEW PART	UNIT								
	OF LOTS 126 & 127 BEG AT NE COR OF LOT 127,				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
916 BLUFFTON ST	TH S 67-34-00 W 133.00 FT, TH S 22-27-24 E				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
WALLED LAKE MI 48390-3617	72.00 FT, TH E 95.43 FT, TH N 117.30 FT TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0
92-17-35-353-029	WELEARE LAKE VIEW LOTO 400 0 407 EVO REO	0.20	\$665.83	\$133.17	DATE PAID					
JAMES C LATTA	WELFARE LAKE VIEW LOTS 126 & 127 EXC BEG	UNIT			DALANOE	<b>#</b> 400.47	£400.50	Ф <b>7</b> 0 00	<b>#FO 07</b>	<b>COO</b> (
141 LEEDS ST	AT NE COR OF LOT 127, TH S 117.30 FT ALG E LOT LI, TH W 95.43 FT TO PT ALG WLY LINE OF				BALANCE PRINCIPAL	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
WALLED LAKE MI 48390-3640	LOT 126, TH N 22-27-24 W 72 FT TO NW COR OF				INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.0 \$0.0
WALLED LAKE WII 40390-3040	LOT 126, THIN 22-27-24 W 72 FT TO NW COR OF				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
	EOT 120, 11110 07-54-00 E 1331 1 10 BEO				TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.0
92-17-35-353-030		0.20	\$665.83	\$133.17	DATE PAID					
BILL TONE		UNIT	φοσο.σσ	ψ.σσ	3,1121,113					
TERRAL TONE					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0
135 LEEDS ST	WELFARE LAKE VIEW LOTS 124 & 125				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3640					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
92-17-35-354-003		0.20	\$665.83	\$133.17	DATE PAID					
YONO REAL ESTATE DEVELOPMENT		UNIT			5444405	<b>*</b>	A	<b>A=-</b>	<b>^</b>	
	WELFARE LAVE VIEW LOT 405				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	WELFARE LAKE VIEW LOT 135				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
7191 MUERDALE					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.0
WEST BLOOMFIELD MI 48322					IOTAL	φ∠∪.∇3	φ <b>∠</b> 0.03	φ∠0.03	φ∠0.03	ֆ∠0.
92-17-35-354-004		0.20	\$665.83	\$133.17	DATE PAID	1				
YONO REAL ESTATE DEVELOPMENT		UNIT	<b>4000.00</b>	Ţ.50.11	22.,,,,,					
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
	WELFARE LAKE VIEW LOT 134				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0
7191 MUERDALE					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WEST BLOOMFIELD MI 48322										
92-17-35-354-005		0.20	\$665.83	\$133.17	DATE PAID					
EVAN RISKIN		UNIT			DAI ****	<b>0.106.1</b>	<b>MAGG 70</b>	<b>A70.00</b>	050.05	***
400 LEEDO OT	WELFARE LAKE WEW LOT 400				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.
120 LEEDS ST	WELFARE LAKE VIEW LOT 133				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.
WALLED LAKE MI 48390-3639					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.0
	1			ii .	IUIAI	הח מער.	カノロ りろ	かくひ ひろ	カノの りょう	_ ა_ბ∠ხ.(

Page 169 of 172 6/4/2015 4.25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		INSTALLMENTS					
						2015	2016	2017	2018	2019	
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH	
92-17-35-354-006		0.20	\$665.83	\$133.17	DATE PAID						
DONNA SEXTON		UNIT			DALANIOE	0400.47	<b>#</b> 400 <b>F</b> 0	<b>#70.00</b>	<b>450.07</b>	400.00	
404 LEEDC CT	WELFARE LAKE VIEW LOT 122				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.60	
124 LEEDS ST	WELFARE LAKE VIEW LOT 132				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63 \$0.00	
WALLED LAKE MI 48390-3639					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$26.6	
					TOTAL	φ20.03	\$20.03	\$20.03	\$20.03	\$20.0	
92-17-35-354-007		0.20	\$665.83	\$133.17	DATE PAID						
DONNA SEXTON		UNIT	ψουσ.σσ	ψ.σσ	271.2.71.2						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6	
124 LEEDS ST	WELFARE LAKE VIEW LOT 131				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6	
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6	
92-17-35-354-008		0.20	\$665.83	\$133.17	DATE PAID						
SHELLY THOMOPOULOS		UNIT				<b>*</b> * * * * * * * * * * * * * * * * * *	0.00	<b>A</b> =c			
	MELEADE LAKE MEM LOT 400				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6	
128 LEEDS ST	WELFARE LAKE VIEW LOT 130				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6	
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
425 SOUTH LAKE DR NOVI MI 48377					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0	
92-17-35-354-009		0.20	\$665.83	\$133.17	DATE PAID						
OCCUPANT		UNIT	φ000.00	ψ133.17	DATEFAID						
COOUT ANT		ONIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0	
132 LEEDS ST	WELFARE LAKE VIEW LOT 129				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0	
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
139 WELFARE BLVD					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.	
WALLED LAKE MI 48390						,					
92-17-35-354-010		0.20	\$665.83	\$133.17	DATE PAID						
BILL DEAN TONE		UNIT									
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.6	
136 LEEDS ST	WELFARE LAKE VIEW LOT 128				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.	
WALLED LAKE MI 48390-3639					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
135 LEEDS ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.	
WALLED LAKE MI 48390			****	<b>A</b> 400.4 <b>=</b>	5.75.54.5				1		
92-17-35-354-011		0.20	\$665.83	\$133.17	DATE PAID						
STEVE ROMAYA		UNIT			DALANCE	£400.47	£400 F0	¢70.00	<b></b>	ተ ጋር	
42920 W 14 MILE RD	WELFARE LAKE VIEW LOT 136				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26. \$26.	
WALLED LAKE MI 48390	WELL AND LAND VIEW LOT 150				INTEREST	\$26.63	\$26.63	\$26.63	\$26.63	\$20.	
24935 CHELSEA XING					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.	
FARMINGTON HILLS MI 48331-2809					IOIAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.	
92-17-35-354-012		0.20	\$665.83	\$133.17	DATE PAID						
STEVE ROMAYA		UNIT									
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0	
	WELFARE LAKE VIEW LOT 147				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6	
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.0	
24935 CHELSEA XING					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.6	
FARMINGTON HILLS MI 48331-2809										1	
92-17-35-354-013		0.20	\$665.83	\$133.17	DATE PAID						
YONO REAL ESTATE DEVELOPMENT		UNIT			DALANOS	£400.47	£400 F0	<b>#70.00</b>	<b>#</b> 50.07	000	
1025 E WALLED LAKE DD	WELFARE LAKE VIEW LOTS 31 & 32 2-28-85				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.0	
1035 E WALLED LAKE DR	FROM 001 & 002				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.0	
WALLED LAKE MI 48390 7191 MUERDALE					INTEREST TOTAL	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.00 \$26.63	\$0.0 \$26.0	

Page 170 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL		INSTALLMENTS					
						2015	2016	2017	2018	2019	
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH	
92-17-35-355-001		0.20	\$665.83	\$133.17	DATE PAID						
ALICE DEGRANDCHAMP		UNIT									
024 DILIEFTON CT	WELFARE LAKE VIEW LOT 103 & W 1/2 OF LOT				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
831 BLUFFTON ST WALLED LAKE MI 48390-3616	104				PRINCIPAL INTEREST	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	\$26.63 \$0.00	
WALLED LAKE IVII 40390-3010					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
					TOTAL	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	
92-17-35-355-002		0.20	\$665.83	\$133.17	DATE PAID						
DEBRA BAIN		UNIT									
	WELFARE LAKE VIEW E 1/2 OF LOT 104 & ALL				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
210 CHERITON ST	OF LOT 105				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3621	5. 25				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
92-17-35-355-007		0.20	\$665.83	\$133.17	DATE PAID						
PETER CAROLAN		UNIT	ψ003.03	ψ133.17	DATEFAID						
I ETER VAROLAN		Ortin			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
835 BLUFFTON ST	WELFARE LAKE VIEW LOT 146				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3616					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
92-17-35-355-008		0.20	\$665.83	\$133.17	DATE PAID						
JOHN MARCHESI		UNIT			DALANCE	<b>#</b> 400.47	<b>#</b> 400 <b>F</b> 0	<b>470.00</b>	050.07	<b>#</b> 00.00	
CATHERINE MARCHESI	WELFARE LAKE VIEW LOT 145				BALANCE PRINCIPAL	\$133.17	\$106.53 \$26.63	\$79.90	\$53.27 \$26.63	\$26.63 \$26.63	
833 BLUFFTON ST WALLED LAKE MI 48390-3616	WELFARE LAKE VIEW LOT 145				INTEREST	\$26.63 \$0.00	\$0.00	\$26.63 \$0.00	\$0.00	\$0.00	
WALLED LAKE IVII 40090-3010					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
						Ψ20.00	Ψ20.00	<b>\$20.00</b>	<b>\$20.00</b>	Ψ20.00	
92-17-35-355-009		0.20	\$665.83	\$133.17	DATE PAID						
ELIZABETH CUMMINGS		UNIT									
911 BLUFFTON ST					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
WALLED LAKE MI 48390-3618	WELFARE LAKE VIEW LOT 144				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
92-17-35-355-010		0.20	\$665.83	\$133.17	DATE PAID						
PHYLLIS TRUSSLER		UNIT	ψ000.00	ψ100.17	DATETAID						
THE ELOCATION OF THE PROPERTY		Oran			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
	WELFARE LAKE VIEW LOT 143				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
1063 S DOWLING ST					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WESTLAND MI 48186-4040		0.55	<b>#</b> 00= 00	0.465.17	DATE SAIS						
92-17-35-355-011		0.20	\$665.83	\$133.17	DATE PAID						
NORBERT SZCZODROWSKI		UNIT			DALANCE	¢420.47	¢100.50	\$70.00	ΦE0.07	\$20.00	
919 BLUFFTON ST	WELFARE LAKE VIEW LOT 142				BALANCE PRINCIPAL	\$133.17 \$26.63	\$106.53 \$26.63	\$79.90 \$26.63	\$53.27 \$26.63	\$26.63 \$26.63	
WALLED LAKE MI 48390-3618	WELLAND LAND VIEW LOT 142				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
MATER FULL INIT 40090-0010					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
						<del></del>	7-2:22	<del></del>	<del></del>	<del></del>	
		0.20	\$665.83	\$133.17	DATE PAID						
92-17-35-355-012	•	UNIT									
92-17-35-355-012 DOUG MERITHEW											
DOUG MERITHEW		O. t			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
DOUG MERITHEW 925 BLUFFTON ST	WELFARE LAKE VIEW LOT 141	O.W.			PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
DOUG MERITHEW	WELFARE LAKE VIEW LOT 141	J									

Page 171 of 172 6/4/2015 4:25 PM

ASSESSED TO	DESCRIPTION	UNIT OR	RATE	TOTAL			INSTALLMENTS				
						2015	2016	2017	2018	2019	
AND ADDRESS	OF PROPERTY	FRONTAGE	PER	CHARGE		1ST	2ND	3RD	4TH	5TH	
92-17-35-355-013		0.20	\$665.83	\$133.17	DATE PAID						
CHARLES CHILDS		UNIT									
STELLA FRATARCANGELI					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
957 BLUFFTON ST	WELFARE LAKE VIEW LOT 140				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3618					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
00 47 05 055 044		0.00	0005.00	0400.47	DATE DAID						
92-17-35-355-014		0.20 UNIT	\$665.83	\$133.17	DATE PAID						
MARTHA J AGUILAR		UNII			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
1005 BLUFFTON ST	WELFARE LAKE VIEW LOT 139				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3620	WELLAKE LAKE VIEW LOT 139				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
595 KENT LN					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WHITE LAKE MI 48386					TOTAL	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	Ψ20.03	
92-17-35-355-015		0.20	\$665.83	\$133.17	DATE PAID						
SHARON BEUTEL		UNIT	ψοσο.σσ	ψσσ	27.1.2.7.1.2						
					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
1015 BLUFFTON ST	WELFARE LAKE VIEW LOT 138				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3620					INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
00.47.05.055.040		0.00	<b>\$205.00</b>	<b>0</b> 400.4 <b>7</b>	DATE DAID						
92-17-35-355-016 STEVE ROMAYA		0.20 UNIT	\$665.83	\$133.17	DATE PAID						
STEVE ROWATA		UNIT			BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
42880 W 14 MILE RD	WELFARE LAKE VIEW LOT 137				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3672	VVEEL/TITLE E/TITLE VIEW EOT 10/				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
24935 CHELSEA XING					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
FARMINGTON HILLS MI 48331-2809					101712	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	
92-17-35-355-017		0.20	\$665.83	\$133.17	DATE PAID						
SHERRY JORIS	WELFARE LAKE VIEW LOT 109 EXC BEG AT	UNIT									
	MOST NLY LOT COR, TH S 00-16-00 E 100 FT, TH				BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
314 CHERITON ST	S 61-25-45 W 60 FT. TH N 25-10-21 W 75 FT. TH				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3623	N 54-13-50 E 105 FT ALG NLY LOT LINE TO BEG				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
	14 34-10-30 E 1031 I AEG NET EOT EINE TO BEG				TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
92-17-35-355-018		0.20	\$665.83	\$133.17	DATE PAID						
92-17-35-355-018 DWAYNE RIDENOUR		0.20 UNIT	δ0.C00¢	\$133.17	DATE PAID						
DWATNE RIDENOUR					BALANCE	\$133.17	\$106.53	\$79.90	\$53.27	\$26.63	
294 CHERITON ST	WELFARE LAKE VIEW LOTS 106, 107 & 108 11-25				PRINCIPAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
WALLED LAKE MI 48390-3621	91 FR 003, 004 & 005				INTEREST	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
**************************************					TOTAL	\$26.63	\$26.63	\$26.63	\$26.63	\$26.63	
						Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	Ψ20.00	

Page 172 of 172 6/4/2015 4:25 PM